Hartzell Propeller Inc.
2018 Price List

B

SUILT ON Hongp

HARTZELL PROPELLER INC.
PIQUA, OHIO U.5.A.

Hartzell Propeller Inc.

One Propeller Place
Piqua, Ohio 45356-2634 U.S.A.

Telephone: 937.778.4200
Fax: 937.778.4215
www.hartzellprop.com

Effective Date: Jan. 2, 2018



http://www.hartzellprop.com/

PRICES ARE SUBJECT TO CHANGE WITHOUT NOTICE

INDEX
Section Pages
Blades 1--7
De-Ice 8--12
Governors 13--14
Literature 15
Overhaul Kits 16 -- 19
Parts and Consumables 20 -- 77
Propellers 78 -- 90
Spinner Assemblies 91 --94

NOTE:
To help ensure shipment of the correct part, please use the Hartzell Propeller
Inc. item number when placing an order.



Hartzell Propeller Inc.
2018 Price List

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Item Description Price effective 2018 List Price |Price Code| DA Item | LRU Item
10151CN-5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,344.50 A
10151N-8 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,344.50 A
7890K PCP:BLADE ASSY, COMPOSITE 1/1/2018 $21,585.00 A
8847N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,344.50 A
9349N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,344.50 A
9349N+1/2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,344.50 A
9349N-6.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,191.20 A
C7690E PCP:BLADE ASSY, COMPOSITE 1/1/2018 $22,619.00 A
D8292 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,079.50 A
D8292B PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,348.30 A
D8292B-2 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,348.30 A
D8292B-2*1 PCP:BLADE UNIT, ALUM, 102878 1/1/2018 $6,348.30 A
D8990 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,079.50 A
D8990K PCP:BLADE UNIT, 4H2271-10 BOOT 1/1/2018 $6,503.70 A
D8990S PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,763.05 A
D8990SK PCP:BLADE UNIT, ALUM,4H2271-12 1/1/2018 $7,227.15 A
D8990SK*1 PCP:BLADE UNIT, ALUM,4H2271-10 1/1/2018 $7,200.90 A
D9290 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,973.00 A
D9290K PCP:BLADE UNIT, ALUM 4H2271-12 1/1/2018 $6,515.76 A
D9290K*2 PCP:BLADE UNIT, ALUM 103880 1/1/2018 $6,388.00 A
D9327K PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,035.00 A
D9383K PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,247.00 A
D9390S-1R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,336.75 A
D9390SK-1R PCP:BLADE UNIT, ALUM, 103880 1/1/2018 $6,906.90 A
D9510SK PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,415.10 A
D9511F PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,079.50 A
D9511F-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,079.50 A
D9511FK-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,709.00 A
D9511FSB PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,217.05 A
D9512A PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,959.00 A
D9690 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,064.00 A
D9690B PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,744.15 A
E10477 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,774.60 A
E10477K PCP:BLADE UNIT, ALUM [6,1,1] 1/1/2018 $7,208.25 A
E10477SK PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,390.95 A
E10950PCB PCP:BLADE ASSY, COMP, 4H3400-1 1/1/2018 $29,673.00 A
E13890K(S0O) PCP:BLADE, SHIP-OUT W/ BEARING 1/1/2018 $41,531.00 A Y
E8501 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,177.00 A
E8501-3.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,177.00 A
E8501B-3.5 PCP:BLADE UNIT, 4H1601-10 BOOT 1/1/2018 $6,852.30 A
E8501K PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,590.00 A
ES083SK PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,191.45 A
E9193B PCP:BLADE ASSY, COMP, 4H4072-2 1/1/2018 $33,971.00 A
E9193K PCP:BLADE ASSY, COMP, 4H4072-1 1/1/2018 $37,063.00 A
E9512CB-1 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,227.55 A
ES512DB-1 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,227.55 A
E9612 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,693.10 A
E9612K PCP:BLADE UNIT, 4H2271-14 1/1/2018 $6,255.90 A
F7068-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,685.75 A
F7282 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7391D-3 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,881.45 A
F7392%*2 PCP:BLADE UNIT, ALUM [6,1,1] 1/1/2018 $4,239.90 A
F7392-1 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F7490 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,685.75 A
F7495S PCP:BLADE UNIT, ALUM [6,16,11] 1/1/2018 $4,914.00 A
F7496 PCP:BLADE UNIT, ALUM [6,1,11] 1/1/2018 $4,881.45 A
F7496-2 PCP:BLADE UNIT, ALUM [6,1,11] 1/1/2018 $4,881.45 A
F7497 PCP:BLADE UNIT, ALUM [6,1,11] 1/1/2018 $4,239.90 A
Original

Effectivity Date 1/2/2018

Page 1



Hartzell Propeller Inc.

2018 Price List

F7497-2 PCP:BLADE UNIT, ALUM [6,1,11] 1/1/2018 $4,239.90 A
F7498 PCP:BLADE UNIT, ALUM [6,1,1] 1/1/2018 $4,239.90 A
F7590 PCP:BLADE UNIT, ALUM [6,1,5] 1/1/2018 $5,260.50 A
F7663 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7663-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7663-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7663-4T PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7663-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,604.25 A
F7663A-2R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F7663D-2Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,053.65 A
F7663D-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,881.45 A
F7663D-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,053.65 A
F7663DR PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,881.45 A
F7663R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F7663R*3 PCP:BLADE UNIT, ALUM [6,16,11] 1/1/2018 $4,239.90 A
F7666A PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F7666A*1 PCP:BLADE UNIT, ALUM [3,1,1] 1/1/2018 $4,239.90 A
F7666A-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7666A-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7666A-3R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7666A-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7673DR PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,881.45 A
F7691 PCP:BLADE UNIT, ALUM [1,1,5] 1/1/2018 $4,881.45 A
F7691D PCP:BLADE UNIT, ALUM [1,1,5] 1/1/2018 $4,881.45 A
F7691D-1 PCP:BLADE UNIT, ALUM [1,1,5] 1/1/2018 $4,881.45 A
F7693DF PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7693DF-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F7693DFB PCP:BLADE UNIT,ALUM [11,15,11] 1/1/2018 $4,604.25 A
F7693F PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F7693FB PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,604.25 A
F7693FB*1 PCP:BLADE UNIT, ALUM [6,1,1] 1/1/2018 $4,604.25 A
F7694 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F7694B PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,438.35 A
F7854 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,659.50 A
F8068 PCP:BLADE UNIT, ALUM [1,1,5] 1/1/2018 $4,239.90 A
F8068*1 PCP:BLADE UNIT, ALUM [6,1,5] 1/1/2018 $4,239.90 A
F8068*4 PCP:BLADE UNIT, ALUM [6,16,5] 1/1/2018 $4,239.90 A
F8068+2 PCP:BLADE UNIT, ALUM [1,1,5] 1/1/2018 $4,881.45 A
F8068-2 PCP:BLADE UNIT, ALUM [1,1,5] 1/1/2018 $4,239.90 A
F8068D PCP:BLADE UNIT, ALUM [6,1,5] 1/1/2018 $4,881.45 A
F8459-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F8459A-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F8459A-8R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8465-7R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F8467-7R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F8468-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F8468-8R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,239.90 A
F8468A PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-2 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-2R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-3R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-4 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-4R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-6 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-6R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468A-8Q PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,604.25 A
F8468A-8R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468AR PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8468D-14 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,357.50 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 2



2018 Price List

Hartzell Propeller Inc.

F8475 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,357.50 A
F8475+2 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,540.20 A
F8475D-4 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,334.40 A
F8475R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,334.40 A
F8475T+2 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,561.20 A
F8477 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8477-2 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8477-4 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8477-8R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $4,239.90 A
F8483 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,685.75 A
F9587C-15S PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,685.75 A
FC7063Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,540.45 A
FC7382 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,322.45 A
FC7391D PCP:BLADE UNIT, ALUM [6,1,5] 1/1/2018 $5,602.80 A
FC7391D-3 PCP:BLADE UNIT, ALUM (6,1,5) 1/1/2018 $5,596.50 A
FC7391DK PCP:BLADE UNIT, ALUM [6,1,5] 1/1/2018 $6,540.45 A
FC7391DK*1 PCP:BLADE UNIT, ALUM [3,1,5] 1/1/2018 $6,540.45 A
FC7391DK*2 PCP:BLADE UNIT, ALUM [3,24,11] 1/1/2018 $6,540.45 A
FC7391DK*3 PCP:BLADE UNIT, ALUM [3,21,11] 1/1/2018 $6,540.45 A
FC7451 PCP:BLADE UNIT, ALUM B-3202H-7 1/1/2018 $6,404.00 A
FC7453 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,805.45 A
FC7479-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,954.95 A
FC7663-2R PCP:BLADE UNIT, B-3202H-5 1/1/2018 $5,217.45 A
FC7663-4 PCP:BLADE UNIT, ALUM B-3202H-7 1/1/2018 $5,217.45 A
FC7663-4T PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,217.45 A
FC7663-5R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,217.45 A
FC7663B-2R PCP:BLADE UNIT, ALUM 4H1188-3 1/1/2018 $5,678.40 A
FC7663D-2Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,637.45 A
FC7663D-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,322.45 A
FC7663D-3 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,322.45 A
FC7663D-4R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,322.45 A
FC7663D-4T PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,322.45 A
FC7663D-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,637.45 A
FC7663DB-4T PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,519.85 A
FC7663DR PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,322.45 A
FC7663K-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,678.40 A
FC7663R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,217.45 A
FC7666A PCP:BLADE UNIT, B-3202H-9 CWT 1/1/2018 $4,844.70 A
FC7666A*1 PCP:BLADE UNIT, ALUM B-3202H-6 1/1/2018 $4,844.70 A
FC7666A*2 PCP: BLADE UNIT, B-3202H-4 CWT 1/1/2018 $4,844.70 A
FC7666A-2 PCP:BLADE UNIT, B-3202H-6 CWT 1/1/2018 $4,844.70 A
FC7666A-2*1 PCP:BLADE UNIT, B-3202H-8 CWT 1/1/2018 $4,844.70 A
FC7666A-2*3 PCP:BLADE UNIT, ALUM B-3202H-8 1/1/2018 $4,844.70 A
FC7666A-2R PCP:BLADE UNIT, B-3202H-9 CWT 1/1/2018 $4,844.70 A
FC7666A-4 PCP:BLADE UNIT, B-3202H-6 CWT 1/1/2018 $4,844.70 A
FC7666A-4*1 PCP:BLADE UNIT, B-3202H-4 CWT 1/1/2018 $4,844.70 A
FC7666AB PCP:BLADE UNIT, B3202H-9 CWT 1/1/2018 $5,385.45 A
FC7666C-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,365.50 A
FC7693DF PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $5,451.60 A
FC7693DFB PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,079.50 A
FC7693DFK PCP:BLADE UNIT, ALUM [6,1,1] 1/1/2018 $6,079.50 A
FC7693F+1 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,855.20 A
FC7818K PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,092.00 A
FC7854 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,524.00 A
FC7854K PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,280.70 A
FC8459-8R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,844.70 A
FC8459B-8R PCP:BLADE UNIT, ALUM 4H1895-10 1/1/2018 $5,211.15 A
FC8465-6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,881.45 A
FC8468-6R PCP:BLADE,UNIT, ALUM B-3202H-2 1/1/2018 $4,881.45 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original

Effectivity Date 1/2/2018

Page 3



Hartzell Propeller Inc.

2018 Price List

FC8468-8Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,344.50 A
FC8468-8R PCP:BLADE UNIT, ALUM B-3202H-2 1/1/2018 $4,881.45 A
FC8468-8R*2 PCP:BLADE UNIT, ALUM B-3202H-5 1/1/2018 $4,881.45 A
FC8468-8R*4 PCP:BLADE UNIT, ALUM B-3202H-2 1/1/2018 $4,881.45 A
FC8468A-8R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,881.45 A
FC8468AR PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,881.45 A
FC8468B-6R PCP:BLADE UNIT, ALUM 4H1188-4 1/1/2018 $5,515.65 A
FC8468D-14 PCP:BLADE UNIT B-3202H-2 CWT 1/1/2018 $5,805.45 A
FC8468D-14*1 PCP:BLADE UNIT B-3202H-5 CWT 1/1/2018 $5,813.00 A
FC8475+2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,439.00 A
FC8475-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,335.05 A
FC8475-6 PCP:BLADE UNIT, ALUM B-3202H-4 1/1/2018 $5,335.05 A
FC8475-6*3 PCP:BLADE UNIT, ALUM B-3202H-6 1/1/2018 $5,335.05 A
FC8475A-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,335.05 A
FC8475A-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,335.05 A
FC8475F-6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,352.96 A
FC8477A-4 PCP:BLADE UNIT, ALUM B-3202H-4 1/1/2018 $4,844.70 A
FC8477A-4*1 PCP:BLADE UNIT, ALUM B-3202H-8 1/1/2018 $4,921.35 A
FC8477A-6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,844.70 A
FC9587D-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,653.85 A
FC9587DB-7 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,159.95 A
F17663-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,604.25 A
F17663-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,922.40 A
FJ7663D-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,731.30 A
FIC7451 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,083.00 A
FIC7453 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,580.75 A
FIC7497 PCP:BLADE UNIT, ALUM B-3202H-1 1/1/2018 $5,577.60 A
FIC7663-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,510.40 A
FIC7663-5R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,510.40 A
FIC7663D-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,826.45 A
FIC7663DB-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,202.35 A
FIC7666A PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,468.40 A
FIC7666A-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,468.40 A
FIC7666A-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,468.40 A
FIC7666AB PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,846.40 A
FIC7854 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,543.00 A
FJC8459-8R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,468.40 A
FJC8468-6R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,510.40 A
FJC8468-8R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,510.40 A
FJC8468B-6R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
FJC8468B-8Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,400.80 A
FJC9684-3R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,112.05 A
FL7666A-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,731.30 A
FL7666A-4Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $4,789.05 A
FLC7663DF-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,433.35 A
HE8218*1 PCP:BLADE UNIT, ALUM [3,3,1] 1/1/2018 $6,323.10 A
LE8218*1 PCP:BLADE UNIT, ALUM [3,3,1] 1/1/2018 $6,323.10 A
LM10585ANK+4 PCP:BLADE ASSY, COMPOSITE 1/1/2018 $31,537.00 A
LM11692N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,839.05 A
LM11693N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,839.05 A
LM9990N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,839.05 A
LMV8433N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
LMV9333N-5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,854.80 A
LMV9333N-7Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
LT10282AN+2.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
LT10282ANB+2.5 |PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,592.95 A
LT10282N+4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
LT10282NB+4 PCP: BLADE, 4H1601-5 @ 1.3125" 1/1/2018 $6,709.50 A
LT10282NSB-5.3R  [PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,804.00 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 4



2018 Price List

Hartzell Propeller Inc.

LT10282NSB53R*1 [PCP:BLADE UNIT, ALUM [3,1,1] 1/1/2018 $6,804.00 A
LT10574FNS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,191.85 A
LT10574FNSB*1 PCP:BLADE UNIT, ALUM 4H2598-10 1/1/2018 $6,945.75 A
LT10673N-2Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,860.05 A
LT10673NB PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,444.90 A
LT10673NB-2Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,936.30 A
LT10876ANSB-2Q  |PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,271.25 A
LT10890N PCP:BLADE UNIT, ALUM [1,3,1] 1/1/2018 $6,030.15 A
LT10890N*1 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,030.15 A
LT10891N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,982.90 A
LT10891NK PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,434.40 A
LW8447AN-8Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,599.65 A
M10083 PCP:BLADE ASSY, COMPOSITE 1/1/2018 $23,938.00 A
M10083K PCP:BLADE ASSY, COMPOSITE 1/1/2018 $24,348.00 A
M10282AN+6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,217.05 A
M10476NS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,060.60 A
M10476NSK PCP:BLADE UNIT, ALUM 4H2575-7 1/1/2018 $6,731.55 A
M10476NSK*1 PCP:BLADE UNIT, ALUM 4H2575-10 1/1/2018 $6,731.55 A
M10876ANS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,060.60 A
M10876ANSK PCP:BLADE UNIT, ALUM 4H2595-7 1/1/2018 $6,695.85 A
M10877K PCP:BLADE ASSY, COMPOSITE 1/1/2018 $25,787.00 A
M11276N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,951.40 A
M11276N-3 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,951.40 A
M11276NK PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,306.30 A
M11276NK-3 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,433.35 A
M11276NS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,079.50 A
M11296NS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,928.30 A
M11691NS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,928.30 A
M11691NSK PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,690.60 A
M11692NS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,407.10 A
M9128NSK PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,565.65 A
M9990N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
MV10133N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,368.25 A
MV10133N-11 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,368.25 A
MV10133N-3 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,368.25 A
MV8433N PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $5,742.45 A
MV8433N-10 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
MV8433N-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
MV8433N-2R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
MV8433N-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
MV8433N-6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
MV8433NS-6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,926.20 A
MV8833N-4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
MV9333N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,978.70 A
N7605 PCP:BLADE ASSY, COMPOSITE 1/1/2018 $12,684.00 A
N7605+2 PCP:BLADE ASSY, COMPOSITE 1/1/2018 $13,443.00 A
N7605B PCP:BLADE ASSY, COMP. [3,1,1] 1/1/2018 $12,864.00 A
N7605C PCP:BLADE ASSY, COMPOSITE 1/1/2018 $12,684.00 A
N7605C*1 PCP:BLADE ASSY, COMP [13,18,5] 1/1/2018 $12,684.00 A
N7605C*2 PCP:BLADE ASSY, COMP.[3,20,1] 1/1/2018 $12,684.00 A
N7605C*3 PCP:BLADE ASSY, COMP.[3,24,1] 1/1/2018 $12,684.00 A
N7605CB PCP:BLADE ASSY, COMPOSITE 1/1/2018 $12,864.00 A
N7605CB*1 PCP:BLADE ASSY, COMP [13,18,5] 1/1/2018 $12,864.00 A
N7605CB*2 PCP:BLADE ASSY, COM [3,24,1] 1/1/2018 $12,864.00 A
N7605CB-2 PCP:BLADE ASSY, COMPOSITE 1/1/2018 $13,624.00 A
N7605K+2 PCP:BLADE ASSY, COMP. [3,1,1] 1/1/2018 $14,810.00 A
NC10245B PCP:BLADE ASSY, COMPOSITE 1/1/2018 $19,854.00 A
NC10245B*1 PCP:BLADE ASSY, COMPOSITE 1/1/2018 $19,854.00 A
NC8834K PCP:BLADE ASSY,COMP. [3,1,15] 1/1/2018 $16,285.00 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 5



Hartzell Propeller Inc.
2018 Price List

NC8834K*1 PCP:BLADE ASSY,COMP. [3,24,11] 1/1/2018 $16,285.00 A
NC8834K*2 PCP:BLADE ASSY, DO NOT SELL 1/1/2018 $16,285.00 A
NC9208K(SO) PCP:BLADE ASSY, COMP, SHIP-OUT 1/1/2018 $14,532.00 A
NG8301 PCP:BLADE ASSY, COMPOSITE 1/1/2018 $5,665.000 A
R10152N-5.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A
T10173AN-12.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10173AN-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,233.20 A
T10173ANB-12.5 |PCP:BLADE UNIT, ALUM 4H1188-5 1/1/2018 $5,637.45 A
T10173ANB-6Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,763.45 A
T10173ANK-12.5 |PCP:BLADE UNIT, ALUM 4H2200-10 1/1/2018 $5,575.50 A
T10173CN+1 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
T10173CN-8 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
T10173CNK-8 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,429.15 A
T10173FN-10.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10173FN-11R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10173FN-12.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10173FNB-10.5 PCP:BLADE UNIT, ALUM 4H1188-5 1/1/2018 $5,637.45 A
T10173FNB-12.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,637.45 A
T10173FNK-10.5 PCP:BLADE UNIT, ALUM 4H2200-10 1/1/2018 $5,663.70 A
T10173N+1 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10173N-11R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $5,110.35 A
T10173N-13Q PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,233.20 A
T10173N-15 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10173N-18 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $5,110.35 A
T10173N-3 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10173N-8 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $5,110.35 A
T10173NB-13Q BLADE UNIT, ALUMINUM 1/1/2018 $5,611.20 A
T10173NB-8 PCP:BLADE UNIT, ALUM, 4H1188-5 1/1/2018 $5,637.45 A
T10173NK-8 PCP:BLADE UNIT, ALUM 4H2200-10 1/1/2018 $5,663.70 A
T10178CN PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
T10178CNR PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
T10178N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10178N-11 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10178N-11R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,110.35 A
T10178N-3R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $5,110.35 A
T10178N-3R*1 PCP:BLADE UNIT, ALUM [3,0,0] 1/1/2018 $5,110.35 A
T10178N-8R PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $5,110.35 A
T10178NB-11 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,615.40 A
T10178NB-11R PCP:BLADE UNIT, ALUM, 4H1188-5 1/1/2018 $5,615.40 A
T10178NB-3R PCP:BLADE UNIT, ALUM, 4H1188-5 1/1/2018 $5,615.40 A
T10178NB-8R PCP:BLADE UNIT, ALUM 4H1188-6 1/1/2018 $5,615.40 A
T10178NK-3R PCP:BLADE UNIT, ALUM 4H2200-10 1/1/2018 $5,687.85 A
T10178NSB-11R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,814.90 A
T10282DNB-4R PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,458.55 A
T10282N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
T10282N*1 PCP:BLADE UNIT, ALUM [3,1,1] 1/1/2018 $6,030.15 A
T10282N+4 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,030.15 A
T10282N+6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
T10282NB PCP:BLADE UNIT, ALUM 4H1188-6 1/1/2018 $6,450.15 A
T10282NB*1 T10282N, 4H1188-5 BOOT [3,3,1] 1/1/2018 $6,450.15 A
T10282NB*2 PCP:BLADE UNIT, ALUM 4H1188-5 1/1/2018 $6,450.15 A
T10282NRB PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,450.15 A
T10282NS+4 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,091.05 A
T10702N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,526.00 A
T10702NS PCP:BLADE UNIT, ALUMINUM 1/1/2018 $7,912.00 A
T10890CN-2 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,030.15 A
T10890CNK-2 PCP:BLADE UNIT, ALUM 4H2560-10 1/1/2018 $6,514.20 A
T9212N-2 PCP:BLADE UNIT, ALUM [1,1,1] 1/1/2018 $6,030.15 A
T9212NB PCP:BLADE UNIT, ALUMINUM 1/1/2018 $6,462.75 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 6



Hartzell Propeller Inc.

2018 Price List

T9212NK-2 PCP:BLADE UNIT, ALUM 4H2200-10 1/1/2018 $6,344.10 A
W8847N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,524.05 A
W9349N PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,637.45 A
W9349N+.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,637.45 A
W9349N-6.5 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,637.45 A
W9350CN-4.6 PCP:BLADE UNIT, ALUMINUM 1/1/2018 $5,742.45 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 7



Hartzell Propeller Inc.
2018 Price List

101896 SLIP RING ASSEMBLY 1/1/2018 $2,552.00 B

102155 BOOT, ANTI-ICE - MOLDING 1/1/2018 $108.00 C Y
102196 DE-ICE BOOT 1/1/2018 $387.00 C Y
102197 DE-ICE BOOT 1/1/2018 $502.00 C Y
102292 WIRE HARNESS, SLIP RING 1/1/2018 $102.00 B Y
102293 WIRE HARNESS, SLIP RING 1/1/2018 $113.00 B Y
102338 DE-ICE BOOT 1/1/2018 $479.00 C Y
102352 DE-ICE BOOT 1/1/2018 $517.00 C Y
102451 WIRE HARNESS, SLIP RING 1/1/2018 $115.00 B Y
102643 DE-ICE BOOT 1/1/2018 $443.00 C Y
102657 DE-ICE BOOT 1/1/2018 $443.00 C Y
102746 DE-ICE BOOT 1/1/2018 $443.00 C Y
102811 DE-ICE BOOT 1/1/2018 $374.00 C Y
102855 DE-ICE BOOT 1/1/2018 $443.00 C Y
102878 DE-ICE BOOT 1/1/2018 $382.00 C Y
102900 WIRE HARNESS, DE-ICE 1/1/2018 $113.00 B Y
102972 DE-ICE BOOT 1/1/2018 $443.00 C Y
103020 DE-ICE BOOT 1/1/2018 $470.00 C Y
103258 DE-ICE BOOT 1/1/2018 $374.00 C Y
103309 PMA: DE-ICE BOOT 1/1/2018 $392.00 C Y
103310 PMA: DE-ICE BOOT 1/1/2018 $462.00 C Y
103311 PMA: DE-ICE BOOT 1/1/2018 $490.00 C Y
103312 PMA: DE-ICE BOOT 1/1/2018 $392.00 C Y
103350 PMA: DE-ICE BOOT 1/1/2018 $392.00 C Y
103351 PMA: DE-ICE BOOT 1/1/2018 $375.00 C Y
103352 PMA: DE-ICE BOOT 1/1/2018 $382.00 C Y
103353 PMA: DE-ICE BOOT 1/1/2018 $501.00 C Y
103356 PMA: DE-ICE BOOT 1/1/2018 $392.00 C Y
103357 PMA: DE-ICE BOOT 1/1/2018 $375.00 C Y
103359 PMA: DE-ICE BOOT 1/1/2018 $374.00 C Y
103503 DE-ICE BOOT 1/1/2018 $443.00 C Y
103505 DE-ICE BOOT 1/1/2018 $480.00 C Y
103600 WIRE HARNESS 1/1/2018 $113.00 B Y
103601 DE-ICE BOOT 1/1/2018 $479.00 C Y
103680 DE-ICE BOOT 1/1/2018 $374.00 C Y
103761 PMA: WIRE HARNESS 1/1/2018 $116.00 B Y
103762 WIRE HARNESS - KIT 1/1/2018 $115.00 B Y
103763 PMA: WIRE HARNESS 1/1/2018 $222.00 B Y
103764 PMA: WIRE HARNESS 1/1/2018 $120.00 B Y
103765 PMA: WIRE HARNESS 1/1/2018 $115.00 B Y
103766 PMA: WIRE HARNESS 1/1/2018 $115.00 C Y
103767 PMA: WIRE HARNESS 1/1/2018 $107.00 B Y
103771 DE-ICE BOOT 1/1/2018 $479.00 C Y
103823 SLIP RING ASSEMBLY 1/1/2018 $2,688.00 B

103880 DE-ICE BOOT 1/1/2018 $557.00 C Y
103957 WIRE HARNESS 1/1/2018 $115.00 B Y
104112 DE-ICE BOOT 1/1/2018 $443.00 C

104249 SLIP RING ASSEMBLY 1/1/2018 $6,125.00 B

104281 PMA: DE-ICE BOOT 1/1/2018 $443.00 C Y
104282 PMA: DE-ICE BOOT 1/1/2018 $443.00 C Y
104283 PMA: DE-ICE BOOT 1/1/2018 $443.00 C Y
104284 PMA: DE-ICE BOOT 1/1/2018 $427.00 C Y
104285 PMA: DE-ICE BOOT 1/1/2018 $443.00 C Y
104286 DE-ICE BOOT 1/1/2018 $423.00 C Y
104335 WIRE HARNESS 1/1/2018 $115.00 A Y
104472 SLIP RING ASSEMBLY 1/1/2018 $4,130.00 B

104510 DE-ICE BOOT 1/1/2018 $479.00 C Y
104729 DE-ICE BOOT 1/1/2018 $443.00 C Y
104892 SLIP RING ASSEMBLY 1/1/2018 $3,616.00 B

Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 8



Hartzell Propeller Inc.
2018 Price List

105043 SLIP RING ASSEMBLY 1/1/2018 $4,135.00 B

105066 WIRE HARNESS 1/1/2018 $128.00 B

105235 WIRE HARNESS 1/1/2018 $122.00 B Y
105327 DE-ICE BOOT 1/1/2018 $443.00 C

105503 DE-ICE BOOT 1/1/2018 $382.00 C

105555 WIRE HARNESS 1/1/2018 $118.00 B Y
105622 DE-ICE BOOT 1/1/2018 $674.00 C Y
105623 WIRE HARNESS 1/1/2018 $159.00 B

105925 SLIP RING ASSEMBLY 1/1/2018 $3,032.00 B

106129 WIRE HARNESS 1/1/2018 $118.00 B Y
106167 DE-ICE BOOT 1/1/2018 $382.00 C

106278 WIRE HARNESS 1/1/2018 $118.00 B Y
106409 WIRE HARNESS, DE-ICE 1/1/2018 $113.00 B Y
106419 SLIP RING ASSEMBLY 1/1/2018 $2,688.00 B

106453 DE-ICE BOOT 1/1/2018 $479.00 C Y
106556 SLIP RING ASSEMBLY 1/1/2018 $2,492.00 B

106575 WIRE HARNESS 1/1/2018 $118.00 B Y
106613 SLIP RING ASSEMBLY 1/1/2018 $3,044.00 B

106830 DE-ICE BOOT 1/1/2018 $443.00 C Y
2H1703-4 WIRE HARNESS, MOV UNIT 1/1/2018 $122.00 B Y
3H1452 WIRE HARNESS, SLIP RING 1/1/2018 $112.75 B Y
3H2017-10 WIRE HARNESS 1/1/2018 $122.00 B Y
3H2017-4 WIRE HARNESS 1/1/2018 $122.00 B Y
3H2017-8 WIRE HARNESS 1/1/2018 $159.00 B Y
3H2017-9 WIRE HARNESS 1/1/2018 $115.00 C

3H2035 WIRE HARNESS, SLIP RING 1/1/2018 $90.00 B Y
3H2050 WIRE HARNESS - KIT 1/1/2018 $100.00 B Y
3H2050-2 WIRE HARNESS - KIT 1/1/2018 $100.00 B Y
3H2092-1 PMA: WIRE HARNESS 1/1/2018 $115.00 B Y
3H2092-2 WIRE HARNESS 1/1/2018 $115.00 B Y
3H2092-3 WIRE HARNESS 1/1/2018 $115.00 B Y
3H2092-5 PMA: WIRE HARNESS 1/1/2018 $115.00 B Y
3H2092-6 WIRE HARNESS 1/1/2018 $115.00 B Y
3H2113 WIRE HARNESS, SLIP RING 1/1/2018 $115.00 B Y
3H2182 WIRE HARNESS, SLIP RING 1/1/2018 $117.88 B Y
3H2292-2 WIRE HARNESS, SLIP RING 1/1/2018 $133.00 B Y
3H2356-1 WIRE HARNESS, SLIP RING 1/1/2018 $117.30 B Y
3H2360-4 WIRE HARNESS 1/1/2018 $118.00 B Y
3H2360-5 WIRE HARNESS 1/1/2018 $118.00 B Y
3H2370-4 WIRE HARNESS - KIT 1/1/2018 $120.36 B Y
3H2383-4 WIRE HARNESS 1/1/2018 $118.00 B Y
3H2383-7 WIRE HARNESS 1/1/2018 $118.00 B Y
3H2493-1 WIRE HARNESS 1/1/2018 $149.00 B Y
3H2507-1 WIRE HARNESS 1/1/2018 $118.00 B Y
3H2526-1 WIRE HARNESS 1/1/2018 $122.00 B Y
3H2526-2 WIRE HARNESS 1/1/2018 $122.00 B Y
3H3158-2 WIRE HARNESS, SLIP RING 1/1/2018 $105.00 B Y
4H1188-11 DE-ICE BOOT 1/1/2018 $374.00 C Y
4H1188-14 DE-ICE BOOT 1/1/2018 $374.00 C Y
4H1188-2 PMA: DE-ICE BOOT 1/1/2018 $381.48 C Y
4H1188-3 DE-ICE BOOT 1/1/2018 $381.48 C Y
4H1188-4 DE-ICE BOOT 1/1/2018 $381.48 C Y
4H1188-5 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1188-6 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1188-7 DE-ICE BOOT 1/1/2018 $381.48 C Y
4H1214-10 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1214-2 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1214-3 PMA: DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1214-7 DE-ICE BOOT 1/1/2018 $374.00 C Y

Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 9



2018 Price List

Hartzell Propeller Inc.

4H1526-1 SLIP RING ASSEMBLY 1/1/2018 $2,970.24 B
4H1526-4 SLIP RING ASSEMBLY 1/1/2018 $2,970.24 B
4H1555-1 SLIP RING ASSEMBLY 1/1/2018 $2,839.68 B
4H1555-2 SLIP RING ASSEMBLY 1/1/2018 $2,839.68 B
4H1555-3 SLIP RING ASSEMBLY 1/1/2018 $2,839.68 B
4H1601-10 DE-ICE BOOT 1/1/2018 $389.64 C Y
4H1601-14 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1601-3 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1601-4 DE-ICE BOOT 1/1/2018 $374.00 C Y
4H1601-5 DE-ICE BOOT 1/1/2018 $381.48 C Y
4H1601-7 DE-ICE BOOT 1/1/2018 $381.48 C Y
4H1865-2 SLIP RING ASSEMBLY 1/1/2018 $2,936.58 B
4H1889-10 WIRE HARNESS 1/1/2018 $115.00 B Y
4H1889-2 WIRE HARNESS 1/1/2018 $115.00 B Y
4H1889-3 WIRE HARNESS 1/1/2018 $115.00 B Y
4H1889-4 WIRE HARNESS 1/1/2018 $115.00 B Y
4H1889-9 WIRE HARNESS 1/1/2018 $115.00 B Y
4H1895-10 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1895-2 DE-ICE BOOT 1/1/2018 $381.48 C Y
4H1895-7 DE-ICE BOOT 1/1/2018 $391.55 C Y
4H1924-1 SLIP RING ASSEMBLY 1/1/2018 $2,747.88 B
4H1924-3 SLIP RING ASSEMBLY 1/1/2018 $2,747.88 B
4H1933-7 SLIP RING ASSEMBLY 1/1/2018 $4,226.00 B
4H1964-2 SLIP RING ASSEMBLY 1/1/2018 $3,036.54 B
4H1964-3 SLIP RING ASSEMBLY 1/1/2018 $3,036.54 B
4H1964-4 SLIP RING ASSEMBLY 1/1/2018 $2,933.52 B
4H1967-1 WIRE HARNESS - KIT 1/1/2018 $118.00 B Y
4H1967-3 WIRE HARNESS - KIT 1/1/2018 $118.00 B Y
4H1967-4 WIRE HARNESS - KIT 1/1/2018 $118.00 B Y
4H1988-1 SLIP RING ASSEMBLY 1/1/2018 $3,227.28 B
4H2071-2 PMA: WIRE HARNESS 1/1/2018 $152.00 B Y
4H2200-10 DE-ICE BOOT 1/1/2018 $443.00 C Y
4H2200-2 DE-ICE BOOT 1/1/2018 $451.86 C Y
4H2200-21 DE-ICE BOOT 1/1/2018 $443.00 C Y
4H2200-3 DE-ICE BOOT 1/1/2018 $451.86 C Y
4H2200-4 PMA: DE-ICE BOOT 1/1/2018 $451.86 C Y
4H2235-3 WIRE HARNESS - KIT 1/1/2018 $118.00 B Y
4H2267-1 SLIP RING ASSEMBLY 1/1/2018 $3,031.00 B
4H2267-2 SLIP RING ASSEMBLY 1/1/2018 $3,031.00 B
4H2271-10 DE-ICE BOOT 1/1/2018 $427.00 C Y
4H2271-12 DE-ICE BOOT 1/1/2018 $443.00 C Y
4H2271-14 DE-ICE BOOT 1/1/2018 $443.00 C Y
4H2271-15 DE-ICE BOOT 1/1/2018 $443.00 C Y
4H2292-10 DE-ICE BOOT 1/1/2018 $443.00 C Y
4H2303-10 DE-ICE BOOT 1/1/2018 $443.00 C Y
4H2336-12 DE-ICE BOOT 1/1/2018 $451.86 C Y
4H2350-1 SLIP RING ASSEMBLY 1/1/2018 $2,693.82 B
4H2351-3 DE-ICE BOOT 1/1/2018 $451.86 C Y
4H2369-1 WIRE HARNESS 1/1/2018 $122.00 B Y
4H2369-4 WIRE HARNESS 1/1/2018 $122.00 B Y
4H2369-5 WIRE HARNESS 1/1/2018 $122.00 B Y
4H2369-6 WIRE HARNESS 1/1/2018 $122.00 B Y
4H2377-1 SLIP RING ASSEMBLY 1/1/2018 $2,680.56 B
4H2422 SLIP RING ASSEMBLY 1/1/2018 $2,825.40 B
4H2442-1 SLIP RING ASSEMBLY 1/1/2018 $2,550.00 B
4H2444-1 SLIP RING ASSEMBLY 1/1/2018 $2,741.76 B
4H2448-1 SLIP RING ASSEMBLY 1/1/2018 $3,092.64 B
4H2459-2 SLIP RING ASSEMBLY 1/1/2018 $1,872.00 B
4H2511 SLIP RING ASSEMBLY 1/1/2018 $2,833.56 B

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 10



Hartzell Propeller Inc.

2018 Price List

4H2551-1 SLIP RING ASSEMBLY 1/1/2018 $2,603.04 B

4H2560-10 DE-ICE BOOT 1/1/2018 $479.00 C Y

4H2575-10 DE-ICE BOOT 1/1/2018 $479.00 C Y

4H2575-7 DE-ICE BOOT 1/1/2018 $479.00 C Y

4H2595-10 DE-ICE BOOT 1/1/2018 $443.00 C Y

4H2595-7 DE-ICE BOOT 1/1/2018 $443.00 C Y

4H2598-10 DE-ICE BOOT 1/1/2018 $557.00 C Y

4H2635-10 DE-ICE BOOT 1/1/2018 $557.00 C Y

4H2661-1 SLIP RING ASSEMBLY 1/1/2018 $2,541.84 B

4H2661-4 SLIP RING ASSEMBLY 1/1/2018 $1,918.80 B

4H2662-1 SLIP RING ASSEMBLY 1/1/2018 $3,032.00 B

4H2674-1 SLIP RING ASSEMBLY 1/1/2018 $2,826.42 B

4H2674-2 SLIP RING ASSEMBLY 1/1/2018 $2,826.42 B

4H2714-1 SLIP RING ASSEMBLY 1/1/2018 $2,365.38 B

4H2811-2 SLIP RING ASSEMBLY 1/1/2018 $5,650.00 B

4H2824-10 DE-ICE BOOT 1/1/2018 $451.86 C Y

4H2839-1 DE-ICE BOOT 1/1/2018 $695.00 C Y

4H2863 SLIP RING ASSEMBLY 1/1/2018 $3,387.42 B

4H2890-07 DE-ICE BOOT 1/1/2018 $752.00 C Y

4H3000-1 SLIP RING ASSEMBLY 1/1/2018 $4,668.00 B

4H3008-1 SLIP RING ASSEMBLY 1/1/2018 $4,626.00 B

4H3017-1 DE-ICE BOOT 1/1/2018 $695.00 C Y

4H3035-10 DE-ICE BOOT 1/1/2018 $451.86 C Y

4H3048-10 DE-ICE BOOT 1/1/2018 $443.00 C Y

4H3055-1 DE-ICE BOOT 1/1/2018 $529.38 C Y

4H3060-1 SLIP RING ASSEMBLY 1/1/2018 $6,125.00 B

4H3062-1 SLIP RING ASSEMBLY 1/1/2018 $4,056.00 B

4H3064-1 DE-ICE BOOT 1/1/2018 $447.43 C Y

4H3094-1 SLIP RING ASSEMBLY 1/1/2018 $3,148.74 B

4H3099-1 SLIP RING ASSEMBLY 1/1/2018 $3,087.00 B

4H3101-1 DE-ICE BOOT 1/1/2018 $390.66 C Y

4H3101-7 DE-ICE BOOT 1/1/2018 $390.66 C Y

4H3400-1 DE-ICE BOOT 1/1/2018 $695.00 C Y

4H3422-1 SLIP RING ASSEMBLY 1/1/2018 $3,032.00 B

4H3462-1 DE-ICE BOOT 1/1/2018 $390.66 C Y

4H3997-1 DE-ICE BOOT 1/1/2018 $399.75 C Y

4H4015-1 SLIP RING ASSEMBLY 1/1/2018 $2,765.22 B

4H4069-1 SLIP RING ASSEMBLY 1/1/2018 $6,125.00 B

4H4072-1 DE-ICE BOOT 1/1/2018 $489.60 C Y

5H2429-1 DE-ICE BOOT 1/1/2018 $902.00 C Y

7931-4E2661-1 SLIP RING ASSEMBLY 1/1/2018 $2,492.00 B

A-5635-1 SLIP RING ASSEMBLY 1/1/2018 $7,860.00 B Y

B-6442 DE-ICE BOOT 1/1/2018 $746.64 C Y Y

B-6444 WIRE HARNESS, DE-ICE 1/1/2018 $158.00 B Y Y

C-2131 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-1 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-10 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-11 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-12 BOOT, ANTI-ICING 1/1/2018 $195.00 C Y

C-2131-13 BOOT, ANTI-ICING 1/1/2018 $195.00 C Y

C-2131-14 BOOT, ANTI-ICING 1/1/2018 $195.00 C Y

C-2131-2 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-3 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-3L BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-4 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-5 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-6 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-7 BOOT, ANTI-ICING 1/1/2018 $195.00 C y

C-2131-8 BOOT, ANTI-ICING 1/1/2018 $195.00 C y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 11



Hartzell Propeller Inc.

2018 Price List

C-2131-9 BOOT, ANTI-ICING 1/1/2018 $195.00 C y
H6975-11 DE-ICE BOOT 1/1/2018 $389.64 C Y
H6976-11 WIRE HARNESS 1/1/2018 $103.00 B Y
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 12



Hartzell Propeller Inc.

2018 Price List

A-5659-1 GOVERNOR 1/1/2018 $54,601.00 A Y Y
E2-5 GOVERNOR ASSEMBLY, E-2-( ) 1/1/2018 $5,471.45 A Y
E3-2 GOVERNOR ASSEMBLY, E-3-( ) 1/1/2018 $5,624.18 A Y
E3-2L GOVERNOR ASSEMBLY, E-3-( ) 1/1/2018 $5,624.18 A Y
E3-7 GOVERNOR ASSEMBLY, E-3-( ) 1/1/2018 $5,929.63 A Y
E3-7L GOVERNOR ASSEMBLY, E-3-( ) 1/1/2018 $5,929.63 A Y
E3-9 GOVERNOR ASSEMBLY, E-3-() 1/1/2018 $5,929.63 A Y
E3-9L GOVERNOR ASSEMBLY, E-3-() 1/1/2018 $5,929.63 A Y
E6-2 GOVERNOR ASSEMBLY, E-6-( ) 1/1/2018 $5,471.45 A Y
E8-7L GOVERNOR ASSEMBLY, E-8 (L)-() 1/1/2018 $7,198.58 A Y
E8-8L GOVERNOR ASSEMBLY, E-8 (L)-( ) 1/1/2018 $7,198.58 A Y
E8-9L GOVERNOR ASSEMBLY, E-8 (L)-( ) 1/1/2018 $7,198.58 A Y
E8-L GOVERNOR ASSEMBLY, E-8 (L)-() 1/1/2018 $7,198.58 A Y
F2-7A GOVERNOR ASSEMBLY, F-2-() 1/1/2018 $7,198.58 A Y
F3-1A GOVERNOR ASSEMBLY, F-3-() 1/1/2018 $6,491.33 A Y
F4-11 GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,267.88 A Y
F4-11A GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,286.33 A Y
F4-117 GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,768.08 A Y
F4-1D GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,491.33 A Y
F4-21 GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,267.88 A Y
F4-237 GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $7,015.10 A Y
F4-26 GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,267.88 A Y
F-4-36 GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,267.88 A Y
F4-3A GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,267.88 A Y
F4-4A GOVERNOR ASSEMBLY, F-4-() 1/1/2018 $6,267.88 A Y
F6-11A GOVERNOR ASSEMBLY, F-6-() 1/1/2018 $7,015.10 A Y
F6-24 GOVERNOR ASSEMBLY, F-6-() 1/1/2018 $7,015.10 A Y
F6-24LZ GOVERNOR ASSEMBLY, F-6-() 1/1/2018 $7,198.58 A Y
F6-247 GOVERNOR ASSEMBLY, F-6-() 1/1/2018 $7,198.58 A Y
F6-39 GOVERNOR ASSEMBLY, F-6-( ) 1/1/2018 $7,015.10 A Y
F6-43 GOVERNOR ASSEMBLY, F-6-( ) 1/1/2018 $7,015.10 A Y
F6-4A GOVERNOR ASSEMBLY, F-6-() 1/1/2018 $6,612.28 A Y
F6-56 GOVERNOR ASSEMBLY, F-6-( ) 1/1/2018 $6,612.28 A Y
F6-587 GOVERNOR ASSEMBLY, F-6-( ) 1/1/2018 $7,198.58 A Y
F6-59 GOVERNOR ASSEMBLY, F-6-() 1/1/2018 $7,015.10 A Y
F6-66 GOVERNOR ASSEMBLY, F-6-( ) 1/1/2018 $7,015.10 A Y
S-1-10 GOVERNOR ASSEMBLY, S-1-10 1/1/2018 $4,437.23 A Y
S-1-32 GOVERNOR ASSEMBLY, S-1-32 1/1/2018 $4,434.15 A Y
S-1-36 GOVERNOR ASSEMBLY, S-1-36 1/1/2018 $4,734.48 A Y
S-1-44F GOVERNOR ASSEMBLY, S-1-( )F 1/1/2018 $3,896.03 A Y
S-1-47 GOVERNOR ASSEMBLY, S-1-47 1/1/2018 $4,739.60 A Y
S-1-6 GOVERNOR ASSEMBLY, S-1-6 1/1/2018 $4,794.95 A Y
S-1-79 GOVERNOR ASSEMBLY, S-1-79 1/1/2018 $4,434.15 A Y
U3-15 GOVERNOR ASSEMBLY, U-3-() 1/1/2018 $7,015.10 A Y
U3-15L GOVERNOR ASSEMBLY, U-3-() 1/1/2018 $7,015.10 A Y
U3-8 GOVERNOR ASSEMBLY, U-(3,8)-() 1/1/2018 $7,481.48 A Y
V11-1 GOVERNOR ASSEMBLY, V-11-() 1/1/2018 $5,660.05 A Y
V1-4 GOVERNOR ASSEMBLY, V-(1,2)-() 1/1/2018 $5,818.93 A Y
V3 GOVERNOR ASSEMBLY, V-3-() 1/1/2018 $5,496.05 A Y
V-3-21 GOVERNOR ASSEMBLY, V-3-( ) 1/1/2018 $5,573.95 A
V3-3 GOVERNOR ASSEMBLY, V-3-() 1/1/2018 $5,532.95 A Y
V3-6 GOVERNOR ASSEMBLY, V-3-() 1/1/2018 $5,496.05 A Y
V4-3 GOVERNOR ASSEMBLY, V-4-( ) 1/1/2018 $5,722.58 A Y
V-5-10L GOVERNOR ASSEMBLY, V-5-() 1/1/2018 $5,658.00 A Y
V5-2 GOVERNOR ASSEMBLY, V-5-( ) 1/1/2018 $5,532.95 A Y
V5-4 GOVERNOR ASSEMBLY, V-5-( ) 1/1/2018 $5,532.95 A Y
V5-6 GOVERNOR ASSEMBLY, V-5-() 1/1/2018 $5,532.95 A Y
V5-7L GOVERNOR ASSEMBLY, V-5-( ) 1/1/2018 $5,624.18 A Y
V5-8 GOVERNOR ASSEMBLY, V-5-() 1/1/2018 $5,532.95 A Y
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 13



Hartzell Propeller Inc.
2018 Price List

V-5-9 GOVERNOR ASSEMBLY, V-5-() 1/1/2018| $5,532.95 A Y
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 14



Hartzell Propeller Inc.

2018 Price List

7998-115N OWNERS MAN. (COMPACT, AL. BLD) 1/1/2018 $80.00 A Y
7998-129 PROPELLER LOGBOOK 1/1/2018 $40.00 A Y
7998-139 SERVICE MANUAL-LOGBOOK 139 1/1/2018 $75.00 A Y
7998-140 OWNERS MAN./HYDRO-SELECTIVE 1/1/2018 $122.00 A Y
7998-145 OWNERS MAN.(COMPACT,COMP.BLD) 1/1/2018 $122.00 A Y
7998-146 146 () OWNER'S MAN. & LOGBOOK 1/1/2018 $122.00 A Y
7998-147 HC-E__- OWNER'S MAN. & LOGBOOK 1/1/2018 $122.00 A Y
7998-149 OWNERS MAN. & LOGBOOK HC-D4() 1/1/2018 $98.00 A Y
7998-154 OWNERS MAN. & LOGBOOK HC-A6A-3 1/1/2018 $120.00 A Y
7998-163A LOG BOOK DUAL ACTING HD-E6C-3 1/1/2018 $461.00 A Y
7998-167 167 () OWNER'S MAN. & LOGBOOK 1/1/2018 $124.00 A Y
7998-168 OWNERS MAN. ( )HC-A(2,3)(MV,V) 1/1/2018 $144.00 A Y
7998-169 OWNERS MAN. (B)HC-9(2,3) 1/1/2018 $139.00 A Y
7998-173 COMPOSITE SPINNER FIELD MAINT. 1/1/2018 $62.00 A Y
7998-174 OWNER MAN. HC-A2(MV,V,X)20-4A1 1/1/2018 $62.00 A Y
7998-300 PROP OWNERS MANUAL, HOVERCRAFT 1/1/2018 $98.00 A Y
7998-340 OWNERS MAN & LOGBOOK (WIG) 1/1/2018 $98.00 A Y
7998-350 OWNERS MAN & LOGBOOK (WIG) 1/1/2018 $96.00 A Y
7998-411 OWNERS MAN. (BANTAM SERIES) 1/1/2018 $120.00 A Y
7998-480 RAPTOR RECIP OWNER'S MANUAL 1/1/2018 $836.40 A Y
7998-486 RAPTOR OWNER'S MAN. & LOGBOOK 1/1/2018 $122.00 A Y
7998-496 RAPTOR OVERHAUL MAN. 1/1/2018 $120.00 A
7998-500 OWNERS MAN. ALM FIX PITCH PROP 1/1/2018 $98.40 A Y
7998-CDROM TECHNICAL DOCUMENTS LIBRARY 1/1/2018 $3,500.00 A
7998-DACDROM DUAL ACTING CDROM 1/1/2018 $2,000.00 A Y

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 15



Hartzell Propeller Inc.

2018 Price List

106298-0OH DE-ICE O/H KIT, 4H2271-12 BOOT 1/1/2018 $2,496.32 D
65-090-1-OH DE-ICE O/H KIT, 4H1188-3 BOOT 1/1/2018 $2,157.39 D
65-090-1-OH*1 DE-ICE O/H KIT, 4H1188-5 BOOT 1/1/2018 $2,187.60 D
65-090-1-OH*2 DE-ICE O/H KIT, 4H1188-3 BOOT 1/1/2018 $1,644.69 D
65-090-1-OH*3 DE-ICE O/H KIT, 4H1188-5 BOOT 1/1/2018 $1,674.90 D
65-165-1-OH DE-ICE O/H KIT, 4H1188-7 BOOT 1/1/2018 $2,331.32 D
65-470-3-OH DE-ICE O/H KIT, 4H2598-10 BOOT 1/1/2018 $3,270.80 D
67-050-1-OH DE-ICE O/H KIT, 4H2200-10 BOOT 1/1/2018 $1,836.57 D
67-060-4AL-OH DE-ICE O/H KIT, 4H2575-10 BOOT 1/1/2018 $2,595.48 D
67-340-5-OH DE-ICE O/H KIT, 4H2560-10 BOOT 1/1/2018 $2,567.08 D
67-450-1-OH DE-ICE O/H KIT, 4H2271-12 BOOT 1/1/2018 $2,032.92 D
67-625-1-OH DE-ICE O/H KIT, 4H2595-7 BOOT 1/1/2018 $3,114.94 D
67-680-5-OH DE-ICE O/H KIT, 4H3017-1 BOOT 1/1/2018 $3,410.52 D
67-680-6-OH DE-ICE O/H KIT, 4H3400-1 BOOT 1/1/2018 $3,410.52 D
A-224-4-OH O/H KIT 1/1/2018 $338.80 A
A-2799 OVERHAUL KIT,F SERIES GOVERNOR 1/1/2018 $113.77 A
BHC-92WF-3LG-OH [O/H KIT 1/1/2018 $4,345.77 A
BHC-A2MVF-1A-OH [O/H KIT 1/1/2018 $2,020.49 A
BHC-C2YF-1BF-OH [O/H KIT 1/1/2018 $470.37 A
BHC-C2YF-2CHUF [O/H KIT 1/1/2018 $604.25 A
BHC-C2YF-2CKUF  [O/H KIT 1/1/2018 $604.25 A
BHC-C2YF-2CLKUF [O/H KIT 1/1/2018 $604.25 A
BHC-G2YF-1BF-OH [O/H KIT 1/1/2018 $470.37 A
BHC-L2YF-1BF-OH [O/H KIT 1/1/2018 $714.51 A
EHC-G3YF-2UF-OH [O/H KIT 1/1/2018 $757.07 A
HC-92WK-2B-OH  [O/H KIT 1/1/2018 $2,797.10 A
HC-92WK-8L-OH O/H KIT 1/1/2018 $2,713.71 A
HC-A2MV20-1A-OH [O/H KIT 1/1/2018 $1,428.49 A
HC-A2MV20-4A1 [O/H KIT 1/1/2018 $1,607.67 A
HC-A2MV20-5L-OH [O/H KIT 1/1/2018 $1,693.56 A
HC-A2MVF-1A-OH [O/H KIT 1/1/2018 $1,813.75 A
HC-A2MVF-2-OH  [O/H KIT 1/1/2018 $1,617.70 A
HC-A2MVK-1-OH  [O/H KIT 1/1/2018 $1,754.89 A
HC-A2MVK-2-OH  [O/H KIT 1/1/2018 $1,726.48 A
HC-A2MVL-1-OH O/H KIT 1/1/2018 $1,935.40 A
HC-A2MVL-2-OH O/H KIT 1/1/2018 $2,376.41 A
HC-A3MV20-1D-OH[O/H KIT 1/1/2018 $2,096.85 A
HC-A3MV20-1F-OH [O/H KIT 1/1/2018 $2,096.85 A
HC-A3MV20-2L-OH [O/H KIT 1/1/2018 $1,575.87 A
HC-A3MV20-2-OH [O/H KIT 1/1/2018 $1,837.17 A
HC-A3MV20-3L-OH [O/H KIT 1/1/2018 $3,203.86 A
HC-A3MVF-2A-OH [O/H KIT 1/1/2018 $2,416.21 A
HC-A3MVF-2D-OH [O/H KIT 1/1/2018 $2,529.91 A
HC-A3MVF-2-OH  [O/H KIT 1/1/2018 $2,416.21 A
HC-A3MVF-3L-OH [O/H KIT 1/1/2018 $4,736.44 A
HC-A3MVF-5AL-OH [O/H KIT 1/1/2018 $3,020.23 A
HC-A3MVF-7B-OH [O/H KIT 1/1/2018 $2,660.39 A
HC-A3MVK-2A-OH [O/H KIT 1/1/2018 $2,437.73 A
HC-A3MVK-4-OH  [O/H KIT 1/1/2018 $1,702.34 A
HC-A6A-3-OH O/H KIT 1/1/2018 $7,332.89 A
HC-B3R30-2EA-OH [O/H KIT 1/1/2018 $1,305.69 A
HC-B3R30-4B-OH [O/H KIT 1/1/2018 $1,376.72 A
HC-B3R30-4-OH O/H KIT 1/1/2018 $1,220.69 A
HC-B3TF-7A-OH O/H KIT 1/1/2018 $1,929.65 A
HC-B3TN-2-OH O/H KIT 1/1/2018 $1,505.05 A
HC-B3TN-3B-OH O/H KIT 1/1/2018 $1,509.95 A
HC-B3TN-3BY-OH [O/H KIT, A-3044 CARBON BLOCK 1/1/2018 $1,588.25 A
HC-B3TN-3BY-OH1 [O/H KIT, A-3074 CARBON BLOCK 1/1/2018 $1,666.85 A
HC-B3TN-3BY-OH2 [O/H KIT, A-4731 CARBON BLOCK 1/1/2018 $1,838.55 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 16



Hartzell Propeller Inc.

2018 Price List

HC-B3TN-3DL-OH [O/H KIT 1/1/2018 $1,509.95 A
HC-B3TN-3D-OH O/H KIT 1/1/2018 $1,509.95 A
HC-B3TN-3DY-OH [O/H KIT, A-3044 CARBON BLOCK 1/1/2018 $1,588.25 A
HC-B3TN-3DY-OH1 [O/H KIT, A-3074 CARBON BLOCK 1/1/2018 $1,666.85 A
HC-B3TN-3DY-OH2 [O/H KIT, A-4731 CARBON BLOCK 1/1/2018 $1,838.55 A
HC-B3TN-3G-OH O/H KIT 1/1/2018 $1,509.95 A
HC-B3TN-3H-OH O/H KIT 1/1/2018 $1,509.95 A
HC-B3TN-3K-OH O/H KIT 1/1/2018 $1,635.95 A
HC-B3TN-3M-OH  [O/H KIT 1/1/2018 $1,635.95 A
HC-B3TN-3N-OH O/H KIT 1/1/2018 $1,635.95 A
HC-B3TN-3Z-OH O/H KIT 1/1/2018 $1,683.65 A
HC-B3TN-5E-OH O/H KIT 1/1/2018 $1,325.63 A
HC-B3TN-5M-OH  [O/H KIT 1/1/2018 $1,533.13 A
HC-B3TN-5NL-OH [O/H KIT 1/1/2018 $1,788.04 A
HC-B4AMN-5BL-OH [O/H KIT 1/1/2018 $1,534.67 A
HC-B4AMN-5B-OH [O/H KIT 1/1/2018 $1,534.67 A
HC-B4AMP-3A-OH  [O/H KIT 1/1/2018 $2,154.07 A
HC-B4AMP-3B-OH [O/H KIT 1/1/2018 $2,014.07 A
HC-B4AMP-3C-OH  [O/H KIT 1/1/2018 $2,014.07 A
HC-BATN-5(J,M)L  [O/H KIT 1/1/2018 $1,889.95 A
HC-BATN-5FL-OH  [O/H KIT 1/1/2018 $1,808.87 A
HC-B4TN-5F-OH O/H KIT 1/1/2018 $1,749.27 A
HC-BATN-5GL-OH [O/H KIT 1/1/2018 $1,791.35 A
HC-BATN-5KL-OH  [O/H KIT 1/1/2018 $1,945.95 A
HC-BATN-5NL-OH [O/H KIT 1/1/2018 $1,945.95 A
HC-B4ATN-5PL-OH  [O/H KIT 1/1/2018 $1,866.15 A
HC-B4ATN-5QL-OH [O/H KIT 1/1/2018 $1,954.75 A
HC-B5MA-2-OH O/H KIT 1/1/2018 $2,247.50 A
HC-BSMA-3B-OH  [O/H KIT 1/1/2018 $2,789.46 A
HC-BSMA-3D-OH [O/H KIT 1/1/2018 $2,796.46 A
HC-BSMA-3M-OH [O/H KIT 1/1/2018 $2,796.46 A
HC-B5MA-3-OH O/H KIT 1/1/2018 $2,796.46 A
HC-BSMA-5A-OH  [O/H KIT 1/1/2018 $3,975.21 A
HC-BSMA-5H-OH  [O/H KIT 1/1/2018 $3,716.21 A
HC-B5MP-3AL-OH [O/H KIT 1/1/2018 $2,440.45 A
HC-B5MP-3A-OH  [O/H KIT 1/1/2018 $2,440.45 A
HC-B5MP-3C-OH  [O/H KIT 1/1/2018 $2,489.10 A
HC-B5MP-3D-OH  [O/H KIT 1/1/2018 $2,440.45 A
HC-B5MP-3F-OH O/H KIT 1/1/2018 $2,440.45 A
HC-B5MP-3G-OH [O/H KIT 1/1/2018 $2,449.58 A
HC-B5MP-5BL-OH [O/H KIT 1/1/2018 $3,464.68 A
HC-C2YF-1BF-OH  [O/H KIT 1/1/2018 $470.37 A
HC-C2YF-2CUF-OH [O/H KIT 1/1/2018 $624.19 A
HC-C2YK-1BF-OH [O/H KIT 1/1/2018 $689.75 A
HC-C2YK-1BLF-OH [O/H KIT 1/1/2018 $689.75 A
HC-C2YK-2CEUF O/H KIT 1/1/2018 $823.63 A
HC-C2YK-2CGUF O/H KIT 1/1/2018 $1,468.63 A
HC-C2YK-2CLEUF  [O/H KIT 1/1/2018 $868.63 A
HC-C2YK-2CUF-OH [O/H KIT 1/1/2018 $843.57 A
HC-C2YK-4BF-OH  [O/H KIT 1/1/2018 $764.87 A
HC-C2YK-ACF-OH  [O/H KIT 1/1/2018 $764.87 A
HC-C2YL-1BF-OH  [O/H KIT 1/1/2018 $1,036.25 A
HC-C2YL-2CUF-OH [O/H KIT 1/1/2018 $1,190.07 A
HC-C2YL-4BF-OH  [O/H KIT 1/1/2018 $1,111.37 A
HC-C2YR-1BF-OH [O/H KIT 1/1/2018 $689.75 A
HC-C2YR-2CEUF O/H KIT 1/1/2018 $868.63 A
HC-C2YR-2CLEUF  [O/H KIT 1/1/2018 $868.63 A
HC-C2YR-4BF-OH [O/H KIT 1/1/2018 $764.87 A
HC-C2YR-4CF-OH [O/H KIT 1/1/2018 $764.87 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 17



Hartzell Propeller Inc.

2018 Price List

HC-C3YF-1RF-OH  [O/H KIT 1/1/2018 $588.63 A
HC-C3YF-5F-OH O/H KIT 1/1/2018 $1,024.45 A
HC-C3YN-5A-OH O/H KIT 1/1/2018 $1,933.44 A
HC-C3YR-1A-OH O/H KIT 1/1/2018 $1,143.82 A
HC-C3YR-1RF-OH [O/H KIT 1/1/2018 $808.01 A
HC-C3YR-2LUF-OH [O/H KIT 1/1/2018 $973.81 A
HC-C3YR-2UF-OH [O/H KIT 1/1/2018 $973.81 A
HC-C3YR-4A-OH O/H KIT 1/1/2018 $1,662.54 A
HC-C3YR-4BF-OH [O/H KIT 1/1/2018 $895.11 A
HC-C4YF-1E-OH O/H KIT 1/1/2018 $1,714.97 A
HC-CA4YF-2E-OH O/H KIT 1/1/2018 $2,374.02 A
HC-CAYR-2L-OH O/H KIT 1/1/2018 $1,156.75 A
HC-C4YR-2-OH O/H KIT 1/1/2018 $1,156.75 A
HC-D2MV20-3-OH [O/H KIT 1/1/2018 $1,266.54 A
HC-D2MV20-7-OH [O/H KIT 1/1/2018 $1,248.74 A
HC-D2MV20-8-OH [O/H KIT 1/1/2018 $1,248.74 A
HC-D3MV20-6L-OH [O/H KIT 1/1/2018 $2,030.58 A
HC-D3MV20-8D-OH|O/H KIT 1/1/2018 $1,649.70 A
HC-DAN-2A-OH O/H KIT 1/1/2018 $3,141.60 A
HC-D4N-2D(A)-OH [O/H KIT 1/1/2018 $2,974.20 A
HC-D4AN-2D-OH O/H KIT 1/1/2018 $2,860.12 A
HC-DAN-2E-OH O/H KIT 1/1/2018 $2,883.69 A
HC-DAN-2F-OH O/H KIT 1/1/2018 $2,962.40 A
HC-DAN-2G-OH O/H KIT 1/1/2018 $2,936.20 A
HC-DAN-3A-OH O/H KIT 1/1/2018 $3,040.20 A
HC-D4AN-3C-OH O/H KIT 1/1/2018 $3,040.20 A
HC-DAN-3E-OH O/H KIT 1/1/2018 $3,040.20 A
HC-DAN-3N-OH O/H KIT 1/1/2018 $2,862.29 A
HC-D4AN-3R-OH O/H KIT 1/1/2018 $3,264.20 A
HC-DAN-3T-OH O/H KIT 1/1/2018 $3,824.40 A
HC-DAN-5AL-OH O/H KIT 1/1/2018 $3,544.36 A
HC-DAN-5C-OH O/H KIT 1/1/2018 $3,766.36 A
HC-DAN-5E-OH O/H KIT 1/1/2018 $3,750.07 A
HC-E2YL-2BLSF O/H KIT 1/1/2018 $1,608.63 A
HC-E2YL-2BSF-OH [O/H KIT 1/1/2018 $1,608.63 A
HC-E2YR-1BF-OH [O/H KIT 1/1/2018 $730.40 A
HC-E2YR-2RBSF O/H KIT 1/1/2018 $1,042.99 A
HC-E3YR-1RF-OH [O/H KIT 1/1/2018 $860.21 A
HC-E3YR-1RLF-OH [O/H KIT 1/1/2018 $860.21 A
HC-E3YR-2ALTF O/H KIT 1/1/2018 $1,153.31 A
HC-E3YR-2ATF-OH [O/H KIT 1/1/2018 $1,153.31 A
HC-E4A-2A-OH O/H KIT 1/1/2018 $3,402.48 A
HC-E4A-2-OH O/H KIT 1/1/2018 $3,402.48 A
HC-E4A-3D-OH O/H KIT 1/1/2018 $3,659.51 A
HC-E4A-31-OH O/H KIT,(PK,PB) BLADE SUFFIX 1/1/2018 $8,697.89 A
HC-E4A-31-OH*1 O/H KIT,PC(K,B) BLADE SUFFIX 1/1/2018 $8,603.05 A
HC-E4A-31-OH*2 O/H KIT,P(K,B)PC(K,B) BLADE 1/1/2018 $8,650.47 A
HC-E4A-3)-OH O/H KIT,P (K,B) BLADE SUFFIX 1/1/2018 $8,681.60 A
HC-E4A-3J-OH*1  [O/H KIT,PC (K,B) BLADE SUFFIX 1/1/2018 $8,586.76 A
HC-E4A-3J-OH*2 O/H KIT,P(K,B)PC(K,B) BLADE 1/1/2018 $8,634.18 A
HC-E4N-2-OH O/H KIT 1/1/2018 $3,147.72 A
HC-E4N-3G-OH O/H KIT 1/1/2018 $3,040.20 A
HC-E4N-31-OH O/H KIT 1/1/2018 $3,080.80 A
HC-E4N-3N-OH O/H KIT 1/1/2018 $3,044.20 A
HC-E4N-3-OH O/H KIT 1/1/2018 $3,080.80 A
HC-E4N-3Q-OH O/H KIT 1/1/2018 $3,080.80 A
HC-E4N-5A-OH O/H KIT 1/1/2018 $3,583.96 A
HC-E4N-5B-OH O/H KIT 1/1/2018 $3,583.96 A
HC-E4N-5D-OH O/H KIT 1/1/2018 $3,543.36 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 18



Hartzell Propeller Inc.

2018 Price List

HC-E4P-5E-OH O/H KIT 1/1/2018 $4,826.03 A
HC-E5A-2-OH O/H KIT 1/1/2018 $7,095.54 A
HC-E5B-5-OH O/H KIT 1/1/2018 $6,385.92 A
HC-E5B-5-OH*1 O/H KIT 1/1/2018 $6,398.22 A
HC-E5N-3A-OH O/H KIT/D-5527-1P SPINNER 1/1/2018 $4,893.84 A
HC-E5N-3A-OH*1  |O/H KIT/D-5505-1P SPINNER 1/1/2018 $4,893.49 A
HC-E5N-3A-OH*2  |O/H KIT/D-5527-1P SPINNER 1/1/2018 $4,906.14 A
HC-E5N-3A-OH*3  |O/H KIT/D-5505-1P SPINNER 1/1/2018 $4,905.79 A
HC-E5N-3C-OH O/H KIT 1/1/2018 $4,224.93 A
HC-F2YL-1F-OH O/H KIT 1/1/2018 $1,076.90 A
HC-F2YR-1F-OH O/H KIT 1/1/2018 $730.40 A
HC-F2YR-2UF-OH  [O/H KIT 1/1/2018 $867.08 A
HC-F3YR-1ARF-OH [O/H KIT 1/1/2018 $860.21 A
HC-F3YR-1RF-OH  [O/H KIT 1/1/2018 $1,217.27 A
HC-F3YR-2UF-OH [O/H KIT 1/1/2018 $1,413.59 A
HC-F4YR-1-OH O/H KIT 1/1/2018 $1,290.08 A
HC-H3YF-1RF-OH [O/H KIT 1/1/2018 $884.97 A
HC-H3YF-3LF-OH [O/H KIT 1/1/2018 $1,375.54 A
HC-12YR-1BF-OH O/H KIT 1/1/2018 $689.75 A
HC-13Y1R-1N-OH O/H KIT 1/1/2018 $907.87 A
HC-I3YR-1E-OH O/H KIT 1/1/2018 $1,214.22 A
HC-I3YR-1RF-OH O/H KIT 1/1/2018 $808.01 A
HC-M2YR-1BF-OH [O/H KIT 1/1/2018 $689.75 A
HC-M2YR-2CEUF  [O/H KIT 1/1/2018 $843.57 A
HC-M2YR-2CLEUF [O/H KIT 1/1/2018 $843.57 A
PHC-C3YF-1RF*1 O/H KIT W/O SLIMSERTS 1/1/2018 $588.63 A
PHC-C3YF-1RF-OH [O/H KIT 1/1/2018 $1,160.55 A
PHC-C3YF-2KUF O/H KIT 1/1/2018 $734.49 A
PHC-C3YF-2LKUF  [O/H KIT 1/1/2018 $734.49 A
PHC-C3YF-2UF*1  |O/H KIT W/O SLIMSERTS 1/1/2018 $734.49 A
PHC-C3YF-2UF-OH [O/H KIT 1/1/2018 $1,326.35 A
PHC-G3YF-1RF-OH [O/H KIT 1/1/2018 $588.63 A
PHC-G3YF-2UF-OH [O/H KIT 1/1/2018 $754.43 A
PHC-H3YF-1RF-OH [O/H KIT 1/1/2018 $884.97 A
PHC-I3YF-2AL-OH [O/H KIT 1/1/2018 $1,024.21 A
PHC-J3YF-1MF-OH [O/H KIT 1/1/2018 $910.35 A
PHC-J3YF-1N-OH O/H KIT 1/1/2018 $741.84 A
PHC-J3YF-1RF-OH [O/H KIT 1/1/2018 $640.83 A
PHC-J3YF-2UF-OH [O/H KIT 1/1/2018 $806.63 A
PHC-L3YF-1RF-OH [O/H KIT 1/1/2018 $588.63 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 19



Hartzell Propeller Inc.

2018 Price List

100010 PRELOAD PACK ASSEMBLY 1/1/2018 $435.63 A
100011 CAP, PRELOAD 1/1/2018 $256.00 A
100024 SPRING, RETURN, CONTROL LEVER 1/1/2018 $13.48 A
100025 SPRING, RETURN, CONTROL LEVER 1/1/2018 $30.70 A
100059 LABEL, WARNING 1/1/2018 $0.40 A
100062 LABEL, WARNING 1/1/2018 $0.40 A
100311 HDW, STOP,TWO PIECE DOME - KIT 1/1/2018 $51.00 A
100320 PILOT TUBE 1/1/2018 $1,043.45 A
100332 DOWEL PIN, OVERSIZED, 3/8" 1/1/2018 $135.00 A
100438 FILLER PLATE UNIT 1/1/2018 $105.58 A Y
100503 EROSION SHIELD, BLADE 1/1/2018 $658.05 A
100515 EROSION SHIELD, BLADE, E9193() 1/1/2018 $920.45 A
100631 BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,659.48 A Y
100633 DOME, "CNC MACHINED",4 - BLADE 1/1/2018 $1,334.55 A Y
100641 PRELOAD PLATE ASSEMBLY 1/1/2018 $285.00 A
100655 GOVERNOR BODY 1/1/2018 $826.15 A
100914 NUT, RPM STOP 1/1/2018 $116.85 A
100915 BUSHING, CONTROL SHAFT 1/1/2018 $6.05 A
100923 WRENCH, STRAP 1/1/2018 $129.00 A Y
100990 ADAPTER 1/1/2018 $584.25 A Y
101004 PRELOAD PLATE ASSEMBLY 1/1/2018 $339.00 A
101046 SPRING, RETURN 1/1/2018 $9.90 A
101058 SHIM, PROPELLER MOUNTING 1/1/2018 $48.65 A Y
101204 TRAVEL TUBE UNIT 1/1/2018 $280.85 A Y
101224 BRACKET, START LOCK 1/1/2018 $745.18 A
101225 BRACKET, START LOCK 1/1/2018 $660.10 A
101304 PRELOAD PLATE ASSEMBLY 1/1/2018 $278.80 A
101307 SCREW, SET, 5/16-24 1/1/2018 $45.15 A
101322 SPRING, COMPRESSION 1/1/2018 $38.90 A
101330 SPRING, COMPRESSION 1/1/2018 $63.55 A
101345 PCP:PIN, INDICATOR, PITCH-UNIT 1/1/2018 $623.20 A
101375 PLUG, PULL 1/1/2018 $0.46 A
101378 GUIDE, SPRING 1/1/2018 $93.28 A
101383 RING, BETA - UNIT 1/1/2018 $979.90 A
101388 SPRING SEAT 1/1/2018 $39.31 A
101390 SPACER, SPRING 1/1/2018 $67.65 A
101430 SPRING SEAT 1/1/2018 $8.66 A
101437 SEAL, BLADE 1/1/2018 $24.00 A
101451 CONTROL SHAFT, GOVERNOR 1/1/2018 $520.70 A
101452 INSERT, THREADED, 1.5 IPR 1/1/2018 $25.98 A
101512 RING, RETAINING, BEARING 1/1/2018 $93.00 A
101556 PCP:SPRING RETAINER, FLANGED 1/1/2018 $259.33 A
101558 SPRING SEAT 1/1/2018 $160.93 A
101622 EROSION SHIELD, BLADE, 7605 1/1/2018 $642.00 A
101649 ROD, BETA 1/1/2018 $503.00 A
101651 PCP:COUNTERWEIGHT 1/1/2018 $1,141.85 A
101667 SCREW, SET, 5/16-24 1/1/2018 $35.16 A
101679 FORM TOOL, "E" SHANK 1/1/2018 $576.05 A
101731 PRELOAD PLATE ASSEMBLY 1/1/2018 $360.80 A
101736 POTTING MOLD, "E" SHANK 1/1/2018 $127.10 A
101738 PRELOAD PLATE ASSEMBLY 1/1/2018 $360.80 A
101739 PRELOAD PLATE ASSEMBLY 1/1/2018 $360.80 A
101740 PRELOAD PLATE ASSEMBLY 1/1/2018 $416.15 A
101746 CYLINDER 1/1/2018 $726.00 A
101781 PULLER, PLUG 1/1/2018 $1,199.25 A
101809 FOIL PACK, 7605 1/1/2018 $200.90 A
101939 WRENCH, TORQUE ADAPTER 1/1/2018 $1,658.00 A
102158 RING, RETAINING, BEARING 1/1/2018 $65.60 A
102224 PCP:SPRING, COMP, FEATHERING 1/1/2018 $371.05 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 20



Hartzell Propeller Inc.

2018 Price List

102227 EROSION SHIELD, BLADE, 9208 1/1/2018 $761.00 A

102289 GOVERNOR HEAD 1/1/2018 $232.68 A

102297 STOP, RPM 1/1/2018 $45.66 A

102309 CONTROL LEVER 1/1/2018 $55.35 A

102350 PROBE, EDDY CURRENT 1/1/2018 $6,900.30 A Y

102440 SCREW, 8-32, BUTTON HEAD 1/1/2018 $2.97 A

102450 CONTROL LEVER 1/1/2018 $152.73 A

102472 SCREW, SET, 3/8-24 1/1/2018 $22.50 A

102507 PLUG, BLADE 1/1/2018 $32.80 A

102555 SPRING, COMPRESSION, SPEEDER 1/1/2018 $27.11 A

102578 BALANCE WEIGHT 1/1/2018 $70.00 A Y

102610 PRELOAD PLATE ASSEMBLY 1/1/2018 $299.30 A

102616 SPRING, COMPRESSION, SPEEDER 1/1/2018 $26.45 A

102666 BRACKET, CABLE 1/1/2018 $269.58 A

102681 DRIVE GEAR, INTERMEDIATE CAP 1/1/2018 $484.00 A

102683 PLUG,HOLE, LUBRICATION FITTING 1/1/2018 $33.11 A

102691 BOLT, 3/8-24, HEX HEAD 1/1/2018 $22.40 A

102751 LABEL, BLANK 1/1/2018 $0.90 A

102778 BUSHING, REPAIR 1/1/2018 $134.28 A

102779 BUSHING, REPAIR 1/1/2018 $88.15 A

102831 BOLT, HEX, 1/4-28, CRS 1/1/2018 $44.69 A

102877 PCP:SPRING, COMP, FEATHERING 1/1/2018 $280.00 A

102937 TEMPLATE, ULTRASONIC, N7605 1/1/2018 $2,557.00 A

102959 GUIDE, SPRING 1/1/2018 $66.63 A

102987 SHIM, SPINNER 1/1/2018 $5.10 A Y

103001 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $8.25 A

103040 VALVE ASSEMBLY 1/1/2018 $6,262.00 A Y

103056 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $2.00 A

103066 LEVER, CONTROL EXTENSION 1/1/2018 $581.00 A Y

103093 SCREW, SET, 1/2-20, OVAL POINT 1/1/2018 $334.00 A

103111 BOLT,MOUNTING,9/16-18,FLANGED 1/1/2018 $411.00 A Y

103112 BUSHING, FORK 1/1/2018 $7.35 A

103118 SEAL, BLADE 1/1/2018 $28.05 A

103132 BEARING, NEEDLE ROLLER 1/1/2018 $11.30 A

103133 SCREW, 8-32, CAP 1/1/2018 $1.60 A

103134 DOWEL PIN, 5/8 1/1/2018 $8.55 A

103136 SEAL, WASHER, 1/4 1/1/2018 $1.40 A

103137 BOLT, 1/4-28, HEX HEAD 1/1/2018 $19.10 A

103151 GLIDE RING 1/1/2018 $633.00 A

103178 PRESS, BLADE PLUG 1/1/2018 $242.00 A

103181 BUSHING, PRELOAD BLADE 1/1/2018 $12.70 A

103192 NUT, 1/2-20, HEX, THIN 1/1/2018 $22.05 A

103204 PIN, HEADED 1/1/2018 $390.00 A

103207 RACE, BEARING 1/1/2018 $3.00 A

103231 DOWEL PIN, VENTED 1/1/2018 $61.00 A

103239 BETA MANIFOLD ASSEMBLY 1/1/2018 $9,341.00 A

103360 ULTRASONIC CALIBRATION STD. 1/1/2018 $3,711.00 A Y

103395 WASHER, RETAINING, KNOB UNIT 1/1/2018 $32.15 A

103413 PLUG, BLADE 1/1/2018 $227.00 A

103433 HUB BUSHING, ROD 1/1/2018 $37.46 A

103470 PCP:COUNTERWEIGHT 1/1/2018 $364.90 A

103478 SPOOL, GOVERNOR 1/1/2018 $556.00 A

103481 LEVER, RESET, PY 1/1/2018 $572.98 A

103525 PRELOAD PLATE ASSEMBLY 1/1/2018 $325.95 A

103548 FORK, FOUR BLADE 1/1/2018 $1,695.35 A

103555 WASHER, 1/2", CRES 1/1/2018 $49.35 A

103568 CONTROL LEVER 1/1/2018 $30.70 A

103574 WASHER, RETAINING, KNOB UNIT 1/1/2018 $28.40 A

103582 DOME UNIT, COMPOSITE, 2 BLADE 1/1/2018 $1,681.00 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 21



2018 Price List

Hartzell Propeller Inc.

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

103650 PLATE, BETA PICK UP 1/1/2018 $305.45 A
103662 SPACER 1/1/2018 $30.70 A
103667 GOVERNOR HEAD 1/1/2018 $213.20 A
103668 SCREW, ADJUST, HIGH RPM 1/1/2018 $98.00 A
103669 WASHER, SEAL, 5/16" 1/1/2018 $4.77 A
103688 TEMPLATE, ULTRASONIC, NC9208 1/1/2018 $2,557.00 A
103690 PLATE, MOUNTING, SPINNER 1/1/2018 $1,319.18 A
103741 GOVERNOR BASE,INTERMEDIATE CAP 1/1/2018 $636.53 A
103780 BULKHEAD UNIT 1/1/2018 $3,875.53 A Y
103781 FILLER PLATE 1/1/2018 $106.00 A Y
103789 BULKHEAD UNIT 1/1/2018 $1,790.68 A Y
103798 POTENTIOMETER 1/1/2018 $98.00 A
103842 STRIP, WEAR, BLADE SHANK 1/1/2018 $9.74 A
103843 RETAINER 1/1/2018 $189.63 A
103872 ROD, PITCH CHANGE 1/1/2018 $2,446.68 A
103877 COMPOSITE SPINNER-KIT, PRIMED 1/1/2018 $2,004.90 A Y
103937 DOME UNIT, "CNCMACHINED",2-BLD 1/1/2018 $886.00 A Y
104001 FILLER PLATE, COMPOSITE 1/1/2018 $147.60 A Y
104003 SPLICE, BUTT 1/1/2018 $14.20 A
104018 WASHER 1/1/2018 $2.05 A Y
104033 BUSHING 1/1/2018 $86.10 A
104034 RETAINER 1/1/2018 $23.47 A
104052 DRILL JIG FOR N7605 SHANK 1/1/2018 $2,644.50 A
104070 SPINNER - CONVERSION KIT 1/1/2018 $911.00 A Y
104073 DOWEL PIN, OVERSIZED, 1/4" 1/1/2018 $102.00 A
104074 DOWEL PIN, OVERSIZED, 3/8" 1/1/2018 $101.48 A
104082 CONNECTOR, ELECTRICAL 1/1/2018 $316.00 A
104087 YOKE UNIT 1/1/2018 $446.90 A
104098 BRACKET, START LOCK 1/1/2018 $430.00 A
104110 START LOCK - ASSEMBLY 1/1/2018 $561.00 A
104150 FORWARD BULKHEAD 1/1/2018 $349.53 A Y
104152 FORWARD BULKHEAD 1/1/2018 $629.35 A Y
104154 BULKHEAD UNIT 1/1/2018 $3,331.25 A Y
104195 FORWARD BULKHEAD 1/1/2018 $710.00 A Y
104196 ADAPTER 1/1/2018 $219.00 A
104234 DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $827.18 A Y
104242 PRELOAD PLATE 1/1/2018 $339.00 A
104308 TAG, CAUTION, BRUSH BLOCK 1/1/2018 $2.70 A
104356 BEARING RACE, PRE-LOAD 1/1/2018 $39.77 A
104357 BEARING RACE, PRE-LOAD 1/1/2018 $119.00 A
104358 NEEDLE BEARING ASSY, PRE-LOAD 1/1/2018 $119.00 A
104364 PLATE, UID, REPLACEMENT 1/1/2018 $89.18 A
104367 BULKHEAD ASSEMBLY 1/1/2018 $2,881.28 A Y
104375 DOME, "CNC MACHINED",2 - BLADE 1/1/2018 $742.10 A Y
104376 BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $2,081.78 A Y
104378 FILLER PLATE UNIT 1/1/2018 $307.00 A Y
104380 FORWARD BULKHEAD 1/1/2018 $765.68 A Y
104381 ASSEMBLY, ALMEN FIXTURE 1/1/2018 $3,915.50 A
104393 SHIM, SPINNER 1/1/2018 $5.64 A
104479 SPRING RETAINER, REAR 1/1/2018 $361.00 A
104487 RETAINER 1/1/2018 $67.65 A
104488 SLEEVE, HUB 1/1/2018 $361.83 A
104549 DOME, 5 - BLADE 1/1/2018 $1,340.70 A Y
104550 DOME, "CNC MACHINED",4 - BLADE 1/1/2018 $1,509.83 A Y
104557 ROD, GUIDE, PISTON 1/1/2018 $292.13 A
104573 DOME UNIT, COMPOSITE,5 - BLADE 1/1/2018 $4,794.00 A Y
104632 ROD, BETA 1/1/2018 $727.00 A
104639 EROSION SHIELD, BLADE 1/1/2018 $658.05 A
104716 WELDMENT, TRAVEL TUBE 1/1/2018 $274.00 A
Original

Effectivity Date 1/2/2018

Page 22



Hartzell Propeller Inc.

2018 Price List

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

104718 ROD, PITCH CHANGE 1/1/2018 $4,026.20 A
104719 PCP:HUB UNIT, HC-E4A-(2,5) 1/1/2018 $8,784.87 A
104720 STUD, MOUNTING, 9/16-18 1/1/2018 $137.35 A
104731 TEMPLATE, ULTRASONIC, N7605C 1/1/2018 $2,557.00 A
104737 PLUG, COMPOSITE BLADE 1/1/2018 $201.00 A
104774 WASHER, SEAL, #10 1/1/2018 $4.77 A
104777 SPOOL, GOVERNOR, OVERSPEED 1/1/2018 $556.00 A
104789 SCREW, 1/4-28, 100° HEAD 1/1/2018 $2.10 A
104857 TEMPLATE, ULTRASONIC, ()8301() 1/1/2018 $2,569.00 A
104879 GASKET, OVERSPEED GOVERNOR 1/1/2018 $2.15 A
104903 HUB BUSHING, ROD 1/1/2018 $78.00 A
104904 PCP:HUB UNIT, HC-E5N-3C 1/1/2018 $23,913.00 A
104923 SHIM, SPINNER 1/1/2018 $5.64 A
104926 EROSION SHIELD, BLADE, 8834 1/1/2018 $765.00 A
104934 BLOCK, PITCH CHANGE 1/1/2018 $158.88 A
104960 CONTROL SHAFT, GOVERNOR 1/1/2018 $510.45 A
105006 SPOOL UNIT 1/1/2018 $6,138.00 A
105030 STRIP, WEAR, BLADE SHANK 1/1/2018 $15.12 A
105044 DOME, 5 - BLADE 1/1/2018 $1,877.00 A Y
105096 ROD, PITCH CHANGE 1/1/2018 $1,920.85 A
105152 PCP:HUB UNIT, PHM-J3YF-1N 1/1/2018 $5,750.00 A
105197 TRANSISTOR, ST-1173 1/1/2018 $16.35 A
105221 ELECTRIC MOTOR ASSEMBLY 1/1/2018 $3,676.68 A
105250 TIP MESH, BLADE 1/1/2018 $615.00 A
105297 BULKHEAD UNIT 1/1/2018 $1,799.90 A Y
105299 PIN, SPRING, COILED 1/1/2018 $0.30 A
105319 EROSION SHIELD, BLADE, 8483 1/1/2018 $765.00 A
105403 BOLT, RELIEF VALVE - UNIT 1/1/2018 $1,093.68 A
105450 HUB BUSHING, ROD 1/1/2018 $65.60 A
105462 HUB BUSHING, ROD 1/1/2018 $134.00 A
105473 FORM TOOL, "E" SHANK 1/1/2018 $350.55 A
105477 FORWARD BULKHEAD 1/1/2018 $620.13 A
105495 CUP, SPRING 1/1/2018 $166.00 A
105559 ROD, BETA 1/1/2018 $596.55 A
105625 EROSION SHIELD, BLADE 1/1/2018 $710.33 A
105674 DOME UNIT, COMPOSITE, 2 BLADE 1/1/2018 $1,681.00 A Y
105916 PCP:HUB UNIT, 5D3-N338( ) 1/1/2018 $23,449.00 A
105923 FORK, FIVE BLADE 1/1/2018 $4,439.00 A
105943 DOME UNIT, COMPOSITE, 3 BLADE 1/1/2018 $1,681.00 A
105947 TEMPLATE, ULTRASONIC,()76C03() 1/1/2018 $2,557.00 A
105948 GASKET, GOVERNOR 1/1/2018 $5.40 A
105952 COMPOSITE SPINNER-KIT, PRIMED 1/1/2018 $2,004.90 A
105966 EROSION SHIELD, BLADE, 78D01 1/1/2018 $751.33 A
105974 PCP:HUB UNIT, HM-D4N-3YL 1/1/2018 $9,049.58 A
106008 PLUG, HUB 1/1/2018 $452.03 A
106068 GOVERNOR BASE,INTERMEDIATE CAP 1/1/2018 $621.00 A
106070 FORWARD BULKHEAD 1/1/2018 $747.00 A
106071 DOME UNIT, 2 - BLADE 1/1/2018 $934.80 A Y
106107 BRACKET, ANTI-ICE 1/1/2018 $327.00 A
106118 WASHER, 1/4", .875 OD 1/1/2018 $3.00 A
106180 TEMPLATE, ULTRASONIC,()78D01() 1/1/2018 $2,569.00 A
106212 PCP:ROD, PITCH CHANGE 1/1/2018 $4,294.00 A
106225 BLOCK, PITCH CHANGE 1/1/2018 $251.13 A
106226 BALL SPACER 1/1/2018 $22.00 A
106238 BASE, ADHESION TESTER 1/1/2018 $953.25 A
106239 TUBE, SHEAR 1/1/2018 $39.00 A
106284 TEMPLATE, ULTRASONIC,()10245() 1/1/2018 $2,557.00 A
106348 BULKHEAD UNIT 1/1/2018 $1,013.73 A Y
106501 SPACER, ALUMINUM 1/1/2018 $290.08 A
Original

Effectivity Date 1/2/2018

Page 23



Hartzell Propeller Inc.

2018 Price List

106503 PCP:ROD, PITCH CHANGE 1/1/2018 $4,026.20 A
106509 SPRING 1/1/2018 $246.00 A
106529 SPRING 1/1/2018 $246.00 A
106542 CONVERSION KIT, C-SHANK ROLLIN 1/1/2018 $217.00 A
106545 PLUG, LUBRICATION HOLE 1/1/2018 $0.74 A
106554 C SHANK COMPARATOR OVERLAY 1/1/2018 $712.38 A
106559 BOLT, 1/2-20, HEX HEAD 1/1/2018 $211.15 A
106561 COMPOSITE BLADE MINOR RPR KIT 1/1/2018 $300.00 A
106563 SPRING, COMPRESSION 1/1/2018 $164.00 A
106564 GUIDE, SPRING 1/1/2018 $329.00 A
106565 SPRING SEAT 1/1/2018 $181.43 A
106573 BULKHEAD UNIT 1/1/2018 $1,253.58 A
106784 N SHANK COMPARATOR OVERLAY 1/1/2018 $712.38 A
106788 PLATE 1/1/2018 $2,975.00 A
106789 ROD, PITCH CHANGE 1/1/2018 $6,388.83 A
106791 SCREW, CAP, 10-32, R.P.M. ADJ 1/1/2018 $10.60 A
106804 PLATE , KIT 1/1/2018 $852.80 A
106823 NUT, 5/8-18, HEX, SELF-LOCKING 1/1/2018 $416.15 A
106843 DOWEL PIN, OVERSIZED, 3/16" 1/1/2018 $648.83 A
106880 DIAPHRAGM 1/1/2018 $60.48 A
106891 PCP:HUB UNIT, HC-I3Y1F-1IN 1/1/2018 $5,635.13 A
106947 BLADE DECAL, HPI OVAL 1/1/2018 $3.05 A
107135 PCP:ROD, PITCH CHANGE 1/1/2018 $4,401.35 A
107150 PCP:CLAMP, COUNTERWEIGHT 1/1/2018 $2,686.53 A
619106330 P6KE33A DIODE 1/1/2018 $2.85 A
791710019 SR19W4-A INSTALLATION TOOL 1/1/2018 $364.90 A Y
791911170 170-1/4 APEX DRIVER 1/1/2018 $17.43 A
791911212 212-8 DRIVER 1/1/2018 $14.35 A
791912276 1227-6 REMOVAL TOOL 1/1/2018 $109.68 A Y
791975525 7552-5 (5/16-24) HELICOIL TOOL 1/1/2018 $266.50 A Y
792200091 EROSION MASK (PM91) 1/1/2018 $696.00 A Y
990000163 EZ163 PLUG (HUBS) 1/1/2018 $1.20 A
990000263 #263 NIAGARIA CAP PLUG 1/1/2018 $4.20 A
990001086 1086 CAPLUG RED 1/1/2018 $0.35 A
994302601 LESCHEN NYLON EEF-2-2601 X 3 1/1/2018 $30.90 A
6128510002 510K OHM 1/4 W 5% CARBON FILM 1/1/2018 $0.75 A
6129010003 10 OHM 3 WATT 5% WIRE WOUND 1/1/2018 $3.50 A
6139680400 .68 MF.400V POLIESTER FILM CAP 1/1/2018 $32.40 A
6183526003 K10-58 INSULATOR 1/1/2018 $2.65 A
6192934015 LM340LAZ-15 REGULATOR 1/1/2018 $3.75 A
6.16977E+12 68046-312 SURFACE MOUNT CONN. 1/1/2018 $24.15 A
0204000S2 449AA-250 S2 FIBERGLASS ROVING 1/1/2018 $1.70 A
0204AE247 158B-AE-247 E-GLASS ROVING 1/1/2018 $1.70 A
100026L START LOCK, LH - ASSEMBLY 1/1/2018 $1,092.00 A
100027-1 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $822.00 A
100027-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $566.83 A
100027-3 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $822.00 A
100028-1 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $1,030.00 A
100028-2 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $780.03 A
100028-3 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $1,030.00 A
100031-1 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $1,105.98 A
100031-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $1,079.00 A
100031-3 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $1,105.98 A
100034-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,078.70 A
100035-2 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,219.13 A
100320-10 PILOT TUBE 1/1/2018 $1,043.45 A
100320-2 PILOT TUBE 1/1/2018 $1,043.45 A
100320-4 PILOT TUBE 1/1/2018 $1,043.45 A
100320-6 PILOT TUBE 1/1/2018 $1,043.45 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 24



Hartzell Propeller Inc.

2018 Price List

100320-8 PILOT TUBE 1/1/2018 $1,043.45 A

100547P FILLER PLATE UNIT 1/1/2018 $164.00 A Y

100641-1 PRELOAD PLATE ASSEMBLY 1/1/2018 $285.00 A

100913-2 FLYWEIGHT, GOVERNOR - UNIT 1/1/2018 $578.10 A

101131-10L WASHER, FLAT, REDUCED DIAMETER 1/1/2018 $0.36 A

101131-6 WASHER, FLAT, REDUCED DIAMETER 1/1/2018 $5.07 A

101131-8 WASHER, FLAT, REDUCED DIAMETER 1/1/2018 $0.30 A

101204-1 TRAVEL TUBE UNIT 1/1/2018 $299.30 A Y

101204-2 TRAVEL TUBE UNIT 1/1/2018 $372.08 A

101324-4 SLEEVE, STOP 1/1/2018 $301.35 A

101324-5 SLEEVE, STOP 1/1/2018 $315.70 A

101324-6 SLEEVE, STOP 1/1/2018 $315.70 A

101324-7 SLEEVE, STOP 1/1/2018 $315.70 A

101324-8 SLEEVE, STOP 1/1/2018 $332.10 A

101324-9 SLEEVE, STOP 1/1/2018 $315.70 A

101335-9 SLEEVE, STOP 1/1/2018 $222.43 A

101622+2 EROSION SHIELD, BLADE, 7605+2 1/1/2018 $667.28 A

101667-2 SCREW, SET, 5/16-24 1/1/2018 $46.74 A

101864-26 SCREW, 6-32, PAN HEAD, BRASS 1/1/2018 $1.10 A

101964-262 NUT, 6-32, HEX, STEEL 1/1/2018 $0.31 A

102044-4-16 SCREW, HEX HEAD, 1/4-28 1/1/2018 $7.64 A

102186-0656 INSERT, 7/16/-20, CRES, COILED 1/1/2018 $12.00 A

102345-1 PCP:CYLINDER ASSEMBLY 1/1/2018 $4,098.98 A

102520-12R PCP:HUB UNIT, PHC-J3Y1F-1N 1/1/2018 $5,750.00 A

102537-1 LABEL, WARNING 1/1/2018 $7.15 A

102543-0621 SCREW, SELF-LOCKING, PANHEAD 1/1/2018 $2.88 A

102543-0837 SCREW, SELF-LOCKING, PANHEAD 1/1/2018 $4.20 A

102580-1 BUSHING, REPAIR 1/1/2018 $88.00 A

102580-2 BUSHING, REPAIR 1/1/2018 $106.00 A

102761-3-5 COTTER PIN, CRES 1/1/2018 $0.45 A

102856-C06 NUT, SELF-LOCKING, THIN, CRES 1/1/2018 $5.25 A

102888-41R PCP:HUB UNIT, HC-I3Y1R-1N 1/1/2018 $5,471.00 A

103025-40R PCP:HUB UNIT, PHC-L3Y1F-1N 1/1/2018 $4,539.21 A

103339-10 SLEEVE, STOP 1/1/2018 $135.30 A

103393-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $781.05 A

103434-1 HUB BUSHING, ROD 1/1/2018 $42.54 A

103545-2 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $1,001.43 A

103548L FORK, FOUR BLADE, LH 1/1/2018 $2,862.00 A

103575-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,720.00 A

103577-1 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,461.03 A

103582F1 DOME UNIT, COMPOSITE, 2 BLADE 1/1/2018 $1,788.63 A Y

103584P ADAPTER RING UNIT, "CNC" 1/1/2018 $582.20 A Y

103780P BULKHEAD UNIT 1/1/2018 $3,247.20 A Y

103789P BULKHEAD UNIT 1/1/2018 $2,078.70 A Y

103877F1 COMPOSITE SPINNER-KIT, PAINTED 1/1/2018 $2,183.25 A Y

103877F2 COMPOSITE SPINNER-KIT, PAINTED 1/1/2018 $2,183.25 A Y

103937P DOME UNIT, "CNCMACHINED",2-BLD 1/1/2018 $1,270.00 A Y

104001F1 FILLER PLATE, COMPOSITE 1/1/2018 $176.00 A Y

104001F2 FILLER PLATE, COMPOSITE 1/1/2018 $176.00 A Y

104070P SPINNER - CONVERSION KIT 1/1/2018 $1,296.00 A Y

104072-S2 SCREW, 4-40, 100 DEG HEAD 1/1/2018 $9.00 A

104090P DOME, 5 - BLADE 1/1/2018 $2,853.60 A Y

104154P BULKHEAD UNIT 1/1/2018 $3,756.63 A Y

104174P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $977.85 A Y

104175P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,634.88 A Y

104234P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,360.18 A Y

104272P DOME UNIT, 3 - BLADE 1/1/2018 $1,964.93 A Y

104367P BULKHEAD ASSEMBLY 1/1/2018 $2,881.28 A Y

104375P DOME, "CNC MACHINED",2 - BLADE 1/1/2018 $742.10 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 25



Hartzell Propeller Inc.

2018 Price List

104378P FILLER PLATE UNIT 1/1/2018 $307.00 A Y
104549P DOME, 5 - BLADE 1/1/2018 $2,052.05 A Y
104550P DOME, "CNC MACHINED",4 - BLADE 1/1/2018 $2,242.70 A Y
104551P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,103.93 A Y
104744P BULKHEAD UNIT 1/1/2018 $6,659.00 A
104750P DOME, 4 - BLADE 1/1/2018 $2,729.00 A Y
104840P DOME ASSEMBLY, 5 - BLADE 1/1/2018 $3,967.00 A Y
104857-1 TEMPLATE, ULTRASONIC, ()8303() 1/1/2018 $2,569.00 A
104858-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,693.00 A
104901-1 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,718.00 A
104901-2 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,665.00 A
104901-3 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,718.00 A
105006-1 SPOOL UNIT 1/1/2018 $6,138.00 A
105030-1 STRIP, WEAR, BLADE SHANK 1/1/2018 $14.25 A
105044P DOME, 5 - BLADE 1/1/2018 $1,923.93 A Y
105297P BULKHEAD UNIT 1/1/2018 $1,799.90 A Y
105311-41 PCP:HUB UNIT, HC-C2YR-1INW 1/1/2018 $3,727.57 A
105370-1.5 EROSION SHIELD, BLADE,8992-1.5 1/1/2018 $784.13 A
105511-1 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,471.00 A
105511-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,471.00 A
105511-3 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,471.00 A
105512-1 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $3,383.00 A
105512-2 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $3,383.00 A
105512-3 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $3,383.00 A
105747-2 EROSION SHIELD, BLADE, 76C03-2 1/1/2018 $631.40 A
105920-1 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,471.00 A
105920-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,471.00 A
105920-3 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,471.00 A
105921-1 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,665.00 A
105921-2 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,665.00 A
105921-3 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $2,665.00 A
105943F1 DOME UNIT, COMPOSITE, 3 BLADE 1/1/2018 $1,788.63 A
105943F2 DOME UNIT, COMPOSITE, 3 BLADE 1/1/2018 $1,788.63 A
105944pP ADAPTER RING UNIT, "CNC" 1/1/2018 $582.20 A
105949-1P DOME, "CNC MACHINED",5 - BLADE 1/1/2018 $1,406.30 A Y
105949P DOME, "CNC MACHINED",5 - BLADE 1/1/2018 $1,406.30 A Y
105950-1P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,806.00 A
105950P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,851.15 A
105952F1 COMPOSITE SPINNER-KIT, PAINTED 1/1/2018 $2,183.25 A
105952F2 COMPOSITE SPINNER-KIT, PAINTED 1/1/2018 $2,183.25 A
105993-41R PCP:HUB UNIT, HC-I3YR-1R 1/1/2018 $5,742.25 A
105995-41R PCP:HUB UNIT, HC-C3YR-1R 1/1/2018 $4,517.58 A
105996-41 PCP:HUB UNIT, HC-C2Y(K,R)-1 1/1/2018 $3,850.14 A
105997-21 PCP:HUB UNIT, HC-E2Y(R,K)-1 1/1/2018 $5,586.00 A
105998-11 PCP:HUB UNIT, HC-C3YR-(2,4) 1/1/2018 $5,139.00 A
105999-11 PCP:HUB UNIT, HC-I3YR-(2,4) 1/1/2018 $5,348.79 A
106032-41 PCP:HUB UNIT, HC-12YR-1 1/1/2018 $4,740.06 A
106071P DOME UNIT, 2 - BLADE 1/1/2018 $934.80 A Y
106109P BULKHEAD UNIT 1/1/2018 $6,659.00 A Y
106315L TEMPLATE, ULTRASONIC,JNC10904 1/1/2018 $2,557.00 A
106348P BULKHEAD UNIT 1/1/2018 $1,013.73 A Y
106438L EROSION SHIELD, BLADE 1/1/2018 $765.00 A
106439L TIP MESH, BLADE 1/1/2018 $588.00 A
106501-1 SPACER, ALUMINUM 1/1/2018 $291.10 A
106501-2 SPACER, ALUMINUM 1/1/2018 $284.00 A
106515-012 GUST LOCK COVER 1/1/2018 $598.60 A Y
106515-500 GUST LOCK COVER 1/1/2018 $538.13 A Y
106515-900 GUST LOCK COVER 1/1/2018 $541.20 A Y
106543-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,843.35 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 26



Hartzell Propeller Inc.

2018 Price List

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

106573P BULKHEAD UNIT 1/1/2018 $1,253.58 A

106891-1 PCP:HUB UNIT, PHC-I3Y1F-1N 1/1/2018 $5,635.13 A

106947-1 BLADE DECAL, HPI OVAL LARGE 1/1/2018 $3.05 A
106947-D1 BLADE DECAL, A/S NORRONAFLY 1/1/2018 $3.79 A
106947-D12 BLADE DECAL, PROPTECH 1/1/2018 $3.79 A
106947-D13 BLADE DECAL, HOPE AERO PROPELL 1/1/2018 $3.79 A
106947-D14 BLADE DECAL, HOFFMANN 1/1/2018 $3.79 A
106947-D148 BLADE DECAL, HARTZELL SERV.CTR 1/1/2018 $3.79 A
106947-D15 BLD DECAL,JORDON,SAN ANTONIO 1/1/2018 $3.79 A
106947-D17 BLADE DECAL, MAXWELL AIRCRAFT 1/1/2018 $3.79 A
106947-D19 BLADE DECAL, C&A AVIATION 1/1/2018 $3.79 A
106947-D21 BLADE DECAL, OTTOSEN PROPELLER 1/1/2018 $3.79 A
106947-D23 BLADE DECAL, PIEDMONT AVIATION 1/1/2018 $3.79 A
106947-D25 BLADE DECAL, TECHNIC 1/1/2018 $3.79 A
106947-D31 BLD DECAL,RAISBECK ENGINEERING 1/1/2018 $3.79 A
106947-D31-1 BLD DECAL,RAISBECK ENG INC LGE 1/1/2018 $3.70 A
106947-D32 BLADE DECAL, DIAMOND AVIACAO 1/1/2018 $3.79 A
106947-D33 BLADE DECAL,AMERICAN PROPELLER 1/1/2018 $3.79 A
106947-D34 BLADE DECAL, EAST COAST PROPEL 1/1/2018 $3.79 A
106947-D35 BLADE DECAL, SHENYANG AVIAS 1/1/2018 $3.79 A
106947-D36 BLADE DECAL, RUAG 1/1/2018 $3.79 A
106947-D40 BLADE DECAL, CANADIAN PROP LTD 1/1/2018 $3.79 A
106947-D41 BLADE DECAL, WEST COAST PROP 1/1/2018 $3.79 A
106947-D42 BLD DECAL,RODER PRAZISION GMBH 1/1/2018 $3.79 A
106947-D43 BLADE DECAL, AIRBUS NZ LTD 1/1/2018 $3.79 A
106947-D7 BLADE DECAL, HELICES 1/1/2018 $3.79 A
106947-D8 AVIATION PROPELLER, OPA LOCKA 1/1/2018 $3.79 A

106981X NUT, HEX 1/1/2018 $65.60 A

2H1365 TAPPED EYELET 1/1/2018 $22.00 B Y
61192N5191 2N5191 POWER TRANSISTOR 1/1/2018 $3.50 A
6119LM395T LM395T TRANSISTOR 1/1/2018 $10.85 A
6119ST-1173 NPN SILICON POWER TRANSISTOR 1/1/2018 $16.76 A
6119ST44VM7 ST44VM7  TRANSISTOR 1/1/2018 $12.00 A
61928MTA20604 [MTA206PA04 ALCO SWITCH SP3T 1/1/2018 $39.21 A
619293405A LM340AT-5 REGULATOR 1/1/2018 $8.90 A

72975-1 O-RING KIT 1/1/2018 $16.50 A Y
72D119901 PCU MPI KIT 1/1/2018 $2,108.42 A Y
72E6C01 E6CO1 MPIKIT 1/1/2018 $11,235.00 A Y
72E6C01-1 CONSUMABLE KIT FOR D5108-1 HUB 1/1/2018 $914.00 A Y
72E6C01-2 CONSUMABLE KIT FOR D5990-1 HYD 1/1/2018 $458.17 A Y
72E6C01-3 E6CO01-3 PROP. INSTALLATION KIT 1/1/2018 $1,554.00 A Y Y
72E6C01-4 E6CO1 HYDRULICS MPI KIT 1/1/2018 $2,646.55 A Y
72E6C01-5 E6C01-5 MPI KIT(BLADE&HYD.EXCH 1/1/2018 $6,127.00 A Y
79980-0105 GOVERNOR IDENTIFICATION DECAL 1/1/2018 $1.40 A
79980-A6356-10 LABEL, PROPELLER ASSEMBLY 1/1/2018 $2.35 A Y
79980-A6356-14 LABEL, HYDRAULIC UNIT 1/1/2018 $1.33 A
79980-A6411 SERVICE BULLETIN REFER. LABEL 1/1/2018 $4.31 A
79980-A6411-1 SERVICE BULLETIN REFER. LABEL 1/1/2018 $4.20 A
79980-A6460-4 LABEL,BLADE ID. 1/1/2018 $1.03 A
79980-A6461-4 PROPELLER ASSEMBLY DECAL 1/1/2018 $1.03 A Y
79980-AR-20 INDEX (RIGHT ARROW) DECAL 1/1/2018 $2.00 A Y
79980-AR-30 INDEX (LEFT ARROW) DECAL 1/1/2018 $2.10 A
79980-RB-100 DECAL 1/1/2018 $1.10 A

830-21 START LOCK - ASSEMBLY 1/1/2018 $2,716.25 A

830-23 START LOCK - ASSEMBLY 1/1/2018 $629.35 A

830-23L START LOCK, LH - ASSEMBLY 1/1/2018 $629.35 A

830-26 START LOCK - ASSEMBLY 1/1/2018 $831.28 A

830-27 START LOCK - ASSEMBLY 1/1/2018 $520.70 A

830-32L START LOCK, LH - ASSEMBLY 1/1/2018 $688.80 A

Original

Effectivity Date 1/2/2018

Page 27



Hartzell Propeller Inc.

2018 Price List

830-34 START LOCK - ASSEMBLY 1/1/2018 $617.05 A
830-34L START LOCK, LH - ASSEMBLY 1/1/2018 $567.85 A
830-37 START LOCK - ASSEMBLY 1/1/2018 $902.00 A
830-43 START LOCK - ASSEMBLY 1/1/2018 $895.85 A
830-43L START LOCK, LH - ASSEMBLY 1/1/2018 $895.85 A
830-8 START LOCK - ASSEMBLY 1/1/2018 $805.65 A
831-37 PCP:FEATHERING & REVERSING SPR 1/1/2018 $3,088.33 A
831-57 SPRING ASSEMBLY 1/1/2018 $2,647.58 A
831-72 SPRING ASSEMBLY 1/1/2018 $4,002.63 A
831-75 SPRING ASSEMBLY 1/1/2018 $3,940.10 A
831-76 SPRING ASSEMBLY 1/1/2018 $2,549.18 A
831-79 SPRING ASSEMBLY 1/1/2018 $2,673.20 A
831-82 SPRING ASSEMBLY 1/1/2018 $2,797.23 A
833-16E PCP:COUNTERWEIGHT UNIT 1/1/2018 $797.45 A
833-29RL PCP:COUNTERWEIGHT UNIT 1/1/2018 $1,150.05 A
833-4R PCP:COUNTERWEIGHT UNIT 1/1/2018 $626.00 A
834-1 GUIDE COLLAR UNIT 1/1/2018 $1,772.00 A
834-10 GUIDE COLLAR UNIT 1/1/2018 $1,903.00 A
834-12 GUIDE COLLAR UNIT 1/1/2018 $855.00 A
834-13 GUIDE COLLAR UNIT 1/1/2018 $967.00 A
834-18L GUIDE COLLAR UNIT 1/1/2018 $852.80 A
834-19 GUIDE COLLAR UNIT 1/1/2018 $1,328.00 A
834-1A GUIDE COLLAR UNIT 1/1/2018 $1,073.18 A
834-1B GUIDE COLLAR UNIT 1/1/2018 $1,376.00 A
834-22 GUIDE COLLAR UNIT 1/1/2018 $1,112.13 A
834-23 GUIDE COLLAR UNIT 1/1/2018 $1,388.88 A
834-24 GUIDE COLLAR UNIT 1/1/2018 $1,488.30 A
834-4 GUIDE COLLAR UNIT 1/1/2018 $2,209.00 A
834-7A GUIDE COLLAR UNIT 1/1/2018 $1,541.00 A
834-7B GUIDE COLLAR UNIT 1/1/2018 $1,849.10 A
834-9 GUIDE COLLAR UNIT 1/1/2018 $2,224.00 A
838-100 PCP:CLAMP ASSEMBLY 1/1/2018 $3,165.20 A
838-1002 PCP:CLAMP ASSEMBLY 1/1/2018 $3,652.08 A
838-1006 PCP:CLAMP ASSEMBLY 1/1/2018 $3,513.70 A
838-1010 PCP:CLAMP ASSEMBLY 1/1/2018 $3,516.78 A
838-1012 PCP:CLAMP ASSEMBLY 1/1/2018 $3,157.00 A
838-1023 PCP:CLAMP ASSEMBLY 1/1/2018 $3,464.50 A
838-1025 PCP:CLAMP ASSEMBLY 1/1/2018 $3,570.08 A
838-103 PCP:CLAMP ASSEMBLY 1/1/2018 $2,740.85 A
838-1052 PCP:CLAMP ASSEMBLY 1/1/2018 $3,570.08 A
838-1070L PCP:CLAMP ASSEMBLY 1/1/2018 $4,167.65 A
838-1080 PCP:CLAMP ASSEMBLY 1/1/2018 $3,929.85 A
838-109 PCP:CLAMP ASSEMBLY 1/1/2018 $2,772.63 A
838-119 PCP:CLAMP ASSEMBLY 1/1/2018 $2,634.25 A
838-127 PCP:CLAMP ASSEMBLY 1/1/2018 $2,900.75 A
838-17E PCP:CLAMP ASSEMBLY 1/1/2018 $3,406.08 A
838-31 PCP:CLAMP ASSEMBLY 1/1/2018 $3,436.00 A
838-42 PCP:CLAMP ASSEMBLY 1/1/2018 $3,262.58 A
838-65 PCP:CLAMP ASSEMBLY 1/1/2018 $2,703.95 A
838-67 PCP:CLAMP ASSEMBLY 1/1/2018 $2,761.35 A
838-67L PCP:CLAMP ASSEMBLY 1/1/2018 $2,759.30 A
838-72 PCP:CLAMP ASSEMBLY 1/1/2018 $3,147.78 A
838-82 PCP:CLAMP ASSEMBLY 1/1/2018 $2,775.70 A
838-88 PCP:CLAMP ASSEMBLY 1/1/2018 $2,826.95 A
838-89 PCP:CLAMP ASSEMBLY 1/1/2018 $2,831.05 A
838-91 PCP:CLAMP ASSEMBLY 1/1/2018 $3,122.15 A
838-92L PCP:CLAMP ASSEMBLY 1/1/2018 $3,034.00 A
838-93 PCP:CLAMP ASSEMBLY 1/1/2018 $2,901.78 A
838-98L PCP:CLAMP ASSEMBLY 1/1/2018 $2,878.20 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 28



Hartzell Propeller Inc.

2018 Price List

840-105 PCP:HUB UNIT, BHC-92WF-3_G 1/1/2018 $7,795.13 A
840-116 PCP:HUB UNIT, HC-B3TF- 1/1/2018 $9,129.68 A
840-118 PCP:HUB UNIT, HC-B5MP-3 1/1/2018 $13,138.45 A
840-121 PCP:HUB UNIT, HC-A2_20-4A1 1/1/2018 $8,125.18 A
840-123 PCP:HUB UNIT, HC-D2_20- 1/1/2018 $9,670.88 A
840-124 PCP:HUB UNIT, HC-D2_20-3 1/1/2018 $9,900.48 A
840-131 PCP:HUB UNIT/ASSEMBLY, HC-A2_- 1/1/2018 $11,478.98 A
840-132 PCP:HUB UNIT/ASSEMBLY, HC-A2_- 1/1/2018 $8,775.03 A
840-139 PCP:HUB UNIT, HC-B4_N- 1/1/2018 $9,646.28 A
840-140 PCP:HUB UNIT, HC-B4MP- 1/1/2018 $9,816.43 A
840-146 PCP:HUB UNIT, HC-B5MA- 1/1/2018 $13,568.95 A
840-154 PCP:HUB UNIT, HC-B5MA-2 1/1/2018 $13,533.08 A
840-158 PCP:HUB UNIT, HC-B4TW-3( ) 1/1/2018 $9,646.28 A
840-159 PCP:HUB UNIT, HC-A3_F-() 1/1/2018 $9,800.03 A
840-55 PCP:HUB UNIT, HC-B3_20- 1/1/2018 $10,983.90 A
840-60 PCP:HUB UNIT, HC-B3TN- 1/1/2018 $6,787.55 A
840-74 PCP:HUB UNIT, HC-B3_30- 1/1/2018 $10,097.28 A
840-82 PCP:HUB UNIT, HC-A3_F- 1/1/2018 $9,800.03 A
840-85 PCP:HUB UNIT, HC-(A,D)3_20- 1/1/2018 $9,372.60 A
840-94 PCP:HUB UNIT, HC-A2_20- 1/1/2018 $8,343.50 A
840-96 PCP:HUB UNIT/ASS'Y, HC-A2_ _- 1/1/2018 $7,457.90 A
9943HART-001 UNFEATHER TOOL/CLAY-GROOMER 1/1/2018 $3,691.03 A
A-1020 WASHER, FIBER 1/1/2018 $0.50 A
A-1037-4 BOLT, 3/8-24, HEX HEAD 1/1/2018 $97.00 A
A-1074 WASHER, RETAINING, KNOB UNIT 1/1/2018 $35.30 A
A-1079 INSERT, PISTON 1/1/2018 $80.98 A
A-113-2 PLATE, INNER, DIAPHRAM 1/1/2018 $230.63 A
A-114-2 DOWEL PIN 1/1/2018 $24.14 A
A-114-3 DOWEL PIN 1/1/2018 $35.16 A
A-114-6 DOWEL PIN 1/1/2018 $22.85 A
A-114-7 DOWEL PIN 1/1/2018 $24.65 A
A-114-8 DOWEL PIN 1/1/2018 $27.83 A
A-114-A DOWEL PIN 1/1/2018 $22.10 A
A-114-B DOWEL PIN 1/1/2018 $33.83 A
A-114-C DOWEL PIN 1/1/2018 $35.90 A
A-114-E DOWEL PIN 1/1/2018 $28.03 A
A-114-F DOWEL PIN 1/1/2018 $29.88 A
A-114-G DOWEL PIN 1/1/2018 $22.50 A
A-116-A1 BUSHING, PLASTIC 1/1/2018 $78.93 A
A-116-B1 BUSHING, PLASTIC 1/1/2018 $96.35 A
A-116-D1 BUSHING, PLASTIC 1/1/2018 $56.38 A
A-116-F1 BUSHING, PLASTIC 1/1/2018 $93.28 A
A-1181 RACE, BEARING, THRUST, ROLLER 1/1/2018 $540.00 A
A-1182 BEARING, THRUST, ROLLER 1/1/2018 $11.99 A
A-1183 GUIDE, BEARING, PLASTIC 1/1/2018 $194.00 A
A-1184 RACE,BEARING,THRUST,ROLLER 1/1/2018 $14.76 A
A-1186 CYLINDER BUSHING, ROD 1/1/2018 $64.58 A
A-11-A PIN, GUIDE 1/1/2018 $125.05 A
A-121 BOLT, SHOULDER,1/4-28,HEX HEAD 1/1/2018 $131.20 A
A-127 BUSHING, BLADE,"X" SHANK 1/1/2018 $250.00 A
A-1271 BEARING,NEEDLE,CLOSED END 1/1/2018 $41.60 A
A-127-1 BUSHING, BLADE,"X" SHANK 1/1/2018 $250.00 A
A-1272 RING, INNER BEARING 1/1/2018 $24.70 A
A-127-4 BUSHING, BLADE,"X" SHANK 1/1/2018 $179.38 A
A-127-5 BUSHING, BLADE,"X" SHANK 1/1/2018 $179.38 A
A-128 WASHER 1/1/2018 $16.35 A
A-1293 INSERT 1/1/2018 $96.35 A Y
A-1303-A BEARING, RETENTION, BLADE 1/1/2018 $623.20 A
A-1305 BALANCE WEIGHT 1/1/2018 $4.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 29



Hartzell Propeller Inc.

2018 Price List

A-1306 GASKET, CLAMP 1/1/2018 $1.95 A Y
A-1306-1 GASKET, CLAMP 1/1/2018 $2.05 A Y
A-1309 BUSHING, BLADE,"Z" & "W" SHANK 1/1/2018 $251.00 A
A-1309-1 BUSHING, BLADE,"Z" & "W" SHANK 1/1/2018 $210.13 A
A-1328 BOLT,MOUNTING,1/2-20,12 POINT 1/1/2018 $66.00 A
A-1328-1 BOLT,MOUNTING,1/2-20,12 POINT 1/1/2018 $43.36 A
A-1328-2 BOLT,MOUNTING,1/2-20,12 POINT 1/1/2018 $59.00 A
A-1331 PCP:BEARING RETAINER, SPLIT 1/1/2018 $537.10 A
A-1332-1 PIN, 3/8 ", ALUMINUM 1/1/2018 $46.79 A
A-1332-2 PIN, 3/8 ", ALUMINUM 1/1/2018 $26.09 A
A-1333 BOLT,MOUNTING,1/2-20,HEX HEAD 1/1/2018 $133.00 A
A-1333-3 BOLT,MOUNTING,1/2-20,HEX HEAD 1/1/2018 $31.67 A
A-1333-6 BOLT,MOUNTING,1/2-20,HEX HEAD 1/1/2018 $74.83 A
A-1347 BLADE BUSHING,"W" SHANK 1/1/2018 $126.00 A
A-1347-1 BLADE BUSHING,"W" SHANK 1/1/2018 $194.75 A
A-1349 SPACER,"M","R","W" BLADE SHANK 1/1/2018 $88.15 A
A-135 GASKET, HYDRAULIC 1/1/2018 $9.00 A Y
A-1365 BUSHING, GUIDE, ROD 1/1/2018 $198.85 A
A-1369-1 RING, RETAINING, KEEPER, SPLIT 1/1/2018 $138.38 A
A-1372 BOLT,7/16-20,12 POINT 1/1/2018 $12.15 A
A-1373 NUT,7/16-20,HEX,SELF-LOCKING 1/1/2018 $5.18 A
A-1381 WASHER, 1/2 " CRES 1/1/2018 $2.10 A Y
A-139 SHAFT, T - DRIVE, "A" 1/1/2018 $529.93 A
A-143 SHAFT, T - DRIVE, "B" 1/1/2018 $401.80 A
A-1444 WASHER, 5/16 " 1/1/2018 $4.46 A
A-1444-1 WASHER, 5/16" 1/1/2018 $27.10 A
A-1460 SPRING RETAINER, REAR 1/1/2018 $195.00 A
A-1464 LINK PIN UNIT 1/1/2018 $57.00 A
A-1467 RING, RETAINING 1/1/2018 $170.15 A
A-148-1 STUD,1/4-20&1/4-28 1/1/2018 $118.00 A
A-148-2 STUD,1/4-20&1/4-28 1/1/2018 $139.00 A
A-148-5 STUD,1/4-20&1/4-28 1/1/2018 $118.00 A
A-1497 BUSHING, BLADE, "V" SHANK 1/1/2018 $142.00 A
A-1497-1 BUSHING, BLADE, "V" SHANK 1/1/2018 $117.88 A
A-1499 STEEL SPACER 1/1/2018 $87.13 A
A-150 SHAFT, T - DRIVE, "B-2" 1/1/2018 $569.90 A
A-151 DRIVE GEAR 1/1/2018 $1,576.45 A
A-152-L GEAR, T - DRIVE 1/1/2018 $362.85 A
A-152-R GEAR, T - DRIVE 1/1/2018 $362.85 A
A-154 STUD,5/16-18&5/16-24 1/1/2018 $164.00 A
A-155 HUB BUSHING, SHAFT 1/1/2018 $113.78 A
A-156 RING, PULLER, HUB 1/1/2018 $200.90 A
A-1579 SPACER TUBE, HEX HEAD 1/1/2018 $200.00 A
A-1580 SPRING, COMPRESSION 1/1/2018 $19.94 A
A-1581 GROMMET, SILICONE 1/1/2018 $32.60 A
A-1584 BOLT,3/8-24,HEX HEAD 1/1/2018 $75.00 A
A-159 PCP:BEARING RETAINER, SPLIT 1/1/2018 $309.55 A
A-1591 SPRING GUIDE 1/1/2018 $7.25 A
A-1595 SCREW, SHOULDER, 1/4" 1/1/2018 $11.10 A
A-1595-1 SCREW, SHOULDER, 1/4" 1/1/2018 $21.25 A
A-1596 SPRING,EXTENSION 1/1/2018 $6.75 A
A-1596-1 SPRING,EXTENSION 1/1/2018 $11.15 A
A-1599 SPACER, "V","MV" BLADE SHANK 1/1/2018 $66.63 A
A-165-2 RING, SPACER, HUB 1/1/2018 $113.78 A
A-165-3 RING, SPACER, HUB 1/1/2018 $70.00 A
A-165-6 RING, SPACER, HUB 1/1/2018 $73.80 A
A-1683-2 BUSHING, TAPPET 1/1/2018 $5.74 A
A-169-1 SPACER 1/1/2018 $29.50 A
A-169-4 SPACER 1/1/2018 $3.25 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 30



2018 Price List

Hartzell Propeller Inc.

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

A-169-7 SPACER 1/1/2018 $2.00 A
A-1712 BOLT,3/8-24,HEX HEAD 1/1/2018 $47.45 A
A-1713 SLUG, COUNTERWEIGHT 1/1/2018 $2.75 A
A-173-2 LINK, CONTROL, VALVE 1/1/2018 $347.00 A
A-1744 BOLT,3/8-24,HEX HEAD 1/1/2018 $31.75 A
A-1745 WASHER, 3/8 " 1/1/2018 $3.90 A
A-1799 CYLINDER BUSHING, ROD 1/1/2018 $75.85 A
A-181 GASKET, HYDRAULIC 1/1/2018 $3.15 A Y
A-1812-1 CONE, MOUNTING, REAR,30 SPLINE 1/1/2018 $292.13 A Y
A-1813 RING, PULLER, 30 SPLINE 1/1/2018 $131.20 A
A-1817 BUSHING, HUB 1/1/2018 $128.13 A
A-1827-1 PCP:SPRING RETAINER CUP 1/1/2018 $588.35 A
A-1829 PCP:SPRING RETAINER, REAR 1/1/2018 $85.08 A
A-1834 PLUG, ENGINE SHAFT 1/1/2018 $320.83 A
A-1834-1 PLUG, ENGINE SHAFT 1/1/2018 $314.68 A
A-184-6 LINK, VALVE 1/1/2018 $502.25 A
A-1848 LOCK,NUT,SHAFT,30 SPLINE- UNIT 1/1/2018 $56.38 A Y
A-1849 PCP:SLEEVE, SPACER 1/1/2018 $58.00 A
A-1851 BEARING,RETENTION,BLADE 1/1/2018 $533.00 A
A-1851-A RACE, HUB SIDE 1/1/2018 $267.00 A
A-1851-B RACE, BLADE SIDE 1/1/2018 $257.00 A
A-1851-T BEARING,RETENTION,BLADE 1/1/2018 $542.00 A
A-1851-TA RACE, HUB SIDE 1/1/2018 $274.00 A
A-1851-TB RACE, BLADE SIDE 1/1/2018 $248.00 A
A-1852 RING, RETAINING, BEARING 1/1/2018 $80.00 A
A-1854 RETAINER,RING,WIRE 1/1/2018 $1.40 A
A-1855 SPACER, SHAFT, 30 SPLINE 1/1/2018 $45.82 A Y
A-186 SPACER, CONE, MOUNTING 1/1/2018 $103.53 A Y
A-1864 WASHER, 1/4 ", FIBER 1/1/2018 $1.10 A
A-1865 WASHER,FIBER 1/1/2018 $1.90 A
A-1865-2 WASHER,FIBER 1/1/2018 $1.90 A
A-1866-2 HOSE, TRAVEL TUBE 1/1/2018 $11.02 A
A-1866-3 HOSE, TRAVEL TUBE 1/1/2018 $11.69 A
A-1877 RETAINER,BEARING,WIRE 1/1/2018 $1.15 A
A-1884-10A PILOT TUBE 1/1/2018 $852.80 A
A-1884-2A PILOT TUBE 1/1/2018 $852.80 A
A-1884-4A PILOT TUBE 1/1/2018 $852.80 A
A-1884-6A PILOT TUBE 1/1/2018 $852.80 A
A-1884-8A PILOT TUBE 1/1/2018 $852.80 A
A-1884-A PILOT TUBE 1/1/2018 $852.80 A
A-1891-10A PILOT TUBE 1/1/2018 $861.00 A
A-1891-12A PILOT TUBE 1/1/2018 $861.00 A
A-1891-14A PILOT TUBE 1/1/2018 $861.00 A
A-1891-16A PILOT TUBE 1/1/2018 $861.00 A
A-1891-18A PILOT TUBE 1/1/2018 $861.00 A
A-1891-20A PILOT TUBE 1/1/2018 $861.00 A
A-1891-2A PILOT TUBE 1/1/2018 $563.75 A
A-1891-4A PILOT TUBE 1/1/2018 $488.93 A
A-1891-6A PILOT TUBE 1/1/2018 $488.93 A
A-1891-8A PILOT TUBE 1/1/2018 $861.00 A
A-1891-A PILOT TUBE 1/1/2018 $357.73 A
A-1926 FORK 1/1/2018 $1,090.60 A
A-1929 BALANCE WEIGHT 1/1/2018 $20.35 A
A-1937 BUSHING, HUB 1/1/2018 $66.63 A
A-1949 KEEPER,SPLIT 1/1/2018 $77.00 A
A-1983 LUG, GUIDE 1/1/2018 $127.10 A
A-1989 SPACER, SPRING 1/1/2018 $14.95 A
A-199 LINK, CONTROL, GOVERNOR 1/1/2018 $188.00 A
A-1997 WASHER, 1", COUNTERSUNK 1/1/2018 $75.00 A
Original

Effectivity Date 1/2/2018

Page 31



Hartzell Propeller Inc.
2018 Price List

A-2008 LINK ARM 1/1/2018 $373.10 A
A-2016 BOLT,10-32,HEX HEAD 1/1/2018 $7.50 A
A-2016-2 BOLT,10-32,HEX HEAD 1/1/2018 $11.02 A
A-2017 BOLT,3/8-24,12 POINT 1/1/2018 $16.40 A
A-2027 RETAINER,BEARING,WIRE 1/1/2018 $2.25 A
A-2031 WASHER, 3/8 " 1/1/2018 $1.50 A
A-2036-12 SCREW, 7/16-20, CAP, MODIFIED 1/1/2018 $21.10 A
A-2036-14 SCREW, 7/16-20, CAP, MODIFIED 1/1/2018 $83.00 A
A-2036-16 SCREW, 7/16-20, CAP, MODIFIED 1/1/2018 $140.43 A
A-2036-22 SCREW, 7/16-20, CAP, MODIFIED 1/1/2018 $9.38 A
A-2036-24 SCREW, 7/16-20, CAP, MODIFIED 1/1/2018 $93.00 A
A-2036-30 SCREW, 7/16-20, CAP, MODIFIED 1/1/2018 $25.55 A
A-2036-32 SCREW, 7/16-20, CAP, MODIFIED 1/1/2018 $34.65 A
A-2037 SCREW, 5/16-24, CAP 1/1/2018 $23.85 A
A-2037-1 SCREW, 5/16-24, CAP 1/1/2018 $13.45 A
A-2037-2C SCREW, 5/16-18, CAP 1/1/2018 $201.93 A
A-2038-10 SCREW, 1/4-28, CAP 1/1/2018 $12.70 A
A-2038-12 SCREW, 1/4-28, CAP 1/1/2018 $10.70 A
A-2038-14 SCREW, 1/4-28, CAP 1/1/2018 $23.80 A
A-2038-4 SCREW, 1/4-28, CAP 1/1/2018 $13.30 A
A-2038-6 SCREW, 1/4-28, CAP 1/1/2018 $25.75 A
A-2039 SCREW, SET, 10-32 1/1/2018 $66.00 A
A-2043-1 NUT,3/8-24,HEX,SELF-LOCKING 1/1/2018 $2.95 A
A-2044 NUT,1/2-20,HEX,SELF-LOCKING 1/1/2018 $8.56 A Y
A-2048-2 WASHER, MOUNTING, 9/16 " CSK 1/1/2018 $2.40 A
A-2051 BOLT, 5/16-24, HEX HEAD 1/1/2018 $9.00 A
A-2051-1 BOLT, 5/16-24, HEX HEAD 1/1/2018 $9.30 A
A-2053 PCP:NUT,SHAFT,20 SPLINE 1/1/2018 $969.65 A
A-2054 HOUSING, SEAL 1/1/2018 $99.00 A
A-2067 STUD, MOUNTING, 1/2-20 1/1/2018 $38.64 A
A-2069 NUT, MOUNTING, CASTELLATED 1/1/2018 $8.25 A
A-2069-2 NUT, MOUNTING, CASTELLATED 1/1/2018 $65.60 A
A-2070-10 SCREW, 1/4-28, BUTTON HEAD 1/1/2018 $7.00 A
A-2070-11 SCREW, 1/4-28, BUTTON HEAD 1/1/2018 $15.35 A
A-2070-6 SCREW, 1/4-28, BUTTON HEAD 1/1/2018 $23.73 A
A-2070-7 SCREW, 1/4-28, BUTTON HEAD 1/1/2018 $3.55 A
A-2070-8 SCREW, 1/4-28, BUTTON HEAD 1/1/2018 $46.80 A
A-2070-9 SCREW, 1/4-28, BUTTON HEAD 1/1/2018 $131.20 A
A-2074-2 STRIP, WEAR, BLADE SHANK 1/1/2018 $63.55 A
A-2074-3 STRIP, WEAR, BLADE SHANK 1/1/2018 $51.00 A
A-2074-5 STRIP, WEAR, BLADE SHANK 1/1/2018 $57.40 A
A-2074-6 STRIP, WEAR, BLADE SHANK 1/1/2018 $63.55 A
A-213-5 COUPLING, T- DRIVE 1/1/2018 $304.43 A
A-2148-60 SPACER,GOV.SPRING 1/1/2018 $48.23 A
A-2159 CONTROL ARM 1/1/2018 $49.87 A
A-2159-1 CONTROL ARM 1/1/2018 $64.58 A
A-2159-2 CONTROL ARM 1/1/2018 $77.90 A
A-2159-3 CONTROL ARM 1/1/2018 $77.90 A
A-2159-4 CONTROL ARM 1/1/2018 $77.90 A
A-2159-5 CONTROL ARM 1/1/2018 $77.90 A
A-2159-7 CONTROL ARM 1/1/2018 $102.00 A
A-2159-8 CONTROL ARM 1/1/2018 $77.90 A
A-2163 SPRING, TORSION 1/1/2018 $13.02 A
A-216-3 COLLAR, OIL TRANSFER 1/1/2018 $633.45 A
A-217-2 TUBE, OIL TRANSFER 1/1/2018 $127.10 A
A-2176 SPOOL, GOVERNOR 1/1/2018 $383.00 A
A-218 HUB BUSHING, SHAFT 1/1/2018 $199.88 A
A-219 RING, PULLER 1/1/2018 $208.08 A
A-2202 BEARING,RETENTION,BLADE 1/1/2018 $435.63 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 32



Hartzell Propeller Inc.
2018 Price List

A-2202-A RACE, HUB SIDE 1/1/2018 $223.00 A

A-2202-B RACE, BLADE SIDE 1/1/2018 $206.00 A

A-2204 RING, RETAINING, BEARING 1/1/2018 $94.00 A

A-221 RING, SEAL 1/1/2018 $19.32 A

A-2211 NUT,.718-20,CASTELLATED, THIN 1/1/2018 $38.60 A

A-221-1 RING, SEAL 1/1/2018 $97.38 A

A-2213-1 SPRING, COMPRESSION 1/1/2018 $18.66 A

A-2217-1 BLOCK, PITCH CHANGE 1/1/2018 $181.43 A

A-2217-3 BLOCK, PITCH CHANGE 1/1/2018 $175.00 A

A-2217-4 BLOCK, PITCH CHANGE 1/1/2018 $199.88 A

A-224-4 OIL TRANSFER - ASSEMBLY 1/1/2018 $4,032.35 A Y
A-2245 HUB BUSHING, ROD 1/1/2018 $50.00 A

A-2245-1 HUB BUSHING, ROD 1/1/2018 $49.40 A

A-2245-2 HUB BUSHING, ROD 1/1/2018 $36.15 A

A-2245-3 HUB BUSHING, ROD 1/1/2018 $37.85 A

A-2245-5 HUB BUSHING, ROD 1/1/2018 $30.60 A

A-2245-7 HUB BUSHING, ROD 1/1/2018 $43.40 A

A-2246 SPACER, ALUMINUM 1/1/2018 $25.55 A

A-2246-1 SPACER, ALUMINUM 1/1/2018 $27.62 A

A-2246-3 SPACER, ALUMINUM 1/1/2018 $23.15 A

A-2246-4 SPACER, ALUMINUM 1/1/2018 $23.15 A

A-2246-5 SPACER, ALUMINUM 1/1/2018 $27.55 A

A-2246-6 SPACER, ALUMINUM 1/1/2018 $29.75 A

A-2246-7 SPACER, ALUMINUM 1/1/2018 $29.75 A

A-2246-8 SPACER, ALUMINUM 1/1/2018 $25.05 A

A-2246-9 SPACER, ALUMINUM 1/1/2018 $24.65 A

A-2247-1 STUD, MOUNTING,7/16-20,DRILLED 1/1/2018 $30.29 A

A-2249 HUB BUSHING, GUIDE 1/1/2018 $25.05 A

A-2268 SPACER, SPRING 1/1/2018 $168.00 A

A-2269 SPRING RETAINER, REAR 1/1/2018 $172.20 A

A-2269-1 SPRING RETAINER, REAR 1/1/2018 $161.00 A

A-2272 KEEPER, SPLIT 1/1/2018 $189.00 A

A-228 SLINGER, OIL 1/1/2018 $30.50 A

A-2293 GUIDE, SPRING, PLASTIC 1/1/2018 $56.00 A

A-2327 CYLINDER (1/4-28) - REPAIR KIT 1/1/2018 $1,489.32 A Y
A-2328 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $1,657.00 A Y
A-2328-1 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $1,380.68 A Y
A-2328-11 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $231.00 A Y
A-2328-12 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $155.00 A Y
A-2328-13 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $539.00 A Y
A-2328-14 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $261.38 A Y
A-2328-15 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $232.00 A Y
A-2328-17 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $278.80 A Y
A-2328-18 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $244.97 A Y
A-2328-19 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $255.22 A Y
A-2328-21 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $359.77 A Y
A-2328-22 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $1,535.00 A Y
A-2328-24 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $1,600.02 A Y Y
A-2328-3 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $2,119.70 A Y
A-2328-30 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $864.07 A Y
A-2328-31 REPAIR/PAINT KIT/BRT RD POLANE 1/1/2018 $276.00 A Y
A-2328-32 REPAIR/PNT KIT/BRT YLW POLANE 1/1/2018 $276.00 A Y
A-2328-4 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $1,657.00 A Y
A-2328-8 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $1,342.75 A Y
A-2328-9 PAINT, COMP BLADE - REPAIR KIT 1/1/2018 $566.00 A Y
A-2329 BOLT, MOUNTING, B-3339 - KIT 1/1/2018 $276.00 A Y
A-2351 ELBOW, 90° 1/1/2018 $17.89 A

A-2374-1 ANTI-ICING - KIT 1/1/2018 $2,495.88 A

A-2386 ANTI - ICE(BEECH 55&58) - KIT 1/1/2018 $3,028.87 A Y

Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 33



2018 Price List

Hartzell Propeller Inc.

A-2404 STOP, PITCH 1/1/2018 $202.00 A
A-2404-1 STOP, PITCH 1/1/2018 $156.00 A
A-2404-2 STOP, PITCH 1/1/2018 $164.00 A
A-2404-3 STOP, PITCH 1/1/2018 $188.00 A
A-2404-4 STOP, PITCH 1/1/2018 $180.00 A
A-2405-2 NUT, 15/16-20, HEX 1/1/2018 $44.45 A
A-2405-4 NUT, 15/16-20, HEX 1/1/2018 $31.45 A
A-2407 PIN, START LOCK 1/1/2018 $801.00 A
A-2411-1 WASHER 1/1/2018 $35.85 A
A-2413 BUSHING, KNOB, PITCH CHANGE 1/1/2018 $7.74 A
A-2413-2 BUSHING, KNOB, PITCH CHANGE 1/1/2018 $5.23 A
A-2414 PLUG, BLADE 1/1/2018 $32.65 A
A-2414-1 PLUG,BLADE 1/1/2018 $396.68 A
A-2418-14 ROD, PITCH CHANGE 1/1/2018 $881.50 A
A-2418-15 ROD, PITCH CHANGE 1/1/2018 $725.00 A
A-2418-2 ROD, PITCH CHANGE 1/1/2018 $710.00 A
A-2418-3 ROD, PITCH CHANGE 1/1/2018 $881.50 A
A-2418-4 ROD, PITCH CHANGE 1/1/2018 $761.00 A
A-2418-5 ROD, PITCH CHANGE 1/1/2018 $752.00 A
A-2418-6 ROD, PITCH CHANGE 1/1/2018 $792.00 A
A-242 BUTTON, LOCATOR, OIL TRANSFER 1/1/2018 $44.28 A
A-2420-13 COLLAR, STOP 1/1/2018 $78.93 A
A-2420-14 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-15 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-16 COLLAR, STOP 1/1/2018 $397.00 A
A-2420-18 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-19 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-20 COLLAR, STOP 1/1/2018 $397.00 A
A-2420-21 COLLAR, STOP 1/1/2018 $135.00 A
A-2420-22 COLLAR, STOP 1/1/2018 $77.90 A
A-2420-24 COLLAR, STOP 1/1/2018 $77.90 A
A-2420-25 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-26 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-27 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-28 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-29 COLLAR, STOP 1/1/2018 $77.90 A
A-2420-30 COLLAR, STOP 1/1/2018 $77.90 A
A-2420-31 COLLAR, STOP 1/1/2018 $73.80 A
A-2420-32 COLLAR, STOP 1/1/2018 $74.83 A
A-2420-33 COLLAR, STOP 1/1/2018 $77.90 A
A-2420-34 COLLAR, STOP 1/1/2018 $76.88 A
A-2420-36 COLLAR, STOP 1/1/2018 $135.00 A
A-2420-37 COLLAR, STOP 1/1/2018 $75.85 A
A-2420-38 COLLAR, STOP 1/1/2018 $135.00 A
A-2420-39 COLLAR, STOP 1/1/2018 $75.85 A
A-2424 BALANCE WEIGHT 1/1/2018 $14.25 A
A-2424-1 BALANCE WEIGHT 1/1/2018 $17.07 A
A-2424A BALANCE WEIGHT, ALUMINUM 1/1/2018 $21.80 A
A-2429-3 STUD, MOUNTING, 1/2-20 1/1/2018 $31.88 A
A-2429-4 STUD, MOUNTING, 1/2-20 1/1/2018 $40.69 A
A-2429-5 STUD, MOUNTING, 1/2-20 1/1/2018 $48.43 A
A-2429-6 STUD, MOUNTING, 1/2-20 1/1/2018 $61.50 A
A-2429-7 STUD, MOUNTING, 1/2-20 1/1/2018 $31.98 A
A-2431 BOLT,3/8-24,HEX HEAD 1/1/2018 $13.50 A
A-2432 BOLT,3/8-24,HEX HEAD 1/1/2018 $32.20 A
A-2433 BOLT,3/8-24,HEX HEAD 1/1/2018 $20.30 A
A-2435 WASHER, 5/16 " 1/1/2018 $7.53 A
A-2435-1 WASHER, 5/16 " 1/1/2018 $7.53 A
A-2476-10 SPINNER - MTG KIT 1/1/2018 $215.00 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 34



Hartzell Propeller Inc.

2018 Price List

A-2476-11 SPINNER - MTG KIT 1/1/2018 $245.00 A Y

A-2476-14 SPINNER - MTG KIT 1/1/2018 $215.00 A Y

A-2476-16 SPINNER - MTG KIT 1/1/2018 $524.00 A Y

A-2476-17 SPINNER - MTG KIT 1/1/2018 $207.05 A Y

A-2476-19 SPINNER - MTG KIT 1/1/2018 $198.00 A Y

A-2476-2 SPINNER - MTG KIT 1/1/2018 $397.00 A Y

A-2476-20 SPINNER - MTG KIT 1/1/2018 $438.70 A Y

A-2476-25 SPINNER - MTG KIT 1/1/2018 $298.00 A Y

A-2476-27 SPINNER - MTG KIT 1/1/2018 $276.00 A Y

A-2476-28 SPINNER - MTG KIT 1/1/2018 $426.00 A Y

A-2476-30 SPINNER - MTG KIT 1/1/2018 $269.00 A Y

A-2476-32 SPINNER - MTG KIT 1/1/2018 $245.00 A Y

A-2476-34 SPINNER - MTG KIT 1/1/2018 $1,037.30 A Y

A-2476-35 SPINNER - MTG KIT 1/1/2018 $290.00 A Y

A-2476-4 SPINNER - MTG KIT 1/1/2018 $168.00 A Y

A-2476-44 SPINNER - MTG KIT 1/1/2018 $208.07 A Y

A-2476-48 SPINNER - MTG KIT 1/1/2018 $184.00 A Y

A-2476-53 SPINNER - MTG KIT 1/1/2018 $1,012.00 A Y

A-2476-6 SPINNER - MTG KIT 1/1/2018 $244.00 A Y

A-2476-7 SPINNER - MTG KIT 1/1/2018 $298.00 A Y

A-2476-8 SPINNER - MTG KIT 1/1/2018 $200.00 A Y

A-2476-9 SPINNER - MTG KIT 1/1/2018 $303.00 A Y

A-2481 PLUG, HUB 1/1/2018 $131.20 A

A-2481-1 PLUG, HUB 1/1/2018 $137.35 A

A-2481-3 PLUG, HUB 1/1/2018 $142.48 A

A-2481-4 PLUG, HUB 1/1/2018 $390.53 A

A-2482 WASHER, MOUNTING 1/1/2018 $52.00 A

A-249 SLEEVE, PROPELLER SHAFT 1/1/2018 $199.88 A

A-2498 NUT,7/16-20,CASTELLATED 1/1/2018 $23.25 A

A-2499-10 SLEEVE, STOP 1/1/2018 $125.05 A

A-2526-1 SCREW, RACK ADJUST 1/1/2018 $265.48 A

A-2527 IDLER SHAFT 1/1/2018 $120.95 A

A-2541-1 SPRING, COMPRESSION, SPEEDER 1/1/2018 $33.42 A

A-2541-1L SPRING, COMPRESSION, SPEEDER 1/1/2018 $148.63 A

A-2541-4 SPRING, COMPRESSION, SPEEDER 1/1/2018 $19.78 A

A-2541-4L SPRING, COMPRESSION, SPEEDER 1/1/2018 $38.15 A

A-255 PLUG, RELIEF VALVE, GOVERNOR 1/1/2018 $98.00 A

A-255-1 PLUG, RELIEF VALVE, GOVERNOR 1/1/2018 $101.00 A

A-2569-3 GOVERNOR BUSHING,CONTROL SHAFT 1/1/2018 $41.30 A

A-2576 STUD, GOV. HEAD 1/1/2018 $11.99 A

A-2578 SPOOL, GOVERNOR 1/1/2018 $713.00 A

A-2586 WASHER,CONTROL SHAFT, GOVERNOR 1/1/2018 $33.62 A

A-2589 STOP, RPM 1/1/2018 $32.44 A

A-259 SPRING, COMPRESSION, SPEEDER 1/1/2018 $28.70 A

A-259L SPRING, COMPRESSION, SPEEDER 1/1/2018 $30.30 A

A-2620-1 PIN, START LOCK 1/1/2018 $254.20 A

A-2620-3 PIN, START LOCK 1/1/2018 $303.40 A

A-2622 RING, SUPPORT 1/1/2018 $106.60 A

A-2622-1 COLLAR SUPPORT RING 1/1/2018 $91.23 A

A-2626 SCREW, 10-32, CAP 1/1/2018 $23.80 A

A-2626-1 SCREW, 10-32, CAP 1/1/2018 $33.95 A

A-2626-2 SCREW, 10-32, CAP 1/1/2018 $42.00 A

A-2626-4 SCREW, 10-32, CAP 1/1/2018 $33.85 A

A-2628 SPRING, COMPRESSION 1/1/2018 $1.90 A

A-2629 BUSHING, START LOCK 1/1/2018 $141.00 A

A-2678 PCP:NUT,5/16-24,SELF-LOCKING 1/1/2018 $156.00 A

A-2697 NUT,1 1/8-12,HEX, THIN,DRILLED 1/1/2018 $48.35 A

A-2742 PAINT KIT,GRAY,QUART 1/1/2018 $384.37 A Y

A-2742-1 PAINT KIT,GRAY,GALLON 1/1/2018 $812.00 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 35



Hartzell Propeller Inc.

2018 Price List

A-2742-10 PAINT KIT,WHITE TIP,QUART 1/1/2018 $251.12 A Y
A-2742-11 PAINT KIT,WHITE TIP,GALLON 1/1/2018 $1,069.00 A Y
A-2742-13 PAINT KIT,SILVER METALLIC,QT. 1/1/2018 $390.52 A Y
A-2742-14 PAINT KIT,SILVER METALLIC,GAL. 1/1/2018 $835.37 A Y
A-2742-15 PAINT KIT,RANDOLPH WASH PRIMER 1/1/2018 $33.85 A Y
A-2742-18 PAINT KIT,BRT SILVER,QUART 1/1/2018 $389.50 A Y
A-2742-2 PAINT KIT,BLACK,QUART 1/1/2018 $389.50 A Y
A-2742-3 PAINT KIT,BLACK,GALLON 1/1/2018 $781.05 A Y
A-2742-4 PAINT KIT,YELLOW,QUART 1/1/2018 $269.57 A Y
A-2742-5 PAINT KIT,YELLOW,GALLON 1/1/2018 $680.60 A Y
A-2742-6 PAINT KIT,RED,QUART 1/1/2018 $278.80 A Y
A-279 FITTING, LUBRICATION 1/1/2018 $0.92 A Y
A-285 SPRING PIN, 3/32 ", CRES 1/1/2018 $0.80 A
A-29 SLUG, COUNTERWEIGHT 1/1/2018 $25.85 A
A-295 LINKSCREW, 1/2-20 1/1/2018 $49.50 A
A-2979-1 SPOOL, BETA VALVE - UNIT 1/1/2018 $1,116.23 A
A-2983 STUD, MOUNTING, 1/2-20 1/1/2018 $242.93 A
A-2986 STUD, MOUNTING, 1/2-20 1/1/2018 $189.00 A
A-3010 SPRING RETAINER, REAR 1/1/2018 $121.98 A
A-3019 SPRING RETAINER, REAR 1/1/2018 $132.23 A
A-3023 BUSHING, PLASTIC 1/1/2018 $5.45 A
A-3023-2 BUSHING, PLASTIC 1/1/2018 $5.45 A
A-3023-3 BUSHING, PLASTIC 1/1/2018 $29.57 A
A-3025 YOKE UNIT 1/1/2018 $111.73 A
A-3026 CARBON BLOCK - UNIT 1/1/2018 $77.00 A
A-3038 FILLER PLATE 1/1/2018 $22.04 A Y
A-3038-1 FILLER PLATE 1/1/2018 $36.30 A Y
A-3039 SLUG, COUNTERWEIGHT 1/1/2018 $137.00 A
A-304 LINKSCREW, 1/2-20 1/1/2018 $31.80 A
A-3042-A TUBE, SPACER, SPRING 1/1/2018 $79.00 A
A-3042A-4 TUBE, SPACER, SPRING 1/1/2018 $81.00 A
A-3042A-7 TUBE, SPACER, SPRING 1/1/2018 $95.33 A
A-3044 BLOCK, BETA FEEDBACK- ASSEMBLY 1/1/2018 $202.00 A Y
A-3047 YOKE 1/1/2018 $17.65 A Y
A-3066 SPRING, COMPRESSION 1/1/2018 $2.70 A
A-3067 LUG, GUIDE 1/1/2018 $57.00 A
A-3067-2 LUG, GUIDE 1/1/2018 $77.00 A
A-3067-6 LUG, GUIDE 1/1/2018 $167.08 A
A-3074 BLOCK, BETA FEEDBACK- ASSEMBLY 1/1/2018 $269.00 A Y
A-3079 PLATE, START LOCK 1/1/2018 $78.93 A
A-308 SPRING, COMPRESSION, PRESSURE 1/1/2018 $2.35 A
A-3086-2 PLATE, START LOCK 1/1/2018 $48.23 A
A-3087 PCP:SPACER, SPRING 1/1/2018 $3.20 A
A-3087-2 PCP:SPACER, SPRING 1/1/2018 $50.94 A
A-3099 SPRING, COMPRESSION, BETA 1/1/2018 $8.60 A
A-3101 EXTENSION, SPOOL, GOVERNOR 1/1/2018 $178.00 A
A-3101-1 EXTENSION, SPOOL, GOVERNOR 1/1/2018 $236.00 A
A-3107 SPRING, COMPRESSION, PRESSURE 1/1/2018 $9.53 A
A-3109 GOVERNOR TRANSFER PLUG 1/1/2018 $33.01 A
A-311 BALL SPACER 1/1/2018 $3.90 A
A-3110 PLUG, GOVERNOR 1/1/2018 $58.43 A
A-312 NUT,7/16-20,SPANNER 1/1/2018 $98.40 A
A-3120 STOP, HIGH R.P.M. 1/1/2018 $174.25 A
A-3123 ORIFICE, GOVERNOR 1/1/2018 $62.00 A
A-3128 SPACER, GOVERNOR 1/1/2018 $45.15 A
A-3131 GOVERNOR NUT UNIT 1/1/2018 $114.80 A
A-3132 NUT,5/8-18, CONTROL SHAFT,GOV 1/1/2018 $88.00 A
A-3137 PLUG, RELIEF VALVE, GOVERNOR 1/1/2018 $87.00 A
A-3144-2 EXTENSION, DRIVE, GOVERNOR 1/1/2018 $561.70 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 36



Hartzell Propeller Inc.

2018 Price List

A-3147-2 STUD,5/16-18&5/16-24 1/1/2018 $131.00 A
A-3147-3 STUD,5/16-18&5/16-24 1/1/2018 $142.48 A
A-3150 DOWEL PIN, 13/64" 1/1/2018 $22.96 A
A-3152 PLUNGER, RELIEF VALVE,GOVERNOR 1/1/2018 $237.00 A
A-3154 CUP, SPRING 1/1/2018 $169.00 A
A-3155 SEAL, BASE/BODY, GOVERNOR 1/1/2018 $1.60 A
A-3155-1 SEAL, BASE/BODY, GOVERNOR 1/1/2018 $4.20 A
A-3167 EXTENSION, GOVERNOR SPOOL 1/1/2018 $240.00 A
A-3173 PLUNGER,RELIEF VALVE,GOVERNOR 1/1/2018 $161.00 A
A-3177-4 SCREW, RACK ADJUST 1/1/2018 $132.00 A
A-3177-5 SCREW, RACK ADJUST 1/1/2018 $194.00 A
A-3181 COUPLING,DRIVE,GOVERNOR 1/1/2018 $535.00 A
A-319 COLLAR 1/1/2018 $55.00 A
A-3191 SCREW, 10-32, R.P.M. ADJUST 1/1/2018 $35.45 A
A-3194 RELIEF VALVE 1/1/2018 $173.00 A
A-3197 SPRING, COMPRESSION 1/1/2018 $42.60 A
A-3198 SPRING RETAINER, SPLIT 1/1/2018 $94.30 A
A-3203 BOLT,3/8-24,HEX HEAD 1/1/2018 $54.00 A
A-3204 SCREW, SET, 5/16-24 1/1/2018 $9.74 A
A-3204-1 SCREW, SET, 5/16-24 1/1/2018 $33.00 A
A-3204-2 SCREW, SET, 5/16-24 1/1/2018 $16.00 A
A-3205 SCREW, 5/16-24, CAP 1/1/2018 $19.50 A
A-3207 BOLT,3/8-24,HEX HEAD 1/1/2018 $36.75 A
A-3208 BOLT,7/16-20,12 POINT 1/1/2018 $21.22 A
A-321 SCREW, 3/8-24, DOUBLE 60° HEAD 1/1/2018 $11.99 A
A-3212 BUTTON, BLOCK, PITCH CHANGE 1/1/2018 $22.40 A
A-3212-1 BUTTON, BLOCK, PITCH CHANGE 1/1/2018 $7.70 A
A-3219-1 BOLT, 3/8-24, HEX HEAD 1/1/2018 $140.00 A
A-3229 BOLT,3/8-24,12 POINT 1/1/2018 $56.00 A
A-3253-2 BLOCK, PITCH CHANGE 1/1/2018 $152.00 A
A-3254 STUD, MOUNTING, 9/16-18 1/1/2018 $93.00 A
A-3256 BUMPER, FORK 1/1/2018 $2.80 A
A-3257 NUT,9/16-18,HEX,SELF-LOCKING 1/1/2018 $55.00 A
A-3263-3 DOUBLER, MOUNTING, BULKHEAD 1/1/2018 $22.80 A Y
A-3263-6 DOUBLER, MOUNTING, BULKHEAD 1/1/2018 $16.76 A Y
A-3303 BUSHING, HUB 1/1/2018 $264.45 A
A-3338-4 ANTI - SEIZE COMPOUND, 1/3 0Z 1/1/2018 $6.05 A Y
A-3338-7 ANTI - SEIZE COMPOUND, 8 0ZS 1/1/2018 $83.03 A Y
A-3365 RING, BACKUP 1/1/2018 $1.30 A
A-3366 RING, BACKUP 1/1/2018 $1.30 A
A-3401 EXTENSION, SPRING 1/1/2018 $455.10 A
A-3419-2 PLATE , START LOCK 1/1/2018 $458.00 A
A-3419-3 PLATE , START LOCK 1/1/2018 $463.00 A
A-3419-4 PLATE , START LOCK 1/1/2018 $312.00 A
A-3419-4L PLATE , START LOCK 1/1/2018 $326.98 A
A-3427 SPACER, PLATE , START LOCK 1/1/2018 $173.00 A
A-3427-1 SPACER, PLATE , START LOCK 1/1/2018 $147.60 A
A-3429 SCREW, 10-32, CAP 1/1/2018 $14.30 A
A-3429-1 SCREW, 10-32, CAP 1/1/2018 $136.00 A
A-3433 START LOCK(HC-B3TN( ))-MTG KIT 1/1/2018 $4,046.70 A
A-3433-2 START LOCK(HC-B3TN( ))-MTG KIT 1/1/2018 $3,230.80 A
A-3439 NUT,3/8-24,HEX, THIN 1/1/2018 $17.80 A
A-3478-1 SPRING RETAINER, BETA 1/1/2018 $66.00 A
A-348 PCP:BLADE (F8483) - KIT 1/1/2018 $15,531.83 A
A-3482 RING,RETAINING,CRIMPED 1/1/2018 $4.85 A
A-3486 PLATE, START LOCK 1/1/2018 $139.00 A
A-3491 SPINNER - MTG KIT 1/1/2018 $891.00 A
A-3495 PLATE, START LOCK 1/1/2018 $93.00 A
A-3495-1 PLATE, START LOCK 1/1/2018 $105.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 37



2018 Price List

Hartzell Propeller Inc.

A-3497 BEARING, THRUST,BALL 1/1/2018 $33.62 A
A-3498 PCP:SPRING, COMP, FEATHERING 1/1/2018 $229.00 A
A-3577 BRACKET, TARGET,SYNCHROPHASING 1/1/2018 $4.55 A
A-3594 DECAL, CYLINDER LUBRICATION 1/1/2018 $0.90 A
A-3594-6 LABEL 1/1/2018 $0.90 A
A-3607 SPRING, COMPRESSION 1/1/2018 $62.53 A
A-3608 SPRING, COMPRESSION 1/1/2018 $26.19 A
A-3613 SPRING RETAINER CUP 1/1/2018 $720.58 A
A-3621-2 PCP:FITTING, ROD END 1/1/2018 $1,495.48 A
A-3622 CAP UNIT, ROD END 1/1/2018 $414.00 A
A-3623 RING, BACKUP 1/1/2018 $1.10 A
A-3634 BUSHING, BETA VALVE 1/1/2018 $157.85 A
A-3636 SPACER, BETA VALVE NO. 3 1/1/2018 $400.78 A
A-3641 WASHER, CBORED, BETA VALVE 1/1/2018 $108.65 A
A-3646 SPRING RETAINER, REAR 1/1/2018 $150.68 A
A-3668 SPRING RETAINER , BETA 1/1/2018 $80.98 A
A-3677 SLEEVE, BETA, THREADED 1/1/2018 $515.00 A
A-3681 PLATE, RETAINING, REAR 1/1/2018 $311.60 A
A-3687 KEEPER, SPLIT 1/1/2018 $86.10 A
A-3744 PLATE, FLYWEIGHT 1/1/2018 $73.80 A
A-3757 PLATE, START LOCK 1/1/2018 $38.80 A
A-3784 BUSHING, CYLINDER 1/1/2018 $88.00 A
A-3789 HUB BUSHING, ROD 1/1/2018 $44.55 A
A-3789-1 HUB BUSHING, ROD 1/1/2018 $57.40 A
A-3817 NUT,1/4-28,HEX,SELF-LOCKING 1/1/2018 $36.70 A
A-384 REPAIR KIT D4( )-3 1/1/2018 $179.37 A
A-385 SPACER, "M","T" BLADE SHANK 1/1/2018 $10.80 A
A-38-B BEARING, THRUST, BALL 1/1/2018 $1,055.75 A
A-38-BG BEARING, THRUST, BALL 1/1/2018 $1,601.05 A
A-3902 GOVERNOR HEAD 1/1/2018 $1,004.50 A
A-3932-1 PHOTO CONDUCTOR ASSMBLY 1/1/2018 $429.48 A
A-3933-1 NEON LIGHT ASSEMBLY 1/1/2018 $404.88 A
A-3936 ROD, SOLENOID 1/1/2018 $156.83 A
A-397 CAP, PITCH CHANGE KNOB 1/1/2018 $53.00 A
A-3986 POTENTIOMETER, MODIFIED (R503) 1/1/2018 $169.00 A
A-4008-1 SPRING RETAINER, REAR 1/1/2018 $413.00 A
A-4018 GUIDE, SPRING 1/1/2018 $96.00 A
A-4025 PCP:CUP, SPRING RETAINER 1/1/2018 $676.50 A
A-4027 PCP:SPACER, PITCH ADJUST 1/1/2018 $267.00 A
A-4027-1 PCP:SPACER, PITCH ADJUST 1/1/2018 $234.00 A
A-4027-3 PCP:SPACER, PITCH ADJUST 1/1/2018 $253.18 A
A-4027-4 PCP:SPACER, PITCH ADJUST 1/1/2018 $253.18 A
A-4028 PCP:SPRING RETAINER, REAR 1/1/2018 $325.00 A
A-4029 PCP:SLEEVE, SPACER 1/1/2018 $480.00 A
A-4030 GUIDE, SPRING 1/1/2018 $211.00 A
A-4031 PCP:KEEPER , SPLIT 1/1/2018 $44.18 A
A-41 STOP, CONTROL LEVER 1/1/2018 $242.93 A
A-4103 RACK, GOVERNOR 1/1/2018 $379.00 A
A-4105 STUD, 1/4-20 & 1/4-28 1/1/2018 $163.00 A
A-4106 CONTROL ARM 1/1/2018 $185.53 A
A-4109 SPRING, COMPRESSION 1/1/2018 $27.15 A
A-4110 LOCK, SCREW, RACK 1/1/2018 $13.85 A
A-4117 BETA VALVE - ASSEMBLY 1/1/2018 $6,472.88 A Y
A-4119 SPRING, COMPRESSION 1/1/2018 $32.96 A
A-4133 SCREW, 10-32, R.P.M. ADJUST 1/1/2018 $29.62 A
A-4138 WASHER,CONTROL SHAFT, GOVERNOR 1/1/2018 $56.38 A
A-4144 RETAINER,COUPLING,WIRE 1/1/2018 $7.33 A
A-4149 RETAINER,FLYWEIGHT,WIRE 1/1/2018 $11.10 A
A-4151 DOWEL PIN 1/1/2018 $10.80 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 38



Hartzell Propeller Inc.

2018 Price List

A-4153 RETAINER,COUPLING,WIRE 1/1/2018 $28.34 A
A-4172 SCREW, 10-32, CAP 1/1/2018 $10.60 A
A-4232 COLLAR, STOP 1/1/2018 $144.53 A
A-4252 SCREW, PITCH ADJUST 1/1/2018 $268.55 A
A-4254 CONE, MOUNTING,REAR, 20 SPLINE 1/1/2018 $379.25 A Y
A-4255 GASKET, CONE 1/1/2018 $2.00 A Y
A-4257 SCREW, SET, 5/8-18, DRILLED 1/1/2018 $164.00 A
A-43 RETAINER, JACKPLATE, WIRE 1/1/2018 $52.53 A
A-4316 SHAFT, STROBE SENSOR 1/1/2018 $384.00 A
A-441 BUSHING, SLEEVE 1/1/2018 $63.55 A
A-4425 RELAY ASSEMBLY 1/1/2018 $258.30 A
A-4456 PRINTED CIRCUIT BOARD 1/1/2018 $65.00 A
A-4471 PULSE GENERATOR SHAFT 1/1/2018 $40.70 A
A-4478 PULSE GENERATOR ASSEMBLY 1/1/2018 $1,536.48 A
A-4483 PULSE GENERATOR SHAFT ASM 1/1/2018 $299.30 A
A-4543 COTTER PIN, T HEAD 1/1/2018 $0.90 A
A-4543-1 COTTER PIN, T HEAD 1/1/2018 $0.72 A
A-4554 TUBE, BALANCE, COMPOSITE BLADE 1/1/2018 $437.00 A
A-4554-1 TUBE, BALANCE, COMPOSITE BLADE 1/1/2018 $399.00 A
A-46 RING,RETAINING,EXTERNAL 1/1/2018 $92.00 A
A-4629 PLATE, PULSE GENERATOR 1/1/2018 $41.82 A
A-4632 PLATE, PULSE GENERATOR 1/1/2018 $52.28 A
A-4634 MAGNET ASSY, PULSE GENERATOR 1/1/2018 $560.68 A
A-4635 COUNTERBALANCE - ASSEMBLY 1/1/2018 $536.08 A
A-4636 MAGNET ASSEMBLY 1/1/2018 $554.53 A
A-4637 COUNTERBALANCE - ASSEMBLY 1/1/2018 $529.93 A
A-4641 BRACKET, PICKUP - UNIT 1/1/2018 $181.00 A
A-4645 PICK-UP ASSEMBLY 1/1/2018 $529.93 A
A-4646-1 SYNCHROPHASER KIT 1/1/2018 $5,763.57 A
A-4647 MAGNET HOLDER ASSEMBLY 1/1/2018 $437.68 A
A-4648 COUNTERBALANCE UNIT 1/1/2018 $546.00 A
A-4655 PCB BOARD C-4362-4/5 COMPUTERS 1/1/2018 $92.00 A
A-4656 PCB BOARD C-4362-4/5 COMPUTERS 1/1/2018 $92.00 A
A-466 SLEEVE, GUIDE, SPRING 1/1/2018 $3.20 A
A-466-1 SLEEVE, GUIDE, SPRING 1/1/2018 $5.43 A
A-4692 SPACER,SLINGER RING 1/1/2018 $59.45 A
A-4692-1 SPACER, SLINGER RING 1/1/2018 $58.00 A
A-47-1 GASKET, CLAMP 1/1/2018 $1.74 A
A-4711 SPRING, COMPRESSION 1/1/2018 $5.95 A
A-4731 BLOCK, BETA FEEDBACK- ASSEMBLY 1/1/2018 $267.53 A Y
A-4732 PLATE, START LOCK 1/1/2018 $112.75 A
A-48 SLUG, WEIGHT 1/1/2018 $5.54 A
A-48-A SLUG, WEIGHT 1/1/2018 $3.25 A
A-4903 KEEPER, SPLIT 1/1/2018 $86.10 A
A-4911 SPACER 1/1/2018 $677.00 A Y
A-4959 BUSHING, ROD 1/1/2018 $809.00 A Y
A-4968 LEVER, CAM FOLLOWER 1/1/2018 $3,085.00 A Y
A-4976 POWER LEVER 1/1/2018 $1,596.95 A Y
A-4989 SPRING, COMPRESSION, BETA 1/1/2018 $216.28 A Y
A-4999 SPRING, COMPRESSION 1/1/2018 $22.40 A Y
A-50-1 CONE, MOUNTING, REAR,20 SPLINE 1/1/2018 $197.83 A Y
A-50-3 CONE, MOUNTING, REAR,20 SPLINE 1/1/2018 $197.83 A Y
A-50-5 CONE, MOUNTING, REAR,20 SPLINE 1/1/2018 $216.28 A Y
A-5626 SPRING, COMPRESSION 1/1/2018 $110.70 A Y
A-5654-10 SCREW, ANNULAR, PITCH LOCK 1/1/2018 $1,022.00 A Y
A-5654-11 ROLLER, PITCH LOCK 1/1/2018 $638.58 A Y
A-5654-12 ENDICON CLUTCH 1/1/2018 $1,730.00 A Y
A-5654-13 CAP, PITCH LOCK 1/1/2018 $479.00 A Y
A-5654-14 SPACER, PITCH LOCK 1/1/2018 $127.10 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 39



Hartzell Propeller Inc.

2018 Price List

A-5654-15 SPACER, PITCH LOCK 1/1/2018 $225.00 A

A-5654-17 BEARING, BALL, PITCH LOCK 1/1/2018 $398.00 A

A-5654-20 SPRING, PITCH LOCK 1/1/2018 $27.62 A

A-5654-21 KEY, PITCH LOCK 1/1/2018 $46.02 A

A-5655 VALVE, FEATHER 1/1/2018 $19,369.43 A Y

A-5656 HIGH PRESSURE PUMP 1/1/2018| $153,735.65 A Y

A-5666 SWITCH, BETA LIGHT 1/1/2018 $1,175.00 A Y

A-5711 WASHER, STAINLESS STEEL 1/1/2018 $110.70 A Y

A-5811 PICKUP, BETA LEVER 1/1/2018 $111.00 A Y Y

A-5812 GASKET, SIDE COVER 1/1/2018 $6.05 A Y

A-5831 WASHER, 3/8 " 1/1/2018 $86.00 A Y

A-5833 WASHER,BETA VALVE 1/1/2018 $35.95 A Y

A-5838-131 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $1.70 A

A-5838-162 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $4.05 A

A-5838-50 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $2.10 A Y

A-5838-78 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $2.25 A Y

A-5838-87 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $1.55 A Y

A-5839-106 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $1.55 A

A-5839-112 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $1.23 A

A-5839-118 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $2.15 A Y

A-5839-156 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $3.95 A Y

A-5839-175 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $2.26 A

A-5839-343 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $8.76 A

A-5839-71 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $1.30 A

A-5839-81 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $2.10 A Y

A-5839-87 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $1.23 A

A-5839-93 RING,RETAINING,INTERNAL SPIRAL 1/1/2018 $1.30 A

A-5949 CONVERSION KIT 1/1/2018 $1,849.10 A

A-5950 CONVERSION KIT 1/1/2018 $3,190.82 A

A-6064 SPRING, COMPRESSION 1/1/2018 $33.65 A

A-6119 BUSHING, LINK ARM 1/1/2018 $2.40 A

A-6122 THERMOSTAT (FOR D0O328) 1/1/2018 $666.25 A Y

A-6153-137 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $3.85 A

A-6153-162 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $3.85 A

A-6153-212 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $10.75 A

A-6153-81 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $3.60 A

A-6153-87 RING,RETAINING,EXTERNAL SPIRAL 1/1/2018 $7.15 A

A-619-1 SLUG, COUNTERWEIGHT 1/1/2018 $56.00 A

A-619-2 SLUG, COUNTERWEIGHT 1/1/2018 $16.65 A

A-619-3 SLUG, COUNTERWEIGHT 1/1/2018 $181.43 A

A-619-6 SLUG, COUNTERWEIGHT 1/1/2018 $127.10 A

A-6275-1 CONVERSION KIT 1/1/2018 $4,763.17 A

A-63B PCP:NUT, SHAFT, 20 SPLINE 1/1/2018 $1,285.35 A

A-6432 NOZZLE, LUBRICATION 1/1/2018 $83.00 A Y

A-6460-5 LABEL-GOVERNOR S/N 1/1/2018 $3.75 A

A-65 DOWEL PIN 1/1/2018 $7.05 A

A-65-1 DOWEL PIN 1/1/2018 $105.58 A

A-6514 KIT, REPLACEMENT HC-B3TN- 1/1/2018 $9,202.45 A

A-6571-4 LABEL, BLADE 1/1/2018 $1.03 A

A-6573-4 LABEL,BLADE 1/1/2018 $1.03 A

A-665 PLUG, BLADE 1/1/2018 $21.95 A

A-6741-10 ADHESIVE, RUBBER, QT 1/1/2018 $104.55 A

A-6741-105-1 COATING, XYLAN, QT 1/1/2018 $290.08 A

A-6741-108 LUBRICANT, GAL 1/1/2018 $473.55 A

A-6741-111 CLOTH, CARBON, 38" WIDE X FT 1/1/2018 $42.64 A

A-6741-116 THREADLOCKER, REMOVABLE, 50 CC 1/1/2018 $112.75 A

A-6741-119 MAT,CARBON FIBRE,28" WIDE X FT 1/1/2018 $3.30 A

A-6741-120 PAINT, RED POLANE, GAL 1/1/2018 $329.00 A Y

A-6741-120-1 PAINT, RED POLANE, QT 1/1/2018 $79.00 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 40



Hartzell Propeller Inc.
2018 Price List

A-6741-121 LUBRICANT,METAL PROTECT,13.6KG 1/1/2018 $1,211.00 A

A-6741-12-1-1 GREASE, 14 0z 1/1/2018 $21.68 A Y
A-6741-122 LEAK DETECTOR, 3 Oz 1/1/2018 $36.13 A

A-6741-12-2-1 GREASE, 35 LB 1/1/2018 $452.03 A Y
A-6741-12-2-2 GREASE, 14 0z 1/1/2018 $13.91 A Y
A-6741-12-3-1 GREASE, 14 0z 1/1/2018 $44.25 A Y
A-6741-124 ADHESIVE PROMOTER, PT 1/1/2018 $177.33 A

A-6741-12-4-1 GREASE, 13.4 OZ TUBE 1/1/2018 $44.25 A Y
A-6741-125 REPLICATION PUTTY, 2 LB 1/1/2018 $292.13 A

A-6741-127 PRIMERT, 4.5 OZ 1/1/2018 $95.33 A

A-6741-131 WIRE,SAFETY,STAINLESS-.032" LB 1/1/2018 $45.75 A Y
A-6741-132 WIRE,SAFETY,STAINLESS-.020" LB 1/1/2018 $46.89 A Y
A-6741-134 SEALANT, HYDRAULIC, 250 CC 1/1/2018 $468.43 A

A-6741-135 ADHESIVE, RETAINING, 50 CC 1/1/2018 $178.00 A

A-6741-136 SEALANT,GASKET ELIMINATOR,50CC 1/1/2018 $95.33 A

A-6741-139-2 GREASE, 14 0z 1/1/2018 $25.75 A Y
A-6741-14-1 ADHESIVE, EZ PACK, 25 GRAM 1/1/2018 $73.00 A

A-6741-14-2 ADHESIVE, PUDDING CUP - 50GR 1/1/2018 $88.00 A

A-6741-145-1 PAINT, TOUCH-UP, BLACK, 12 OZ 1/1/2018 $59.45 A Y
A-6741-146-1 PAINT, TOUCH-UP, GRAY, 12 0z 1/1/2018 $59.45 A Y
A-6741-147-1 PAINT, TOUCH-UP, WHITE, 12 OZ 1/1/2018 $59.45 A Y
A-6741-147-3 PAINT, TOUCH-UP, WHITE, 6 OZ 1/1/2018 $58.00 A Y
A-6741-148-1 PAINT, TOUCH-UP,GRAY MET,12 OZ 1/1/2018 $59.45 A Y
A-6741-149-1 PAINT,TOUCH-UP, RED,12 OZ 1/1/2018 $59.45 A Y
A-6741-149-3 PAINT,TOUCH-UP, RED, 6 OZ 1/1/2018 $58.00 A Y
A-6741-150-1 PAINT, TOUCH-UP, YELLOW, 12 OZ 1/1/2018 $59.45 A Y
A-6741-151 LUBRICANT, ANTI-SEIZE, 1 LB 1/1/2018 $59.45 A Y
A-6741-155-2 TAPE,TEFLON, .5" WIDE, 100' RL 1/1/2018 $240.88 A

A-6741-156 TAPE,TEFLON, .75" WIDE,100' RL 1/1/2018 $449.98 A

A-6741-158 EROSION TAPE, 2" WIDE, 108' RL 1/1/2018 $362.85 A

A-6741-158-1 EROSION TAPE, 2" WIDE, X FT 1/1/2018 $3.79 A

A-6741-16 EPOXY PATCH, 3.34 OZ TUBE KIT 1/1/2018 $31.77 A

A-6741-160 TAPE, YELLOW -1/8 X 2" 1/1/2018 $0.10 A

A-6741-161 SEALANT, 4 OZ KIT 1/1/2018 $217.00 A

A-6741-162-1 PENCIL,NON GRPH,RED,DZ 1/1/2018 $23.06 A

A-6741-162-2 PENCIL, NON GRAPHI, SILVER, DZ 1/1/2018 $23.06 A

A-6741-163 PAINT, POLANE, SILVER, GAL 1/1/2018 $244.98 A Y
A-6741-163-1 PAINT, POLANE, SILVER, QT 1/1/2018 $58.43 A Y
A-6741-165 PAINT, YELLOW POLANE, GAL 1/1/2018 $351.00 A Y
A-6741-165-1 PAINT, YELLOW POLANE, QT 1/1/2018 $101.00 A Y
A-6741-178 ADHESIVE, 0.70 Oz 1/1/2018 $76.00 A

A-6741-179 ADHESIVE, PRIMER, 1.75 0z 1/1/2018 $46.25 A

A-6741-19 MOLD RELEASE, GAL 1/1/2018 $569.90 A

A-6741-190-1 PAINT, TOUCH-UP, SILVER, 12 OZ 1/1/2018 $59.45 A Y
A-6741-19-1 MOLD RELEASE, 4 Oz 1/1/2018 $174.00 A

A-6741-198 EXPANDED FOIL, 24" WIDTH 1/1/2018 $18.20 A

A-6741-199 SEALANT, ELEC COND, SEMIKIT PK 1/1/2018 $624.22 A

A-6741-20 EPOXY, QT KIT 1/1/2018 $426.40 A

A-6741-200 PAINT, BRT RED POLANE, GAL 1/1/2018 $424.35 A Y
A-6741-200-5 PAINT, TOUCH-UP,BRT RED, CAN 1/1/2018 $59.45 A

A-6741-201 PAINT, BRT YELLOW POLANE, GAL 1/1/2018 $414.00 A Y
A-6741-201-1 PAINT, BRT YELLOW POLANE, QT 1/1/2018 $101.00 A

A-6741-203-1 PAINT, BRT SILVER POLANE, QT 1/1/2018 $59.45 A Y
A-6741-203-5 PAINT,TOUCH-UP,BRT SILVER,120Z 1/1/2018 $59.45 A

A-6741-209 APPLICATOR GUN 1/1/2018 $240.88 A

A-6741-21 THREADLOCKER,LOW STRENGTH250CC 1/1/2018 $383.35 A

A-6741-21-1 THREADLOCKER,LOW STRENGTH 50CC 1/1/2018 $119.00 A

A-6741-212-A WIRE MARKERS, "A" LABEL 1/1/2018 $1.40 A

A-6741-212-B WIRE MARKERS, "B" LABEL 1/1/2018 $1.40 A

Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 41



2018 Price List

Hartzell Propeller Inc.

A-6741-212-C WIRE MARKERS, "C" LABEL 1/1/2018 $1.40 A

A-6741-212-D WIRE MARKERS, "D" LABEL 1/1/2018 $2.36 A

A-6741-215 5 MIN EPOXY GEL ADHESIVE 1/1/2018 $22.45 A

A-6741-233-1 KIT - PAINT, PHOTO LUMINESCENT 1/1/2018 $5,986.00 A Y

A-6741-24 WASH PRIMER, GAL. 1/1/2018 $408.00 A Y

A-6741-24-1 WASH PRIMER, QT. 1/1/2018 $117.00 A Y

A-6741-244 LEAD WOOL, 50 LB BAG 1/1/2018 $1,059.00 A

A-6741-25 REDUCER, WASH PRIMER, GAL 1/1/2018 $125.00 A Y

A-6741-25-1 REDUCER, WASH PRIMER, QT 1/1/2018 $36.90 A Y

A-6741-257 SEALANT, SILICONE, 430 GM 1/1/2018 $101.48 A

A-6741-26 ACID DILUENT, GAL 1/1/2018 $164.00 A

A-6741-26-1 ACID DILUENT, QT 1/1/2018 $38.49 A

A-6741-29 PRIMER SEALER, DARK GRAY, GAL 1/1/2018 $182.45 A

A-6741-290 PAINT, CONVENTIONAL CLEAR, GAL 1/1/2018 $424.35 A Y

A-6741-291 PAINT,STERLING SILVER MET, GAL 1/1/2018 $1,269.98 A Y

A-6741-29-1 PRIMER SEALER, DARK GRAY, QT 1/1/2018 $41.82 A Y

A-6741-292 STABILIZER, ACRY GLO, PT 1/1/2018 $389.00 A Y

A-6741-30 CATALYST, GAL 1/1/2018 $677.00 A Y

A-6741-30-1 CATALYST, QT 1/1/2018 $166.00 A Y

A-6741-31 ACCELERATOR, GAL 1/1/2018 $164.00 A Y

A-6741-31-1 ACCELERATOR, QT 1/1/2018 $37.57 A Y

A-6741-317 PAINT, POLANE, GHOST GRAY, GAL 1/1/2018 $244.98 A Y

A-6741-318 PRIMER SEALER, GAL 1/1/2018 $182.45 A

A-6741-318-1 PRIMER SEALER, QT 1/1/2018 $41.82 A

A-6741-32 POLANE REDUCER, GAL 1/1/2018 $98.00 A Y

A-6741-32-1 POLANE REDUCER, QT 1/1/2018 $23.65 A Y

A-6741-33 PAINT, BLACK POLANE, GAL 1/1/2018 $205.00 A Y

A-6741-33-1 PAINT, BLACK POLANE, QT 1/1/2018 $48.12 A Y

A-6741-335 COMP BLADE COSMETIC TOUCHUP KT 1/1/2018 $79.95 A

A-6741-34 PAINT, GRAY POLANE, GAL 1/1/2018 $240.00 A Y

A-6741-34-1 PAINT, GRAY POLANE, QT 1/1/2018 $59.00 A Y

A-6741-35 PAINT,POLANE GRAY METALLIC, GL 1/1/2018 $250.10 A Y

A-6741-35-1 PAINT,POLANE GRAY METALLIC, QT 1/1/2018 $59.45 A Y

A-6741-36 PAINT, FLAT WHITE POLANE, GAL 1/1/2018 $235.75 A Y

A-6741-36-1 PAINT, FLAT WHITE POLANE, QT 1/1/2018 $59.45 A Y

A-6741-41 TOLUENE, GAL 1/1/2018 $48.00 A Y

A-6741-41-1 TOLUENE, QT 1/1/2018 $12.00 A Y

A-6741-42 FABRIC,2 0Z,38" WIDE X FT 1/1/2018 $5.74 A

A-6741-43 APPLICATOR GUN 1/1/2018 $398.73 A

A-6741-45 VACUUM BAG,16" X .004", FEET 1/1/2018 $5.90 A

A-6741-46 GASKET SEALANT, 7 OZ 1/1/2018 $38.80 A

A-6741-49 SEALER, QT 1/1/2018 $261.38 A

A-6741-50 NOZZLE, MIXING 1/1/2018 $7.38 A

A-6741-55 E-GLASS 38" WIDE X 1FT 1/1/2018 $14.40 A

A-6741-56 FIBERGLASS, MILLED 1/16", LB 1/1/2018 $22.00 A

A-6741-58 CLOTH, BLEEDER, TEFLON, YD. 1/1/2018 $46.50 A

A-6741-59 ABSORBENT CLOTH,60" WIDE X FT 1/1/2018 $11.75 A

A-6741-68 EPOXY,5 MIN,1TO1 MIX,25 ML 1/1/2018 $21.70 A

A-6741-71 ADHESIVE, SUPER BONDER, 1 0Z 1/1/2018 $62.53 A

A-6741-74 RETAINING COMPOUND,8.45 0z 1/1/2018 $503.28 A

A-6741-75 COATING, RUST PREVENT, 5 GAL 1/1/2018 $571.00 A

A-6741-75-1 COATING, RUST PREVENT, GL 1/1/2018 $122.00 A

A-6741-84 SPRAY FILL, GAL 1/1/2018 $242.93 A

A-6741-84-1 SPRAY FILL, QT 1/1/2018 $63.00 A

A-6741-85 CATALYST, GAL 1/1/2018 $402.83 A

A-6741-85-1 CATALYST, QT 1/1/2018 $101.48 A

A-6741-9 SEALANT, INDUSTRIAL, 5 0Z 1/1/2018 $35.88 A

A-6741-90 EPOXY ADHESIVE, GRAY, 50ML 1/1/2018 $49.66 A

A-6741-92 RTV, 10.1 0z 1/1/2018 $32.08 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 42



Hartzell Propeller Inc.
2018 Price List

A-6741-93-1 RTV, BLACK, 10.1 Oz 1/1/2018 $54.33 A Y
A-6741-94 ADHESIVE, QT 1/1/2018 $322.88 A
A-6741-96 ADHESIVE, QUICK SET, 1/3 0Z 1/1/2018 $78.00 A
A-6741-98 ADHESIVE, 25 ML KIT 1/1/2018 $99.42 A
A-6800-1 HOUSING, PRELOAD PACK 1/1/2018 $72.78 A
A-6828 SPRING, FEATHERING - KIT 1/1/2018 $1,109.00 A
A-6871-1 GASKET, CLAMP 1/1/2018 $1.64 A
A-6882-10 CORK STOPPER 1/1/2018 $0.85 A
A-6882-12 CORK STOPPER 1/1/2018 $1.34 A
A-6882-14 CORK STOPPER 1/1/2018 $1.20 A
A-6882-15 CORK STOPPER 1/1/2018 $0.80 A
A-6882-19 CORK STOPPER 1/1/2018 $2.67 A
A-6939 SPOOL, GOVERNOR 1/1/2018 $420.00 A
A-71-2 GASKET, VALVE 1/1/2018 $4.75 A
A-717 ROD, GUIDE, PISTON 1/1/2018 $226.00 A
A-7422 BUSHING 1/1/2018 $165.03 A
A-7428 PLATE, STOP 1/1/2018 $627.00 A
A-76 STOP, CONTROL LEVER 1/1/2018 $213.20 A
A-7749 STUD, MOUNTING, 1/2-20 1/1/2018 $24.80 A
A-7750 STUD, MOUNTING, 1/2-20, DOWEL 1/1/2018 $51.00 A
A-7752 SPACER, MOUNTING 1/1/2018 $58.00 A
A-80 BOLT,10-32,HEX HEAD 1/1/2018 $45.75 A
A-80-1 BOLT,10-32,HEX HEAD 1/1/2018 $19.70 A
A-80-2 BOLT,10-32,HEX HEAD 1/1/2018 $104.55 A
A-80-3 BOLT,10-32,HEX HEAD 1/1/2018 $30.80 A
A-80-4 BOLT,10-32,HEX HEAD 1/1/2018 $30.80 A
A-80-5 BOLT,10-32,HEX HEAD 1/1/2018 $30.80 A
A-80-6 BOLT,10-32,HEX HEAD 1/1/2018 $30.80 A
A-80-7 BOLT,10-32,HEX HEAD 1/1/2018 $14.66 A
A-817-1 ROD, GUIDE, PISTON 1/1/2018 $273.00 A
A-817-2 ROD, GUIDE, PISTON 1/1/2018 $258.00 A
A-817-7 ROD, GUIDE, PISTON 1/1/2018 $248.00 A
A-821 FORK 1/1/2018 $554.53 A
A-826-1 ROD, GUIDE, PITCH CHANGE 1/1/2018 $404.88 A
A-826-5 ROD, GUIDE, PITCH CHANGE 1/1/2018 $415.13 A
A-827-1 SLEEVE, ROD, GUIDE 1/1/2018 $418.20 A
A-827-2 SLEEVE, ROD, GUIDE 1/1/2018 $525.00 A
A-827-3 SLEEVE, ROD, GUIDE 1/1/2018 $411.03 A
A-827-7 SLEEVE, ROD, GUIDE 1/1/2018 $388.48 A
A-846-3 PLATE, MOUNTING, SPINNER 1/1/2018 $11.22 A
A-847 SAFETY PIN, SHAFT NUT 1/1/2018 $319.00 A Y
A-848 NUT,7/16-20,HEX,SELF-LOCKING 1/1/2018 $65.60 A
A-848-2 NUT,7/16-20,HEX,SELF-LOCKING 1/1/2018 $29.21 A
A-856 SPRING RETAINER, FLANGED 1/1/2018 $369.00 A
A-857 SPRING RETAINER, REAR 1/1/2018 $200.00 A
A-858 KEEPER, SPLIT 1/1/2018 $227.00 A
A-859 KEEPER, SPLIT 1/1/2018 $589.00 A
A-860-1 SLEEVE, STOP 1/1/2018 $66.00 A
A-860-16 SLEEVE, STOP 1/1/2018 $45.36 A
A-860-3 SLEEVE, STOP 1/1/2018 $117.88 A
A-861-3 LINK ARM 1/1/2018 $513.53 A
A-861-3L LINK ARM 1/1/2018 $483.00 A
A-862 BUSHING, PLASTIC 1/1/2018 $165.00 A
A-862-1 BUSHING, PLASTIC 1/1/2018 $86.00 A
A-862-3 BUSHING, PLASTIC 1/1/2018 $161.00 A
A-862-6 BUSHING, PLASTIC 1/1/2018 $223.00 A
A-862-7 BUSHING, PLASTIC 1/1/2018 $224.00 A
A-862-9 BUSHING, PLASTIC 1/1/2018 $223.00 A
A-867 PCP:KEEPER , SPLIT 1/1/2018 $61.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 43



Hartzell Propeller Inc.

2018 Price List

A-880-1 NUT,HEX,SELF-LOCKING, THIN 1/1/2018 $27.83 A
A-880-2 NUT,HEX,SELF-LOCKING, THIN 1/1/2018 $28.96 A
A-880-2A NUT,HEX,SELF-LOCKING, THIN 1/1/2018 $82.00 A
A-881 PLATE, START LOCK 1/1/2018 $50.94 A
A-881-1 PLATE, START LOCK 1/1/2018 $62.00 A
A-881-2 PLATE, START LOCK 1/1/2018 $95.33 A
A-883 PIN, START LOCK 1/1/2018 $58.00 A
A-884 SPRING, COMPRESSION 1/1/2018 $4.35 A
A-884-3 SPRING, COMPRESSION 1/1/2018 $22.10 A
A-884-4 SPRING, COMPRESSION 1/1/2018 $22.30 A
A-890 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $72.78 A
A-890-13 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $120.95 A
A-890-16 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $104.55 A
A-890-6 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $75.00 A
A-890-8 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $111.00 A
A-890-9 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $155.00 A
A-894-1 DOWELPIN, 1/8" 1/1/2018 $7.15 A
A-899 SPACER, STOP, PITCH 1/1/2018 $150.68 A
A-899-12 SPACER, STOP, PITCH 1/1/2018 $150.68 A
A-899-15 SPACER, STOP, PITCH 1/1/2018 $147.60 A
A-899-9 SPACER, STOP, PITCH 1/1/2018 $150.68 A
A-921-1 FORK 1/1/2018 $578.10 A
A-921-1L FORK, LH 1/1/2018 $524.80 A
A-944 SLEEVE, LINKSCREW 1/1/2018 $3.85 A
A-946 BUSHING, BRONZE 1/1/2018 $31.26 A
A-957 PIN, 1/2 ", ALUMINUM 1/1/2018 $146.58 A
A-957-2 PIN, 1/2 ", ALUMINUM 1/1/2018 $44.38 A
A-95-A BLOCK, PITCH CHANGE 1/1/2018 $93.28 A
A-964 WASHER, MOUNTING 1/1/2018 $39.98 A
A-965 WASHER, 7/16, CRES 1/1/2018 $22.85 A
A-969 PCP:BEARING RING, SPLIT 1/1/2018 $702.13 A
A-970-1 SPACER, STOP, PITCH 1/1/2018 $39.21 A
A-970-2 SPACER, STOP, PITCH 1/1/2018 $59.45 A
A-970-4 SPACER, STOP, PITCH 1/1/2018 $35.00 A
A-970-6 SPACER, STOP, PITCH 1/1/2018 $36.23 A
A-970-8 SPACER, STOP, PITCH 1/1/2018 $36.23 A
A-971 BEARING,RETENTION,BLADE 1/1/2018 $435.63 A
A-971-A RACE 1/1/2018 $220.00 A
A-971-B RACE 1/1/2018 $217.00 A
A-972 RING, RETAINING, BEARING 1/1/2018 $90.00 A
A-974 RETAINER,RING,WIRE 1/1/2018 $3.50 A
AST-2805 24 SPLINE TORQUE ADAPTOR 1/1/2018 $207.05 A Y
AST-2805-2 24 SPLINE TORQUE ADAPTOR 1/1/2018 $231.65 A
AST-2849 TOOL, INSTALLATION, RETAINER 1/1/2018 $793.35 A
AST-2857 PROBE, EDDY CURRENT - Y SHANK 1/1/2018 $792.33 A
AST-2857+3 EDDY CURRENT PROBE HOLDER 1/1/2018 $101.48 A
AST-2865 SPACER 1/1/2018 $248.05 A
AST-2865-1 SPACER 1/1/2018 $248.05 A
AST-2870 HUB BEARING RADIUS COMPARATOR 1/1/2018 $150.68 A
AST-2877 TORQUE WRENCH ADAPTER 1/1/2018 $161.95 A Y Y
AST-2877-1 TORQUE WRENCH ADAPTER 1/1/2018 $300.33 A Y
AST-2961 SLEEVE,SHIPPING 1/1/2018 $46.60 A
AST-2968 STUD INSTALLATION/TORQUE CHECK 1/1/2018 $408.98 A
AST-2968-1 STUD INSTALLATION/TORQUE CHECK 1/1/2018 $408.98 A
AST-2968-2 STUD INSTALLATION/TORQUE CHECK 1/1/2018 $408.98 A
AST-2979 EDDY CURRENT TEST BLOCK 1/1/2018 $355.68 A
AST-2981 ASSEMBLY GUIDE 1/1/2018 $235.75 A
AST-3154 REPAIR KIT, SLIMSERT 1/1/2018 $1,166.45 A
AST-3163 PROTECTION KIT, SHOT PEEN 1/1/2018 $226.52 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 44



2018 Price List

Hartzell Propeller Inc.

AST-3163-1 PROTECTION KIT, SHOT PEEN 1/1/2018 $338.25 A
AST-3174 DRIVER,BALL HEX 1/4 1/1/2018 $105.58 A
AST-3175 TORQUE WRENCH ADAPTOR 1/1/2018 $520.70 A Y
AST-3475 PROFILOMETER KIT 1/1/2018 $13,451.08 A
AT-3010 BALANCE TUBE POSITIONER 1/1/2018 $147.60 A
AT-3011 BALANCE TUBE POSITIONER 1/1/2018 $147.60 A
AT-725-1 ASSY TOOL, SPRING COMPRESSOR 1/1/2018 $646.78 A
B-1033 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $3,621.33 A
B-1034-10 BLOCK, PITCH ADJUST 1/1/2018 $2,599.40 A
B-1034-4 BLOCK, PITCH ADJUST 1/1/2018 $2,599.40 A
B-1034-6 BLOCK, PITCH ADJUST 1/1/2018 $2,599.40 A
B-1041 RING, RETAINING, BEARING 1/1/2018 $115.00 A
B-1047 PCP: SPRING, COMP, FEATHERING 1/1/2018 $1,521.10 A
B-1060 SPRING, COMPRESSION, BETA 1/1/2018 $48.70 A
B-1061 ROD, BETA 1/1/2018 $628.33 A
B-1093 SPRING, COMPRESSION 1/1/2018 $510.45 A Y
B-109-9 JACKPLATE UNIT 1/1/2018 $3,558.80 A Y
B-109-9A JACKPLATE UNIT 1/1/2018 $3,177.50 A Y
B-1104 GASKET, GOVERNOR 1/1/2018 $28.40 A
B-1104-1 GASKET, GOVERNOR 1/1/2018 $45.05 A
B-119-2 DIAPHRAGM 1/1/2018 $60.48 A Y
B-120 PLATE, OUTER, DIAPHARM 1/1/2018 $401.80 A Y
B-12-3 PLATE, COVER 1/1/2018 $101.48 A Y
B-1243 INSERT, 9/16-18, CRES, STAKED 1/1/2018 $35.05 A
B-1243-1 INSERT, 9/16-18, CRES, STAKED 1/1/2018 $150.00 A
B-12-7 PLATE, COVER 1/1/2018 $196.80 A Y
B-1276 INSERT, OIL TRANSFER 1/1/2018 $323.00 A Y
B-1322 SHIM, MOUNTING,"K" FLANGE 1/1/2018 $24.70 A Y
B-1353-5 BRACKET, START LOCK 1/1/2018 $362.85 A
B-1363 SPRING, COMPRESSION,FEATHERING 1/1/2018 $454.08 A
B-1364 SPRING RETAINER CUP 1/1/2018 $468.00 A
B-1421-5 PISTON UNIT 1/1/2018 $2,633.23 A
B-1453 PCP:SPRING, COMP, FEATHERING 1/1/2018 $77.90 A
B-1454 PCP:SPRING, COMP, FEATHERING 1/1/2018 $107.00 A
B-1461 TUBE, SPACER, SPRING 1/1/2018 $335.18 A
B-1589-2 SPRING ASSEMBLY 1/1/2018 $781.05 A
B-1592-1 GUIDE, SPRING, PLASTIC 1/1/2018 $16.65 A
B-1593 HOUSING, START LOCK 1/1/2018 $507.00 A
B-1594-1 SPRING, COMPRESSION 1/1/2018 $78.00 A
B-166 VALVE, SERVO - ASSEMBLY 1/1/2018 $975.80 A
B-1738 STUD,MOUNTING,1/2-20 1/1/2018 $168.00 A
B-1739 STUD,MOUNTING,1/2-20 1/1/2018 $239.00 A
B-1803-1 PCP:CYLINDER 1/1/2018 $1,278.18 A
B-1803-2 PCP:CYLINDER 1/1/2018 $1,312.00 A
B-1803-4 PCP:CYLINDER 1/1/2018 $1,260.00 A
B-1824 PCP:SPRING, COMP, FEATHERING 1/1/2018 $174.25 A
B-1825 PCP:SPRING, COMP, FEATHERING 1/1/2018 $97.38 A
B-1826 PCP:SPRING, COMP, FEATHERING 1/1/2018 $80.00 A
B-1843 SEAL, DUST, PISTON 1/1/2018 $4.05 A
B-1894 PCP:NUT,SHAFT,30 SPLINE 1/1/2018 $1,027.00 A
B-1901 LINK ARM 1/1/2018 $472.00 A
B-1901-L LINK ARM 1/1/2018 $472.00 A
B-1933 SLUG, COUNTERWEIGHT 1/1/2018 $118.90 A
B-1938 VALVE ASSEMBLY 1/1/2018 $14.75 A
B-197 BRACKET,CABLE,GOVERNOR CONTROL 1/1/2018 $536.08 A
B-1993 SPACER, SPRING 1/1/2018 $448.00 A
B-1994 SPRING RETAINER, REAR 1/1/2018 $425.38 A
B-214-1 HOUSING, OIL TRANSFER 1/1/2018 $1,180.80 A
B-2160 HUB, CONTROL ARM 1/1/2018 $202.95 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 45



Hartzell Propeller Inc.
2018 Price List

B-2160-2 HUB, CONTROL ARM 1/1/2018 $449.00 A

B-2256 PRELOAD PLATE ASSEMBLY 1/1/2018 $285.00 A

B-2280 PISTON 1/1/2018 $274.00 A

B-2281 CYLINDER, "R" 1/1/2018 $764.00 A

B-2281-1 CYLINDER, "R" 1/1/2018 $898.00 A

B-2353 TRAVEL TUBE UNIT 1/1/2018 $342.35 A

B-2361-2 TRAVEL TUBE UNIT 1/1/2018 $193.73 A

B-2380 SPRING, COMPRESSION,FEATHERING 1/1/2018 $155.80 A

B-2381 SPRING, COMPRESSION,FEATHERING 1/1/2018 $137.35 A

B-2406-1 HOUSING, START LOCK 1/1/2018 $772.85 A

B-2406-3 HOUSING, START LOCK 1/1/2018 $705.20 A

B-241-1 RING, OIL TRANSFER 1/1/2018 $538.13 A

B-2419 PISTON 1/1/2018 $251.00 A

B-2423-1 CYLINDER UNIT 1/1/2018 $1,428.00 A

B-2428-1 CYLINDER 1/1/2018 $726.00 A

B-2428-2 CYLINDER 1/1/2018 $726.00 A

B-2447 CAP, DOME 1/1/2018 $261.38 A Y
B-2447-P CAP, DOME 1/1/2018 $366.95 A Y
B-2452-1 CYLINDER UNIT 1/1/2018 $1,495.48 A

B-2457-3 FORK, TWO BLADE - ASSEMBLY 1/1/2018 $780.03 A

B-247 SPACER, FUEL PUMP, T - DRIVE 1/1/2018 $113.78 A

B-2480 FILLER PLATE UNIT 1/1/2018 $130.18 A Y
B-2480-P FILLER PLATE UNIT 1/1/2018 $149.65 A Y
B-2491-3 ROD, PITCH CHANGE 1/1/2018 $879.00 A

B-2491-4S ROD, PITCH CHANGE 1/1/2018 $1,755.83 A

B-2491-5 ROD, PITCH CHANGE 1/1/2018 $995.28 A

B-2491-6 ROD, PITCH CHANGE 1/1/2018 $1,252.55 A

B-2491-8 ROD, PITCH CHANGE 1/1/2018 $995.28 A

B-2494-1 FILLER PLATE 1/1/2018 $19.45 A Y
B-2494-2 FILLER PLATE 1/1/2018 $33.65 A Y
B-2624 SPACER, BULKHEAD 1/1/2018 $124.00 A Y
B-2630 HOUSING, START LOCK 1/1/2018 $441.78 A

B-2630-1 HOUSING, START LOCK 1/1/2018 $440.75 A

B-2632 HOUSING, START LOCK 1/1/2018 $379.25 A

B-2632-1 HOUSING, START LOCK 1/1/2018 $399.75 A

B-2692 COVER,ENGINE 1/1/2018 $452.00 A

B-271-1 COUNTERWEIGHT 1/1/2018 $376.00 A

B-2837 TUBE, SPRING 1/1/2018 $202.95 A

B-2861 CONVERSION KIT 1/1/2018 $3,893.97 A

B-2875-2 SPRING, COMPRESSION 1/1/2018 $3.70 A

B-2877 CLEVIS PIN, 3/32 1/1/2018 $165.00 A

B-2952 RING, BETA 1/1/2018 $1,169.00 A

B-2982 SPACER, "F" FLANGE 1/1/2018 $921.48 A

B-3001-2 RING, BETA 1/1/2018 $857.00 A

B-3001-3 RING, BETA 1/1/2018 $857.00 A

B-3007 PCP:COUNTERWEIGHT 1/1/2018 $345.00 A

B-3007-1 PCP:COUNTERWEIGHT 1/1/2018 $412.00 A

B-3007-2 PCP:COUNTERWEIGHT 1/1/2018 $406.00 A

B-3028-3 BRACKET, START LOCK 1/1/2018 $516.60 A

B-3029-1 PLATE, MOUNTING, SPINNER 1/1/2018 $676.50 A

B-3041 PCP: SPRING, COMP, FEATHERING 1/1/2018 $48.23 A

B-3049 RING, SUPPORT, ROD, BETA 1/1/2018 $74.00 A

B-3068 SPACER, BULKHEAD 1/1/2018 $276.75 A Y
B-3091-2 PCP:COUNTERWEIGHT 1/1/2018 $412.00 A

B-3091-3 PCP:COUNTERWEIGHT 1/1/2018 $400.00 A

B-3116 ORIFICE, GOVERNOR 1/1/2018 $79.95 A

B-3124 CONTROL SHAFT, GOVERNOR 1/1/2018 $571.00 A

B-3166 SPOOL, GOVERNOR 1/1/2018 $1,442.18 A

B-317 FLYWEIGHT, START LOCK 1/1/2018 $154.78 A

Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 46



2018 Price List

Hartzell Propeller Inc.

B-318 FLYWEIGHT, START LOCK 1/1/2018 $177.33 A
B-3202H-2 PCP:COUNTERWEIGHT 1/1/2018 $281.00 A
B-3202H-4 PCP:COUNTERWEIGHT 1/1/2018 $316.00 A
B-3202H-5 PCP:COUNTERWEIGHT 1/1/2018 $296.00 A
B-3202H-6 PCP:COUNTERWEIGHT 1/1/2018 $295.20 A
B-3202H-7 PCP:COUNTERWEIGHT 1/1/2018 $320.83 A
B-3202H-8 PCP:COUNTERWEIGHT 1/1/2018 $387.00 A
B-3202H-9 PCP:COUNTERWEIGHT 1/1/2018 $395.00 A
B-3202H-9L PCP:COUNTERWEIGHT 1/1/2018 $346.00 A
B-3211 BALL SPACER 1/1/2018 $4.10 A
B-322 BOLT,7/16-20,HEX HEAD 1/1/2018 $76.88 A
B-3237 PISTON 1/1/2018 $506.35 A
B-3239 PISTON 1/1/2018 $568.88 A
B-3242 CAP, DOME 1/1/2018 $290.08 A Y
B-3242-P CAP, DOME 1/1/2018 $377.20 A Y
B-3252-2 FORK, THREE BLADE - ASSEMBLY 1/1/2018 $1,041.40 A
B-3252-2L FORK,THREE BLADE,LH - ASSEMBLY 1/1/2018 $1,074.20 A
B-3264 CAP, DOME 1/1/2018 $269.58 A Y
B-3264-1 CAP, DOME 1/1/2018 $269.58 A Y
B-3264-1P CAP, DOME 1/1/2018 $380.28 A Y
B-3264-P CAP, DOME 1/1/2018 $316.00 A Y
B-3281-1 SPRING, COMPRESSION 1/1/2018 $57.40 A
B-3281-3 SPRING, COMPRESSION 1/1/2018 $59.45 A
B-3309 LINK PIN UNIT 1/1/2018 $726.73 A
B-3309-3 LINK PIN UNIT 1/1/2018 $820.00 A
B-331 SPRING, COMPRESSION 1/1/2018 $8.10 A
B-3323 PLATE, ANTI-ROTATION 1/1/2018 $2.46 A
B-3324 PCP:COUNTERWEIGHT 1/1/2018 $421.28 A
B-3328 PCP:COUNTERWEIGHT 1/1/2018 $655.00 A
B-3332 PCP:ROD, PITCH CHANGE 1/1/2018 $1,656.40 A
B-3333 RING, INDICATOR, BETA SWITCH 1/1/2018 $101.48 A
B-3334 RING, BETA - UNIT 1/1/2018 $1,165.00 A
B-3339 BOLT,MOUNTING,9/16-18,12 POINT 1/1/2018 $19.94 A
B-3339-1 BOLT,MOUNTING,9/16-18,12 POINT 1/1/2018 $33.00 A
B-3341 PCP:COUNTERWEIGHT 1/1/2018 $457.00 A
B-3343 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $563.00 A
B-3345 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $591.00 A
B-3347 BOLT,MOUNTING,9/16-18,12 POINT 1/1/2018 $41.75 A
B-3368 NUT, 5/16-24, HEX, THIN 1/1/2018 $7.05 A
B-3375 PCP:NUT,1 3/8-12,HEX,THIN,DRIL 1/1/2018 $53.00 A
B-3383-15 BOLT,10-32,HEX HEAD 1/1/2018 $15.90 A
B-3383-22H BOLT,10-32,HEX HEAD 1/1/2018 $149.00 A Y
B-3383-2H BOLT,10-32,HEX HEAD 1/1/2018 $22.96 A
B-3383-3H BOLT,10-32,HEX HEAD 1/1/2018 $23.27 A Y
B-3383-4H BOLT,10-32,HEX HEAD 1/1/2018 $40.80 A
B-3383-7H BOLT,10-32,HEX HEAD 1/1/2018 $42.00 A
B-3384-1 BOLT, 1/4-28, HEX HEAD 1/1/2018 $21.94 A Y
B-3384-10H BOLT, 1/4-28, HEX HEAD 1/1/2018 $27.65 A
B-3384-12H BOLT, 1/4-28, HEX HEAD 1/1/2018 $14.15 A
B-3384-13H BOLT, 1/4-28, HEX HEAD 1/1/2018 $41.70 A
B-3384-14H BOLT, 1/4-28, HEX HEAD 1/1/2018 $49.87 A
B-3384-15H BOLT, 1/4-28, HEX HEAD 1/1/2018 $25.90 A
B-3384-16H BOLT, 1/4-28, HEX HEAD 1/1/2018 $28.55 A
B-3384-17H BOLT, 1/4-28, HEX HEAD 1/1/2018 $19.63 A
B-3384-18 BOLT, 1/4-28, HEX HEAD 1/1/2018 $41.20 A
B-3384-18H BOLT, 1/4-28, HEX HEAD 1/1/2018 $11.95 A
B-3384-1H BOLT, 1/4-28, HEX HEAD 1/1/2018 $16.55 A
B-3384-21H BOLT, 1/4-28, HEX HEAD 1/1/2018 $19.40 A
B-3384-23 BOLT, 1/4-28, HEX HEAD 1/1/2018 $59.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 47



2018 Price List

Hartzell Propeller Inc.

B-3384-23H BOLT, 1/4-28, HEX HEAD 1/1/2018 $89.00 A
B-3384-25H BOLT, 1/4-28, HEX HEAD 1/1/2018 $27.40 A
B-3384-26H BOLT, 1/4-28, HEX HEAD 1/1/2018 $28.24 A
B-3384-27H BOLT, 1/4-28, HEX HEAD 1/1/2018 $43.67 A
B-3384-2H BOLT, 1/4-28, HEX HEAD 1/1/2018 $21.90 A
B-3384-34H BOLT, 1/4-28, HEX HEAD 1/1/2018 $29.11 A
B-3384-3H BOLT, 1/4-28, HEX HEAD 1/1/2018 $27.15 A
B-3384-4 BOLT, 1/4-28, HEX HEAD 1/1/2018 $21.00 A
B-3384-4H BOLT, 1/4-28, HEX HEAD 1/1/2018 $11.70 A
B-3384-5H BOLT, 1/4-28, HEX HEAD 1/1/2018 $22.40 A
B-3384-6H BOLT, 1/4-28, HEX HEAD 1/1/2018 $26.75 A
B-3384-7H BOLT, 1/4-28, HEX HEAD 1/1/2018 $17.50 A
B-3384-8H BOLT, 1/4-28, HEX HEAD 1/1/2018 $18.40 A
B-3384-9H BOLT, 1/4-28, HEX HEAD 1/1/2018 $20.30 A
B-3385-3H BOLT,5/16-24,HEX HEAD 1/1/2018 $35.21 A
B-3385-4H BOLT,5/16-24,HEX HEAD 1/1/2018 $19.15 A
B-3385-5H BOLT,5/16-24,HEX HEAD 1/1/2018 $48.35 A
B-3386-14H BOLT,3/8-24,HEX HEAD 1/1/2018 $12.70 A
B-3386-23H BOLT,3/8-24,HEX HEAD 1/1/2018 $101.00 A
B-3386-26H BOLT,3/8-24,HEX HEAD 1/1/2018 $44.05 A
B-3386-28H BOLT,3/8-24,HEX HEAD 1/1/2018 $57.00 A
B-3387-11 BOLT,7/16-20,HEX HEAD 1/1/2018 $36.85 A
B-3397 NUT,7/16-20,HEX, THIN 1/1/2018 $105.00 A
B-3406 CYLINDER 1/1/2018 $1,223.00 A
B-3421-1 ROD, PITCH CHANGE 1/1/2018 $1,404.25 A
B-3475A-12 ROD,BETA-UNIT 1/1/2018 $501.00 A
B-3475A-2 ROD,BETA-UNIT 1/1/2018 $440.00 A
B-3475A-3 ROD,BETA-UNIT 1/1/2018 $433.00 A
B-3475A-8 ROD,BETA-UNIT 1/1/2018 $513.53 A
B-3476A-12 ROD, BETA 1/1/2018 $462.00 A
B-3476A-2 ROD, BETA 1/1/2018 $374.00 A
B-3476A-3 ROD, BETA 1/1/2018 $379.00 A
B-3488 BRACKET, START LOCK 1/1/2018 $595.53 A
B-3493 BRACKET, START LOCK 1/1/2018 $472.53 A
B-3494 BRACKET, START LOCK 1/1/2018 $522.75 A
B-3599 NUT,3/8-24,HEX,SELF-LOCKING 1/1/2018 $5.40 A
B-3606 ROD, BETA 1/1/2018 $1,460.63 A
B-3645 SPRING RETAINER, BETA 1/1/2018 $418.20 A
B-3652 PCP:SPOOL, BETA VALVE 1/1/2018 $4,278.00 A
B-3661-1 PCP:COUNTERWEIGHT 1/1/2018 $459.00 A
B-3663 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $292.13 A
B-3663-1 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $312.63 A
B-3663-2 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $373.10 A
B-3663-3 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $335.18 A
B-3663-4 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $404.88 A
B-3663-5 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $404.88 A
B-3678 PISTON 1/1/2018 $433.00 A
B-3682 PCP:CTWT - CONVERSION - KIT 1/1/2018 $2,607.60 A
B-3683 PISTON 1/1/2018 $596.55 A
B-3720 BOLT,10-32,HEX HEAD 1/1/2018 $33.75 A
B-3742 BALL SPACER 1/1/2018 $4.00 A
B-3786 ROD, ANTI-ROTATION 1/1/2018 $742.00 A
B-3805 BOLT, 5/16-18, HEX HEAD 1/1/2018 $63.00 A
B-3807 NUT,5/8-18,HEX,SELF-LOCKING 1/1/2018 $10.25 A
B-3808 NUT,HEX,SELF-LOCKING 1/1/2018 $39.20 A
B-3808-08 NUT,HEX,SELF-LOCKING 1/1/2018 $9.28 A
B-3808-3 NUT,HEX,SELF-LOCKING 1/1/2018 $5.07 A
B-3808-4 NUT,HEX,SELF-LOCKING 1/1/2018 $2.65 A
B-3808-5 NUT,HEX,SELF-LOCKING 1/1/2018 $9.00 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 48



Hartzell Propeller Inc.
2018 Price List

B-3810 SCREW, 3/8-24, CAP 1/1/2018 $26.15 A
B-3811 NUT,10-32,CASTELLATED,SELF-LOC 1/1/2018 $64.00 A
B-3812 SCREW, 5/16-24, CAP 1/1/2018 $26.15 A
B-3812-5-16P SCREW, 5-16-24, CAP 1/1/2018 $15.85 A
B-3814 NUT,1/4-28,HEX,SELF-LOCKING 1/1/2018 $1.85 A
B-3819 SCREW, 10-32, CAP 1/1/2018 $4.10 A
B-3820 SCREW, 6-32, CAP, CRES 1/1/2018 $23.17 A
B-3821 SCREW, 10-32, CAP 1/1/2018 $34.90 A
B-3822-36P SCREW, 3/8-24, CAP 1/1/2018 $15.35 A
B-3823 SCREW, 10-32, CAP 1/1/2018 $9.28 A Y
B-3824 SCREW, 8-32, 100 ° HEAD 1/1/2018 $5.60 A
B-3825 SCREW, 1/4-28, 100 ° HEAD 1/1/2018 $4.85 A
B-3826 BOLT,1/2-20,12 POINT 1/1/2018 $46.35 A
B-3828 NUT,HEX,SELF-LOCKING,FLANGED 1/1/2018 $2.72 A Y
B-3828-6 NUT,HEX,SELF-LOCKING,FLANGED 1/1/2018 $3.18 A
B-3829 SCREW, 10-32, CAP 1/1/2018 $25.80 A
B-3830 BOLT, 5/16-24,12 POINT 1/1/2018 $24.75 A
B-3831 BOLT,1/4-28,12 POINT 1/1/2018 $21.53 A Y
B-3832 BOLT,5/16-24,12 POINT 1/1/2018 $34.75 A Y
B-3833 BOLT,5/16-24,12 POINT 1/1/2018 $19.90 A Y
B-3834-0463 WASHER 1/1/2018 $32.80 A
B-3834-0532 WASHER 1/1/2018 $27.32 A
B-3834-0632 WASHER 1/1/2018 $0.56 A
B-3834-0663 WASHER 1/1/2018 $0.56 A
B-3834-0832 WASHER 1/1/2018 $29.42 A
B-3835-0663 WASHER, REDUCED 0O.D. 1/1/2018 $0.50 A
B-3837-0332 WASHER, CORROSION RESISTANT 1/1/2018 $0.60 A
B-3837-0363 WASHER, CORROSION RESISTANT 1/1/2018 $0.60 A
B-3837-0432 WASHER, CORROSION RESISTANT 1/1/2018 $0.50 A
B-3837-0463 WASHER, CORROSION RESISTANT 1/1/2018 $0.50 A
B-3837-0532 WASHER, CORROSION RESISTANT 1/1/2018 $0.70 A
B-3837-0563 WASHER, CORROSION RESISTANT 1/1/2018 $0.50 A
B-3837-0632 WASHER, CORROSION RESISTANT 1/1/2018 $0.45 A
B-3837-N616 WASHER, CORROSION RESISTANT 1/1/2018 $0.50 A
B-3837-N632 WASHER, CORROSION RESISTANT 1/1/2018 $1.80 A
B-3837-N832 WASHER, CORROSION RESISTANT 1/1/2018 $0.50 A
B-3838-1 COTTER PIN 1/1/2018 $1.80 A
B-3838-2-2 COTTER PIN 1/1/2018 $3.00 A
B-3838-3-2 COTTER PIN 1/1/2018 $0.50 A
B-3838-3-3 COTTER PIN 1/1/2018 $1.80 A
B-3838-3-5 COTTER PIN 1/1/2018 $0.50 A
B-3839-16 PCP:NUT, HEX, THIN, DRILLED 1/1/2018 $34.40 A
B-3839-3 NUT, HEX, THIN, DRILLED 1/1/2018 $11.22 A
B-3839-5 PCP:NUT, HEX, THIN, DRILLED 1/1/2018 $10.45 A
B-3840-10 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.15 A
B-3840-12 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.60 A
B-3840-20 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $2.67 A
B-3840-4 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.45 A
B-3840-5 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.30 A
B-3840-6 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.40 A
B-3840-7 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.10 A
B-3840-8 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.90 A
B-3840-9 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $5.40 A
B-3841-10 SCREW, 1/4-28, FILLISTER HEAD 1/1/2018 $2.85 A
B-3841-5 SCREW, 1/4-28, FILLISTER HEAD 1/1/2018 $4.35 A
B-3841-6 SCREW, 1/4-28, FILLISTER HEAD 1/1/2018 $13.00 A
B-3841-8 SCREW, 1/4-28, FILLISTER HEAD 1/1/2018 $3.75 A
B-3842-0250 SPRING PIN, 3/32 ", CRES 1/1/2018 $1.50 A
B-3842-0375 SPRING PIN, 3/32 ", CRES 1/1/2018 $0.20 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 49



2018 Price List

Hartzell Propeller Inc.

B-3842-0500 SPRING PIN, 3/32 ", CRES 1/1/2018 $0.55 A

B-3842-0625 SPRING PIN, 3/32 ", CRES 1/1/2018 $1.90 A

B-3842-0750 SPRING PIN, 3/32 ", CRES 1/1/2018 $0.70 A

B-3843-25PP SNAP RING,EXTERNAL 1/1/2018 $2.10 A

B-3843-56ZD SNAP RING,EXTERNAL 1/1/2018 $0.80 A

B-3844-53 CLEVIS PIN 1/1/2018 $2.80 A Y

B-3845-7 SCREW, 10-32, TRUSS HEAD 1/1/2018 $8.71 A

B-3845-8 SCREW, 10-32, TRUSS HEAD 1/1/2018 $0.75 A

B-3845-9 SCREW, 10-32, TRUSS HEAD 1/1/2018 $8.97 A

B-3846-3 NUTPLATE,FIXED 1/1/2018 $1.44 A Y

B-3847-4 RIVET,100° HEAD, .094 DIA, AL 1/1/2018 $0.40 A Y

B-3847-5 RIVET,100° HEAD, .094 DIA, AL 1/1/2018 $0.40 A Y

B-3847-6 RIVET,100° HEAD, .094 DIA, AL 1/1/2018 $0.40 A Y

B-3847-7 RIVET,100° HEAD, .094 DIA, AL 1/1/2018 $0.40 A Y

B-3848-4 RIVET,100° HEAD, .125 DIA, AL 1/1/2018 $0.50 A Y

B-3848-5 RIVET,100° HEAD, .125 DIA, AL 1/1/2018 $0.50 A Y

B-3848-6 RIVET,100° HEAD, .125 DIA, AL 1/1/2018 $0.25 A

B-3849-08 NUTPLATE,FLOATING 1/1/2018 $3.30 A

B-3849-3 NUTPLATE,FLOATING 1/1/2018 $3.45 A Y

B-3850-12 BOLT,7/16-20,12 POINT 1/1/2018 $34.35 A

B-3851-0332 WASHER 1/1/2018 $0.50 A

B-3851-0363 WASHER 1/1/2018 $0.50 A

B-3851-0432 WASHER 1/1/2018 $0.50 A

B-3851-0463 WASHER 1/1/2018 $0.90 A

B-3851-0532 WASHER 1/1/2018 $0.60 A

B-3851-0563 WASHER 1/1/2018 $0.50 A

B-3851-0632 WASHER 1/1/2018 $2.20 A

B-3851-0663 WASHER 1/1/2018 $2.50 A

B-3851-0732 WASHER 1/1/2018 $0.80 A

B-3851-0763 WASHER 1/1/2018 $0.90 A

B-3851-0863 WASHER 1/1/2018 $0.50 A

B-3851-1032 WASHER 1/1/2018 $1.79 A

B-3851-N832 WASHER 1/1/2018 $2.00 A

B-3852-1-0 STRAP, TIEDOWN,PLASTIC 1/1/2018 $0.72 A Y

B-3852-2-0 STRAP, TIEDOWN,PLASTIC 1/1/2018 $1.38 A Y

B-3852-3-0 STRAP, TIEDOWN,PLASTIC 1/1/2018 $2.85 A Y

B-3852-4-0 STRAP, TIEDOWN,PLASTIC 1/1/2018 $0.51 A Y

B-3852-5-0 STRAP, TIEDOWN,PLASTIC 1/1/2018 $0.62 A Y

B-3852-5-9 STRAP, TIEDOWN,PLASTIC 1/1/2018 $0.82 A Y

B-3852-6-0 STRAP, TIEDOWN,PLASTIC 1/1/2018 $4.66 A Y

B-3853-F4 CLAMP, LOOP, PLASTIC 1/1/2018 $4.66 A Y

B-3853-F5 CLAMP, LOOP, PLASTIC 1/1/2018 $6.20 A Y

B-3854-40 WASHER, LOCK 1/1/2018 $0.60 A Y

B-3854-41 WASHER, LOCK 1/1/2018 $0.50 A Y

B-3854-42 WASHER, LOCK 1/1/2018 $0.40 A Y

B-3854-44 WASHER, LOCK 1/1/2018 $0.50 A Y

B-3855-31 WASHER,LOCK,EXTERNAL TOOTH 1/1/2018 $0.40 A Y

B-3855-32 WASHER LOCK,EXTERNAL TOOTH 1/1/2018 $0.50 A Y

B-3855-33 WASHER,LOCK,EXTERNAL TOOTH 1/1/2018 $0.10 A

B-3856-243 SCREW,8-32,FILLISTER HEAD,CRES 1/1/2018 $1.85 A

B-3856-245 SCREW,8-32,FILLISTER HEAD,CRES 1/1/2018 $1.80 A

B-3856-246 SCREW,8-32,FILLISTER HEAD,CRES 1/1/2018 $2.60 A

B-3856-247 SCREW,8-32,FILLISTER HEAD,CRES 1/1/2018 $1.90 A

B-3856-248 SCREW,8-32,FILLISTER HEAD,CRES 1/1/2018 $1.95 A

B-3857-WDG3 CLAMP, LOOP, CUSHIONED 1/1/2018 $2.26 A Y

B-3857-WDG4 CLAMP, LOOP, CUSHIONED 1/1/2018 $2.30 A Y

B-3857-WDG5 CLAMP, LOOP, CUSHIONED 1/1/2018 $2.30 A Y

B-3858-3 NUTPLATE,FIXED,CRES 1/1/2018 $5.74 A Y

B-3860-10L WASHER, DIMPLED, 100° CRES 1/1/2018 $2.90 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 50



2018 Price List

Hartzell Propeller Inc.

B-3860-416 WASHER, DIMPLED, 100° CRES 1/1/2018 $3.25 A Y Y
B-3860-8L WASHER, DIMPLED, 100° CRES 1/1/2018 $2.50 A Y
B-3861-7 RIVET,UNIVERSAL HEAD,.125 ALUM 1/1/2018 $0.20 A Y
B-3862-6 RIVET, UNIVERSAL HEAD, .188 AL 1/1/2018 $0.50 A Y
B-3862-9 RIVET, UNIVERSAL HEAD, .188 AL 1/1/2018 $0.60 A Y
B-3863-10 RIVET, UNIV HD, .250 DIA, AL 1/1/2018 $0.90 A Y
B-3864-37 WASHER,LOCK,INTERNAL TOOTH 1/1/2018 $0.50 A Y
B-3864-38 WASHER,LOCK,INTERNAL TOOTH 1/1/2018 $0.50 A Y
B-3864-39 WASHER,LOCK,INTERNAL TOOTH 1/1/2018 $0.50 A Y
B-3865-13A BOLT,1/4-28,HEX HEAD,CRES 1/1/2018 $12.50 A
B-3865-14A BOLT,1/4-28,HEX HEAD,CRES 1/1/2018 $7.55 A
B-3865-15A BOLT,1/4-28,HEX HEAD,CRES 1/1/2018 $4.56 A
B-3865-16A BOLT,1/4-28,HEX HEAD,CRES 1/1/2018 $10.51 A
B-3865-17A BOLT,1/4-28,HEX HEAD,CRES 1/1/2018 $7.90 A
B-3866-50 SCREW, 8-32, 100° HEAD, CRES 1/1/2018 $0.60 A
B-3867-269 SCREW, 10-32, 100° HEAD, CRES 1/1/2018 $35.10 A
B-3867-272 SCREW, 10-32, 100° HEAD, CRES 1/1/2018 $0.80 A
B-3868-552 SCREW, 100 DEG HEAD, 8-32 1/1/2018 $4.75 A
B-3869-06 NUT, SELF-LOCKING, CRES 1/1/2018 $2.72 A
B-3869-3 NUT, SELF-LOCKING, CRES 1/1/2018 $1.23 A
B-3870-632 NUT, HEX, SELF-LOCKING 1/1/2018 $0.72 A
B-3872-2 SCREW, 1/4-28, 100° HEAD, CRES 1/1/2018 $10.20 A Y
B-3873-12A BOLT, 10-32, HEX HEAD 1/1/2018 $2.70 A
B-3873-H5A BOLT, 10-32, HEX HEAD 1/1/2018 $2.97 A
B-3874-10A BOLT, 1/4-28, HEX HEAD 1/1/2018 $0.92 A
B-3875-22A BOLT, 5/16-24, HEX HEAD 1/1/2018 $3.00 A
B-3875-25A BOLT, 5/16-24, HEX HEAD 1/1/2018 $1.03 A
B-3878-3-3 RIVET,100° HEAD,.094 DIA, CRES 1/1/2018 $0.50 A
B-3878-3-4 RIVET,100° HEAD,.094 DIA, CRES 1/1/2018 $0.67 A
B-3883-4339 QUAD-RING 1/1/2018 $3.79 A
B-3884-1 PLUG,PIPE 1/1/2018 $8.25 A
B-3885-2 PLUG, PIPE, ALUMINUM 1/1/2018 $19.58 A
B-3885-3 PLUG, PIPE, ALUMINUM 1/1/2018 $13.79 A
B-3886-06 NUT, HEX, SELF-LOCKING 1/1/2018 $1.64 A
B-3886-3 NUT, HEX, SELF-LOCKING 1/1/2018 $1.55 A
B-3888-4 ELBOW, PIPE, 90° 1/1/2018 $84.00 A
B-3891-4 NUT,HEX, THIN 1/1/2018 $0.60 A
B-3897-1 PLUG,EXPANSION 1/1/2018 $1.30 A
B-3898-12 NUT,HEX, THIN,DRILLED 1/1/2018 $86.10 A
B-3939 COIL UNIT ASSEMBLY 1/1/2018 $866.13 A
B-3939-1 COIL UNIT ASSEMBLY 1/1/2018 $929.68 A
B-4007 PCP:CYLINDER 1/1/2018 $2,039.00 A
B-4016 LINK ARM 1/1/2018 $372.00 A
B-4016L LINK ARM 1/1/2018 $487.00 A
B-4020 PILOT TUBE 1/1/2018 $357.73 A
B-4020-16 PILOT TUBE 1/1/2018 $659.00 A
B-4020-2 PILOT TUBE 1/1/2018 $659.00 A
B-4020-4 PILOT TUBE 1/1/2018 $659.00 A
B-4020-6 PILOT TUBE 1/1/2018 $659.00 A
B-4020-8 PILOT TUBE 1/1/2018 $659.00 A
B-4026 PCP:ROD, PITCH CHANGE 1/1/2018 $1,492.40 A
B-4127-2 GOVERNOR BASE 1/1/2018 $666.00 A
B-4127-3 GOVERNOR BASE 1/1/2018 $666.00 A
B-4131 CONTROL LEVER 1/1/2018 $453.00 A
B-4132 CONTROL LEVER 1/1/2018 $349.00 A
B-4139 SPRING, TORSION 1/1/2018 $13.84 A
B-4162 SPOOL, GOVERNOR 1/1/2018 $534.00 A
B-4169 IDLER GEAR 1/1/2018 $371.00 A
B-4175 COUPLING,DRIVE,GOVERNOR - UNIT 1/1/2018 $479.70 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 51



Hartzell Propeller Inc.

2018 Price List

B-4183 FLYWEIGHT, GOVERNOR - UNIT 1/1/2018 $948.00 A
B-4183-1 FLYWEIGHT, GOVERNOR - UNIT 1/1/2018 $920.45 A
B-4183-2 FLYWEIGHT, GOVERNOR - UNIT 1/1/2018 $770.00 A
B-4185 STUD,5/16-18&5/16-24 1/1/2018 $39.30 A
B-4185-1 STUD,5/16-18&5/16-24 1/1/2018 $38.50 A
B-4211 FILLER PLATE 1/1/2018 $19.05 A
B-4212-2 FILLER PLATE 1/1/2018 $187.00 A Y
B-4244 FILLER PLATE 1/1/2018 $21.42 A Y
B-4244-1 FILLER PLATE 1/1/2018 $22.24 A Y
B-4244-3 FILLER PLATE 1/1/2018 $70.00 A Y
B-4244-5 FILLER PLATE 1/1/2018 $13.80 A Y
B-4256-2 STRIP, WEAR, BLADE SHANK 1/1/2018 $9.74 A
B-439 SCREW, BETA ADJUST 1/1/2018 $417.00 A
B-442 GUIDE, SPRING, PLASTIC 1/1/2018 $25.55 A
B-444-1 HOUSING, START LOCK 1/1/2018 $1,884.98 A
B-444-4 HOUSING, START LOCK 1/1/2018 $364.00 A
B-446 COVER, HOUSING, START LOCK 1/1/2018 $117.88 A
B-4467 HARNESS BOX 1/1/2018 $2,116.63 A
B-449 PLUG, ROD, PITCH CHANGE 1/1/2018 $215.25 A
B-4504 GUIDE, SPRING, ("R" PISTON) 1/1/2018 $171.00 A
B-4505 ROD, PITCH CHANGE 1/1/2018 $1,160.00 A
B-4522 FILLER PLATE UNIT 1/1/2018 $160.00 A Y
B-4522-P FILLER PLATE UNIT 1/1/2018 $182.00 A Y
B-454 SPRING RETAINER, BETA 1/1/2018 $190.00 A
B-4548 FILLER PLATE 1/1/2018 $18.30 A Y
B-457 SLEEVE, BETA , THREADED 1/1/2018 $279.00 A
B-458 SPRING, COMPRESSION, BETA 1/1/2018 $16.80 A
B-468 EXTENSION, BUMPER 1/1/2018 $72.00 A
B-4689 TRAVEL TUBE UNIT 1/1/2018 $457.00 A
B-4700 TUBE, OIL TRANSFER, GOVERNOR 1/1/2018 $217.30 A
B-4701 CONTROL SHAFT, GOVERNOR 1/1/2018 $729.00 A
B-4704 PIN, CHECK VALVE, GOVERNOR 1/1/2018 $655.00 A
B-4712 BOLT, SHOULDER, 6-32, HEX HEAD 1/1/2018 $87.13 A
B-4725 GASKET, GOVERNOR HEAD 1/1/2018 $3.90 A
B-4737 BEARING, SPOOL, GOVERNOR 1/1/2018 $43.36 A
B-4738 SPOOL, GOVERNOR 1/1/2018 $842.00 A
B-4739 GASKET, CONTROL SHAFT 1/1/2018 $1.40 A
B-474 NUT,1 1/8-12,HEX,SELF-LOCKING 1/1/2018 $79.00 A
B-4740 GASKET, RELIEF PLUG 1/1/2018 $1.45 A
B-4741 SPRING, COMPRESSION, PRESSURE 1/1/2018 $8.90 A
B-4744 BEARING,BALL 1/1/2018 $37.35 A
B-4745 GASKET, COVER 1/1/2018 $9.00 A
B-4749 SPRING, COMPRESSION 1/1/2018 $25.55 A
B-475 WASHER, RETAINING, KNOB UNIT 1/1/2018 $38.70 A
B-4761 LEVER, CONTROL 1/1/2018 $223.45 A
B-4762 CONTROL LEVER 1/1/2018 $241.00 A
B-4766 TUBE ASSEMBLY, GOVERNOR 1/1/2018 $208.08 A
B-4813 FILLER PLATE 1/1/2018 $16.40 A Y
B-4916 PISTON, SERVO - UNIT 1/1/2018 $502.25 A Y
B-493 RING, PISTON, START LOCK 1/1/2018 $572.98 A
B-4933-1 GASKET, PRIMARY GOVERNOR 1/1/2018 $15.10 A Y
B-4972 ROD, BETA 1/1/2018 $761.00 A Y
B-4973 COVER, END 1/1/2018 $5,419.18 A Y
B-4975 LEVER, BETA, PCU 1/1/2018 $1,397.08 A Y
B-5129 RING, BACKUP 1/1/2018 $3.70 A
B-5132 RING, BACKUP 1/1/2018 $1.50 A
B-5132-221 RING, BACKUP 1/1/2018 $3.28 A Y
B-5132-425 RING, BACKUP 1/1/2018 $17.55 A
B-5145 C-1576 OVERHAUL KIT 1/1/2018 $645.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 52



Hartzell Propeller Inc.

2018 Price List

B-5179 GEAR, PCU 1/1/2018 $2,091.00 A Y
B-5486 SHIM, SPINNER 1/1/2018 $10.35 A
B-5520 BUSHING, FORWARD BULKHEAD 1/1/2018 $113.78 A Y
B-5609 RING,FEATHER ADJUST 1/1/2018 $603.73 A Y
B-5621 TUBE, OIL TRANSFER 1/1/2018 $164.00 A Y
B-5622 ROD, PISTON INDICATING 1/1/2018 $4,155.35 A Y
B-5644 HOUSING, PITCH LOCK 1/1/2018 $12,899.63 A Y
B-5652 GASKET, OVERSPEED GOVERNOR 1/1/2018 $771.83 A Y
B-5657 GASKET, HIGH PRESSURE PUMP 1/1/2018 $225.50 A Y
B-5695-2 SLEEVE, BETA ADJUST 1/1/2018 $356.70 A Y
B-5770 FITTING, STRAIGHT THREAD 1/1/2018 $20.30 A Y
B-5801 PIN, HEADED 1/1/2018 $108.65 A Y
B-5804 HYDRAULIC UNIT KEEPER 1/1/2018 $164.00 A Y
B-5805 KEEPER, SPLIT 1/1/2018 $962.48 A Y
B-5807 SPACER, ROD, PITCH CHANGE 1/1/2018 $303.40 A Y
B-5808 SPRING RETAINER, REAR 1/1/2018 $148.63 A
B-5809 BUSHING, COVER PLATE 1/1/2018 $661.13 A Y
B-5810 PIN, VALVE SLEEVE 1/1/2018 $115.00 A
B-5817 SHAFT, BETA LEVER 1/1/2018 $391.55 A Y
B-5829 CONNECTOR, BETA VALVE 1/1/2018 $1,016.00 A Y
B-5840 FILTER - ASSEMBLY 1/1/2018 $1,137.00 A Y
B-5850 HOUSING, BEARING, PITCH LOCK 1/1/2018 $2,370.00 A Y
B-5854 BOLT,1/4-28,D HEAD 1/1/2018 $272.00 A Y
B-5870-2 PANEL,REINFORCEMNT, ADEL CLAMP 1/1/2018 $316.00 A
B-5870-4 PANEL, REINF,TERMINAL BLOCK 1/1/2018 $430.00 A
B-5915 PUMP DISCHARGE INSERT 1/1/2018 $1,374.53 A Y
B-5916 BRUSH MODULE ASSEMBLY 1/1/2018 $787.20 A Y Y
B-5919-1 SPACER 1/1/2018 $93.28 A
B-5921 GASKET, PRIMARY GOVERNOR 1/1/2018 $641.65 A Y
B-5923 SPACER, LAMINATED 1/1/2018 $82.00 A Y
B-5927 ELECTRICAL CONNECTOR 1/1/2018 $154.00 A Y
B-5932 ELECTRICAL CONNECTOR 1/1/2018 $84.00 A Y
B-5952 HUB BUSHING, ROD 1/1/2018 $101.00 A
B-5952-1 HUB BUSHING, ROD 1/1/2018 $357.73 A
B-5955-110 DOUBLE DELTA SEAL 1/1/2018 $299.00 A Y
B-5989-3 STUD,MOUNTING,9/16-18,FLANGED 1/1/2018 $138.38 A Y
B-5992 ACTUATOR,BACKUP,BETA, THREADED 1/1/2018 $766.00 A Y
B-5995 BUSHING, COVER PLATE 1/1/2018 $61.00 A Y
B-5996-18 DOWEL PIN 1/1/2018 $15.05 A Y
B-5996-608 DOWEL PIN 1/1/2018 $6.55 A Y
B-5996-631 DOWEL PIN 1/1/2018 $7.43 A
B-5996-640 DOWEL PIN 1/1/2018 $6.45 A
B5MA-2 BASIC PROP BOM HC-B5MA-2 1/1/2018 $29,722.75 A
B-6012 NUT, ADJUST 1/1/2018 $304.43 A Y
B-6023 SPACER 1/1/2018 $44.79 A
B-6026 RING, RETAINING 1/1/2018 $325.95 A Y
B-6041-3 BALL SPACER 1/1/2018 $22.00 A
B-6045-12-4 BUSHING, METAL-POLYMER COMP 1/1/2018 $11.80 A
B-6045-6-6 BUSHING, METAL-POLYMER COMP 1/1/2018 $8.35 A
B-6051 ROD, ANTI-ROTATION 1/1/2018 $635.00 A Y
B-6053-3 TUBE, OIL TRANSFER - PCU 1/1/2018 $4,103.00 A Y
B-6054-1 SLEEVE, ANTI-ROTATION 1/1/2018 $791.00 A Y
B-6056 SPRING, COMPRESSION, COUPLING 1/1/2018 $19.00 A Y
B-6060 HOUSING, HALL EFFECT 1/1/2018 $1,008.60 A Y
B-6068 SPACER, ROD, ANTI-ROTATION 1/1/2018 $1.30 A
B-6075 BEARING 1/1/2018 $341.33 A Y
B-6076 GASKET, LOCKING 1/1/2018 $1.40 A Y
B-6077-2 CAM FOLLOWER,SELF ALIGNING 1/1/2018 $861.00 A Y
B-6077-2H CAM FOLLOWER,SELF ALIGNING 1/1/2018 $988.10 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 53



Hartzell Propeller Inc.

2018 Price List

B-6082-125 DOUBLE DELTA SEAL 1/1/2018 $125.05 A Y
B-6084 COUPLING SEAL RETAINER 1/1/2018 $517.00 A Y
B-6085-5 COUPLING COVER 1/1/2018 $2,539.95 A Y
B-6086-4 COUPLING END 1/1/2018 $3,365.08 A Y
B-6087 PIN, COUPLING 1/1/2018 $197.00 A Y
B-6108 HUB BUSHING, ROD 1/1/2018 $77.00 A
B-6108-1 HUB BUSHING, ROD 1/1/2018 $91.00 A
B-6113 PIN, LEVER, CAM FOLLOWER 1/1/2018 $273.00 A Y
B-6116 SCREW, BETA ADJUST 1/1/2018 $367.98 A
B-6127-221 CAP STRIP 1/1/2018 $91.23 A Y
B-6128-223 CAP STRIP 1/1/2018 $100.45 A Y
B-6129 NOZZLE 1/1/2018 $1,244.35 A
B-6130-1 RELIEF VALVE 1/1/2018 $2,929.00 A Y
B-6130-2 RELIEF VALVE 1/1/2018 $1,994.65 A Y
B-6132-0250 SPRING PIN, 1/16 " 1/1/2018 $0.50 A
B-6132-1 SPRING PIN, 1/16 " 1/1/2018 $0.52 A Y
B-6133-1 BEARING 1/1/2018 $22.70 A Y
B-6133-2 BEARING 1/1/2018 $24.70 A Y
B-6134 BEARING 1/1/2018 $789.25 A Y
B-6135-429 GLIDE RING 1/1/2018 $154.78 A Y
B-6136 SLIDE RING 1/1/2018 $65.60 A Y
B-6138-5-5 DOWEL PIN 1/1/2018 $18.20 A
B-6138-5-7P DOWEL PIN 1/1/2018 $32.40 A
B-6138-6-7 DOWEL PIN 1/1/2018 $13.63 A
B-6138-8-10 DOWEL PIN 1/1/2018 $11.35 A
B-6138-8-12 DOWEL PIN 1/1/2018 $43.20 A
B-6138-8-6 DOWEL PIN 1/1/2018 $25.63 A
B-6138-8-8 DOWEL PIN 1/1/2018 $10.81 A
B-6138-8-9 DOWEL PIN 1/1/2018 $7.40 A
B-6139 BEARING 1/1/2018 $504.30 A Y
B-6140 BUSHING,BRONZE 1/1/2018 $54.33 A
B-6141-1 PLUG ASSEMBLY 1/1/2018 $21.22 A Y
B-6141-5 PLUG ASSEMBLY 1/1/2018 $19.42 A Y
B-6141-7 PLUG ASSEMBLY 1/1/2018 $43.77 A
B-6142 INSERT, 1/4-28, CRES, COILED 1/1/2018 $1.10 A
B-6143-4 INSERT, THREAD, CRES, STAKED 1/1/2018 $29.05 A
B-6143-7 INSERT, THREAD, CRES, STAKED 1/1/2018 $61.00 A
B-6143-8 INSERT, THREAD, CRES, STAKED 1/1/2018 $63.55 A
B-6144 BALL,BEARING,1/2" DIA 1/1/2018 $1.10 A
B-6144-1 BALL,BEARING,3/8" DIA 1/1/2018 $0.70 A
B-6144-1-1500 BALL, 3/8" DIA.,1500 PCS. 1/1/2018 $457.00 A
B-6144-2 BALL,BEARING,9/16" DIA 1/1/2018 $1.30 A
B-6144-2-450 BALL,BEARING 9/16"DIA.450 PCS. 1/1/2018 $347.00 A
B-6144-650 BALL,BEARING 1/2" DIA 650 PCS 1/1/2018 $427.00 A
B-6224 PISTON, VOLUME EXCHANGE 1/1/2018 $1,305.00 A Y
B-6225 SLEEVE,BEARING 1/1/2018 $3,028.88 A Y
B-6231-275 RETAINING RING 1/1/2018 $9.50 A Y
B-6237 VOLUME EXCHANGE UNIT 1/1/2018 $5,398.68 A Y
B-6241 SPRING, COMPRESSION 1/1/2018 $18.66 A
B-6242 SPRING, COMPRESSION 1/1/2018 $18.66 A
B-6246 ABEC 7 ANGULAR CONTACT BEARING 1/1/2018 $569.90 A Y
B-6260 DOWELPIN, 3/8" 1/1/2018 $71.00 A
B-6265 BRACKET, WIRE HARNESS 1/1/2018 $50.94 A
B-6265L BRACKET, WIRE HARNESS, LH 1/1/2018 $50.94 A Y
B-6267 SPRING RETAINER, FLANGED 1/1/2018 $214.00 A
B-6268 GUIDE, SPRING 1/1/2018 $178.00 A
B-632 SHIM, SPINNER 1/1/2018 $5.30 A
B-6329 WASHER,COUNTERSUNK 1/1/2018 $2.00 A Y
B-6329-7 WASHER,COUNTERSUNK 1/1/2018 $3.15 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 54



Hartzell Propeller Inc.

2018 Price List

B-6330 WASHER, 5/16 " COUNTERSUNK 1/1/2018 $1.90 A Y
B-6331-127 DOUBLE DELTA SEAL 1/1/2018 $120.95 A Y
B-6331-144 DOUBLE DELTA SEAL 1/1/2018 $154.78 A Y
B-6332-124 DOUBLE DELTA SEAL 1/1/2018 $178.00 A Y
B-6334 PLUG, TRANSFER TUBE 1/1/2018 $335.18 A Y
B-6371 TARGET, MAGNETIC, THREADED 1/1/2018 $489.25 A
B-6373 BUSHING 1/1/2018 $233.70 A Y
B-6378-0375 SPRING PIN, 1/8 ", CRES 1/1/2018 $0.70 A
B-6378-0500 SPRING PIN, 1/8 ", CRES 1/1/2018 $2.30 A
B-6378-0750 SPRING PIN, 1/8 ", CRES 1/1/2018 $0.62 A
B-6378-7 SPRING PIN, 1/8 ", CRES 1/1/2018 $0.30 A
B-6380-1 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $3,519.00 A Y
B-6380-2 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $3,252.00 A Y
B-6380-3 BRACKET,KNOB,PITCH CHANGE-UNIT 1/1/2018 $3,399.00 A Y
B-6427-1 PLATE, RETAINING, BEARING 1/1/2018 $2,103.30 A Y
B-6428 INTEGRAL COUPLING DRIVE 1/1/2018 $1,861.00 A
B-6441 RING, RETAINING, BEARING 1/1/2018 $215.25 A
B-6472 CLAMP, CYLINDER 1/1/2018 $969.65 A
B-6472-1 CLAMP, CYLINDER 1/1/2018 $879.45 A
B-6473 WASHER, 3/8 " CSK & CHAM 1/1/2018 $33.42 A
B-6489-20 BOLT,MOUNTING,7/16-20,HEX HEAD 1/1/2018 $185.53 A
B-6489-25 BOLT,MOUNTING,7/16-20,HEX HEAD 1/1/2018 $59.00 A
B-6507-1 LABEL, ACCUMULATOR 1/1/2018 $2.20 A
B-6508 BEARING,BALL,16 MM 1/1/2018 $96.00 A
B-6511 PISTON 1/1/2018 $498.00 A
B-6521-8 SCREW, 10-32, 100° HEAD 1/1/2018 $3.30 A
B-6526-7 WASHER, DOUBLE COUNTERSUNK 1/1/2018 $105.00 A
B-6527-7 WASHER, MOUNTING, CSK & CBORED 1/1/2018 $93.28 A
B-6528 BOLT,5/16-24,12 POINT 1/1/2018 $32.19 A Y
B-6532 SPRING, CONSTANT FORCE 1/1/2018 $37.80 A
B-6544 CAP, FITTING, LUBRICATION 1/1/2018 $0.70 A
B-6545 CAM FOLLOWER 1/1/2018 $233.00 A
B-6550-4 LABEL BLANK, 1.00X2.0 SILVER 1/1/2018 $1.10 A
B-658 SPRING, COMPRESSION 1/1/2018 $4.31 A
B-6580-1000 SPRING PIN, 1/16 ", CRES 1/1/2018 $1.65 A
B-6582-0750 SPRING PIN, 3/16 ", CRES 1/1/2018 $1.15 A
B-6582-0875 SPRING PIN, 3/16 ", CRES 1/1/2018 $2.00 A
B-6583-0437 SPRING PIN, 3/32 " 1/1/2018 $1.23 A
B-6587-12H SCREW, 8-32, FILLISTER HEAD 1/1/2018 $9.99 A
B-6588-1 FITTING, LUBRICATION 1/1/2018 $0.90 A Y
B-6589-12 CAP, FLARED TUBE - ASSEMBLY 1/1/2018 $37.36 A Y
B-6605-6P SCREW, 8-32, CAP 1/1/2018 $1.70 A
B-6605-H8P SCREW, 8-32, CAP 1/1/2018 $11.28 A
B-6606-H10P SCREW, 10-32, CAP 1/1/2018 $12.80 A
B-6606-LE16P SCREW, 10-32, CAP 1/1/2018 $47.82 A
B-6614-A2P SCREW, SET, 4-40 1/1/2018 $32.90 A Y
B-6616-A4P SCREW, SET, 10-32, CRES 1/1/2018 $25.45 A
B-6621-375M INSERT, .190-32,CRES,MOLDED IN 1/1/2018 $30.24 A Y
B-6626-20 BOLT, 1/4-28, HEX HEAD 1/1/2018 $6.55 A
B-6626-H5 BOLT, 1/4-28, HEX HEAD 1/1/2018 $9.70 A
B-6626-LH5 BOLT, 1/4-28, HEX HEAD 1/1/2018 $43.56 A
B-6629-150PP RETAINER, RING, INTERNAL 1/1/2018 $2.00 A
B-6629-175PP RETAINER, RING, INTERNAL 1/1/2018 $2.50 A
B-6629-43PP RETAINER, RING, INTERNAL 1/1/2018 $1.50 A
B-6630 CHECK VALVE 1/1/2018 $2,020.00 A
B-6631-231 SCREW,6-32,FILLISTER HEAD,CRES 1/1/2018 $1.15 A
B-6631-232 SCREW,6-32,FILLISTER HEAD,CRES 1/1/2018 $1.35 A
B-6631-233 SCREW,6-32,FILLISTER HEAD,CRES 1/1/2018 $1.55 A
B-6632-04 BOLT, 10-32, HEX HEAD 1/1/2018 $9.90 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 55



Hartzell Propeller Inc.

2018 Price List

B-6633-30 SCREW, SET, 8-32, CRES 1/1/2018 $9.70 A
B-6635-34 SCREW, SET, 8-32 1/1/2018 $48.05 A
B-6637-124 SCREW, PAN HEAD, CRES. 1/1/2018 $1.15 A
B-6637-13 SCREW, PAN HEAD, CRES. 1/1/2018 $0.60 A
B-6637-3 SCREW, PAN HEAD, CRES. 1/1/2018 $0.70 A
B-6637-30 SCREW, PAN HEAD, CRES. 1/1/2018 $0.60 A
B-6637-34 SCREW, PAN HEAD, CRES. 1/1/2018 $0.70 A
B-6637-50 SCREW, PAN HEAD, CRES. 1/1/2018 $0.77 A
B-6637-51 SCREW, PAN HEAD, CRES. 1/1/2018 $1.24 A
B-6637-52 SCREW, PAN HEAD, CRES. 1/1/2018 $2.25 A
B-6637-53 SCREW, PAN HEAD, CRES. 1/1/2018 $0.95 A
B-6639-131 SCREW, SET 1/1/2018 $40.70 A
B-6641-265 NUT, HEX, BRASS 1/1/2018 $2.87 A
B-6642-1 GASKET, PUMP 1/1/2018 $6.61 A
B-6648-31 BOLT, 10-32, CLEVIS 1/1/2018 $23.45 A
B-6651-2 PLUG, PIPE, ALUMINUM 1/1/2018 $33.21 A
B-6653-43 SCREW, 1/4-28, CAP 1/1/2018 $4.20 A
B-6654-100 2302-5 TAPE 1X36 YRD ROLL 1/1/2018 $246.00 A
B-6654-100-1 2302-5 TAPE 1X36 INCH LENGTH 1/1/2018 $6.90 A
B-6654-150 2302-5 TAPE 1.5X36 YRD ROLL 1/1/2018 $357.00 A
B-6655-04 NUT, HEX, SELF-LOCKING 1/1/2018 $1.15 A
B-6655-06 NUT, HEX, SELF-LOCKING 1/1/2018 $1.20 A
B-6655-08 NUT, HEX, SELF-LOCKING 1/1/2018 $3.05 A
B-6656-6 JOINT ASSEMBLY, BALL-SOCKET 1/1/2018 $44.15 A
B-6658-6 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.23 A
B-6658-8 SCREW, 10-32, FILLISTER HEAD 1/1/2018 $1.23 A
B-666 PCP:SPRING RETAINER CUP 1/1/2018 $1,126.00 A
B-6673-0306 RIVET,100° HEAD, POP - TYPE 1/1/2018 $1.50 A Y
B-6674 SEAL, LIP, RING 1/1/2018 $42.00 A
B-6679 RACE,INNER,BEARING 1/1/2018 $37.30 A
B-668 SPRING, COMPRESSION, BETA 1/1/2018 $17.50 A
B-6680 BEARING,NEEDLE,CLOSED END 1/1/2018 $22.70 A
B-6681 BEARING,NEEDLE 1/1/2018 $37.75 A
B-6682 BEARING, NEEDLE 1/1/2018 $24.15 A
B-6684 BEARING, NEEDLE 1/1/2018 $21.45 A
B-6686 FITTING, LUBRICATION 1/1/2018 $3.40 A
B-6688 SEAL, LIP, RING 1/1/2018 $26.95 A
B-671 ROD, BETA 1/1/2018 $772.00 A
B-671-4 ROD, BETA 1/1/2018 $770.00 A
B-6718-6 ELBOW, ALUMINUM 1/1/2018 $66.63 A
B-6722-3 WASHER 1/1/2018 $2.15 A
B-6722-4 WASHER 1/1/2018 $1.90 A
B-6735 CLAMP, LOOP, CUSHIONED 1/1/2018 $9.70 A
B-6735-1 CLAMP, LOOP, CUSHIONED 1/1/2018 $32.90 A
B-6747 SEAL,WASHER 1/1/2018 $2.15 A
B-6758 PCP:SLEEVE, PITCH ADJUST-UNIT 1/1/2018 $831.28 A
B-6761 GUIDE, SPRING, PLASTIC 1/1/2018 $24.35 A
B-6767 ACCUMULATOR ASSEMBLY (8907-40) 1/1/2018 $3,458.35 A
B-6768 SPRING RETAINER, FORWARD 1/1/2018 $17.30 A
B-6806 INLET INSERT ASSEMBLY 1/1/2018 $3,137.53 A Y
B-6809 PRELOAD PACK ASSEMBLY 1/1/2018 $282.90 A Y
B-6809-2 PRELOAD PACK ASSEMBLY 1/1/2018 $283.93 A Y
B-6810 BELLEVILLE SPRING WASHER 1/1/2018 $6.10 A
B-6855 PLUG, LUBRICATION 1/1/2018 $1.44 A
B-6947 SEAL,WASHER 1/1/2018 $3.59 A
B-6976-10 SCREW, 8-32, WASHER HEAD 1/1/2018 $1.90 A
B-6977-8 SCREW, 8-32, FILLISTER HEAD 1/1/2018 $2.05 A
B-6985 BUSHING,BRONZE,OIL IMPREGNATED 1/1/2018 $4.15 A
B-6986-162 INSERT, THREAD, THINWALL 1/1/2018 $5.25 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 56



Hartzell Propeller Inc.

2018 Price List

B-6986-192 INSERT, THREAD, THINWALL 1/1/2018 $9.17 A
B-6986-258 INSERT, THREAD, THINWALL 1/1/2018 $15.12 A
B-6986-258M INSERT, THREAD, THINWALL 1/1/2018 $57.40 A
B-6986-314M INSERT, THREAD, THINWALL 1/1/2018 $46.69 A
B-6986-374 INSERT, THREAD, THINWALL 1/1/2018 $35.55 A
B-6986-374M INSERT, THREAD, THINWALL 1/1/2018 $54.33 A
B-6986-500 INSERT, THREAD, THINWALL 1/1/2018 $68.68 A
B-6986-500M INSERT, THREAD, THINWALL 1/1/2018 $95.33 A
B-6986-568 INSERT, THREAD, THINWALL 1/1/2018 $227.00 A
B-7000-H12 SCREW, 4-40, CAP 1/1/2018 $8.25 A Y
B-7000-H6 SCREW, 4-40, CAP 1/1/2018 $11.00 A Y
B-7019-2 SCREW, SET, 5/16-24 1/1/2018 $55.00 A
B-7035-12 SCREW, 6-32, PAN HEAD, BRASS 1/1/2018 $3.45 A
B-7035-14 SCREW, 6-32, PAN HEAD, BRASS 1/1/2018 $5.30 A
B-7051-57 SCREW, SET, 10-32 1/1/2018 $6.51 A
B-7070-17 PLUG, CUPPED, STEEL 1/1/2018 $2.97 A
B-7070-22 PLUG, CUPPED, STEEL 1/1/2018 $3.90 A
B-7070-25 PLUG, CUPPED, STEEL 1/1/2018 $4.55 A
B-7071 RING, RETAINING, BEARING 1/1/2018 $63.55 A
B-7073-L1 BOLT,10-32,HEX HEAD 1/1/2018 $39.36 A
B-7076-42 BELLEVILLE SPRING WASHER 1/1/2018 $0.65 A
B-7077-52 BELLEVILLE SPRING WASHER 1/1/2018 $0.65 A
B-7200-H8 SCREW, 6-32,CAP,HEAT RESISTANT 1/1/2018 $12.50 A Y
B-7200-LB6 SCREW, 6-32,CAP,HEAT RESISTANT 1/1/2018 $15.70 A Y
B-7200-LB8 SCREW, 6-32,CAP,HEAT RESISTANT 1/1/2018 $22.55 A Y
B-7222 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $1,640.00 A
B-7224 KIT,AEROBATIC 1/1/2018 $8,055.00 A
B-7283 BEARING,NEEDLE,OVERSIZED 1/1/2018 $97.00 A
B-7288 RING, BACKUP 1/1/2018 $278.00 A
B-73 GASKET, COVER PLATE 1/1/2018 $8.95 A
B-7322-1 NUT, 6-32, HEX, THIN 1/1/2018 $6.00 A
B-7333-120 RIVNUT, ALUMINUM 1/1/2018 $2.10 A Y
B-7333-75 RIVNUT, ALUMINUM 1/1/2018 $0.67 A Y
B-7370 ROD, ANTI-ROTATION 1/1/2018 $275.73 A
B-7381-H10 SCREW, 8-32, CAP 1/1/2018 $5.70 A Y
B-7381-H8 SCREW, 8-32, CAP 1/1/2018 $7.84 A Y
B-7381-LB6 SCREW, 8-32, CAP 1/1/2018 $19.00 A Y
B-7418 BUMPER 1/1/2018 $132.23 A
B-7418-1 BUMPER 1/1/2018 $140.00 A
B-7423 WASHER 1/1/2018 $46.23 A
B-7424-1 SPACER 1/1/2018 $49.87 A
B-7425 WASHER, 1/2 " WAVE, CRES 1/1/2018 $27.27 A
B-7435 STUD,MOUNTING,9/16-18,FLANGED 1/1/2018 $199.00 A
B-7458 NUT,9/16-18,HEX,SELF-LOCKING 1/1/2018 $65.60 A
B-7542 STUD,MOUNTING,9/16-18 1/1/2018 $41.80 A
B-7588 TAG, WARNING, AIR PRESSURE 1/1/2018 $1.00 A
B-7589 SCREW, SET, 1/4-28, DRILLED 1/1/2018 $19.94 A
B-7613-5 WASHER, LOCK, RAMP 1/1/2018 $6.00 A
B-7617 DISK, WEAR 1/1/2018 $48.12 A
B-7622 SPACER (.105) 1/1/2018 $150.68 A Y
B-7624 WASHER, MOUNTING, 9/16 " 1/1/2018 $120.00 A
B-7631 BOLT, 3/8-24, 12 POINT 1/1/2018 $74.00 A
B-7715 COTTER PIN 1/1/2018 $0.30 A
B-7726 SEAL, BLADE 1/1/2018 $20.00 A
B-7784-0312 INSERT, THREADED, 5/16-24 1/1/2018 $4.45 A
B-7816-1 BUSHING, REPAIR 1/1/2018 $101.48 A
B-7816-2 BUSHING, REPAIR 1/1/2018 $104.55 A
B-793 BALL SPACER 1/1/2018 $6.30 A
B-806 CYLINDER 1/1/2018 $1,277.15 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 57



Hartzell Propeller Inc.

2018 Price List

B-806-1 CYLINDER 1/1/2018 $1,351.98 A
B-853 SPRING, COMPRESSION,FEATHERING 1/1/2018 $481.75 A
B-854 CYLINDER 1/1/2018 $1,230.00 A
B-854-1 CYLINDER 1/1/2018 $1,134.68 A
B-855-A ROD, PITCH CHANGE 1/1/2018 $2,270.38 A
B-868AS PCP:ROD, PITCH CHANGE 1/1/2018 $2,061.28 A
B-868AS-2 PCP:ROD, PITCH CHANGE 1/1/2018 $2,461.03 A
B-868AS-4 PCP:ROD, PITCH CHANGE 1/1/2018 $2,061.28 A
B-882-4C BRACKET, START LOCK 1/1/2018 $355.68 A
B-891-1 PCP:COUNTERWEIGHT UNIT 1/1/2018 $800.00 A
B-933-1 SHIM, MOUNTING, PROPELLER 1/1/2018 $25.85 A
B-93-B VALVE ASSEMBLY 1/1/2018 $1,859.35 A
B-953 SPRING, COMPRESSION,FEATHERING 1/1/2018 $113.78 A
B-984-1 BRACKET, START LOCK 1/1/2018 $432.00 A
BST-10001 INSTALLATION TOOL, TRANSFER 1/1/2018 $109.68 A Y
BST-2811 FLATNESS GAUGE 1/1/2018 $2,356.48 A
BST-2813 WRENCH 1/1/2018 $515.58 A
BST-2837 TORQUE WRENCH ADAPTOR 1/1/2018 $366.68 A Y
BST-2847 PROBE,SUPPORT 1/1/2018 $234.73 A
BST-2853 SPRING ASSEMBLY TOOL 1/1/2018 $338.25 A
BST-2855 ASSEMBLY TOOL 1/1/2018 $382.33 A
BST-2860 ADAPTER,TORQUE WRENCH,3/4&5/8" 1/1/2018 $688.80 A
BST-2866 EXPANSION SLEEVE 1/1/2018 $658.05 A
BST-2869 SPACER 1/1/2018 $5.89 A
BST-2872 SPACER 1/1/2018 $535.05 A
BST-2876 PILOT TUBE REMOVAL TOOL 1/1/2018 $1,522.13 A
BST-2890 BASE, SPRING FIXTURE 1/1/2018 $424.35 A
BST-2891 BASE, SPRING COMPRESSOR 1/1/2018 $243.00 A
BST-2894 BASE, SPRING COMPRESSOR 1/1/2018 $231.65 A
BST-2895 GUIDE ROD RETAINER,SPRING COMP 1/1/2018 $385.40 A
BST-2896 GUIDE ROD RETAINER,SPRING COM. 1/1/2018 $824.10 A
BST-2897 RETAINER, SPRING COMPRESSOR 1/1/2018 $539.15 A
BST-2899 GUIDE ROD RETAINER,SPRING COMP 1/1/2018 $301.35 A
BST-2902 ROD,GUIDE 1/1/2018 $294.18 A
BST-2903 ROD,GUIDE 1/1/2018 $196.80 A
BST-2904 ROD,GUIDE 1/1/2018 $196.80 A
BST-2905 ROD,GUIDE 1/1/2018 $196.80 A
BST-2907 ROD,GUIDE 1/1/2018 $196.80 A
BST-2910 WRENCH, SHAFT NUT 1/1/2018 $1,535.00 A Y
BST-2912 BUILDING BUCK COMPONENTS 1/1/2018 $24,333.50 A Y
BST-2912+ SPINDLE 1/1/2018 $2,980.82 A
BST-2912-1 SPINDLE, FLANGE, HUB 1/1/2018 $4,128.70 A
BST-2912-11 PIN, ANTI-ROTATION 1/1/2018 $111.24 A
BST-2912-12 MID PITCH ADAPTOR 1/1/2018 $502.25 A
BST-2912-13 -5 BLADE ANGLE STOP 1/1/2018 $1,543.65 A
BST-2912-17 HUB SPINDLE,PC-21 1/1/2018 $1,228.79 A
BST-2912-2 SPINDLE, #20 SPLINE 1/1/2018 $5,234.68 A
BST-2912-4 N FLANGE ADAPTOR RING 1/1/2018 $344.40 A
BST-2912-9 A FLANGE ADAPTOR 1/1/2018 $2,244.75 A
BST-2921 TORQUE WRENCH FOR CYLINDERS 1/1/2018 $965.55 A
BST-2922 SOCKET FOR SELFLOCKING NUT 1/1/2018 $472.53 A
BST-2930-1 SLIMSERT INSTALLATION TOOL 1/1/2018 $391.55 A
BST-2930-2 SLIMSERT INSTALLATION TOOL 1/1/2018 $383.35 A
BST-2930-3 SLIMSERT INSTALLATION TOOL 1/1/2018 $474.58 A
BST-2930-4 SLIMSERT INSTALLATION TOOL 1/1/2018 $474.58 A
BST-2930-7 SLIMSERT INSTALLATION TOOL 1/1/2018 $448.95 A
BST-2930-8 SLIMSERT INSTALLATION TOOL 1/1/2018 $833.00 A
BST-2938 PLUG, SHOT PEEN, "Y" SHANK 1/1/2018 $468.43 A
BST-2939 PLUG, SHOT PEEN, T& M SHANK 1/1/2018 $468.43 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 58



2018 Price List

Hartzell Propeller Inc.

BST-2939N PLUG,SHOT PEEN,T&M,SHANK,N MOD 1/1/2018 $468.43 A
BST-2940 PLUG, SHOT PEEN, " E " SHANK 1/1/2018 $312.63 A
BST-2947 PULLER,BUSHING 1/1/2018 $973.75 A
BST-2948 BUSHING PULLER 1/1/2018 $931.73 A
BST-2949 PULLER,BEARING/BUSHING 1/1/2018 $752.35 A
BST-2950 BEARING PULLER 1/1/2018 $828.20 A
BST-2951+5 EXPANDER 1/1/2018 $1,091.63 A
BST-2952 PULLER, BEARING 1/1/2018 $750.30 A
BST-2958 PLUG PITCH ANGLE STOP 1/1/2018 $290.00 A
BST-2958L HOIST RING 1/1/2018 $377.20 A
BST-2960-3 BLADE ANGLE PROTRACTOR 1/1/2018 $5,231.60 A Y
BST-2964 M10876 THICKNESS GAUGE 1/1/2018 $1,043.00 A
BST-2966-3 REAM FIXTURE 1/1/2018 $1,859.35 A
BST-2966-4 REAM FIXTURE 1/1/2018 $1,859.35 A
BST-2974 CLAMP, BONDING, LM10585AN+4 1/1/2018 $76.00 A
BST-2974-1 CLAMP, BONDING, M10877 1/1/2018 $76.00 A
BST-2974-7 CLAMP, BONDING, E10950 1/1/2018 $79.95 A
BST-2975 LM10585AN+4 FIT CHECK TOOL 1/1/2018 $1,342.00 A
BST-2975-1 M10877 FIT CHECK TOOL 1/1/2018 $1,618.00 A
BST-2975-10 E13890 FIT CHECK TOOL 1/1/2018 $588.35 A Y
BST-2975-11 7690 FIT CHECK TOOL 1/1/2018 $557.00 A
BST-2975-12 7890K FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-13 7690E FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-14 N7605/N7605C FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-15 E9193 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-16 N()7893 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-17 N7605-2 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-18 N7605+2 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-19 N7605-4 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-2 M10083 FIT CHECK TOOL 1/1/2018 $806.68 A
BST-2975-20 NC9208 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-22 NC8834( ) FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-26 NG8301-5 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-27 NC8301-7 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-28 NC10245 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-29 NC10320 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-30 108MH92 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-31 138MH91 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-32 NG8301-1 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-33 NG8301-3 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-34 E8190 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-35 78D01 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-36 L75A01-2 FIT CHECK TOOL 1/1/2018 $588.35 A
BST-2975-4 A10460E FIT CHECK TOOL 1/1/2018 $710.33 A
BST-2975-7 E10950 FIT CHECK TOOL 1/1/2018 $576.05 A
BST-2982 N FLANGE DRILLJIG 1/1/2018 $2,793.13 A
BST-2983 F FLANGE DRILLJIG 1/1/2018 $2,832.08 A
BST-2985 BEARING INSTALLATION TOOL 1/1/2018 $1,230.00 A
BST-2991 SPACER,2 WAY HYDROSELECTIVE 1/1/2018 $94.30 A
BST-3004 FACE TEMP.FOR LM10585 48" STA 1/1/2018 $512.50 A
BST-3004-10A TEMPLATE, FACE, STA. 54 1/1/2018 $466.00 A
BST-3004-10B TEMPLATE, FACE, STA. 60 1/1/2018 $466.00 A
BST-3004-11A FACE TEMP. FOR 7690 30" STA. 1/1/2018 $486.88 A
BST-3004-11B FACE TEMP. FOR 7690 36" STA. 1/1/2018 $486.88 A
BST-3004-12A FACE TEMPLATE FOR 7890 30" ST 1/1/2018 $486.88 A
BST-3004-12B FACE TEMPLATE FOR 7890 36" ST 1/1/2018 $486.88 A
BST-3004-14A FACE TEMPLATE FOR E9193 30" ST 1/1/2018 $486.88 A
BST-3004-14B FACE TEMPLATE FOR E9193 40" ST 1/1/2018 $486.88 A
BST-3004-15A FACE TEMPLATE FOR N7605 30" ST 1/1/2018 $486.88 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 59



2018 Price List

Hartzell Propeller Inc.

BST-3004-15B FACE TEMPLATE FOR N7605 36" ST 1/1/2018 $486.88 A
BST-3004-16A FACE TEMPLATE FOR N7893 30" ST 1/1/2018 $486.88 A
BST-3004-16B FACE TEMPLATE FOR N7893 36" ST 1/1/2018 $486.88 A
BST-3004-19A FACE TEMPLATE N7605-4 24" ST 1/1/2018 $486.88 A
BST-3004-1A FACE TEMP. FOR M10877 42" STA 1/1/2018 $547.35 A
BST-3004-1B FACE TEMP.FOR M10877 52" STA 1/1/2018 $547.35 A
BST-3004-20A FACE TEMPLATE NC9208 30" ST 1/1/2018 $486.88 A
BST-3004-20B FACE TEMPLATE NC9208 42" ST 1/1/2018 $486.88 A
BST-3004-21A FACE TEMPLATE NG8301 30" ST 1/1/2018 $486.88 A
BST-3004-22A FACE TEMPLATE NG8834 30" ST 1/1/2018 $486.88 A
BST-3004-22B FACE TEMPLATE NG8834 36" ST 1/1/2018 $486.88 A
BST-3004-23A FACE TEMP. ( )79(A/B)06 30"ST 1/1/2018 $486.88 A
BST-3004-23B FACE TEMP. ()79(A/B)06 36"ST 1/1/2018 $486.88 A
BST-3004-24A FACE TEMP. ()76(A/B)01-2 30"ST 1/1/2018 $486.88 A
BST-3004-24B FACE TEMP. ()76(A/B)01-2 36"ST 1/1/2018 $486.88 A
BST-3004-25A FACE TEMP. ()75(A/B)01-2 30"ST 1/1/2018 $486.88 A
BST-3004-25B FACE TEMP. ()75(A/B)01-2 36"ST 1/1/2018 $486.88 A
BST-3004-28A FACE TEMPLATE NC10245 24" ST 1/1/2018 $486.88 A
BST-3004-28B FACE TEMPLATE NC10245 42" ST 1/1/2018 $486.88 A
BST-3004-2A FACE TEMP.FOR M10083 39.75"STA 1/1/2018 $489.25 A
BST-3004-2B FACE TEMP.FOR M10083 47.25"STA 1/1/2018 $489.25 A
BST-3004-35A FACE TEMPLATE 78D01 24" STA 1/1/2018 $486.88 A
BST-3004-35B FACE TEMPLATE 78D01 36" STA 1/1/2018 $486.88 A
BST-3004-3A FACE TEMPLATE FOR B7421 30"STA 1/1/2018 $486.88 A
BST-3004-3B FACE TEMPLATE FOR B7421 34"STA 1/1/2018 $486.88 A
BST-3004-4A FACE TEMP.FOR A10460 30" STA 1/1/2018 $486.88 A
BST-3004-4B FACE TEMP.FOR A10460 48" STA 1/1/2018 $512.50 A
BST-3004-6A FACE TEMP.FOR E11990 42" STA 1/1/2018 $461.00 A
BST-3004-6B FACE TEMP.FOR E11990 54" STA 1/1/2018 $461.00 A
BST-3004-7A FACE TEMP. FOR E10950 42" STA 1/1/2018 $486.88 A
BST-3004-7B FACE TEMP.FOR E10950 51" STA 1/1/2018 $486.88 A
BST-3004-8A FACE TEMP.FOR E13482 54" STA 1/1/2018 $461.00 A
BST-3004-8B FACE TEMP.FOR E13482 60" STA 1/1/2018 $461.00 A
BST-3004-9A FACE TEMP.FOR E12902 54" STA 1/1/2018 $461.00 A
BST-3004-9B FACE TEMP.FOR E12902 60" STA 1/1/2018 $461.00 A
BST-3019 COUNTERBORE TOOL FOR "K" SERT 1/1/2018 $356.70 A
BST-3019-3 COUNTERBORE TOOL FOR "K" SERT 1/1/2018 $373.10 A
BST-3019-4 COUNTERBORE TOOL FOR "K" SERT 1/1/2018 $364.00 A
BST-3019-7 COUNTERBORE TOOL FOR "K" SERT 1/1/2018 $132.87 A
BST-3019-8 COUNTERBORE TOOL FOR "K" SERT 1/1/2018 $373.10 A
BST-3022 REAMER 1/1/2018 $399.75 A
BST-3022A REAMER 1/1/2018 $470.48 A
BST-3024 BLADE ASSEMBLY SUPPORT STAND 1/1/2018 $101.48 A Y
BST-3024+1 ADJUSTABLE ROLLER STAND 1/1/2018 $101.48 A Y
BST-3024+2 COVER 1/1/2018 $101.48 A Y
BST-3033 17/16 CROW FOOT WRENCH,3/8 DR 1/1/2018 $154.78 A
BST-3038 CONTROL ROD ALIGNMENT TOOL 1/1/2018 $1,513.07 A Y
BST-3044 CLAMP WRENCH PITCH CHANGE ROD 1/1/2018 $6,112.08 A
BST-3045 2 TON PULLER 1/1/2018 $410.97 A
BST-3047 K-SERT INSTALLATION TOOL 1/1/2018 $852.00 A
BST-3047-4 K-SERT INSTALLATION TOOL 1/1/2018 $815.00 A
BST-3047-5 K-SERT INSTALLATION TOOL 1/1/2018 $732.00 A
BST-3047-8 K-SERT INSTALLATION TOOL 1/1/2018 $413.08 A
BST-3048 TRANSFER TUBE INSTALL/REMOVAL 1/1/2018 $1,495.48 A Y
BST-3061 ASSEMBLY TOOL A-972 RING 1/1/2018 $342.35 A
BST-3062 ASSEMBLY TOOL A-1852 RING 1/1/2018 $528.00 A
BST-3064 PILOT TUBE INSTALL TOOL KIT 1/1/2018 $3,031.95 A
BST-3064-1 PILOT TUBE INSTALLATION TOOL 1/1/2018 $884.58 A
BST-3064-2 PILOT TUBE POSITIONER & STOP 1/1/2018 $1,365.30 A

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original

Effectivity Date 1/2/2018

Page 60



Hartzell Propeller Inc.
2018 Price List

BST-3065 TOOL,REMOVAL,PLUG 1/1/2018 $614.00 A
BST-3066-2 PILOT TUBE REMOVAL STOP 1/1/2018 $990.00 A
BST-3067 SOCKET - ASSEMBLY 1/1/2018 $857.93 A
BST-3068 PEENING TOOL, A-2245 BUSHING 1/1/2018 $576.05 A
BST-3069 PROBE HOLDER 1/1/2018 $902.00 A
BST-3075 EDDY CURRENT KIT-DBL.SHL.BLADE 1/1/2018 $3,632.60 A
BST-3076 CALIBRATION STANDARD 1/1/2018 $2,256.03 A
BST-3077-1 EDDY CURRENT PROBE 1/1/2018 $562.38 A
BST-3078 TEFLON TAPE 1/1/2018 $78.93 A
BST-3080 SHOT PEEN PLUG 1/1/2018 $234.73 A
BST-3080-1 SHOT PEEN PLUG 1/1/2018 $229.60 A
BST-3092 TOOL, FORM 1/1/2018 $1,087.00 A
BST-3103 FEATHERING TOOL 1/1/2018 $167.08 A
BST-3104 ROD,CYLINDER INSTALLATION 1/1/2018 $68.00 A
BST-3109 T-HANDLE WRENCH 1/1/2018 $175.28 A
BST-3177 BLADE SEAL ALIGNMENT TOOL 1/1/2018 $215.25 A
BST-3226 FIXTURE,BLADE PITCH 1/1/2018 $4,828.78 A
BST-3227 HOUSING,PROBE 1/1/2018 $1,384.32 A
BST-3228 PROBE, EDDY CURRENT 1/1/2018 $2,953.03 A Y
BT-1271-1 SHOT PEEN TUBE ASSY [FINE] 1/1/2018 $1,175.68 A
BT-1271-2 SHOT PEEN TUBE ASSY [COARSE] 1/1/2018 $1,019.88 A
BT-1271-4 SHOT NOZZLE UNIT 1/1/2018 $606.00 A
BT-1271-5 SHOT NOZZLE UNIT 1/1/2018 $616.00 A
BT-1271-6 SHOT NOZZLE UNIT 1/1/2018 $616.00 A
BT-1271-7 SHOT NOZZLE UNIT 1/1/2018 $631.40 A
BT-1271-8 SHOT NOZZLE UNIT 1/1/2018 $631.40 A
BT-1465-1 REAMER, BALL NOSE 1/1/2018 $603.73 A
BT-1465-2 REAMER, BALL NOSE 1/1/2018 $603.73 A
BT-1465-3 REAMER, BALL NOSE 1/1/2018 $543.25 A
BT-1465-4 REAMER, BALL NOSE 1/1/2018 $421.28 A
BT-223 PULLER TOOL 1/1/2018 $9,579.65 A
BT-223+10 ADAPTOR RING FOR A-972 1/1/2018 $104.55 A
BT-223+9 ADAPTOR RING FOR A-1852 1/1/2018 $104.55 A
C-1054 FORK, SIX BLADE - ASSEMBLY 1/1/2018 $10,640.53 A
C-1055 RING, BETA 1/1/2018 $1,086.00 A
C-1062 SPRING RETAINER, BETA 1/1/2018 $1,029.10 A
C-1063 PCP: RING, SUPPORT, ROD, BETA 1/1/2018 $369.00 A
C-1087 PISTON UNIT 1/1/2018 $1,624.63 A Y
C-112-2 PISTON UNIT 1/1/2018 $3,987.25 A
C-1169 ROD, PITCH CHANGE 1/1/2018 $2,031.55 A
C-1169-1 ROD, PITCH CHANGE 1/1/2018 $2,034.63 A
C-1169-2 ROD, PITCH CHANGE 1/1/2018 $2,638.35 A
C-1174-2 TAPPET, YOKE 1/1/2018 $373.00 A
C-1301-10S PCP:CLAMP,BLADE, T,W,Z SHANK 1/1/2018 $2,280.63 A
C-1301-4S PCP:CLAMP,BLADE, T,W,Z SHANK 1/1/2018 $3,237.00 A
C-1301-9S PCP:CLAMP,BLADE, T,W,Z SHANK 1/1/2018 $2,215.03 A
C-1301S PCP:CLAMP,BLADE, T,W,Z SHANK 1/1/2018 $2,288.83 A
C-137-1B T - DRIVE - ASSEMBLY 1/1/2018 $6,362.18 A Y
C-1401-2 PISTON UNIT 1/1/2018 $2,345.00 A
C-1401-3 PISTON UNIT 1/1/2018 $2,215.03 A
C-1451-2 PISTON UNIT 1/1/2018 $2,680.38 A
C-1566-1 PLATE, DAMPER 1/1/2018 $617.05 A
C-1567-1 WEIGHT, DAMPER 1/1/2018 $1,809.13 A
C-1568-1 DISK, FRICTION 1/1/2018 $44.18 A
C-1576 DAMPER ASSEMBLY 1/1/2018 $4,021.08 A
C-1802 PISTON UNIT 1/1/2018 $2,966.35 A
C-1802-L PISTON UNIT 1/1/2018 $2,888.45 A
C-1816 PISTON UNIT 1/1/2018 $3,144.70 A
C-1862-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $1,292.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 61



Hartzell Propeller Inc.

2018 Price List

C-1863 PISTON UNIT 1/1/2018 $3,144.70 A

C-1863-L PISTON UNIT, LH 1/1/2018 $2,687.55 A

C-1872-4P DOME UNIT, 3 - BLADE 1/1/2018 $1,547.00 A y
C-1888 DOME UNIT, 3 - BLADE 1/1/2018 $821.03 A y
C-1888-P DOME UNIT, 3 - BLADE 1/1/2018 $1,223.85 A y
C-1904 DOME, 3 - BLADE 1/1/2018 $539.15 A y
C-1904-1P DOME, 2 - BLADE 1/1/2018 $1,050.00 A y
C-1904-2 DOME UNIT, 2 - BLADE 1/1/2018 $850.75 A y
C-1904-3 DOME, 2 - BLADE 1/1/2018 $606.80 A y
C-1904-3P DOME, 2 - BLADE 1/1/2018 $890.73 A y
C-1904-5 DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $628.33 A y
C-1904-5P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,151.08 A y
C-1904-7 DOME UNIT, 2 - BLADE 1/1/2018 $824.10 A y
C-1904-7P DOME UNIT, 2 - BLADE 1/1/2018 $1,148.00 A y
C-1948 ROD, PITCH CHANGE 1/1/2018 $2,067.43 A

C-1977-1P PCP:CLAMP,BLADE, M,P,R SHANK 1/1/2018 $2,095.10 A

C-1977-3P PCP:CLAMP,BLADE, M,P,R SHANK 1/1/2018 $2,344.18 A

C-1977-4P PCP:CLAMP,BLADE, M,P,R SHANK 1/1/2018 $2,344.18 A

C-1977-5P PCP:CLAMP,BLADE, M,P,R SHANK 1/1/2018 $2,344.18 A

C-1977-7P PCP:CLAMP,BLADE, M,P,R SHANK 1/1/2018 $2,298.05 A

C-1977P PCP:CLAMP,BLADE, M,P,R SHANK 1/1/2018 $2,201.70 A

C-1992-L PISTON UNIT 1/1/2018 $1,767.10 A

C-208 BUSHING, PISTON 1/1/2018 $332.00 A

C-208-1 BUSHING, PISTON 1/1/2018 $242.93 A

C-226 DOME, 2 - BLADE 1/1/2018 $604.75 A y
C-226-1 DOME, 3 - BLADE 1/1/2018 $604.75 A y
C-226-P DOME, 2 - BLADE 1/1/2018 $777.98 A Y
C-2283-10P BULKHEAD UNIT 1/1/2018 $974.78 A y
C-2283-12 BULKHEAD UNIT 1/1/2018 $1,092.65 A y
C-2283-12P BULKHEAD UNIT 1/1/2018 $1,115.20 A y
C-2283-13P BULKHEAD UNIT 1/1/2018 $1,006.55 A y
C-2283-8 BULKHEAD UNIT 1/1/2018 $981.95 A y
C-2283-9 BULKHEAD UNIT 1/1/2018 $930.70 A y
C-2283-9P BULKHEAD UNIT 1/1/2018 $1,071.13 A y
C-2284-2 DOME UNIT, 2 - BLADE 1/1/2018 $975.80 A y
C-2284-2L DOME UNIT, 2 - BLADE 1/1/2018 $975.80 A y
C-2284-2LP DOME UNIT, 2 - BLADE 1/1/2018 $1,279.20 A y
C-2284-2P DOME UNIT, 2 - BLADE 1/1/2018 $1,279.20 A y
C-2284-3 DOME UNIT, 2 - BLADE 1/1/2018 $975.80 A y
C-2284-3L DOME UNIT, 2 - BLADE 1/1/2018 $1,014.75 A y
C-2284-3LP DOME UNIT, 2 - BLADE 1/1/2018 $1,279.20 A y
C-2284-3P DOME UNIT, 2 - BLADE 1/1/2018 $1,279.20 A y
C-2284-4pP DOME UNIT, 2 - BLADE 1/1/2018 $1,689.20 A Y
C-2284-6 DOME UNIT, 2 - BLADE 1/1/2018 $949.15 A y
C-2284-6P DOME UNIT, 2 - BLADE 1/1/2018 $1,295.60 A y
C-2294-12 BULKHEAD UNIT, "CNC" MACHINED 1/1/2018 $964.53 A y
C-2294-12P BULKHEAD UNIT, "CNC" MACHINED 1/1/2018 $962.48 A y
C-2294-14P BULKHEAD UNIT, "CNC" MACHINED 1/1/2018 $1,227.95 A y
C-2294-18 BULKHEAD UNIT, "CNC" MACHINED 1/1/2018 $1,003.48 A y
C-2294-19P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $961.45 A y
C-2294-20P BULKHEAD UNIT, "CNC" MACHINED 1/1/2018 $1,009.63 A y
C-2294-22P BULKHEAD UNIT, "CNC" MACHINED 1/1/2018 $1,009.63 A y
C-2294-5 BULKHEAD UNIT 1/1/2018 $1,008.60 A y
C-2294-5P BULKHEAD UNIT 1/1/2018 $1,011.68 A Y
C-2299-4 BULKHEAD UNIT 1/1/2018 $1,253.58 A Y
C-2299-4P BULKHEAD UNIT 1/1/2018 $1,103.93 A Y
C-2303-3 PISTON UNIT 1/1/2018 $2,322.00 A

C-2303-5 PISTON UNIT 1/1/2018 $2,243.73 A

C-2303-5L PISTON UNIT 1/1/2018 $2,441.55 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 62



Hartzell Propeller Inc.

2018 Price List

C-2303-6L PISTON UNIT 1/1/2018 $3,769.00 A

C-2371-1 SLINGER RING UNIT 1/1/2018 $1,983.38 A

C-2371-2 SLINGER RING UNIT 1/1/2018 $2,216.05 A

C-2385 SLINGER RING UNIT 1/1/2018 $1,505.73 A

C-239-16 LEAD WIRE, WHITE, 16AWG 1/1/2018 $1.23 A

C-2434-1 ADAPTER RING UNIT 1/1/2018 $590.40 A Y

C-2434-1P ADAPTER RING UNIT 1/1/2018 $651.90 A Y

C-2445-1 DOME UNIT, 2 - BLADE 1/1/2018 $934.80 A Y

C-2445-1P DOME UNIT, 2 - BLADE 1/1/2018 $1,332.50 A Y

C-2458-2 SLINGER RING UNIT 1/1/2018 $1,589.78 A

C-2469-2 BULKHEAD UNIT 1/1/2018 $1,466.78 A Y

C-2469-2P BULKHEAD UNIT 1/1/2018 $1,427.83 A Y

C-2469-3 BULKHEAD UNIT 1/1/2018 $1,363.25 A Y

C-2469-3P BULKHEAD UNIT 1/1/2018 $1,427.83 A Y

C-2472-3 BULKHEAD UNIT 1/1/2018 $837.43 A Y

C-2472-5 BULKHEAD UNIT 1/1/2018 $1,253.58 A Y

C-2472-6 BULKHEAD UNIT 1/1/2018 $1,253.58 A Y

C-2472-6P BULKHEAD UNIT 1/1/2018 $1,253.58 A Y

C-2495-1 DOME UNIT, 2 - BLADE 1/1/2018 $905.08 A Y

C-2495-1P DOME UNIT, 2 - BLADE 1/1/2018 $1,186.95 A Y

C-2509 BULKHEAD ASSEMBLY 1/1/2018 $3,796.60 A Y

C-2512 ADAPTER ASSEMBLY 1/1/2018 $1,230.00 A Y

C-2512-2pP ADAPTER ASSEMBLY 1/1/2018 $668.30 A Y

C-2512-4 ADAPTER ASSEMBLY 1/1/2018 $1,546.73 A Y

C-2531-1P DOME, 3 - BLADE 1/1/2018 $1,144.93 A Y

C-2531-5 DOME, 3 - BLADE 1/1/2018 $1,355.05 A Y

C-2531-5P DOME, 3 - BLADE 1/1/2018 $1,562.10 A Y

C-2531-7pP DOME, 4 - BLADE 1/1/2018 $1,222.83 A Y

C-2531-9 DOME, 3 - BLADE 1/1/2018 $692.90 A Y

C-2531-9P DOME, 3 - BLADE 1/1/2018 $1,158.25 A Y

C-2625 PLATE, MOUNTING, SPINNER 1/1/2018 $904.00 A

C-2666 RING, BETA 1/1/2018 $1,086.00 A

C-2668 RING, SUPPORT, ROD, BETA 1/1/2018 $94.00 A

C-2681 PCP:COUNTERWEIGHT 1/1/2018 $577.00 A

C-2681-1 COUNTERWEIGHT 1/1/2018 $589.00 A

C-2689 RING, BETA 1/1/2018 $1,049.00 A

C-2838 GASKET, END COVER 1/1/2018 $5.90 A Y

C-2855 SPRING RETAINER CUP 1/1/2018 $632.43 A

C-2858 SPRING RETAINER CUP 1/1/2018 $605.78 A

C-2864 PISTON UNIT 1/1/2018 $1,011.68 A

C-2864-1 PISTON UNIT 1/1/2018 $1,000.40 A

C-2865 LAYOUT,COMPONENT,CIRCUT BOARD 1/1/2018 $714.00 A Y

C-2897-2 PCU BETA VALVE ASSEMBLY 1/1/2018 $11,900.00 A Y

C-3003-1 PLATE, MOUNTING, SPINNER 1/1/2018 $757.00 A

C-3004 DOME, 3 - BLADE 1/1/2018 $753.38 A Y

C-3004-1 DOME, 4 - BLADE 1/1/2018 $702.13 A Y

C-3004-1P DOME, 4 - BLADE 1/1/2018 $1,163.38 A Y

C-3004-2 DOME, 3 - BLADE 1/1/2018 $676.50 A Y

C-3004-2P DOME, 3 - BLADE 1/1/2018 $1,222.83 A Y

C-3004-P DOME, 3 - BLADE 1/1/2018 $1,135.70 A Y

C-3021-1 PISTON UNIT 1/1/2018 $1,833.73 A

C-3021-4 PISTON UNIT 1/1/2018 $2,900.75 A

C-3021-4L PISTON UNIT 1/1/2018 $2,061.28 A

C-3021-5 PISTON UNIT 1/1/2018 $2,110.48 A

C-3030-1 BULKHEAD UNIT 1/1/2018 $1,231.03 A Y

C-3030-4 BULKHEAD UNIT 1/1/2018 $1,350.95 A Y

C-3064 BULKHEAD UNIT 1/1/2018 $1,277.15 A Y

C-3064-1 BULKHEAD UNIT 1/1/2018 $1,220.78 A Y

C-3064-10P BULKHEAD UNIT 1/1/2018 $996.30 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 63



2018 Price List

Hartzell Propeller Inc.

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

C-3064-11 BULKHEAD UNIT 1/1/2018 $1,164.40 A Y
C-3064-11P BULKHEAD UNIT 1/1/2018 $1,190.03 A Y
C-3064-1P BULKHEAD UNIT 1/1/2018 $1,236.15 A Y
C-3064-4 BULKHEAD UNIT 1/1/2018 $1,194.13 A Y
C-3064-9 BULKHEAD UNIT 1/1/2018 $1,542.63 A Y
C-3064-P BULKHEAD UNIT 1/1/2018 $1,292.53 A Y
C-3160-10 GOVERNOR BODY, DOUBLE CAPACITY 1/1/2018 $959.00 A
C-3160-2 GOVERNOR BODY, DOUBLE CAPACITY 1/1/2018 $985.00 A
C-3160-4 GOVERNOR BODY, DOUBLE CAPACITY 1/1/2018 $769.00 A
C-3161-2 GOVERNOR BASE UNIT, DBL CAP. 1/1/2018 $1,224.88 A
C-3162 GOVERNOR HEAD UNIT 1/1/2018 $872.28 A
C-3162-9 GOVERNOR HEAD UNIT 1/1/2018 $1,328.00 A
C-3174 GOVERNOR HEAD 1/1/2018 $898.00 A
C-3174-1 GOVERNOR HEAD 1/1/2018 $787.20 A
C-3174-5 GOVERNOR HEAD 1/1/2018 $1,160.00 A
C-3259-1 ADAPTER RING UNIT 1/1/2018 $362.85 A Y
C-3259-1pP ADAPTER RING UNIT 1/1/2018 $385.40 A Y
C-3274 DOME UNIT, 3 - BLADE 1/1/2018 $1,023.98 A Y
C-3274-1P DOME UNIT, 3 - BLADE 1/1/2018 $1,468.83 A Y
C-3274-P DOME UNIT, 3 - BLADE 1/1/2018 $1,454.48 A Y
C-3275 CAP, DOME 1/1/2018 $318.78 A Y
C-3275-P CAP, DOME 1/1/2018 $405.90 A Y
C-3278 DOME UNIT, 3 - BLADE 1/1/2018 $1,134.68 A Y
C-3278-P DOME UNIT, 3 - BLADE 1/1/2018 $1,572.35 A Y
C-3282-2 DOME, "CNC MACHINED",2 - BLADE 1/1/2018 $742.10 A Y
C-3282-2P DOME, "CNC MACHINED",2 - BLADE 1/1/2018 $1,113.00 A Y
C-3282-6 DOME, "CNC MACHINED",2 - BLADE 1/1/2018 $742.10 A Y
C-3282-6P DOME, "CNC MACHINED",2 - BLADE 1/1/2018 $1,140.83 A Y
C-3283-5 BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $2,061.28 A Y
C-3283-5P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $2,074.60 A Y
C-329-1 PCP:COUNTERWEIGHT 1/1/2018 $488.93 A
C-3317-006 O - RING 1/1/2018 $3.25 A
C-3317-007-2 O - RING 1/1/2018 $2.72 A
C-3317-008-12 O - RING 1/1/2018 $2.65 A
C-3317-008-2 O - RING 1/1/2018 $3.30 A
C-3317-010-12 O - RING 1/1/2018 $2.80 A
C-3317-010-2 O - RING 1/1/2018 $2.26 A
C-3317-011 O - RING 1/1/2018 $2.15 A
C-3317-011-2 O - RING 1/1/2018 $2.10 A
C-3317-012 O - RING 1/1/2018 $2.40 A
C-3317-012-1 O - RING 1/1/2018 $3.55 A
C-3317-012-2 O - RING 1/1/2018 $2.26 A
C-3317-013 O - RING 1/1/2018 $1.64 A
C-3317-013-2 O - RING 1/1/2018 $2.26 A
C-3317-014 O - RING 1/1/2018 $2.00 A
C-3317-014-11 O - RING 1/1/2018 $5.25 A
C-3317-014-2 O - RING 1/1/2018 $2.26 A
C-3317-015 O - RING 1/1/2018 $9.00 A
C-3317-016 O - RING 1/1/2018 $5.95 A
C-3317-016-2 O - RING 1/1/2018 $2.26 A
C-3317-017-2 O - RING 1/1/2018 $2.20 A
C-3317-018 O - RING 1/1/2018 $2.05 A
C-3317-018-1 O - RING 1/1/2018 $3.54 A
C-3317-018-2 O - RING 1/1/2018 $2.56 A
C-3317-020 O - RING 1/1/2018 $2.00 A
C-3317-020-2 O - RING 1/1/2018 $2.56 A
C-3317-021-1 O - RING 1/1/2018 $2.46 A
C-3317-022-2 O - RING 1/1/2018 $3.28 A
C-3317-023-2 O - RING 1/1/2018 $2.97 A
Original

Effectivity Date 1/2/2018

Page 64



Hartzell Propeller Inc.
2018 Price List

C-3317-024 O - RING 1/1/2018 $2.26 A
C-3317-026-2 O - RING 1/1/2018 $3.00 A
C-3317-028 O - RING 1/1/2018 $3.65 A
C-3317-028-2 O - RING 1/1/2018 $3.20 A Y
C-3317-034 O - RING 1/1/2018 $2.80 A
C-3317-035 O - RING 1/1/2018 $2.87 A
C-3317-045 O - RING 1/1/2018 $6.55 A
C-3317-046-2 O - RING 1/1/2018 $12.10 A Y
C-3317-050 O - RING 1/1/2018 $8.75 A
C-3317-110-2 O - RING 1/1/2018 $2.40 A Y
C-3317-111 O - RING 1/1/2018 $2.60 A
C-3317-112 O - RING 1/1/2018 $3.35 A
C-3317-112-1 O - RING 1/1/2018 $8.90 A
C-3317-112-10 O - RING 1/1/2018 $5.38 A
C-3317-112-7 O -RING 1/1/2018 $2.87 A
C-3317-113 O - RING 1/1/2018 $3.35 A
C-3317-113-12 O - RING 1/1/2018 $5.15 A
C-3317-114 O - RING 1/1/2018 $2.36 A
C-3317-114-2 O -RING 1/1/2018 $2.50 A Y
C-3317-115-1 O - RING 1/1/2018 $2.56 A
C-3317-115-2 O - RING 1/1/2018 $4.25 A
C-3317-116 O - RING 1/1/2018 $2.80 A
C-3317-117 O - RING 1/1/2018 $1.85 A
C-3317-118-2 O - RING 1/1/2018 $2.80 A Y
C-3317-121 O - RING 1/1/2018 $2.05 A
C-3317-121-2 O -RING 1/1/2018 $2.97 A Y
C-3317-124-2 O -RING 1/1/2018 $2.87 A Y
C-3317-125-2 O - RING 1/1/2018 $3.20 A Y
C-3317-127 O - RING 1/1/2018 $3.50 A
C-3317-127-2 O - RING 1/1/2018 $3.50 A Y
C-3317-129 O - RING 1/1/2018 $8.50 A
C-3317-129-2 O - RING 1/1/2018 $5.95 A
C-3317-133 O - RING 1/1/2018 $3.08 A
C-3317-134-2 O - RING 1/1/2018 $4.00 A Y
C-3317-135-2 O - RING 1/1/2018 $4.20 A
C-3317-140-2 O - RING 1/1/2018 $4.55 A Y
C-3317-141 O - RING 1/1/2018 $3.70 A
C-3317-143-2 O - RING 1/1/2018 $5.18 A Y
C-3317-144-2 O -RING 1/1/2018 $4.95 A Y
C-3317-145 O - RING 1/1/2018 $4.10 A
C-3317-149-2 O - RING 1/1/2018 $5.54 A Y
C-3317-152 O - RING 1/1/2018 $3.59 A
C-3317-160 O - RING 1/1/2018 $6.30 A
C-3317-168 O - RING 1/1/2018 $12.81 A
C-3317-206 O - RING 1/1/2018 $3.05 A
C-3317-207-1 O - RING 1/1/2018 $3.50 A
C-3317-210-1 O - RING 1/1/2018 $2.15 A
C-3317-210-2 O - RING 1/1/2018 $2.56 A
C-3317-211-2 O -RING 1/1/2018 $3.10 A
C-3317-212 O - RING 1/1/2018 $2.46 A
C-3317-212-2 O -RING 1/1/2018 $2.46 A
C-3317-213-2 O - RING 1/1/2018 $3.38 A
C-3317-215 O - RING 1/1/2018 $2.85 A
C-3317-215-2 O - RING 1/1/2018 $5.35 A
C-3317-216 O - RING 1/1/2018 $3.85 A
C-3317-217 O - RING 1/1/2018 $3.70 A
C-3317-217-2 O -RING 1/1/2018 $3.28 A
C-3317-218-2 O - RING 1/1/2018 $3.20 A
C-3317-221-2 O - RING 1/1/2018 $5.55 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 65



Hartzell Propeller Inc.
2018 Price List

C-3317-223-2 O - RING 1/1/2018 $4.85 A Y
C-3317-225-1 O - RING 1/1/2018 $5.64 A
C-3317-226 O - RING 1/1/2018 $2.80 A
C-3317-228 O - RING 1/1/2018 $2.65 A Y
C-3317-228-1 O - RING 1/1/2018 $6.75 A
C-3317-229 O - RING 1/1/2018 $2.97 A
C-3317-230 O - RING 1/1/2018 $2.97 A Y
C-3317-230-2 O - RING 1/1/2018 $5.43 A
C-3317-231 O - RING 1/1/2018 $3.90 A
C-3317-232 O - RING 1/1/2018 $3.38 A
C-3317-233 O - RING 1/1/2018 $5.50 A
C-3317-233-4 O - RING 1/1/2018 $5.80 A Y
C-3317-234 O - RING 1/1/2018 $2.80 A
C-3317-235 O - RING 1/1/2018 $3.50 A
C-3317-237 O - RING 1/1/2018 $3.80 A
C-3317-239-2 O - RING 1/1/2018 $7.90 A Y
C-3317-240 O - RING 1/1/2018 $4.46 A
C-3317-243 O - RING 1/1/2018 $6.05 A
C-3317-243-2 O - RING 1/1/2018 $11.80 A
C-3317-245 O - RING 1/1/2018 $8.70 A
C-3317-247 O - RING 1/1/2018 $3.90 A
C-3317-247-1 O - RING 1/1/2018 $17.70 A
C-3317-248 O - RING 1/1/2018 $8.20 A
C-3317-248-2 O - RING 1/1/2018 $10.92 A Y
C-3317-250-2 O - RING 1/1/2018 $11.12 A Y
C-3317-251 O - RING 1/1/2018 $5.64 A
C-3317-251-1 O - RING 1/1/2018 $14.85 A
C-3317-252-2 O - RING 1/1/2018 $13.50 A Y
C-3317-255 O - RING 1/1/2018 $6.05 A
C-3317-256-2 O - RING 1/1/2018 $19.60 A
C-3317-257-5 O - RING 1/1/2018 $20.95 A
C-3317-322 O - RING 1/1/2018 $2.90 A
C-3317-328 O - RING 1/1/2018 $5.15 A
C-3317-329 O - RING 1/1/2018 $2.97 A Y
C-3317-330 O - RING 1/1/2018 $5.65 A
C-3317-334-1 O - RING 1/1/2018 $7.07 A
C-3317-339-3 O - RING 1/1/2018 $6.95 A
C-3317-340 O - RING 1/1/2018 $6.30 A
C-3317-340-8 O - RING 1/1/2018 $25.45 A
C-3317-340-9 O - RING 1/1/2018 $30.20 A
C-3317-341 O - RING 1/1/2018 $7.35 A
C-3317-341-8 O - RING 1/1/2018 $26.09 A
C-3317-342 O - RING 1/1/2018 $6.75 A
C-3317-343-1 O - RING 1/1/2018 $15.35 A
C-3317-343-2 O - RING 1/1/2018 $7.23 A
C-3317-347-1 O - RING 1/1/2018 $18.20 A
C-3317-347-2 O - RING 1/1/2018 $7.74 A
C-3317-348-1 O - RING 1/1/2018 $9.90 A
C-3317-354 O - RING 1/1/2018 $10.75 A
C-3317-425-2 O - RING 1/1/2018 $13.80 A
C-3317-426-1 O - RING 1/1/2018 $12.35 A
C-3317-426-2 O - RING 1/1/2018 $7.64 A
C-3317-427-1 O - RING 1/1/2018 $12.70 A
C-3317-427-2 O -RING 1/1/2018 $12.30 A
C-3317-428-2 O - RING 1/1/2018 $17.40 A Y
C-3317-429-2 O - RING 1/1/2018 $9.48 A
C-3317-431-1 O - RING 1/1/2018 $18.05 A
C-3317-445 O - RING 1/1/2018 $17.95 A
C-3317-A1275 O - RING 1/1/2018 $18.50 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 66



Hartzell Propeller Inc.

2018 Price List

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

C-3317-B6061-2 O - RING 1/1/2018 $3.00 A

C-3392 FORK, FIVE BLADE, LH 1/1/2018 $4,664.00 A

C-3393 PLATE, FORK, FIVE BLADE, LH 1/1/2018 $1,436.03 A

C-3404-3 PLATE, MOUNTING, SPINNER 1/1/2018 $765.00 A

C-3409 BULKHEAD UNIT 1/1/2018 $1,051.65 A Y
C-3414-1 BULKHEAD UNIT 1/1/2018 $1,028.08 A Y
C-3414-3 BULKHEAD UNIT 1/1/2018 $1,095.73 A Y
C-3414-3P BULKHEAD UNIT 1/1/2018 $1,284.33 A Y
C-3436 DOME, 3 - BLADE 1/1/2018 $864.08 A Y
C-3436-1 DOME, 4 - BLADE 1/1/2018 $837.43 A Y
C-3436-1P DOME, 4 - BLADE 1/1/2018 $1,276.13 A Y
C-3436-2P DOME, 5 - BLADE 1/1/2018 $1,635.90 A Y
C-3436-P DOME, 3 - BLADE 1/1/2018 $1,263.83 A Y
C-3492 PLATE, MOUNTING, SPINNER 1/1/2018 $1,956.73 A

C-3532-1 DOME UNIT, 3 - BLADE 1/1/2018 $976.83 A Y
C-3532-12 DOME UNIT, 2 - BLADE 1/1/2018 $927.63 A Y
C-3532-12P DOME UNIT, 2 - BLADE 1/1/2018 $1,285.35 A Y
C-3532-13 DOME UNIT, 2 - BLADE 1/1/2018 $992.20 A Y
C-3532-13P DOME UNIT, 2 - BLADE 1/1/2018 $1,450.38 A Y
C-3532-14P DOME UNIT, 3 - BLADE 1/1/2018 $1,336.60 A Y
C-3532-15P DOME UNIT, 3 - BLADE 1/1/2018 $1,299.70 A Y
C-3532-16 DOME UNIT, 3 - BLADE 1/1/2018 $960.43 A Y
C-3532-16P DOME UNIT, 3 - BLADE 1/1/2018 $1,276.13 A Y
C-3532-17 DOME UNIT, 2 - BLADE 1/1/2018 $1,466.78 A Y
C-3532-17P DOME UNIT, 2 - BLADE 1/1/2018 $1,986.45 A Y
C-3532-19 DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,034.23 A Y
C-3532-19P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,417.58 A Y
C-3532-1P DOME UNIT, 3 - BLADE 1/1/2018 $1,338.65 A Y
C-3532-21P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,458.58 A Y
C-3532-22P DOME UNIT, 2 - BLADE 1/1/2018 $1,506.75 A Y
C-3532-23P DOME UNIT, 3 - BLADE 1/1/2018 $1,354.03 A Y
C-3532-24P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,278.18 A Y
C-3532-3 DOME UNIT, 3 - BLADE 1/1/2018 $934.80 A Y
C-3532-3P DOME UNIT, 3 - BLADE 1/1/2018 $1,328.40 A Y
C-3532-4 DOME UNIT, 2 - BLADE 1/1/2018 $892.78 A Y
C-3532-4P DOME UNIT, 2 - BLADE 1/1/2018 $1,256.65 A Y
C-3532-5 DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $909.18 A Y
C-3532-5P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,292.53 A Y
C-3532-7 DOME UNIT, 3 - BLADE 1/1/2018 $957.35 A Y
C-3532-7pP DOME UNIT, 3 - BLADE 1/1/2018 $1,303.80 A Y
C-3532-9P DOME UNIT, 2 - BLADE 1/1/2018 $1,349.93 A Y
C-3532-p DOME UNIT, 2 - BLADE 1/1/2018 $1,365.30 A Y
C-3534-2pP BULKHEAD UNIT 1/1/2018 $1,546.73 A Y
C-3534-3P BULKHEAD UNIT 1/1/2018 $1,594.90 A

C-3539-1 BULKHEAD UNIT 1/1/2018 $911.23 A Y
C-3539-1P BULKHEAD UNIT 1/1/2018 $931.73 A Y
C-3566-12P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $979.90 A Y
C-3566-13P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $977.85 A Y
C-3569-1 BULKHEAD UNIT 1/1/2018 $1,303.80 A Y
C-3569-1P BULKHEAD UNIT 1/1/2018 $1,168.50 A Y
C-3576-2P BULKHEAD UNIT 1/1/2018 $1,173.63 A Y
C-3576-3P BULKHEAD UNIT 1/1/2018 $1,173.63 A Y
C-3630-2 PCP:BETA VALVE - ASSEMBLY 1/1/2018 $10,832.20 A

C-3643 PLATE, MOUNTING, SPINNER 1/1/2018 $723.65 A

C-3644 DOME - SPINNING 1/1/2018 $366.95 A

C-3658 PLATE, FORK, FIVE BLADE 1/1/2018 $911.23 A

C-3667 ROD, BETA 1/1/2018 $727.00 A

C-3669 PCP:COUNTERWEIGHT 1/1/2018 $365.93 A

C-3675-1 PLATE, MOUNTING, SPINNER 1/1/2018 $790.28 A

Original

Effectivity Date 1/2/2018

Page 67



Hartzell Propeller Inc.

2018 Price List

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

C-3676 PLATE, MOUNTING, SPINNER 1/1/2018 $1,743.53 A
C-3733 PLATE, MOUNTING, SPINNER 1/1/2018 $1,211.00 A
C-3752 BULKHEAD UNIT 1/1/2018 $1,765.05 A Y
C-3753 DOME, 3 - BLADE 1/1/2018 $626.28 A Y
C-3753-P DOME, 3 - BLADE 1/1/2018 $1,069.00 A Y
C-4011-1 PLATE, MOUNTING, SPINNER 1/1/2018 $991.00 A
C-4013 RING , SUPPORT, ROD, BETA 1/1/2018 $106.00 A
C-4019-1 RING, BETA 1/1/2018 $1,143.00 A
C-4170 IDLER GEAR 1/1/2018 $503.00 A
C-4188 CONTROL LEVER, GOVERNOR 1/1/2018 $992.20 A
C-4191 DRIVE GEAR, DOUBLE CAPACITY 1/1/2018 $1,003.00 A
C-4205 DOME, 2 - BLADE 1/1/2018 $842.55 A Y
C-4205-P DOME, 2 - BLADE 1/1/2018 $1,046.53 A Y
C-4250-1 DOME UNIT, 3 - BLADE 1/1/2018 $798.48 A Y
C-4362-1 COMPUTER 1/1/2018 $2,403.63 A
C-4362-2 COMPUTER 1/1/2018 $2,403.63 A
C-4362-4 COMPUTER 1/1/2018 $3,861.18 A
C-4362-5 COMPUTER 1/1/2018 $3,499.00 A
C-4503 FORK, FOUR BLADE - ASSEMBLY 1/1/2018 $2,791.08 A
C-4503-L FORK,FOUR BLADE, LH - ASSEMBLY 1/1/2018 $2,843.35 A
C-452 RING, BETA 1/1/2018 $956.00 A
C-4523-2P CAP, DOME 1/1/2018 $518.00 A Y
C-4523-5 CAP, DOME 1/1/2018 $318.78 A Y
C-4523-5P CAP, DOME 1/1/2018 $492.00 A Y
C-453 ROD, BETA 1/1/2018 $503.00 A
C-4535 CAP, DOME 1/1/2018 $398.73 A Y
C-4549 ADAPTER RING UNIT, "CNC" 1/1/2018 $541.20 A
C-4549-1P ADAPTER RING UNIT, "CNC" 1/1/2018 $582.20 A Y
C-4549P ADAPTER RING UNIT, "CNC" 1/1/2018 $600.65 A Y
C-4563 CAP, DOME 1/1/2018 $296.23 A Y
C-4563-P CAP, DOME 1/1/2018 $391.55 A Y
C-4583-2 BULKHEAD UNIT 1/1/2018 $1,137.75 A Y
C-4583-2P BULKHEAD UNIT 1/1/2018 $1,284.33 A Y
C-4586-P DOME UNIT, 3 - BLADE 1/1/2018 $1,409.38 A Y
C-4703 VALVE BODY, UNFEATHERING 1/1/2018 $786.00 A
C-4716 GOVERNOR BASE,INTERMEDIATE CAP 1/1/2018 $621.00 A
C-4719 IDLER GEAR 1/1/2018 $246.00 A
C-472-1 PCP:COUNTERWEIGHT 1/1/2018 $702.00 A
C-472-10 PCP:COUNTERWEIGHT 1/1/2018 $737.00 A
C-472-12 PCP:COUNTERWEIGHT 1/1/2018 $721.00 A
C-472-16 PCP:COUNTERWEIGHT 1/1/2018 $506.35 A
C-472-2 PCP:COUNTERWEIGHT 1/1/2018 $721.00 A
C-472-3 PCP:COUNTERWEIGHT 1/1/2018 $721.00 A
C-472-4 PCP:COUNTERWEIGHT 1/1/2018 $721.00 A
C-472-9 PCP:COUNTERWEIGHT 1/1/2018 $753.38 A
C-4901 RING, STOP 1/1/2018 $296.00 A
C-4902 SHIM, STOP, PITCH 1/1/2018 $73.80 A
C-4910-5 TUBE UNIT, HIGH PRESSURE 1/1/2018 $7,619.85 A
C-4919 ROD, CONTROL 1/1/2018 $837.43 A
C-492 PISTON 1/1/2018 $803.60 A
C-492-1 PISTON 1/1/2018 $552.48 A
C-497 PISTON UNIT 1/1/2018 $1,391.95 A
C-5184 AUXILIARY PUMP 1/1/2018 $98,906.35 A
C-5292 FORWARD BULKHEAD 1/1/2018 $349.53 A Y
C-5324 FORWARD BULKHEAD 1/1/2018 $316.73 A Y
C-5522 FILLER PLATE 1/1/2018 $14.00 A Y
C-5562 FORWARD BULKHEAD 1/1/2018 $391.55 A Y
C-5565 FILLER PLATE 1/1/2018 $29.62 A
C-5588 FILLER PLATE 1/1/2018 $24.60 A Y
Original

Effectivity Date 1/2/2018

Page 68



Hartzell Propeller Inc.
2018 Price List

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

C-5596 FORWARD BULKHEAD 1/1/2018 $1,954.68 A Y
C-5647 CLUTCH FACE ( FOR DO 328) 1/1/2018 $7,803.33 A Y

C-5679-2 CAP, PITCH LOCK HOUSING 1/1/2018 $935.83 A Y

C-5718 FORWARD BULKHEAD 1/1/2018 $404.88 A Y
C-5736 FILLER PLATE 1/1/2018 $22.10 A Y
C-5736-1 FILLER PLATE 1/1/2018 $15.55 A Y
C-5754-P CAP, DOME 1/1/2018 $435.63 A Y
C-5802 VALVE SPOOL-SLEEVE SET 1/1/2018 $10,468.33 A Y

C-5816 SPRING RETAINER CUP 1/1/2018 $558.63 A

C-5976 PCP:SPRING RETAINER CUP 1/1/2018 $544.28 A

C-5982 BEARING, THRUST - UNIT 1/1/2018 $588.35 A Y

C-5993 SLEEVE, FLIGHT IDLE ADJUST 1/1/2018 $1,107.00 A Y

C-6000-2 AUX-ILIARY PUMP - INSTALL. KIT 1/1/2018 $4,171.75 A Y

C-6002-1 INSTALLATION KIT 1/1/2018 $26.95 A Y

C-6003 FEATHER VALVE ASSEMBLY 1/1/2018 $18,158.90 A Y

C-6003-1 FEATHER VALVE INST KIT 1/1/2018 $98.40 A Y

C-6006 NUT,MOUNTING,9/16-18,12 POINT 1/1/2018 $95.00 A

C-6059 VALVE ASSEMBLY 1/1/2018 $3,942.00 A

C-6066-1 PRELOAD PLATE 1/1/2018 $414.00 A Y

C-6072 BRACKET, START LOCK 1/1/2018 $2,637.00 A

C-6073-1 PLATE, START LOCK 1/1/2018 $321.85 A

C-6079-3 HIGH PRESSURE TUBE ASSY 1/1/2018 $4,730.00 A Y

C-6081 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $838.00 A

C-6222 BRACKET, DE-ICE LEAD 1/1/2018 $190.65 A Y Y
C-6252 BEARING,NEEDLE,OVERSIZED 1/1/2018 $71.00 A

C-6308 COUPLING, BEARING 1/1/2018 $2,544.05 A Y

C-6310 RING, SUPPORT, ROD, BETA 1/1/2018 $326.00 A

C-6337 SEAL, BLADE 1/1/2018 $17.00 A

C-6337-1 SEAL, BLADE 1/1/2018 $13.65 A

C-6349 FITTING, LUBRICATION, 45° 1/1/2018 $3.15 A

C-635 FORK, FOUR BLADE - ASSEMBLY 1/1/2018 $1,735.33 A

C-6474 BOLT,3/8-24,12 POINT,INCONEL 1/1/2018 $60.48 A

C-6475 PLATE, BETA PICK UP 1/1/2018 $199.88 A

C-6510 CYLINDER 1/1/2018 $958.38 A

C-6512 ROD, PITCH CHANGE 1/1/2018 $786.00 A

C-6551 PCP:SLUG, COUNTERWEIGHT 1/1/2018 $889.70 A

C-6551-1 SLUG, COUNTERWEIGHT 1/1/2018 $606.80 A

C-6568 FORK, FOUR BLADE - ASSEMBLY 1/1/2018 $1,878.83 A

C-673 RING, BETA 1/1/2018 $1,021.00 A

C-6760 PCP:SPRING, COMP, FEATHERING 1/1/2018 $323.00 A

C-691 YOKE, BETA 1/1/2018 $581.00 A

C-6932 BRACKET, SPINNER MOUNTING 1/1/2018 $186.55 A

C-6959-1L PLATE, MOUNTING, SPINNER 1/1/2018 $4,353.18 A

C-7080 PILOT TUBE 1/1/2018 $682.65 A

C-7080-10 PILOT TUBE 1/1/2018 $536.08 A

C-7080-12 PILOT TUBE 1/1/2018 $920.45 A

C-7080-14 PILOT TUBE 1/1/2018 $920.45 A

C-7080-16 PILOT TUBE 1/1/2018 $920.45 A

C-7080-2 PILOT TUBE 1/1/2018 $488.93 A

C-7080-4 PILOT TUBE 1/1/2018 $488.93 A

C-7080-6 PILOT TUBE 1/1/2018 $716.48 A

C-7080-8 PILOT TUBE 1/1/2018 $716.48 A

C-7242 PRELOAD PLATE ASSEMBLY 1/1/2018 $288.03 A

C-7249 SLUG, COUNTERWEIGHT 1/1/2018 $373.00 A

C-7416 PLATE, FORK, FIVE BLADE 1/1/2018 $1,715.85 A

C-7420 PCP:PLATE, STOP, PITCH 1/1/2018 $786.00 A

C-7420-1 PCP:PLATE, STOP, PITCH 1/1/2018 $673.00 A

C-7438 BEARING,RETENTION,BLADE 1/1/2018 $1,120.33 A

C-7438-A RACE,HUB SIDE 1/1/2018 $554.53 A

Original

Effectivity Date 1/2/2018

Page 69



2018 Price List

Hartzell Propeller Inc.

C-7438-B RACE,BLADE SIDE 1/1/2018 $555.55 A

C-7446-1 SCREEN, EROSION 1/1/2018 $143.50 A

C-7446-2 SCREEN, EROSION 1/1/2018 $143.50 A

C-7476 BALL SPACER 1/1/2018 $27.65 A Y

C-7544 WASHER, ANTI-ROTATION 1/1/2018 $88.00 A

C-7616 PISTON 1/1/2018 $569.90 A

C-7620 SPACER, MOUNTING 1/1/2018 $963.50 A

C-7645 BUSHING, KNOB, PITCH CHANGE 1/1/2018 $3.30 A

C-7645-1 BUSHING, KNOB, PITCH CHANGE 1/1/2018 $3.30 A

C-77 CYLINDER 1/1/2018 $1,835.78 A

C-792 BEARING,RETENTION,BLADE 1/1/2018 $819.00 A

C-792-1 BEARING,RETENTION,BLADE 1/1/2018 $1,024.00 A

C-792-1A RACE,HUB SIDE 1/1/2018 $526.00 A

C-792-1B RACE,BLADE SIDE 1/1/2018 $504.00 A

C-792-A RACE,HUB SIDE 1/1/2018 $418.00 A

C-792-B RACE,BLADE SIDE 1/1/2018 $406.00 A

C-807-7S BULKHEAD UNIT/ ASSEMBLY 1/1/2018 $3,205.18 A Y

C-852-6 PISTON UNIT 1/1/2018 $1,437.05 A

C-885-3 ADAPTER RING UNIT, "CNC" 1/1/2018 $589.38 A Y

C-885-4 ADAPTER RING UNIT 1/1/2018 $551.45 A Y

CST-10050 MV SHANK COMPARATOR OVERLAY 1/1/2018 $595.53 A

CST-2901 PROPELLER ASSEMBLY TABLE 1/1/2018 $11,531.25 A

CST-2901-1 SHORT PROPELLER ASSEMBLY TABLE 1/1/2018 $8,492.13 A

CST-2913 PILOT TUBE PRESS FIXTURE 1/1/2018 $5,927.58 A

CST-2914 SPRING COMPRESSOR ASSEMBLY 1/1/2018 $6,428.80 A

CST-2923 D & Y COMPARATOR OVERLAY 1/1/2018 $670.35 A

CST-2924 X,V,V /N MOD,SHANK OVERLAY 1/1/2018 $695.98 A

CST-2925 Z,W,T, & S COMPARATOR OVERLAY 1/1/2018 $688.80 A

CST-2926 M,R & P COMPARATOR OVERLAY 1/1/2018 $687.78 A

CST-2969 BLADE ANGLE LOCATION FIXTURE 1/1/2018 $4,546.90 A

CST-2987 BETA RING PULLER 1/1/2018 $3,141.63 A

CST-2987+13 ADAPTOR NUT 1/1/2018 $83.03 A

CST-2987+7 THREADED SHAFT 1/1/2018 $117.88 A

CST-2987+8 FINGER ADAPTOR 1/1/2018 $234.73 A

CST-2987+9 FINGER ADAPTOR 1/1/2018 $234.73 A

CST-2989 E SHANK COMPARATOR OVERLAY 1/1/2018 $712.38 A

CST-3000 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $5,151.00 A

CST-3000-1 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $6,160.00 A

CST-3000-10A EROSION SHIELD REPLACE SAMPLE 1/1/2018 $2,789.00 A

CST-3000-11 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $3,674.63 A

CST-3000-11A EROSION SHIELD REPLACE SAMPLE 1/1/2018 $1,703.00 A

CST-3000-12 EROSION SHIELD REPLACEMENT KIT 1/1/2018 $3,445.02 A

CST-3000-13 EROSION SHIELD PROGRAM KIT 1/1/2018 $3,994.42 A

CST-3000-14 EROSION SHIELD PROGRAM KIT 1/1/2018 $4,265.02 A

CST-3000-15 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $2,991.00 A

CST-3000-15A EROSION SHIELD REPLACE SAMPLE 1/1/2018 $1,480.00 A

CST-3000-1A EROSION SHIELD REPLACE SAMPLE 1/1/2018 $2,340.00 A

CST-3000-2 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $6,187.00 A

CST-3000-3 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $3,596.73 A

CST-3000-4 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $4,739.60 A

CST-3000-4A EROSION SHIELD REPLACE SAMPLE 1/1/2018 $1,454.48 A

CST-3000-6 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $7,046.88 A

CST-3000-7 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $4,586.00 A

CST-3000-7A EROSION SHIELD REPLACE SAMPLE 1/1/2018 $1,419.00 A

CST-3000-9 EROSION SHIELD REPLACE SAMPLE 1/1/2018 $4,482.00 A

CST-3012 ULTRASONIC CALIBRATION STD. 1/1/2018 $3,785.00 A

CST-3015 CALIBRATION STANDARD 1/1/2018 $2,084.00 A Y

CST-3016 PORTABLE SPRING COMPRESSOR 1/1/2018 $558.63 A

CST-3021 DUAL ACTING BUILDING BUCK 1/1/2018 $56,352.00 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 70



Hartzell Propeller Inc.

2018 Price List

CST-3110 CAP,CYLINDER 1/1/2018 $326.98 A

CST-3169 SLEEVE INSTALLATION TOOL 1/1/2018 $767.35 A

CT-1075 ADJUSTABLE RISER FIXTURE 1/1/2018 $6,409.33 A

D-1066 PCP:HUB UNIT, HC-A6A-3 1/1/2018 $39,563.33 A

D-1199-2 PROPELLER CONTROL UNIT 1/1/2018( $195,721.00 A Y

D-1209-1 PCP:CLAMP, COUNTERWEIGHT 1/1/2018 $4,085.00 A

D-1657 PCP:CYLINDER 1/1/2018 $1,938.00 A

D-1687 DOME, 5 - BLADE 1/1/2018 $1,340.70 A Y

D-1687-2 DOME, 5 - BLADE 1/1/2018 $1,340.70 A Y

D-1687-2P DOME, 5 - BLADE 1/1/2018 $1,805.03 A Y

D-1687-P DOME, 5 - BLADE 1/1/2018 $1,805.03 A Y

D-1870-1RP BULKHEAD ASSEMBLY 1/1/2018 $2,881.28 A Y

D-1870-R BULKHEAD ASSEMBLY 1/1/2018 $4,907.70 A Y

D-1870-RP BULKHEAD ASSEMBLY 1/1/2018 $4,955.88 A Y

D-1871-1R BULKHEAD UNIT/ ASSEMBLY 1/1/2018 $2,173.00 A Y

D-1871-4RP BULKHEAD UNIT/ ASSEMBLY 1/1/2018 $5,607.78 A Y

D-1871-5R BULKHEAD UNIT/ ASSEMBLY 1/1/2018 $2,023.35 A Y

D-2825 FORWARD BULKHEAD 1/1/2018 $466.38 A Y

D-2827 CYLINDER ASSEMBLY 1/1/2018 $4,561.25 A

D-2833 EROSION SHIELD, BLADE, E12902 1/1/2018 $979.90 A

D-3372-4 PCP:HUB UNIT, HC-E5N-3 1/1/2018 $23,913.00 A

D-3398-4 PCP:HUB UNIT, HC-E5N-3L 1/1/2018 $23,913.00 A

D-3437 BULKHEAD UNIT 1/1/2018 $1,464.73 A Y

D-3437-1 BULKHEAD UNIT 1/1/2018 $1,435.00 A

D-3437-1P BULKHEAD UNIT 1/1/2018 $1,469.85 A Y

D-3437-6 BULKHEAD UNIT 1/1/2018 $1,582.60 A Y

D-3437-6P BULKHEAD UNIT 1/1/2018 $1,496.50 A Y

D-3437-7P BULKHEAD UNIT 1/1/2018 $1,560.05 A Y

D-3472 BULKHEAD UNIT 1/1/2018 $2,034.63 A Y

D-3472-P BULKHEAD UNIT 1/1/2018 $2,082.80 A Y

D-3474 BULKHEAD UNIT 1/1/2018 $2,082.80 A Y

D-3474-1 BULKHEAD UNIT 1/1/2018 $2,624.00 A Y

D-3474-P BULKHEAD UNIT 1/1/2018 $2,116.63 A Y

D-3657 PCP:ROD, PITCH CHANGE 1/1/2018 $4,401.35 A

D-3732 PISTON UNIT 1/1/2018 $3,486.00 A

D-389-3 PCP:HUB UNIT HC-E4(N,P)-5 1/1/2018 $8,013.00 A

D-4006-2 PISTON UNIT 1/1/2018 $3,201.08 A

D-4017 BULKHEAD UNIT 1/1/2018 $1,396.05 A Y

D-4163 DRIVE GEAR 1/1/2018 $973.00 A

D-4171 DRIVE GEAR, DOUBLE CAPACITY 1/1/2018 $1,075.23 A

D-4178 DRIVE GEAR 1/1/2018 $1,473.95 A

D-4186 GOVERNOR BASE, DOUBLE CAPACITY 1/1/2018 $980.93 A

D-4186-1 GOVERNOR BASE, DOUBLE CAPACITY 1/1/2018 $831.28 A

D-4197 GOVERNOR BODY 1/1/2018 $1,336.60 A

D-4199 GOVERNOR HEAD 1/1/2018 $1,651.28 A

D-4258 BULKHEAD UNIT 1/1/2018 $2,144.30 A Y

D-4502-1 PCP:HUB UNIT, HC-F4YR-1 1/1/2018 $7,482.00 A

D-4512-1P DOME UNIT, 4 - BLADE 1/1/2018 $2,726.00 A Y

D-4512-2LP DOME UNIT, 4 - BLADE 1/1/2018 $1,644.10 A Y

D-4512-2P DOME UNIT, 4 - BLADE 1/1/2018 $1,644.10 A Y

D-4512-6P DOME UNIT, 4 - BLADE 1/1/2018 $4,656.00 A Y

D-4512-P DOME UNIT, 4 - BLADE 1/1/2018 $1,589.78 A Y

D-4513 BULKHEAD UNIT 1/1/2018 $944.03 A Y

D-4513-P BULKHEAD UNIT 1/1/2018 $1,197.00 A Y

D-4534-1 BULKHEAD UNIT 1/1/2018 $1,507.78 A Y

D-4545 DOME, 4 - BLADE 1/1/2018 $1,314.05 A Y

D-4546-L BULKHEAD UNIT 1/1/2018 $2,093.00 A Y

D-4560-1P DOME UNIT, 3 - BLADE 1/1/2018 $1,426.80 A Y

D-4560-2 DOME UNIT, 3 - BLADE 1/1/2018 $1,040.38 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 71



Hartzell Propeller Inc.

2018 Price List

D-4560-2P DOME UNIT, 3 - BLADE 1/1/2018 $1,394.00 A Y

D-4561-6P BULKHEAD UNIT 1/1/2018 $1,235.13 A Y

D-4561-7 BULKHEAD UNIT 1/1/2018 $1,475.00 A Y

D-4561-7P BULKHEAD UNIT 1/1/2018 $1,502.00 A Y

D-4688 SLINGER RING UNIT 1/1/2018 $2,200.68 A

D-4688-1 SLINGER RING UNIT 1/1/2018 $2,200.68 A

D-4717 GOVERNOR BODY 1/1/2018 $1,244.35 A

D-4717-1 GOVERNOR BODY 1/1/2018 $1,304.83 A

D-4718 DRIVE GEAR, INTERMEDIATE CAP. 1/1/2018 $640.00 A

D-4727 GOVERNOR BODY 1/1/2018 $1,150.05 A

D-4769 GOVERNOR HEAD 1/1/2018 $1,066.00 A

D-4786 EROSION SHIELD, BLADE, 8190 1/1/2018 $724.68 A

D-4797-1P DOME UNIT, 3 - BLADE 1/1/2018 $1,615.40 A Y

D-4797P DOME UNIT, 2 - BLADE 1/1/2018 $1,588.75 A Y

D-4812-1 BULKHEAD UNIT 1/1/2018 $1,198.23 A Y

D-4812-1P BULKHEAD UNIT 1/1/2018 $1,096.75 A Y

D-4817-P DOME UNIT, 3 - BLADE 1/1/2018 $1,406.30 A Y

D-4824-L DOME UNIT, 2 - BLADE 1/1/2018 $827.18 A Y

D-4824-LP DOME UNIT, 2 - BLADE 1/1/2018 $1,312.00 A Y

D-4827-LP DOME UNIT, 2 - BLADE 1/1/2018 $2,195.55 A Y

D-4827-P DOME UNIT, 2 - BLADE 1/1/2018 $2,195.55 A Y

D-484 CYLINDER 1/1/2018 $2,690.00 A

D-4847-P DOME, 4 - BLADE 1/1/2018 $2,106.38 A Y

D-4848-P BULKHEAD UNIT 1/1/2018 $2,736.75 A Y

D-488 PCP:CYLINDER 1/1/2018 $1,910.00 A

D-489-3 PCP:HUB UNIT, HC-D4(N,P)-(2,5) 1/1/2018 $8,602.56 A

D-4898-P DOME, 3 - BLADE 1/1/2018 $1,271.00 A Y

D-4899 BULKHEAD UNIT 1/1/2018 $1,799.90 A Y

D-4899-P BULKHEAD UNIT 1/1/2018 $1,812.20 A Y

D-4904 PCP: CYLINDER UNIT 1/1/2018 $2,000.80 A

D-4905 PCP: ROD, PITCH CHANGE 1/1/2018 $18,123.03 A

D-4930-7 TRANSFER TUBE 1/1/2018 $5,216.23 A Y

D-494-1 PCP:ROD, PITCH CHANGE 1/1/2018 $4,026.20 A

D-495-1 FORK, FOUR BLADE 1/1/2018 $1,653.33 A

D-495-2 FORK, FOUR BLADE 1/1/2018 $1,713.80 A

D-499-3 PCP:HUB UNIT, HC-D4(N,P)-3 1/1/2018 $8,786.00 A

D-5003 EROSION SHIELD, BLADE, M10877 1/1/2018 $950.00 A

D-5013 EROSION SHIELD, BLADE, M10083 1/1/2018 $1,375.00 A

D-5019 EROSION SHIELD, BLADE, LM10585 1/1/2018 $1,232.00 A

D-5059 EROSION SHIELD, BLADE, A10460E 1/1/2018 $1,016.80 A

D-5072 EROSION SHIELD, BLADE, E11990 1/1/2018 $1,601.05 A

D-5108-6 PCP:HUB UNIT, HD-E6C-3 1/1/2018 $25,725.28 A Y

D-5109 PLATE, COVER - UNIT 1/1/2018 $2,381.08 A Y

D-5110-5 FORK, SIX BLADE 1/1/2018 $5,842.00 A Y

D-5112 CYLINDER UNIT 1/1/2018 $4,315.25 A Y

D-5114-3 TRANSFER TUBE - ASSEMBLY 1/1/2018 $6,025.98 A Y

D-5126-3 PCP:HUB UNIT, HC-E4N-3 1/1/2018 $8,569.00 A

D-5126-5 PCP:HUB UNIT, HC-E4N-3A 1/1/2018 $7,668.35 A

D-5133 EROSION SHIELD, BLADE, E10950 1/1/2018 $997.00 A

D-5206-P DOME UNIT, 3 - BLADE 1/1/2018 $1,533.40 A Y

D-5210 DOME, "CNC MACHINED",4 - BLADE 1/1/2018 $827.18 A Y

D-5210-1P DOME, 4 - BLADE 1/1/2018 $1,354.03 A Y

D-5210-3P DOME, "CNC MACHINED",4 - BLADE 1/1/2018 $1,406.30 A Y

D-5210-P DOME, "CNC MACHINED",4 - BLADE 1/1/2018 $1,360.18 A Y

D-5211 BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,131.60 A Y

D-5211-10P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,806.00 A

D-5211-1P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,103.93 A Y

D-5211-2 BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,151.08 A Y

D-5211-2P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,205.40 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 72



2018 Price List

Hartzell Propeller Inc.

D-5211-4P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,283.30 A Y

D-5211-5P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,806.00 A Y

D-5211-7P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,806.00 A Y

D-5211-P BULKHEAD UNIT, "CNC MACHINED" 1/1/2018 $1,072.15 A Y

D-5244-p BULKHEAD UNIT 1/1/2018 $3,745.00 A Y

D-5315-1 FILLER PLATE, COMPOSITE 1/1/2018 $511.00 A Y

D-5320 DOME, 4 - BLADE 1/1/2018 $1,093.68 A Y

D-5320-P DOME, 4 - BLADE 1/1/2018 $1,592.85 A Y

D-5498 BULKHEAD UNIT 1/1/2018 $1,829.00 A Y

D-5498-P BULKHEAD UNIT 1/1/2018 $1,669.00 A Y

D-5501-2 BULKHEAD UNIT 1/1/2018 $2,376.00 A Y

D-5521-1P BULKHEAD UNIT 1/1/2018 $1,879.00 A Y

D-5521-2P BULKHEAD UNIT 1/1/2018 $1,879.00 A Y

D-5521-P BULKHEAD UNIT 1/1/2018 $1,808.10 A Y

D-5548-P DOME, 4 - BLADE 1/1/2018 $1,770.00 A Y

D-5549 BULKHEAD UNIT 1/1/2018 $1,790.68 A Y

D-5549-1 BULKHEAD UNIT 1/1/2018 $2,634.25 A Y

D-5549-P BULKHEAD UNIT 1/1/2018 $2,078.70 A Y

D-5554-P DOME ASSEMBLY, 5 - BLADE 1/1/2018 $3,967.00 A Y

D-5555-1 BULKHEAD UNIT 1/1/2018 $2,474.00 A Y

D-5555-1L BULKHEAD UNIT 1/1/2018 $2,474.00 A Y

D-5555-1LP BULKHEAD UNIT 1/1/2018 $2,535.85 A Y

D-5555-1P BULKHEAD UNIT 1/1/2018 $2,458.00 A Y

D-5560-1F DOME, 4 - BLADE 1/1/2018 $3,218.50 A Y

D-5560-1P DOME, 4 - BLADE 1/1/2018 $1,847.05 A Y

D-5576-P DOME, 5 - BLADE 1/1/2018 $1,387.85 A Y

D-5604-3 SYNCHROPHASER COMPUTER 1/1/2018 $7,978.60 A Y

D-5630 ROD, PITCH CHANGE 1/1/2018 $8,383.00 A Y

D-5714-1P DOME, 4 - BLADE 1/1/2018 $1,779.40 A Y

D-5714P DOME, 4 - BLADE 1/1/2018 $1,779.40 A Y

D-5733-P DOME UNIT, 3 - BLADE 1/1/2018 $1,704.58 A Y

D-5734-1P BULKHEAD UNIT 1/1/2018 $1,728.00 A Y

D-5751-2 BULKHEAD UNIT 1/1/2018 $981.95 A Y

D-5751-2P BULKHEAD UNIT 1/1/2018 $1,153.00 A Y

D-5769-P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,157.23 A Y

D-5771-P DOME, 3 - BLADE 1/1/2018 $1,490.35 A Y

D-5862 PCP:ROD, PITCH CHANGE 1/1/2018 $1,301.75 A

D-5862-1 PCP:ROD, PITCH CHANGE 1/1/2018 $1,148.00 A

D-5862-2 PCP:ROD, PITCH CHANGE 1/1/2018 $1,271.00 A

D-5862-4 PCP:ROD, PITCH CHANGE 1/1/2018 $1,510.85 A

D-6001 Q.A.D - CLAMP ASSEMBLY 1/1/2018 $5,096.00 A Y

D-6001-2 Q.A.D INSTALLATION KIT 1/1/2018 $753.00 A Y

D-6001-4 Q.A.D. O - RING KIT 1/1/2018 $19.01 A Y

D-6004-2 HIGH PRESSURE PUMP 1/1/2018 $16,027.93 A Y

D-6004-3 OVERSP.GOV.INST. KIT 1/1/2018 $744.15 A Y

D-6004-4 H/PRESS PUMP INST.KIT 1/1/2018 $221.40 A Y

D-6015-2 EROSION SHIELD, BLADE, 7690 1/1/2018 $897.00 A

D-6021-3 PCP:COUNTERWEIGHT 1/1/2018 $541.20 A

D-6021-4 PCP:COUNTERWEIGHT 1/1/2018 $541.20 A

D-6029 HYDRAULIC UNIT MTG. PLATE 1/1/2018 $2,737.00 A Y

D-6114-1 PCP:ROD, PITCH CHANGE 1/1/2018 $3,814.03 A

D-6168-2 PCP:HUB ASSEMBLY, HD-E6C-3 1/1/2018 $29,908.11 A Y

D-6221 EROSION SHIELD, BLADE, 13890 1/1/2018 $971.00 A Y

D-6277-1 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,520.00 A Y

D-6277-2 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,180.00 A Y

D-6277-3 BRACKET, KNOB, PITCH CHANGE 1/1/2018 $2,361.00 A Y

D-630-5PKIT SPINNER DOME & MTG. HDWR "CNC" 1/1/2018 $1,825.53 A Y

D-6447-1P DOME UNIT, 3 - BLADE 1/1/2018 $1,544.68 A Y

D-6448-2P BULKHEAD UNIT 1/1/2018 $1,521.10 A Y
Original

(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018

(2) Reference for Line Replaceable Units Page 73



Hartzell Propeller Inc.

2018 Price List

D-6506 PCP:ROD, PITCH CHANGE 1/1/2018 $2,446.68 A
D-6522-21 PCP:HUB UNIT,HC-C2Y(K,R)-(2,4) 1/1/2018 $3,837.78 A
D-6522-21R PCP:HUB UNIT,HC-C2Y(K,R)-(2,4) 1/1/2018 $3,880.01 A
D-6522-22 PCP:HUB UNIT, HC-C2YL-(2,4) 1/1/2018 $3,814.09 A
D-6529-41 PCP:HUB UNIT, HC-C2Y(K,R)-1 1/1/2018 $3,850.14 A
D-6529-42 PCP:HUB UNIT, HC-C2YL-1 1/1/2018 $3,850.14 A
D-6529-45 PCP:HUB UNIT, DHC-C2YR-1 1/1/2018 $3,850.14 A
D-6530-25 PCP:HUB UNIT, BHC-C2YF-(2,4) 1/1/2018 $3,775.98 A
D-6530-30 PCP:HUB UNIT, BHC-L2YF-(2,4) 1/1/2018 $3,750.23 A
D-6530-32 PCP:HUB UNIT, HC-C2YF-(2,4) 1/1/2018 $3,775.98 A
D-6531-25 PCP:HUB UNIT, BHC-L2YF-1 1/1/2018 $3,728.00 A
D-6531-41 PCP:HUB UNIT, HC-C2YF-1 1/1/2018 $3,839.84 A
D-6531-42 PCP:HUB UNIT, BHC-C2YF-1 1/1/2018 $3,839.84 A
D-6531-44 PCP:HUB UNIT, DHC-C2YF-1 1/1/2018 $3,839.84 A
D-6531-45 PCP:HUB UNIT, BHC-L2YF-1 1/1/2018 $3,839.84 A
D-6539 CYLINDER 1/1/2018 $1,503.00 A
D-6552-22 PCP:HUB UNIT, BHC-J2YF-1 1/1/2018 $4,740.06 A
D-6552-23 PCP:HUB UNIT, HC-J2YF-1 1/1/2018 $4,740.06 A
D-6557-41 PCP:HUB UNIT, HC-12YR-1 1/1/2018 $4,740.06 A
D-6557-42 PCP:HUB UNIT, HC-M2YR-1 1/1/2018 $4,740.06 A
D-6557-43 PCP:HUB UNIT, DHC-M2YR-1 1/1/2018 $4,740.06 A
D-6558-22 PCP:HUB UNIT, HC-M2YR-(2,4) 1/1/2018 $4,899.00 A
D-6559-21 PCP:HUB UNIT, HC-F2Y(R,K)-1 1/1/2018 $5,193.26 A
D-6559-23 PCP:HUB UNIT, HC-F2YL-1 1/1/2018 $4,696.80 A
D-6560-21 PCP:HUB UNIT,HC-F2Y(R,K)-(2,4) 1/1/2018 $5,586.00 A
D-6560-23 PCP:HUB UNIT, HC-F2YL-(2,4) 1/1/2018 $5,753.58 A
D-6563-21 PCP:HUB UNIT, HC-E2YL-(2,4) 1/1/2018 $5,545.00 A
D-6564-21 PCP:HUB UNIT, HC-E2Y(R,K)-1 1/1/2018 $5,586.00 A
D-6565-21R PCP:HUB UNIT,HC-E2Y(R,K)-(2,4) 1/1/2018 $5,586.00 A
D-6663 ADAPTER PLATE UNIT 1/1/2018 $4,344.00 A
D-6666 BULKHEAD UNIT, COMPOSITE 1/1/2018 $8,561.00 A
D-6751-P DOME UNIT, 3 - BLADE 1/1/2018 $1,509.83 A Y
D-6763 EROSION SHIELD, BLADE, 7890 1/1/2018 $857.93 A
D-6774 ANTI-ICE - INSTL KIT 1/1/2018 $488.92 A Y
D-6827 PCP:CYLINDER 1/1/2018 $2,047.00 A
D-6831-1A PCP:CLAMP, BLADE, "MV" SHANK 1/1/2018 $2,375.95 A
D-6831-1AL PCP:CLAMP, BLADE, "MV" SHANK 1/1/2018 $2,375.95 A
D-6831-1EA PCP:CLAMP, BLADE, "MV" SHANK 1/1/2018 $2,352.38 A
D-6831-3A PCP:CLAMP, BLADE, "MV" SHANK 1/1/2018 $2,655.78 A
D-6831-5A PCP:CLAMP, BLADE, "MV" SHANK 1/1/2018 $2,655.78 A
D-6869 PCP:ROD, PITCH CHANGE 1/1/2018 $1,104.95 A
D-6934-1 DRIVE GEAR, INTERMEDIATE CAP. 1/1/2018 $821.00 A
D-6935 DOME UNIT, 3 - BLADE 1/1/2018 $1,110.08 A Y
D-6935-P DOME UNIT, 3 - BLADE 1/1/2018 $1,411.43 A Y
D-7084-4P BULKHEAD UNIT 1/1/2018 $1,191.05 A Y
D-7233P BULKHEAD UNIT 1/1/2018 $2,470.25 A Y
D-7248 PCP:CLAMP, COUNTERWEIGHT 1/1/2018 $2,514.33 A
D-7266-P DOME UNIT, 3 - BLADE 1/1/2018 $1,964.93 A Y
D-7325-2P DOME UNIT, 3 - BLADE 1/1/2018 $1,879.85 A Y
D-7329P DOME, 3 - BLADE 1/1/2018 $2,431.30 A Y
D-7377 RING, MOUNTING BOLT 1/1/2018 $2,298.00 A
D-7378 RING, CYLINDER MOUNTING 1/1/2018 $1,524.00 A
D-7412 ROD, PITCH CHANGE 1/1/2018 $6,009.00 A
D-7415 FORK, RIGHT HAND 1/1/2018 $5,360.00 A
D-7419 PRELOAD PLATE ASSEMBLY 1/1/2018 $384.38 A
D-7432-1 PCP:HUB ASSEMBLY, HC-E5A-2( ) 1/1/2018 $26,465.00 A
D-7745 BEARING, THRUST - BLADE 1/1/2018 $1,056.00 A
D-7745-A RACE, HUB SIDE 1/1/2018 $542.00 A
D-7745-B RACE, BLADE SIDE 1/1/2018 $521.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 74



2018 Price List

Hartzell Propeller Inc.

D-78 PISTON 1/1/2018 $3,905.25 A
D-7811-10P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,634.88 A Y
D-7811-2P DOME, "CNC MACHINED",3 - BLADE 1/1/2018 $1,549.80 A Y
D-7838-67 PCP:CLAMP UNIT 1/1/2018 $2,556.35 A
DST-2934 BLADE BEARING PRESS 1/1/2018 $32,671.88 A
DST-3049 GROUND HYDRAULIC UNIT 1/1/2018 $42,748.65 A Y
DST-5855-1 KNOB, BLADE SHANK-SHOTPEEN KIT 1/1/2018 $7,210.87 A
DST-5855-1F KNOB, BLADE SHANK-SHOTPEEN KIT 1/1/2018 $7,210.87 A
DT-1724+10 AIR CONTROL ARM 1/1/2018 $164.00 A
DT-1724+100 BACKING PLATE 1/1/2018 $160.00 A
DT-1724+101 CARRIAGE 1/1/2018 $4,186.10 A
DT-1724+105 SHAFT, ROLLER ARM 1/1/2018 $1,067.00 A
DT-1724+106 PIVOT BLOCK 1/1/2018 $3,131.38 A
DT-1724+107 SPACER 1/1/2018 $120.00 A
DT-1724+108 SPACER PLATE 1/1/2018 $331.00 A
DT-1724+109 SPACER BLOCK 1/1/2018 $228.58 A
DT-1724+111 ROLLER ARM 1/1/2018 $2,924.00 A
DT-1724+112 ROLLER 1/1/2018 $585.28 A
DT-1724+113 BEARING 1/1/2018 $58.43 A
DT-1724+115 RISER BLOCK 1/1/2018 $291.10 A
DT-1724+116 GEAR MOUNTING PLATE 1/1/2018 $674.00 A
DT-1724+119 LINK ARM 1/1/2018 $270.00 A
DT-1724+120 SWITCH MOUNTING BRACKET 1/1/2018 $192.70 A
DT-1724+122 SWITCH MOUNTING BRACKET 1/1/2018 $200.90 A
DT-1724+124 RELAY 1/1/2018 $513.00 A
DT-1724+125 RELAY 1/1/2018 $164.00 A
DT-1724+128 CARRIAGE MOTOR 1/1/2018 $567.85 A
DT-1724+13 AIR SWITCH 1/1/2018 $485.00 A
DT-1724+130 OVERLOAD RELAY 1/1/2018 $394.00 A
DT-1724+132 CARR. DRIVE GEAR (#BWG16100-1) 1/1/2018 $1,117.00 A
DT-1724+133 F.R.L. UNIT 1/1/2018 $399.00 A
DT-1724+134 PRESS.GAGE GRP95-227 1/1/2018 $52.00 A
DT-1724+135 DRIVE SHAFT 1/1/2018 $824.00 A
DT-1724+136 SPACER,FACEPLATE 1/1/2018 $58.43 A
DT-1724+137 BOOSTER MOUNTING PLATE 1/1/2018 $507.00 A
DT-1724+141 1/8 NPT ELBOW S-2-SE 1/1/2018 $100.00 A
DT-1724+148 RELAY SOCKET 1/1/2018 $62.00 A
DT-1724+15 LINK ARM 1/1/2018 $420.00 A
DT-1724+160 COLLET SCREW FOR "E" SHANK 1/1/2018 $190.55 A
DT-1724+161 ESHANK COLLET (#AC-7601) 1/1/2018 $909.18 A
DT-1724+162 E SHANK SPACER 1/1/2018 $374.00 A
DT-1724+164 SPACER, "MV" SHANK 1/1/2018 $153.75 A
DT-1724+167 BLOCK,TAP 1/1/2018 $294.18 A
DT-1724+167A BLOCK,TAP 1/1/2018 $294.18 A
DT-1724+17 MOUNTING BLOCK,CARRIAGE GEAR 1/1/2018 $342.00 A
DT-1724+19 WORM GEAR BRACKET 1/1/2018 $223.51 A
DT-1724+2 FLOW CONTROL VALVE 1/1/2018 $105.00 A
DT-1724+20 SHAFT, DRIVE 1/1/2018 $462.00 A
DT-1724+22 CARRIAGE MOTOR MOUNTING PLATE 1/1/2018 $408.00 A
DT-1724+23 AIR VALVE 1/1/2018 $383.35 A
DT-1724+29 PLATE, MOUNTING, SWITCH 1/1/2018 $337.00 A
DT-1724+30 LIMIT SWITCH 1/1/2018 $120.00 A
DT-1724+30A SWITCH COVER 1/1/2018 $105.00 A
DT-1724+31 COLLET 1/1/2018 $637.55 A
DT-1724+33 SPACER,BLADE SHANK 1/1/2018 $374.00 A
DT-1724+34 WOODWORTH FIXTURE (#AC-5610) 1/1/2018 $4,983.55 A
DT-1724+36 FACE PLATE WELDMENT 1/1/2018 $2,632.00 A
DT-1724+37 MOTOR MOUNTING BLOCK 1/1/2018 $2,938.00 A
DT-1724+38 COUPLING 1/1/2018 $143.50 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 75



Hartzell Propeller Inc.
2018 Price List

DT-1724+38A COUPLING INSERT 1/1/2018 $77.90 A
DT-1724+39 RIGHT ANGLE GEAR MOTOR 1/1/2018 $3,601.85 A
DT-1724+40 RELAY MOUNTING BRACKET 1/1/2018 $133.00 A
DT-1724+41 BOOSTER, AIR/OIL 1/1/2018 $2,341.10 A
DT-1724+42 GAGE 1/1/2018 $263.00 A
DT-1724+43 ELBOW 1/1/2018 $55.00 A
DT-1724+5 BUSHING 1/1/2018 $224.00 A
DT-1724+50 ROLLER HEAD MOTOR 1/1/2018 $412.00 A
DT-1724+52 MOTOR MOUNTING BLOCK 1/1/2018 $816.00 A
DT-1724+66 PILLOW BLOCK 1/1/2018 $795.40 A
DT-1724+67 HYDRAULIC HOSE 1/1/2018 $194.00 A
DT-1724+68 PILLOW BLOCK 1/1/2018 $243.95 A
DT-1724+69 MAIN POWER SWITCH 1/1/2018 $216.28 A
DT-1724+70 START CYCLE SWITCH 1/1/2018 $202.95 A
DT-1724+71 SWITCH BRACKET 1/1/2018 $182.00 A
DT-1724+73 CARRIAGE SWITCH 1/1/2018 $164.00 A
DT-1724+77 TRANSFORMER KIT 1/1/2018 $967.00 A
DT-1724+78 L GIB 1/1/2018 $391.00 A
DT-1724+81 SHIM 1/1/2018 $169.13 A
DT-1724+83 CARRIAGE SWITCH 1/1/2018 $94.00 A
DT-1724+84 MOUNTING PLATE 1/1/2018 $72.00 A
DT-1724+91 COVER,ROLLING HEAD 1/1/2018 $2,771.00 A
DT-1724+92 WORM HOUSING 1/1/2018 $1,292.00 A
DT-1724+93 BUSHING BLOCK 1/1/2018 $643.00 A
DT-1724+94 SUPPORT FRAME 1/1/2018 $1,912.00 A
DT-1724+95 PLUNGER 1/1/2018 $476.00 A
DT-1724+98 PISTON 1/1/2018 $156.00 A
DT-1724-3 SHANK ROLLING MACHINE (DOM.) 1/1/2018| $118,016.00 A
DT-1724-3(F) SHANK ROLLING MACHINE(FOREIGN) 1/1/2018| $121,938.10 A
DT-336+6 JAW 1/1/2018 $792.00 A
DT-336+7 JAW 1/1/2018 $792.00 A
DT-4496+1 CALIBRATION STANDARD 1/1/2018 $818.98 A
E-2819-1 PCP:HUB UNIT, HC-E5B-5 1/1/2018 $20,110.00 A
E-393-2 PCP:HUB UNIT HC-E4A-3() 1/1/2018 $8,529.00 A
E-4501-1 PCP:HUB UNIT, HC-C4YR-(2,4) 1/1/2018 $6,066.00 A
E-4501-3 PCP:HUB UNIT, HC-C4YF-(2,4) 1/1/2018 $6,247.98 A
E-4501-45 PCP:HUB UNIT, HC-C4YF-1 1/1/2018 $5,838.04 A
E-5579-7 DOME & MOUNTING KIT, COMPOSITE 1/1/2018 $12,872.00 A Y
E-5580-4 DOME UNIT, COMPOSITE 1/1/2018 $12,355.00 A Y
E-5581 BULKHEAD UNIT, COMPOSITE 1/1/2018 $7,701.00 A Y
E-5715-2P BULKHEAD UNIT 1/1/2018 $1,938.28 A Y
E-5715-3P BULKHEAD UNIT 1/1/2018 $1,898.30 A Y
E-5750-LP DOME UNIT, 2 - BLADE 1/1/2018 $2,891.53 A Y
E-5750-P DOME UNIT, 2 - BLADE 1/1/2018 $3,186.73 A Y
E-5761-P DOME, 5 - BLADE 1/1/2018 $2,784.00 A Y
E-5762-P BULKHEAD UNIT 1/1/2018 $4,685.28 A Y
E-5970-1 PCU MANIFOLD ASSEMBLY 1/1/2018 $35,212.00 A Y
E-6244UGK UPGRADE KIT 1/1/2018 $1,026.02 A Y
E-6468 PCP:HUB UNIT, HC-E4A-(2,5) 1/1/2018 $8,784.87 A
E-6771 PCP:HUB UNIT,HC- E4(N,P)-(2,5) 1/1/2018 $8,458.36 A
E-6826 PCP:HUB UNIT, HC-E4A-3 1/1/2018 $8,529.00 A
E-7016 PCP:CLAMP,COUNTERWEIGHT 1/1/2018 $2,599.40 A
E-7154-41 PCP:HUB UNIT, HC-C3YF-1 1/1/2018 $4,539.21 A
E-7154-41R PCP:HUB UNIT, HC-C3YF-1R 1/1/2018 $4,407.00 A
E-7154-42R PCP:HUB UNIT, PHC-C3YF-1R 1/1/2018 $4,407.00 A
E-7154-43R PCP:HUB UNIT, (P,E)HC-L3YF-1R 1/1/2018 $4,407.00 A
E-7154-44R PCP:HUB UNIT, HC-G3YF-1R 1/1/2018 $4,407.00 A
E-7154-45R PCP:HUB UNIT, (P,E)HC-G3YF-1R 1/1/2018 $4,407.00 A
E-7154-46R PCP:HUB UNIT, HC-L3YF-1R 1/1/2018 $4,407.00 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 76



Hartzell Propeller Inc.

2018 Price List

E-7155-41R PCP:HUB UNIT, PHC-I3YF-1R 1/1/2018 $5,742.25 A
E-7156-11R PCP:HUB UNIT, HC-H3YF-1R 1/1/2018 $5,938.00 A
E-7156-13R PCP:HUB UNIT, HC-J3YF-1R 1/1/2018 $5,938.00 A
E-7156-14R PCP:HUB UNIT, PHC-J3YF-1R 1/1/2018 $5,750.00 A
E-7156-15R PCP:HUB UNIT, PHC-H3YF-1R 1/1/2018 $5,558.91 A
E-7157-41 PCP:HUB UNIT, HC-C3YR-1 1/1/2018 $4,517.58 A
E-7157-41R PCP:HUB UNIT, HC-C3YR-1R 1/1/2018 $4,517.58 A
E-7159-41R PCP:HUB UNIT, HC-I3YR-1R 1/1/2018 $5,575.00 A
E-7159-42R PCP:HUB UNIT, HC-M3YR-1R 1/1/2018 $5,575.00 A
E-7160-11R PCP:HUB UNIT, HC F3YR-1R 1/1/2018 $5,855.55 A
E-7161-11 PCP:HUB UNIT, HC-E3YR-1 1/1/2018 $5,855.55 A
E-7161-11R PCP:HUB UNIT, HC-E3YR-1R 1/1/2018 $5,685.00 A
E-7161-12R PCP:HUB UNIT, HC-F3YR-1AR 1/1/2018 $5,685.00 A
E-7162-11 PCP:HUB UNIT, HC-C3YN-(2,4) 1/1/2018 $4,393.00 A
E-7163-11 PCP:HUB UNIT, HC-C3YN-5A 1/1/2018 $4,286.00 A
E-7163-12 PCP:HUB UNIT, HC-C3YN-5B 1/1/2018 $4,481.53 A
E-7164-11 PCP:HUB UNIT, HC-H3YN-2 1/1/2018 $5,981.00 A
E-7166-11 PCP:HUB UNIT, HC-C3YF-5 1/1/2018 $4,393.98 A
E-7167-12 PCP:HUB UNIT, PHC-C3YF-(2,4) 1/1/2018 $5,500.00 A
E-7167-14 PCP:HUB UNIT (P,E)HC-G3YF-(2,4 1/1/2018 $4,735.00 A
E-7168-11 PCP:HUB UNIT, HC-I3YF-(2,4) 1/1/2018 $5,755.64 A
E-7168-12 PCP:HUB UNIT (P,E)HC-I3YF-(2,4 1/1/2018 $5,588.00 A
E-7169-11 PCP:HUB UNIT,HC-H3YF-(2,4) 1/1/2018 $5,625.00 A
E-7169-13 PCP:HUB UNIT,PHC-J3YF-(2,4) 1/1/2018 $5,625.00 A
E-7172-11 PCP:HUB UNIT, HC-C3YR-(2,4) 1/1/2018 $5,139.00 A
E-7172-11R PCP:HUB UNIT, HC-C3YR-(2,4)R 1/1/2018 $5,139.00 A
E-7173-11 PCP:HUB UNIT, HC-13YR-(2,4) 1/1/2018 $5,348.79 A
E-7174-11 PCP:HUB UNIT, HC-F3YR-(2,4) 1/1/2018 $6,180.00 A
E-7175-11 PCP:HUB UNIT, HC-E3YR-(2,4) 1/1/2018 $5,213.86 A
E-7175-12 PCP:HUB UNIT, HC-F3YR-(2,4) 1/1/2018 $5,697.96 A
E-7257-P BULKHEAD UNIT 1/1/2018 $1,862.43 A Y
E-7369-1 PCP:HUB UNIT, HC-E5A-2( ) 1/1/2018 $21,337.00 A
E-7417 PCP:CYLINDER ASSEMBLY 1/1/2018 $3,995.00 A
E-7481 DOME UNIT, COMPOSITE,5 - BLADE 1/1/2018 $12,560.35 A Y
E-7486 PCP:CLAMP, COUNTERWEIGHT 1/1/2018 $2,686.53 A
E-7619 PCP:HUB UNIT, HC-E4W-3( ) 1/1/2018 $8,347.12 A
GT-3669 COMPOSITE BLADE SHANK OVERLAY 1/1/2018 $963.50 A
K1008390 1008390 CESSNA TIP MESH 1/1/2018 $460.23 A
K1095090 10950 BEECH TIP MESH 1900D 1/1/2018 $449.00 A
K1389090 13890 NICKEL MESH 1/1/2018 $342.35 A
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 77



Hartzell Propeller Inc.

2018 Price List

A2210048 HC-A2MV20-4A1/MV8833N-4/A224-4 1/1/2018 $39,941.12 A Y
A2210201 HC-A2MV20-5L/LMV8433N 1/1/2018 $44,689.19 A Y
A2211010 HC-A2MVL-1/MV8433N-12 1/1/2018 $31,351.22 A Y
A2F10158 HC-A2MVF-2/MV8433N-4 1/1/2018 $31,180.65 A Y
A2K10040 HC-A2MVK-2/MV8433N-10 1/1/2018 $31,517.67 A Y
A3210064 HC-A3MV20-2/MV8433N 1/1/2018 $44,378.96 A Y
A3210068 HC-A3MV20-2/MV8433N[*1] 1/1/2018 $44,378.96 A Y
A3210070 HC-A3MV20-2/MV8433N 1/1/2018 $44,378.96 A Y
A3F10105 HC-A3MVF-3L/LMV9333N-5 1/1/2018 $48,573.21 A Y
A3F10200 HC-A3MVF-7B/MV10133N-11 1/1/2018 $56,926.79 A Y
A3K10080KD HC-A3MVK-2A/MV8433N-2R 1/1/2018 $45,903.77 A Y
B3210102 HC-B3720-1/10151CN-5 1/1/2018 $47,515.91 A Y
B3300076 HC-B3R30-4B/R10152N-5.5 1/1/2018 $45,938.70 A Y
B3300077 HC-B3R30-4B/R10152N-5.5 1/1/2018 $45,938.70 A Y
B3300078 HC-B3R30-4B/R10152N-5.5 1/1/2018 $45,938.70 A Y
B3310021 HC-B3R30-2EA/R10152N-5.5 1/1/2018 $46,683.64 A Y
B3310029KD HC-B3R30-2EA/R10152N-5.5 1/1/2018 $46,683.64 A Y
B3320050 HC-B3730-2EB/9349N-6.5 1/1/2018 $45,938.70 A Y
B3320050KD HC-B3730-2EB/9349N-6.5 1/1/2018 $45,938.70 A Y
B3F10063 HC-B3TF-7A/T10173N-18[*1] 1/1/2018 $43,287.75 A Y
B3F10065 HC-B3TF-7A/T10173N-18[*1] 1/1/2018 $53,968.61 A Y
B3F10069 HC-B3TF-7A/T10173FN-21R 1/1/2018 $53,606.93 A Y
B3F10070 HC-B3TF-7A/T10173N-25R 1/1/2018 $53,968.61 A Y
B3F10090S HC-B3TF-7A/T9212NK-2[*1] 1/1/2018 $62,704.42 A Y
B3F10091 HC-B3TF-7A/T9212NK-2*1/BULK/DE 1/1/2018 $60,905.27 A Y
B3F10091S HC-B3TF-7A/T9212NK-2*1/POLISHD 1/1/2018 $62,704.42 A Y
B3F10093 HC-B3TF-7A/T9212NK-2 1/1/2018 $59,785.29 A Y
B3N000057 HC-B3MN-3/M10083/BULKHEAD 1/1/2018 $88,300.38 A Y
B3N000058 HC-B3MN-3/M10083K/BULK/DE-ICE 1/1/2018 $92,984.22 A Y
B3NO00OO58KD HC-B3MN-3/M10083K/BULK/DE-ICE 1/1/2018 $93,440.03 A Y
B3N000060 HC-B3MN-3/M10083K 1/1/2018 $87,459.90 A Y
B3NOO0O060KD HC-B3MN-3/M10083K 1/1/2018 $87,459.90 A Y
B3N10025S HC-B3TN-3AFY/T10890CNK-2[*2] 1/1/2018 $56,047.25 A

B3N10031SKD HC-B3TN-2/T10173CN-8/D-5203-P 1/1/2018 $48,822.89 A Y
B3N10035 HC-B3TN-2/T10173CNK-8/BULK/DEI 1/1/2018 $51,027.91 A Y
B3N10035SKD HC-B3TN-2/T10173CNK-8/D-5203-P 1/1/2018 $52,100.62 A Y
B3N10127 HC-B3TN-3B/T10173NB-3/BULK/DEI 1/1/2018 $48,174.54 A Y
B3N10127KD HC-B3TN-3B/T10173NB-3/BULK/DEI 1/1/2018 $48,174.54 A Y
B3N10127SKD HC-B3TN-3B/T10173NB-3/C3065-1P 1/1/2018 $48,688.29 A Y
B3N10148 HC-B3TN-3B/T10173NE+1[*1]/BULK 1/1/2018 $47,816.97 A Y
B3N10181KD HC-B3TN-3B/T10173NB-8/DE-ICE 1/1/2018 $42,735.98 A Y
B3N10182 HC-B3TN-3B/T10173NB-8/BULK/DEI 1/1/2018 $49,582.22 A Y
B3N10182KD HC-B3TN-3B/T10173NB-8/BULK/DEI 1/1/2018 $49,380.83 A Y
B3N10211 HC-B3TN-3B/T10178NB-8R[*1]/DEI 1/1/2018 $47,156.29 A Y
B3N10240 HC-B3TN-3BY/T10173NE+1[*1]/BUL 1/1/2018 $51,014.55 A Y
B3N10275 HC-B3TN-3C/T10178N-8R 1/1/2018 $40,789.90 A Y
B3N10275KD HC-B3TN-3C/T10178N-8R 1/1/2018 $40,789.90 A Y
B3N10295 HC-B3TN-3C/T10178NB-8R/DE-ICE 1/1/2018 $41,807.12 A Y
B3N10295KD HC-B3TN-3C/T10178NB-8R/DE-ICE 1/1/2018 $41,807.12 A Y
B3N10410S HC-B3TN-3D/T10178CNR/C-3065-P 1/1/2018 $45,605.79 A Y
B3N10438 HC-B3TN-3D/T10282N 1/1/2018 $42,856.20 A Y
B3N10439KD HC-B3TN-3D/T10282N/BULK 1/1/2018 $43,716.22 A Y
B3N10443 HC-B3TN-3D/T10282NB[*2]/BULK 1/1/2018 $48,281.40 A Y
B3N10448KD HC-B3TN-3D/T10282NB[*2]/BULK 1/1/2018 $48,403.67 A Y
B3N10449S HC-B3TN-3D/T10282N+4/C3065-P 1/1/2018 $46,094.88 A Y
B3N10452 HC-B3TN-3D/T10282N+4 1/1/2018 $43,665.87 A Y
B3N10452S HC-B3TN-3D/T10282N+4/D3434-12P 1/1/2018 $46,868.59 A Y
B3N10452SAFM HC-B3TN-3D/T10282N+4/D3434-12P 1/1/2018 $46,868.59 A Y
B3N10453SKD HC-B3TN-3D/T10282N+4/D-3434-6P 1/1/2018 546,868.59 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 78



Hartzell Propeller Inc.

2018 Price List

B3N10454S HC-B3TN-3D/T10282NS+4/3434-17P 1/1/2018 $46,821.32 A Y
B3N10454SKD HC-B3TN-3D/T10282NS+4/3434-17P 1/1/2018 $46,821.32 A Y
B3N10458S HC-B3TN-3D/T10282N+4/D3434-12P 1/1/2018 $46,868.59 A Y
B3N10460 HC-B3TN-3D/T10282NS+4 1/1/2018 $44,030.63 A Y
B3N10461KD HC-B3TN-3D/T10282NS+4 1/1/2018 $44,030.63 A Y
B3N10470S HC-B3TN-3D/T10282N+4/C-3065-P 1/1/2018 $46,094.88 A Y
B3N10480S HC-B3TN-3D/T10282N[*1]/3065-1P 1/1/2018 $45,742.45 A Y
B3N10480SKD HC-B3TN-3D/T10282N[*1]/3065-1P 1/1/2018 $45,742.45 A Y
B3N10489S HC-B3TN-3D/T10282NB[*1] 1/1/2018 $51,275.54 A Y
B3N10489SKD HC-B3TN-3D/T10282NB[*1] 1/1/2018 $51,275.54 A Y
B3N10490S HC-B3TN-3D/T10282NB[*1] 1/1/2018 $53,234.98 A Y
B3N10490SKD HC-B3TN-3D/T10282NB[*1} 1/1/2018 $53,234.98 A Y
B3N10520 HC-B3TN-3DY/T10282N[*1] 1/1/2018 $46,733.99 A Y
B3N10520S HC-B3TN-3DY/T10282N[*1] 1/1/2018 $50,412.44 A Y
B3N10521 HC-B3TN-3DY/T10282NB[*1]/BULK 1/1/2018 $54,693.00 A Y
B3N10521S HC-B3TN-3DY/T10282NB[*1] 1/1/2018 $56,240.42 A Y
B3N10530 HC-B3TN-3DY/T10282N/BULKHEAD 1/1/2018 $46,733.99 A Y
B3N10555S HC-B3TN-3AEY/T10290N+2[*1] 1/1/2018 $60,081.21 A Y
B3N10556S HC-B3TN-3AEY/T10290N+2[*1] 1/1/2018 $54,383.72 A
B3N10561S HC-B3TN-3AEY/T10290NK+2[*1] 1/1/2018 $58,125.88 A
B3N10579 HC-B3TN-3DY/T10282N/BULKHEAD 1/1/2018 $51,025.85 A Y
B3N10580 HC-B3TN-3DY/T10282N[*1] 1/1/2018 $46,733.99 A Y
B3N10580S HC-B3TN-3DY/T10282N[*1] 1/1/2018 $50,412.44 A Y
B3N10580SKD HC-B3TN-3DY/T10282N[*1] 1/1/2018 $50,412.44 A Y
B3N10581 HCB3TN-3DY/T10282N[*1] 1/1/2018 $46,733.99 A Y
B3N10593 HC-B3TN-3DY/T10282NB[*2]/BULK 1/1/2018 $53,477.47 A Y
B3N10594S HC-B3TN-3DY/T10282NB[*1] 1/1/2018 $54,693.00 A Y
B3N10594SKD HC-B3TN-3DY/T10282NB[*1] 1/1/2018 $54,693.00 A Y
B3N10595 HC-B3TN-3DY/T10282N+4[*1] 1/1/2018 $46,898.39 A Y
B3N10595KD HC-B3TN-3DY/T10282N+4[*1] 1/1/2018 $46,898.39 A Y
B3N10600 HC-B3TN-3DY/T10282N+4[*1] 1/1/2018 $46,898.39 A Y
B3N10650 HC-B3TN-3G/T10178N-3R 1/1/2018 $39,288.72 A Y
B3N10658 HC-B3TN-3G/T10178NB-3R/BULK 1/1/2018 $48,587.60 A Y
B3N10658S HC-B3TN-3G/T10178NB-3R/SPINNER 1/1/2018 $49,941.84 A Y
B3N10659 HC-B3TN-3G/T10178NB-3R/BULK 1/1/2018 $48,587.60 A Y
B3N10710 HC-B3TN-3H/T10173N-11R 1/1/2018 $39,983.31 A Y
B3N10715 HC-B3TN-3K/T10173DNB-6Q 1/1/2018 $53,466.17 A Y
B3N10728KD HC-B3TN-5E/T10282N 1/1/2018 $48,414.98 A Y
B3N10776 HC-B3TN-5K/T10178NB-13Q/BULK 1/1/2018 $53,043.86 A Y
B3N10777 HC-B3TN-5K/T10178N-13Q/BULK 1/1/2018 $47,506.67 A Y
B3N10832S HC-B3TN-5M/T10178NB-11R/3043-3 1/1/2018 $52,957.55 A Y
B3N10850S HC-B3TN-3AE/T10290N+2[*1] 1/1/2018 $50,229.54 A
B3N10870S HC-B3TN-3AE/T10290NK+2[*1] 1/1/2018 $53,812.43 A
B3N10910 HC-B3TN-5M/T10282N+4 1/1/2018 $48,868.10 A Y
B3N10910S HC-B3TN-5M/T10282N+4/D-3434-1P 1/1/2018 $49,142.45 A Y
B3N10914S HC-B3TN-5M/T10282N+4/C-3043-2P 1/1/2018 $54,125.82 A Y
B3N11300 HC-B3TN-5NL/LT10673NB 1/1/2018 $51,820.11 A Y
B3N11410S B3TN-5NL/LT10876ANSB2Q/D-7330P 1/1/2018 $56,428.45 A Y
B3N11651S HC-B3TN-5U/T10290N/D-3434-1P 1/1/2018 $50,933.38 A Y
B3N12181S HC-B3TN-3M/T10173NK-8/3065-13P 1/1/2018 $51,634.13 A Y
B3N12182 HC-B3TN-3M/T10173NK-8/BULK/DEI 1/1/2018 $50,322.02 A Y
B3N12660 HC-B3TN-3N/T10178NK-3R 1/1/2018 $46,704.19 A Y
B3N21050S HC-B3TN-3AF/T10890CN-2/D4897-P 1/1/2018 $47,859.10 A Y
B3N21060S HC-B3TN-3AF/T10890CN-2/D4897-P 1/1/2018 $48,847.55 A
B3N21100 HC-B3TN-3AF/T10890CNB-2 1/1/2018 $49,215.40 A Y
B3N21100S HC-B3TN-3AF/T10890CNB-2/SPIN 1/1/2018 $57,344.98 A Y
B3N21100SKD HC-B3TN-3AF/T10890CNB-2/SPIN 1/1/2018 $57,344.98 A Y
B3N21500S HC-B3TN-3AFY/T10890CN-2/D4897P 1/1/2018 $53,237.03 A
B3N21600S HC-B3TN-3AF/T10890CNK-2[*2] 1/1/2018 $53,514.46 A

Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 79



Hartzell Propeller Inc.

2018 Price List

B4N10020 HC-B4TN-3C/T9212NB/BULKHEAD 1/1/2018 $69,682.24 A Y
B4N10375S HC-BATN-3C/T10702NS/D-3434-18P 1/1/2018 $60,757.37 A
B4N10407 HC-B4TN-5F/T10173ANK-12.5 1/1/2018 $58,333.50 A Y
B4N10710 HC-B4TN-5FL/LT10282NB+4 1/1/2018 $69,815.81 A Y
B4N10811 HC-B4TN-5JL/LT10282NSB-5.3R 1/1/2018 $68,130.71 A Y
B4N10812 HC-B4TN-5JL/LT10282NSB53R[*1] 1/1/2018 $68,130.71 A Y
B4N10921 HC-B4TN-5KL/LT10282ANB+2.5 1/1/2018 $68,983.54 A Y
B4N10940KD HC-B4TN-5ML/LT10574FNSB[*1] 1/1/2018 $70,178.52 A Y
B4N10941 HC-B4TN-5ML/LT10574FNSB[*1] 1/1/2018 $63,863.51 A Y
B4N10982 HC-B4TN-5NL/LT10890N 1/1/2018 $60,757.37 A Y
B4N10982S HC-BATN-5NL/LT10890N/D-3434-7P 1/1/2018 $63,319.96 A Y
B4N10982SKD HC-BATN-5NL/LT10890N/D-3434-7P 1/1/2018 $63,319.96 A Y
B4N10983 HC-BATN-5NL/LT10890N[*1] 1/1/2018 $62,202.04 A Y
B4N10983S HC-BATN-5NL/LT10890N[*1]/+SPIN 1/1/2018 $63,319.96 A Y
B4N10983SKD HC-BATN-5NL/LT10890N[*1]/+SPIN 1/1/2018 $63,319.96 A Y
B4N10984S HC-BATN-5NL/LT10890N[*1]/+SPIN 1/1/2018 $63,319.96 A Y
B4N10985S HC-BATN-5PL/LT10890N/D-3434-7P 1/1/2018 $63,475.11 A Y
B4N10987 HC-B4TN-5NL/LT10890N[*1] 1/1/2018 $60,757.37 A Y
B4N20001 HC-B4MN-5B/M9990N 1/1/2018 $60,654.62 A Y
B4N20015S HC-B4MN-5B/M9990N/100635 1/1/2018 $63,785.42 A Y
B4N20501 HC-B4MN-5BL/LM9990N 1/1/2018 $62,352.05 A Y
B4N20515S HC-B4MN-5BL/LM9990N/100635 1/1/2018 $65,474.63 A Y
B4N20901S HC-BATN-5QL/LT10890NK/D3434-7P 1/1/2018 $72,698.98 A Y
B4N20901SKD HC-B4TN-5QL/LT10890NK/D3434-7P 1/1/2018 $72,698.98 A Y
B4P00004 HC-B4MP-3A/M10877K 1/1/2018( $114,891.780 A Y
B4P00004S HC-B4MP-3A/M10877K/DA4846-P 1/1/2018| $115,455.84 A Y
B4P10001 HC-B4MP-3B/M10476NSK 1/1/2018 $59,180.16 A Y
B4P10001KD HC-B4MP-3B/M10476NSK 1/1/2018 $59,180.16 A Y
B4P10002 HC-B4MP-3B/M10476NSK[*1]/BULK 1/1/2018 $61,995.51 A Y
B4P10002KD HC-B4MP-3B/M10476NSK[*1]/BULK 1/1/2018 $61,995.51 A Y
B4P10012S HC-B4MP-3C/M10476NSK*1/D5519-P 1/1/2018 $65,580.46 A Y
B4P10012S1 HC-B4MP-3C/M10476NSK*1/5519-1P 1/1/2018 $65,580.46 A Y
B4P10012S1KD HC-B4MP-3C/M10476NSK*1/5519-1P 1/1/2018 $65,580.46 A Y
B4P10012S2 HC-B4MP-3C/M10476NSK*1/5519-2P 1/1/2018 $65,580.46 A Y
B4P10012S2KD HC-B4MP-3C/M10476NSK*1/5519-2P 1/1/2018 $65,580.46 A Y
B4P10014 HC-B4MP-3C/M10476NSK[*1]/BULK 1/1/2018 $64,189.22 A Y
B4P10015 HC-B4MP-3C/M10476NSK[*1] 1/1/2018 $59,083.58 A Y
B4P10015KD HC-B4MP-3C/M10476NSK[*1] 1/1/2018 $59,083.58 A Y
B4P10017KD HC-B4MP-3C/M10476NSK[*1]/BULK 1/1/2018 $64,189.22 A
B4P10018KD HC-B4MP-3C/M10476NSK[*1]/BULK 1/1/2018 $64,189.22 A Y
B4W10300S HC-BATW-3/T10282N/C-3425-P 1/1/2018 $69,682.24 A Y
B4W10300SAFM HC-BATW-3/T10282N/C-3425-P 1/1/2018 $69,682.24 A Y
B4W10302S HC-BATW-3/T10282N/C-3425-5P 1/1/2018 $69,682.24 A Y
B4W10302SAFM HC-B4TW-3/T10282N/C-3425-5P 1/1/2018 $69,682.24 A Y
B4W10500S HC-BATW-3/T10702N/C-3425-P 1/1/2018 $69,682.24 A Y
B5A10001 HC-B5MA-2/M9128NSK 1/1/2018 $75,548.30 A Y
B5A10001KD HC-B5MA-2/M9128NSK 1/1/2018 $75,548.30 A Y
B5A10001SKD HC-B5MA-2/M9128NSK/D-5497-3 1/1/2018 $83,966.61 A Y
B5A10005SKD HC-B5MA-2/M9128NSK/D-5497-4 1/1/2018 $86,920.67 A Y
B5A10020S HC-B5MA-3/M11276NK/D-5497-P 1/1/2018 $81,419.44 A Y
B5A10031S HC-B5MA-3D/M11276NS/D-5497-P 1/1/2018 $76,054.86 A Y
B5A10034S HC-B5MA-3DT/M11691NS/D-5497 1/1/2018| $127,679.54 A Y
B5A10231KD HC-B5MA-5H/M11692NS 1/1/2018 $78,202.34 A Y
B5A10242S HC-B5MA-3M/M11691NSK/D-5497P 1/1/2018 $81,678.37 A Y
B5A10242SKD HC-B5MA-3M/M11691NSK/D-5497P 1/1/2018 $81,678.37 A Y
B5A10247 HC-B5MA-3D/M11691NS 1/1/2018 $78,564.02 A Y
B5A10247S HC-B5MA-3D/M11691NS/D-5497-P 1/1/2018 $81,678.37 A Y
B5A10249S HC-B5MA-3D/M11691NS/D-5497 1/1/2018 $81,678.37 A Y
B5A10249SKD HC-B5MA-3D/M11691NS/D-5497 1/1/2018 $81,678.37 A Y
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 80



Hartzell Propeller Inc.
2018 Price List

B5P10100KD HC-B5MP-3C/M10876ANS 1/1/2018 $76,647.73 A Y
B5P10108S HC-B5MP-3C/M10876ANS/D-3434-8P 1/1/2018 $75,359.24 A Y
B5P10108SKD HC-B5MP-3C/M10876ANS/D-3434-8P 1/1/2018 $75,359.24 A Y
B5P10109S HC-B5MP-3C/M10876ANS/D3434-21P 1/1/2018 $73,208.69 A Y
B5P10130S HC-B5MP-3C/M10876ANS/D-3434-8P 1/1/2018 $75,359.24 A Y
B5P10200SKD HC-B5MP-3D/M10876ANSK[*1] 1/1/2018 $79,723.04 A Y
B5P10201SKD HC-B5MP-3D/M10876ANS/D-3434-8P 1/1/2018 $76,492.58 A Y
B5P10311S HC-B5MP-3F/M11276NS/E-7256-P 1/1/2018 $76,941.59 A Y
B5P10330S HC-B5MP-3F/M11276NS/E-7256-P 1/1/2018 $75,288.35 A Y
B5P10401KD HC-B5MP-3G/M10876ANSK[*4] 1/1/2018 $73,639.21 A Y
B5P10521S HC-B5MP-5BL/LM11692N/E-6955P 1/1/2018 $84,781.42 A Y
C2F00011 BHC-C2YF-1BF/F7663/SM14 1/1/2018 $13,202.29 A Y
C2F00020 BHC-C2YF-1BF/F7663DR/SM8 1/1/2018 $13,926.68 A Y
C2F00040 BHC-C2YF-1BF/F8052K 1/1/2018 $15,192.56 A Y
C2F00050 BHC-C2YF-1BF/F8459A-8R/SM4 1/1/2018 $13,202.29 A Y
C2F00051 BHC-C2YF-1BF/F8459A-8R 1/1/2018 $13,202.29 A Y
C2F00052 BHC-C2YF-1BF/F8459A-8R/SM4 1/1/2018 $13,202.29 A Y
C2F00060 BHC-C2YF-1BF/F8459A-8R[*1]/SM4 1/1/2018 $13,202.29 A Y
C2F00160 BHC-C2YF-2CHUF/FC8465-6/SM8 1/1/2018 $16,160.47 A Y
C2F00170 BHC-C2YF-2CHUF/FC8465B-6/SM8 1/1/2018 $18,444.60 A Y
C2F00180 BHC-C2YF-2CHUF/FC8475-6 1/1/2018 $16,204.65 A Y
C2F00240 BHC-C2YF-2CKUF/FC8459-8R/SM4 1/1/2018 $15,909.76 A Y
C2F00241 BHC-C2YF-2CKUF/FC8459-8R 1/1/2018 $15,866.60 A Y
C2F00251 BHC-C2YF-2CKUF/FC8459B-8R/SM4 1/1/2018 $17,640.07 A Y
C2F00290 BHC-C2YF-2CLKUF/FJC8459-8R/SM4 1/1/2018 $16,854.11 A Y
C2F00291 BHC-C2YF-2CLKUF/FJC8459-8R/SM4 1/1/2018 $16,854.11 A Y
C2F00292 BHC-C2YF-2CLKUF/FJC8459B-8R/S4 1/1/2018 $17,651.45 A Y
C2F00299 BHC-C2YF-2CLKUF/FJC8459B-8R/S4 1/1/2018 $17,651.45 A Y
C2F00318 HC-C2YF-1BF/F8459-4/SM14 1/1/2018 $13,328.68 A Y
C2F00319 HC-C2YF-1BF/F8459A-4/SM2 1/1/2018 $13,328.68 A Y
C2F00325 HC-C2YF-1BF/F8459A-4/SM2 1/1/2018 $13,328.68 A Y
C2F00355 HC-C2YF-1BF/F8468A-2[*1]/SM16 1/1/2018 $13,328.68 A Y
C2F00416 HC-C2YF-2CUF/FC8468-3/SM8 1/1/2018 $15,888.18 A Y
C2F00417 HC-C2YF-2CUF/FC8468B-3/SM8 1/1/2018 $17,852.76 A Y
C2F00418 HC-C2YF-2CUF/FC8468-3/SM8 1/1/2018 $15,888.18 A Y
C2F00419 HC-C2YF-2CUF/FC8468B-3/SM8 1/1/2018 $17,852.76 A Y
C2K00006 HC-C2YK-1BF/F7666A 1/1/2018 $13,045.09 A Y
C2K00007 HC-C2YK-1BF/F7666A 1/1/2018 $13,045.09 A Y
C2K00008 HC-C2YK-1BF/F7666A 1/1/2018 $13,045.09 A Y
C2K00025 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00026 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00027 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00028 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00036 HC-C2YK-1BF/F7666A[*1]/SM8 1/1/2018 $13,143.73 A Y
C2K00038 HC-C2YK-1BF/F7666A/SM8 1/1/2018 $13,143.73 A Y
C2K00040 HC-C2YK-1BF/F7666A/SM8 1/1/2018 $13,143.73 A Y
C2K00041 HC-C2YK-1BF/F7666A 1/1/2018 $13,045.09 A Y
C2K00042 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00043 HC-C2YK-1BF/F7666A-2/SM8 1/1/2018 $13,143.73 A Y
C2K00044 HC-C2YK-1BF/F7666A-2/SM19 1/1/2018 $13,143.73 A Y
C2K00045 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00046 HC-C2YK-1BF/F7666A-2/SM19 1/1/2018 $13,143.73 A Y
C2K00047 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00048 HC-C2YK-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2K00049 HC-C2YK-1BF/F7666A-2/SM8 1/1/2018 $13,143.73 A Y
C2K00050 HC-C2YK-1BF/F7666A-2/SM27 1/1/2018 $13,253.67 A Y
C2K00051 HC-C2YK-1BF/F7666A-2R 1/1/2018 $13,045.09 A Y
C2K00055 HC-C2YK-1BF/F7666A-3Q 1/1/2018 $13,613.29 A Y
C2K00061 HC-C2YK-1BF/F7666A-4/SM19 1/1/2018 $13,143.73 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 81



Hartzell Propeller Inc.

2018 Price List

C2K00080 HC-C2YK-1BF/F8467-7R 1/1/2018 $13,045.09 A Y
C2K00090 HC-C2YK-1BF/F8467-8R 1/1/2018 $13,045.09 A Y
C2K00100 HC-C2YK-1BF/F8468A-4 1/1/2018 $13,045.09 A Y
C2K00101 HC-C2YK-1BF/F8468A-4/SM8 1/1/2018 $13,143.73 A Y
C2K00120 HC-C2YK-1BF/F8475J-4/SM8 1/1/2018 $14,620.24 A Y
C2K00130 HC-C2YK-1BF/F8475D-4 1/1/2018 $12,596.07 A Y
C2K00140 HC-C2YK-1BF/F8475R 1/1/2018 $12,596.07 A Y
C2K00150 HC-C2YK-1BF/F8477 1/1/2018 $13,045.09 A Y
C2K00160 HC-C2YK-1BF/F8477-2 1/1/2018 $13,045.09 A Y
C2K00170 HC-C2YK-1BF/F8477-4/SM27 1/1/2018 $13,318.40 A Y
C2K00173 HC-C2YK-1BF/F8477-4/SM19 1/1/2018 $13,143.73 A Y
C2K00174 HC-C2YK-1BF/F8477-4 1/1/2018 $13,045.09 A Y
C2K00175 HC-C2YK-1BF/F8477-7 1/1/2018 $13,045.09 A Y
C2K00180 HC-C2YK-1BF/F8477-8R 1/1/2018 $13,045.09 A Y
C2K00185 HC-C2YK-1BF/F8477D-5R 1/1/2018 $13,762.28 A Y
C2K00210 HC-C2YK-1BLF/FL7666A-2 1/1/2018 $13,659.53 A Y
C2K00211 HC-C2YK-1BLF/FL7666A-2 1/1/2018 $13,659.53 A Y
C2K00220 HC-C2YK-1BLF/FL7666A-4Q 1/1/2018 $13,790.02 A Y
C2K00290 HC-C2YK-2CEUF/FC7666A/SM4 1/1/2018 $15,901.54 A Y
C2K00291 HC-C2YK-2CEUF/FC7666A/SM16/DPR 1/1/2018 $19,233.72 A Y
C2K00300 HC-C2YK-2CEUF/FC7666AB/SM4 1/1/2018 $16,882.80 A Y
C2K00370 HC-C2YK-2CGUF/FC7666A/SM16 1/1/2018 $16,100.87 A Y
C2K00371 HC-C2YK-2CGUF/FC7666A/SM16/DPR 1/1/2018 $19,420.72 A Y
C2K00372 HC-C2YK-2CGUF/FC7666AB/SM16/DP 1/1/2018 $20,138.95 A Y
C2K00410 HC-C2YK-2CLEUF/FIC7666A/SM4 1/1/2018 $17,887.77 A Y
C2K00411 HC-C2YK-2CLEUF/FIC7666A/SM16/D 1/1/2018 $19,926.33 A Y
C2K00430 HC-C2YK-2CLEUF/FIC7666AB/SM4 1/1/2018 $18,783.75 A Y
C2K00450 HC-C2YK-2CLGUF/FJC7666A/SM16/D 1/1/2018 $19,926.33 A Y
C2K00451 HC-C2YK-2CLGUF/FIC7666A/SM16 1/1/2018 $17,887.77 A Y
C2K00452 HC-C2YK-2CLGUF/FJC7666AB/SM16 1/1/2018 $20,644.55 A Y
C2K00470 HC-C2YK-2CUF/FC7666A 1/1/2018 $16,096.76 A Y
C2K00471 HC-C2YK-2CUF/FC7666A-2[*2] 1/1/2018 $16,096.76 A Y
C2K00479 HC-C2YK-2CUF/FC7666A-4[*1] 1/1/2018 $15,662.13 A Y
C2K00480 HC-C2YK-2CUF/FC7666A-4[*1] 1/1/2018 $16,096.76 A Y
C2K00485 HC-C2YK-2CUF/FC7666AB-4[*1] 1/1/2018 $16,929.04 A Y
C2K00487 HC-C2YK-2CUF/FC7666C-4 1/1/2018 $16,833.48 A Y
C2K00488 HC-C2YK-2CUF/FC7666CB-4 1/1/2018 $17,277.36 A Y
C2K00499 HC-C2YK-2CUF/FC8477A-4 1/1/2018 $16,096.76 A Y
C2K00500 HC-C2YK-2CUF/FC8477A-4 1/1/2018 $16,096.76 A Y
C2K00501 HC-C2YK-2CUF/FC8477AB-4[*1] 1/1/2018 $16,929.04 A Y
C2K00522 HC-C2YK-2RBF/F7666A-2 1/1/2018 $16,578.66 A Y
C2K00540 HC-C2YK-4AF/FC7666A-2/SM8 1/1/2018 $14,055.12 A Y
C2K00570 HC-C2YK-4BF/FC7666A-2 1/1/2018 $14,055.12 A Y
C2K00610 HC-C2YK-4CF/FC7666A-2/SM8 1/1/2018 $14,055.12 A Y
C2K00612 HC-C2YK-4CF/FC7666A-4Q/SM8 1/1/2018 $14,055.12 A Y
C2K00620 HC-C2YK-4CF/FC7666A-4/SM8 1/1/2018 $14,055.12 A Y
C2K00690 HC-C2YK-4F/FC7666A* 1 1/1/2018 $13,882.50 A Y
C2K00701 HC-C2YK-4F/FC7666A-2 1/1/2018 $13,882.50 A Y
C2K00702 HC-C2YK-4F/FC7666A-2/SM8 1/1/2018 $13,882.50 A Y
C2L00037 HC-C2YL-1BF/F7663-4 1/1/2018 $13,253.67 A Y
C2L00039 HC-C2YL-1BF/F7663-4 1/1/2018 $13,253.67 A Y
C2L00040 HC-C2YL-1BF/F7663-4/SM8 1/1/2018 $13,253.67 A Y
C2L00044 HC-C2YL-1BF/F7663A-4 1/1/2018 $13,253.67 A Y
C2L00050 HC-C2YL-1BF/F7663A-4/SM19 1/1/2018 $13,143.73 A Y
C2L00053 HC-C2YL-1BF/F7663A-6 1/1/2018 $13,253.67 A Y
C2L00100 HC-C2YL-4BF/FC7663-4/SM8 1/1/2018 $14,310.97 A Y
C2L00106 HC-C2YL-2CUF/FC7663-4[*2] 1/1/2018 $15,723.78 A Y
C2R00014 HC-C2YR-1BF/F7068-2/SM8 1/1/2018 $15,217.22 A Y
C2R00020 HC-C2YR-1BF/F7666A/SM4 1/1/2018 $13,143.73 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 82



Hartzell Propeller Inc.

2018 Price List

C2R00021 HC-C2YR-1BF/F7666A/SM19 1/1/2018 $13,253.67 A Y
C2R00021S HC-C2YR-1BF/F7666A/A-2298-2P 1/1/2018 $13,253.67 A Y
C2R00025 HC-C2YR-1BF/F7666A-2 1/1/2018 $13,045.09 A Y
C2R00027 HC-C2YR-1BF/F7666A-4 1/1/2018 $13,045.09 A Y
C2R00030 HC-C2YR-1BF/F8467-7R/SM4 1/1/2018 $13,143.73 A Y
C2R00038 HC-C2YR-1BF/F8468A-3R/SM19 1/1/2018 $13,143.73 A Y
C2R00040 HC-C2YR-1BF/F8468A-6R/SM19 1/1/2018 $13,143.73 A Y
C2R00050 HC-C2YR-1BF/F8475R 1/1/2018 $12,596.07 A Y
C2R00052 HC-C2YR-1BF/F8475R/SM19 1/1/2018 $12,908.43 A Y
C2R00054 HC-C2YR-1BF/F8475T+2/SM14 1/1/2018 $12,908.43 A Y
C2R00060 HC-C2YR-1BF/F8475D-4 1/1/2018 $12,596.07 A Y
C2R00061 HC-C2YR-1BF/F8477-4[*3]/SM19 1/1/2018 $13,143.73 A Y
C2R00065 HC-C2YR-1BF/F8477-4/SM16 1/1/2018 $13,245.45 A Y
C2R00070 HC-C2YR-1BF/F8477/SM19 1/1/2018 $13,143.73 A Y
C2R00074 HC-C2YR-1BF/F8477-4/SM16/C1576 1/1/2018 $16,626.95 A Y
C2R00077 HC-C2YR-1BF/F8477-4/SM16/C1576 1/1/2018 $16,345.42 A Y
C2R00081 HC-C2YR-1BF/F8477-4/SM19 1/1/2018 $13,143.73 A Y
C2R00083 HC-C2YR-1BF/F8477-4/SM16 1/1/2018 $13,584.52 A Y
C2R00100 HC-C2YR-2CEUF/FC7666A-2R/SM4 1/1/2018 $15,901.54 A Y
C2R00101 HC-C2YR-2CEUF/FC7666A-2R/SM4 1/1/2018 $15,901.54 A Y
C2R00120 HC-C2YR-2CEUFP/FC7497[*1]/SM4 1/1/2018 $15,901.54 A Y
C2R00140 HC-C2YR-2CLEUF/FJC7666A-2R/SM4 1/1/2018 $16,473.88 A Y
C2R00155 HC-C2YR-2CLEUFP/FIC7497[*1/SM4 1/1/2018 $16,473.88 A Y
C2R00190 HC-C2YR-4BF/FC7666A-2 1/1/2018 $14,055.12 A Y
C2R00227 HC-C2YR-4CF/FC7666A-2[*3]/SM8 1/1/2018 $14,189.72 A Y
C2R00229 HC-C2YR-4CF/FC7666A-2/SM8 1/1/2018 $14,189.72 A Y
C2R00230 HC-C2YR-4CF/FC7666A-2[*1]/SM8 1/1/2018 $14,189.72 A Y
C2R00260 HC-C2YR-4CF/FC8477A-4[*1]/SM8 1/1/2018 $14,189.72 A Y
C2R00275 HC-C2YR-4CF/FC8477A-8R 1/1/2018 $14,055.12 A Y
C2R00681 HC-C2YR-1BF/F7666A/SM4 1/1/2018 $13,143.73 A Y
C2R00682 HC-C2YR-1BF/F7666A 1/1/2018 $13,045.09 A Y
C2R10000 HC-C2YR-1BFP/F7496/SM8 1/1/2018 $13,855.78 A Y
C2R10002 HC-C2YR-1BFP/F7496/SM4 1/1/2018 $13,855.78 A Y
C2R10400 HC-C2YR-1BFP/F7496-2/SM8 1/1/2018 $13,855.78 A Y
C2R10402 HC-C2YR-1BFP/F7496-2 1/1/2018 $14,445.57 A Y
C2R10700 HC-C2YR-1BFP/F7497/SM8 1/1/2018 $13,584.52 A Y
C2R10706 HC-C2YR-1BFP/F7497[*1]/SM41 1/1/2018 $13,584.52 A Y
C2R10707 HC-C2YR-1BFP/F7497/SM8 1/1/2018 $13,584.52 A Y
C2R10712 HC-C2YR-1BFP/F7497/SM41 1/1/2018 $13,584.52 A Y
C2R10725 HC-C2YR-1BFP/F7497/SM8 1/1/2018 $13,584.52 A Y
C2R10727 HC-C2YR-1BFP/F7497-2/SM8 1/1/2018 $13,584.52 A Y
C2R10751 HC-C2YR-1BFP/F7497-2/SM8 1/1/2018 $13,584.52 A Y
C2R10800 HC-C2YR-1BFP/F8068D/SM8 1/1/2018 $13,855.78 A Y
C2R31051 HC-C2YR-1N/N7605/SM41 1/1/2018| $24,728.880 A Y
C2R31053 HC-C2YR-1N/N7605/SM8 1/1/2018| $24,728.880 A Y
C2R32000 HC-C2YR-1N/N7605-2/SM8 1/1/2018| $25,562.220 A Y
C2R33000 HC-C2YR-1N/N7605-4/SM8 1/1/2018| $25,562.220 A Y
C2R33001 HC-C2YR-1N/N7605-4/SM8 1/1/2018| $25,562.220 A Y
C3F00002 PHC-C3YF-1RF/F8068/SM7 1/1/2018 $18,245.24 A Y
C3F00005 PHC-C3YF-1RF/F8068/SM30 1/1/2018 $18,245.24 A Y
C3F00006 PHC-C3YF-1RF/F8068/SM7 1/1/2018 $18,245.24 A Y
C3F00008 PHC-C3YF-1RF/F8068/SM7 1/1/2018 $17,651.34 A Y
C3F00009 PHC-C3YF-1RF/F8068+2/SM7 1/1/2018 $18,608.97 A Y
C3FO0009KD PHC-C3YF-1RF/F8068+2/SM7 1/1/2018 $18,608.97 A Y
C3F00025 PHC-C3YF-1RF/F7691/SM7 1/1/2018 $18,608.97 A Y
C3F00027 PHC-C3YF-1RF/F7691/SM7 1/1/2018 $18,608.97 A Y
C3F00036 PHC-C3YF-1RF/F8068[*1]/SM7 1/1/2018 $18,245.24 A Y
C3F00050 HC-C3YF-1RF/F8468A-8R/SM30 1/1/2018 $17,530.10 A Y
C3F00051 HC-C3YF-1RF/F8468A-8R/SM5 1/1/2018 $17,530.10 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 83



Hartzell Propeller Inc.

2018 Price List

C3F00055 HC-C3YF-1RF/F9587C-155/SM7 1/1/2018 $20,657.81 A Y
C3F00110 PHC-C3YF-1RF/F7663-2R/SM7 1/1/2018 $17,535.23 A Y
C3F00110KD PHC-C3YF-1RF/F7663-2R/SM7 1/1/2018 $17,668.81 A Y
C3F00111 PHC-C3YF-1RF/F7663-4T/SM7 1/1/2018 $17,535.23 A Y
C3F00118-10 PHC-C3YF-1RF/F8468A-6R/+SPIN 1/1/2018 $19,364.18 A Y
C3F00118-11 PHC-C3YF-1RF/F8468AK-6R/+SPIN 1/1/2018 $22,089.11 A Y
C3F00118-11KD PHC-C3YF-1RF/F8468AK-6R/+SPIN 1/1/2018 $22,089.11 A Y
C3F00119 PHC-C3YF-1RF/F8468A-6R/SM30 1/1/2018 $17,532.15 A Y
C3F00120 PHC-C3YF-1RF/F8468A-6R/SM30 1/1/2018 $17,532.15 A Y
C3F00123 PHC-C3YF-1RF/F8468A-6R/SM7 1/1/2018 $17,529.07 A Y
C3F00128 PHC-C3YF-1RF/F8468A-8R/SM7 1/1/2018 $17,529.07 A Y
C3F00129 PHC-C3YF-1RF/F8468A-6R/SM6 1/1/2018 $17,513.66 A Y
C3F00130 PHC-C3YF-1RF/F7663D-2Q/SM7 1/1/2018 $18,974.76 A Y
C3F00130KD PHC-C3YF-1RF/F7663D-2Q/SM7 1/1/2018 $18,974.76 A Y
C3F00131 PHC-C3YF-1RF/F8468A-8R/SM30 1/1/2018 $17,532.15 A Y
C3F00170 PHC-C3YF-2UF/FC7663-2R/SM9 1/1/2018 $20,404.01 A Y
C3F00171 PHC-C3YF-2UF/FC7663-2R/SM9 1/1/2018 $20,404.01 A Y
C3F00181 PHC-C3YF-2UF/FC7663B-2R[*3]SM9 1/1/2018 $23,307.73 A Y
C3F00182 PHC-C3YF-2UF/FC7663B-2R[*3]SM9 1/1/2018 $23,307.73 A Y
C3F00190 PHC-C3YF-2UF/FC7663DB-2Q/SM9 1/1/2018 $23,106.34 A Y
C3F00190KD PHC-C3YF-2UF/FC7663DB-2Q/SM9 1/1/2018 $23,106.34 A Y
C3F00195 PHC-C3YF-2UF/FC7663D-2R/SM9 1/1/2018 $21,641.12 A Y
C3F00198 PHC-C3YF-2UF/FC7663DB-2R/SM9 1/1/2018 $27,062.21 A Y
C3F00250 PHC-C3YF-2UF/FC7382/SM6 1/1/2018 $22,609.03 A Y
C3F00270 PHC-C3YF-2UF/FC7693DFB/SM23 1/1/2018 $22,546.35 A Y
C3F00510 PHC-C3YF-2LKUF/FJC7663-2R/SM9 1/1/2018 $22,009.60 A Y
C3F00511 PHC-C3YF-2LKUF/FJC7663B-2R/SM9 1/1/2018 $22,563.42 A Y
C3F00550 PHC-C3YF-2LKUF/FJC7453/SM9 1/1/2018 $20,872.16 A Y
C3F00551 PHC-C3YF-2LKUF/FJC7453K/SM9 1/1/2018 $21,989.05 A Y
C3F00610 PHC-C3YF-2KUF/FC7663-2R/SM9 1/1/2018 $20,374.22 A Y
C3F00611 PHC-C3YF-2KUF/FC7663B-2R[*1] 1/1/2018 $21,218.82 A Y
C3F00650 PHC-C3YF-2KUF/FC7453/SM9 1/1/2018 $21,828.13 A Y
C3F00651 PHC-C3YF-2KUF/FC7453K/SM9 1/1/2018 $22,861.79 A Y
C3F00822 HC-C3YF-5F/FC8475FK-6/SM9 1/1/2018 $21,873.34 A Y
C3F00830 HC-C3YF-5F/FC7818K/SM9 1/1/2018 $28,689.77 A Y
C3F00830KD HC-C3YF-5F/FC7818K/SM9 1/1/2018 $28,689.77 A Y
C3F01905 PHC-C3YF-1RF/F8068[*5]/SM7 1/1/2018 $18,245.24 A Y
C3F07105 HC-C3YF-1RF/F8068/SM7 1/1/2018 $18,041.79 A Y
C3F08000 HC-C3YF-1RF/F8068+2/SM7 1/1/2018 $19,219.31 A Y
C3N00150 HC-C3YN-2LUF/FJC9684B-3R/SM13 1/1/2018 $28,292.76 A Y
C3N00210 HC-C3YN-5A/FC9587D-2/SM23 1/1/2018 $28,571.61 A Y
C3R00011 HC-C3YR-1A/7690E/SM6 1/1/2018| $48,016.500 A Y
C3R00015 HC-C3YR-1A/7690E/SM6 1/1/2018| $48,976.320 A Y
C3R00015KD HC-C3YR-1A/7690E/SM6 1/1/2018| $48,976.320 A Y
C3R00019 HC-C3YR-1RF/F7282/SM7 1/1/2018 $17,518.79 A Y
C3R00021 HC-C3YR-1RF/F7282 1/1/2018 $17,356.45 A Y
C3R00022 HC-C3YR-1RF/F7282 1/1/2018 $17,356.45 A Y
C3R00023 HC-C3YR-1RF/F7590 1/1/2018 $19,825.53 A Y
C3R00025 HC-C3YR-1RF/F7663R 1/1/2018 $17,356.45 A Y
C3R00025KD HC-C3YR-1RF/F7663R 1/1/2018 $17,356.45 A Y
C3R00026 HC-C3YR-1RF/F7282/SM6 1/1/2018 $17,967.81 A Y
C3R00027 HC-C3YR-1RF/F7590/SM7 1/1/2018 $19,855.33 A Y
C3R00027KD HC-C3YR-1RF/F7590/SM7 1/1/2018 $19,855.33 A Y
C3R00031 HC-C3YR-1RF/F7693F[*2]/SM23 1/1/2018 $17,729.43 A Y
C3R00033 HC-C3YR-1RF/F7693F[*1]/SM5 1/1/2018 $17,967.81 A Y
C3R00037 HC-C3YR-1RF/F7854/SM7 1/1/2018 $20,310.51 A Y
C3R00038 HC-C3YR-1RF/F7693F/SM18 1/1/2018 $17,729.43 A
C3R00044 HC-C3YR-1RF/F7693FB[*1]/SM6 1/1/2018 $21,432.54 A Y
C3R00047 HC-C3YR-1RF/F7693F[*2]/SM23 1/1/2018 $17,729.43 A Y
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 84



Hartzell Propeller Inc.

2018 Price List

C3R00049 HC-C3YR-1RF/F8468A/SM7 1/1/2018 $17,967.81 A Y
C3R00051 HC-C3YR-1RF/F8468A-2R 1/1/2018 $17,356.45 A Y
C3R00051KD HC-C3YR-1RF/F8468A-2R 1/1/2018 $17,356.45 A Y
C3R00052 HC-C3YR-1RF/F8468A-2R/SM7 1/1/2018 $17,967.81 A Y
C3R00052KD HC-C3YR-1RF/F8468A-2R/SM7 1/1/2018 $17,967.81 A Y
C3R00059 HC-C3YR-1RF/F8068/SM9 1/1/2018 $17,967.81 A Y
C3R00060 HC-C3YR-1RF/F8468A-6 1/1/2018 $17,396.52 A Y
C3R00062 HC-C3YR-1RF/F7663R/SM35 1/1/2018 $17,967.81 A Y
C3R00062KD HC-C3YR-1RF/F7663R/SM35 1/1/2018 $17,967.81 A Y
C3R00067 HC-C3YR-1RF/F8068[*3]/SM7 1/1/2018 $17,967.81 A Y
C3R00069 HC-C3YR-1RF/F8468A-6R 1/1/2018 $17,396.52 A Y
C3R00070 HC-C3YR-1RF/F8468A-6R 1/1/2018 $17,396.52 A Y
C3R00072KD HC-C3YR-1RF/F8468AB-6R/SM9 1/1/2018 $19,685.79 A Y
C3R00073 HC-C3YR-1RF/F8468A-6R/SM9 1/1/2018 $17,569.14 A Y
C3R00075 HC-C3YR-1RF/F8468A-6R 1/1/2018 $17,396.52 A Y
C3R00086 HC-C3YR-1RF/F8475R 1/1/2018 $17,127.32 A Y
C3R00100 HC-C3YR-1RF/F8483/SM7 1/1/2018 $20,279.69 A Y
C3R00100KD HC-C3YR-1RF/F8483/SM7 1/1/2018 $20,279.69 A Y
C3R00104 HC-C3YR-1RF/F8483 1/1/2018 $19,268.63 A Y
C3R00104KD HC-C3YR-1RF/F8483 1/1/2018 $19,268.63 A Y
C3R00105 HC-C3YR-1RF/F8483/SM5 1/1/2018 $20,279.69 A Y
C3R00181 HC-C3YR-2LEUF/FJC7663-5R/SM35 1/1/2018 $21,662.30 A Y
C3R00192 HC-C3YR-2UF/FC7451B 1/1/2018 $26,005.94 A Y
C3R00194 HC-C3YR-2UF/FC7693F/SM9 1/1/2018 $21,913.41 A Y
C3R00194KD HC-C3YR-2UF/FC7693F/SM9 1/1/2018 $21,913.41 A Y
C3R00197 HC-C3YR-2EUF/FC7663-5R/SM35 1/1/2018 $20,241.67 A Y
C3R00201 HC-C3YR-2LUF/FJC7451B 1/1/2018 $26,621.02 A Y
C3R00204 HC-C3YR-2LUF/FJC8468DB-14[*1] 1/1/2018 $22,646.65 A Y
C3R00212 HC-C3YR-2UF/FC8468-6R[*2] 1/1/2018 $20,286.88 A Y
C3R00214 HC-C3YR-2UF/FC8468B-6R 1/1/2018 $21,739.76 A Y
C3R00215 HC-C3YR-2UF/FC8468-6R 1/1/2018 $20,286.88 A Y
C3R00217 HC-C3YR-2UF/FC8468DB-14[*1] 1/1/2018 $23,128.94 A Y
C3R00217KD HC-C3YR-2UF/FC8468DB-14[*1] 1/1/2018 $23,128.94 A Y
C3R00219 HC-C3YR-2UF/FC8468-8R 1/1/2018 $20,286.88 A Y
C3R00220 HC-C3YR-2UF/FC8468-8R[*4]/SM9 1/1/2018 $20,286.88 A Y
C3R00222 HC-C3YR-2UF/FC8468D-6R 1/1/2018 $21,212.66 A Y
C3R00229 HC-C3YR-4BF/FC7663R/SM9 1/1/2018 $19,578.93 A Y
C3R00230 HC-C3YR-4BF/FC7663R/SM9 1/1/2018 $19,578.93 A Y
C3R00240 HC-C3YR-4BF/FC6890/SM9 1/1/2018 $21,508.58 A Y
C3R00275 HC-C3YR-4A/C7690E/SM6 1/1/2018| $58,049.220 A Y
C3R00902 HC-C3YR-1RF/F7693F/SM5 1/1/2018 $17,967.81 A Y
C3R00970 HC-C3YR-1RF/F7590[*1]/SM7 1/1/2018 $21,962.73 A Y
C3R01150 HC-C3YR-1RF/F7663R[*3] 1/1/2018 $17,356.45 A Y
C3R01150KD HC-C3YR-1RF/F7663R[*3] 1/1/2018 $17,356.45 A Y
C3R01501 HC-C3YR-1RF/F7693F+2[*1]/SM6 1/1/2018 $17,967.81 A Y
C3R02002KD HC-C3YR-1RF/F8068[*1]/SM7 1/1/2018 $17,967.81 A Y
C3R02003 HC-C3YR-1RF/F8068[*1]/SM7 1/1/2018 $17,967.81 A Y
C3R02004 HC-C3YR-1RF/F8068[*4]/SM6 1/1/2018 $17,967.81 A Y
C3R09400 HC-C3YR-2UF/FC7693DFB+2/SM30 1/1/2018 $20,286.88 A Y
C3R09400KD HC-C3YR-2UF/FC7693DFB+2/SM30 1/1/2018 $20,286.88 A Y
C3R21000 HC-C3YR-1N/N7605/SM9 1/1/2018| $35,215.500 A Y
C4F00005 HC-C4YF-1E/F7063Q/SM20 1/1/2018 $36,461.76 A Y
C4F00020 HC-C4YF-2E/FC7063Q/SM20 1/1/2018 $36,699.11 A Y
C4R00039 HC-C4YR-2/FC7663DB-6Q[*1]/SM20 1/1/2018 $40,114.52 A Y
C4R00055 HC-C4YR-2L/FJC7663DB-6Q/SM20 1/1/2018 $40,137.28 A Y
D2210001 HC-D2MV20-3/LMV8433N 1/1/2018 $33,418.55 A Y
D2210014 HC-D2MV20-7/MV8433N/LESS HYD. 1/1/2018 $31,034.75 A Y
D2210028 HC-D2MV20-8/MV8433N-6/LESS HYD 1/1/2018 $31,034.75 A Y
D4N00002 HC-D4N-2A/D9512A 1/1/2018 $49,043.95 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 85



Hartzell Propeller Inc.

2018 Price List

D4N00009S HC-D4N-2DA/D9512AF/D-630-1P 1/1/2018 $51,913.76 A Y
D4N00017SKD HC-D4N-2E/D9512AK/D-630-1P 1/1/2018 $49,663.54 A Y
D4N00023S HC-D4N-2F/D9512AK/D-630-1P 1/1/2018 $49,317.27 A Y
D4N00129 HC-D4N-3A/D9383K/BULKHEAD/DEIC 1/1/2018 $53,706.75 A Y
D4N00129KD HC-D4N-3A/D9383K/BULKHEAD/DEIC 1/1/2018 $53,706.75 A Y
D4N00132KD HC-D4N-3A/D9383K 1/1/2018 $48,829.21 A Y
D4N00132S HC-D4N-3A/D9383K/D-630-7P 1/1/2018 $54,237.97 A Y
D4N00136 HC-D4N-3A/D9515K/BULKHEAD 1/1/2018 $54,648.97 A Y
D4AN00136KD HC-D4N-3A/D9515K/BULKHEAD 1/1/2018 $54,648.97 A Y
D4N00136S HC-D4N-3A/D9515K/D-630-7P 1/1/2018 $56,520.04 A Y
D4N00136SKD HC-D4N-3A/D9515K/D-630-7P 1/1/2018 $56,520.04 A Y
D4N00148KD HC-D4N-3C/D9290K/BULKHEAD/DEIC 1/1/2018 $55,949.78 A Y
D4N00148S HC-D4N-3C/D9290K/D-630-7P 1/1/2018 $58,669.57 A Y
D4N00160SKD HC-D4N-3P/D9511F/D-630-P 1/1/2018 $54,741.44 A Y
D4N00163S HC-D4N-3P/D9511F/D-630-P 1/1/2018 $55,465.83 A Y
D4AN00186SKD HC-D4N-3N/D9511FK/D-630-P 1/1/2018 $58,195.90 A Y
D4N00192S HC-D4N-3R/D9511FK[*2]/D-630-3P 1/1/2018 $60,108.07 A Y
D4N00311S HC-D4N-5C/D9327K/D-5319 1/1/2018 $58,997.35 A Y
D4N00600S HC-D4N-2DA/D9512AF/D-630-9P 1/1/2018 $50,619.11 A Y
D4N00700S HC-D4N-2DA/D9512AFK/D-630-9P 1/1/2018 $51,913.76 A Y
D4N00700SKD HC-D4N-2DA/D9512AFK/D-630-9P 1/1/2018 $51,913.76 A Y
D4N020025S HC-D4N-3C/D9510SK/D-630-11P 1/1/2018 $58,686.01 A Y
D4N02002SKD HC-D4N-3C/D9510SK/D-630-11P 1/1/2018 $58,686.01 A Y
E2L00059 HC-E2YL-2BLSF/FJ7663-4/SM14 1/1/2018 $19,636.58 A Y
E2L00060 HC-E2YL-2BLSF/FJ7663D-4/SM8 1/1/2018 $19,636.58 A Y
E2L00080 HC-E2YL-2BSF/F7663-4/SM3 1/1/2018 $18,652.15 A Y
E2L00083 HC-E2YL-2BSF/F7663-4/SM8 1/1/2018 $18,638.80 A Y
E2L00090 HC-E2YL-2BSF/F7663D-4/SM8 1/1/2018 $19,373.46 A Y
E2L00095 HC-E2YL-2BSF/F7663-6Q/SM8 1/1/2018 $18,906.97 A Y
E2R00020 HC-E2YR-1BF/F7666A/SM4 1/1/2018 $14,279.11 A Y
E2R00030 HC-E2YR-1BF/F7666A-2/SM4 1/1/2018 $13,713.99 A Y
E2R00041 HC-E2YR-1BF/F8467-7R/SM4 1/1/2018 $14,279.11 A Y
E2R00042 HC-E2YR-1BF/F8467-7R/SM4 1/1/2018 $14,279.11 A Y
E2R00046 HC-E2YR-1BF/F8467-7R 1/1/2018 $14,197.94 A Y
E2R00065 HC-E2YR-1BLF/FL7666A-2/SM19 1/1/2018 $14,768.20 A Y
E2R00125 HC-E2YR-2BTF/FC8475-4 1/1/2018 $18,423.02 A Y
E2R00170 HC-E2YR-2RBSF/F8465-7R/SM4 1/1/2018 $18,423.02 A Y
E2R00180 HC-E2YR-2RBSF/F8465B-7R/SM4 1/1/2018 $19,377.57 A Y
E2R00181 HC-E2YR-2RBSF/F8465B-7R[*1] 1/1/2018 $19,414.56 A Y
E3R00005 HC-E3YR-1RF/F8068+2/SM9 1/1/2018 $19,673.46 A Y
E3R00008 HC-E3YR-1RF/F7673DR/SM25 1/1/2018 $19,673.46 A Y
E3R00011 HC-E3YR-1RF/F8468A-10Q/SM9 1/1/2018 $18,873.04 A Y
E3R00013 HC-E3YR-1RF/F8468-10R/SM9 1/1/2018 $18,494.92 A Y
E3R00016 HC-E3YR-1RF/F7392/SM7 1/1/2018 $18,931.61 A Y
E3R00017 HC-E3YR-1RF/F7392/SM7 1/1/2018 $18,931.61 A Y
E3R00019 HC-E3YR-1RF/F7590/SM23 1/1/2018 $20,853.03 A Y
E3R00120 HC-E3YR-2ALTF/FJC8468-6R/SM11 1/1/2018 $23,836.49 A Y
E3R00120KD HC-E3YR-2ALTF/FJC8468-6R/SM11 1/1/2018 $23,836.49 A Y
E3R00121 HC-E3YR-2ALTF/FJC8468-6R/SM11 1/1/2018 $23,709.08 A Y
E3R00121KD HC-E3YR-2ALTF/FJC8468-6R/SM11 1/1/2018 $23,709.08 A Y
E3R00143 HC-E3YR-2ALTF/FJC8468B-6R/SM11 1/1/2018 $24,653.36 A Y
E3R00144 HC-E3YR-2ALTF/FJC8468B-6R/SM11 1/1/2018 $24,653.36 A Y
E3R00155 HC-E3YR-2ALTF/FLC7468[*1] 1/1/2018 $24,800.69 A Y
E3R00170 HC-E3YR-2ATF/FC7663-2R/SM5 1/1/2018 $23,008.73 A Y
E3R00185 HC-E3YR-2ATF/FC8468-6R/SM11 1/1/2018 $22,871.04 A Y
E3R00190 HC-E3YR-2ATF/FC8468-6R/SM11 1/1/2018 $22,871.04 A Y
E3R00190KD HC-E3YR-2ATF/FC8468-6R/SM11 1/1/2018 $22,871.04 A Y
E3R00191 HC-E3YR-2ATF/FC8468-6R/SM11 1/1/2018 $22,871.04 A Y
E3R00211 HC-E3YR-2ATF/FC8468B-6R*1/SM11 1/1/2018 $24,118.43 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 86



2018 Price List

Hartzell Propeller Inc.

E3R00212 HC-E3YR-2ATF/FC8468B-6R[*1] 1/1/2018 $24,034.17 A Y
E3R00213 HC-E3YR-2ATF/FC8468B-6R*1/SM11 1/1/2018 $24,118.43 A Y
E4A00001 HC-E4A-2/E9612 1/1/2018 $50,579.04 A Y
E4A00001S HC-E4A-2/E9612/D-5710-2P 1/1/2018 $56,211.79 A Y
E4A00002 HC-E4A-2/E9612/BULKHEAD 1/1/2018 $51,629.14 A Y
E4A00003S HC-E4A-2A/E9612K/D-5710-3P 1/1/2018 $57,159.15 A Y
E4A00015S HC-E4A-2/E9673S/D-5710-2 1/1/2018 $58,183.57 A Y
E4A00110 HC-E4A-3D/E10477K 1/1/2018 $63,499.85 A Y
E4A00110KD HC-E4A-3D/E10477K 1/1/2018 $63,499.85 A Y
E4A00111S HC-E4A-3D/E10477K/D-5500-1P 1/1/2018 $74,658.50 A Y
E4A00112 HC-E4A-3D/E10477SK/BULK/DE-ICE 1/1/2018 $69,451.13 A Y
E4A00112S HC-E4A-3D/E10477SK/D-5500-1P 1/1/2018 $76,620.00 A Y
E4A00112SKD HC-E4A-3D/E10477SK/D-5500-1P 1/1/2018 $76,620.00 A Y
E4A00114S HC-E4A-3D/E10477SK/D-5500-1P 1/1/2018 $76,620.00 A Y
E4A00116S HC-E4A-3D/E10477SK/D-5500-1F 1/1/2018 $76,620.00 A Y
E4A00116SKD HC-E4A-3D/E10477SK/D-5500-1F 1/1/2018 $76,620.00 A Y
E4A00132 HC-E4A-3J/E10950PCB/BULK/DEICE 1/1/2018| $133,338.480 A Y
E4A00132KD HC-E4A-3J/E10950PCB/BULK/DEICE 1/1/2018| $133,338.480 A Y
E4A00132S HC-E4A-3J/E10950PCB/D-5547-P 1/1/2018| $135,637.560 A Y
E4A00132SKD HC-E4A-3J/E10950PCB/D-5547-P 1/1/2018| $135,637.560 A Y
E4A00133 HC-E4A-3J/E10950PCK/BULK/DEICE 1/1/2018| $133,338.480 A Y
E4NO0001 HC-E4N-2/E9512CB-1 1/1/2018 $49,389.19 A Y
E4NO0002SKD HC-E4N-2/E9512CB-1/D-630-1P 1/1/2018 $56,735.82 A Y
E4N00013S HC-E4N-2C/E9512CB-1/D-630-1 1/1/2018 $61,632.88 A Y
E4N00019S HC-E4N-2C/E9512CB-1*2/D-630-1P 1/1/2018 $63,889.27 A Y
E4N00020 HC-E4N-3/E9083SK 1/1/2018 $60,214.93 A Y
E4AN00020S HC-E4N-3/E9083SK/D-630-1P 1/1/2018 $64,459.54 A Y
E4N00020SKD HC-E4N-3/E9083SK/D-630-1P 1/1/2018 $64,459.54 A Y
E4N00021 HC-E4N-3/E9083SK/BULK/DEICE 1/1/2018 $61,632.88 A Y
E4N00021KD HC-E4N-3/E9083SK/BULK/DEICE 1/1/2018 $61,632.88 A Y
E4N00025S HC-E4N-3/E9083SK/104553P 1/1/2018 $64,459.54 A Y
E4N00025SKD HC-E4N-3/E9083SK/104553P 1/1/2018 $64,459.54 A Y
E4N00080 HC-E4N-3G/D9390SK-1R 1/1/2018 $53,200.19 A Y
E4N00080S HC-E4AN-3G/D9390SK-1R/D-630-2P 1/1/2018 $61,055.43 A Y
E4N00082 HC-E4N-3G/D9390SK-1R/BULK/DEI 1/1/2018 $59,223.40 A Y
E4NO0087SKD HC-E4N-31/E8501B-3.5[*1]630-1P 1/1/2018 $59,718.65 A Y
E4N00101S HC-E4N-3M/E8190K/E-6963P 1/1/2018| $121,008.720 A Y
E4NO0131-11 HC-E4N-3N/D8990K/D630-4P/DEICE 1/1/2018 $57,996.56 A Y
E4N00133S HC-E4N-3N/D8990SB/D-5710-4P 1/1/2018 $59,113.45 A Y
E4N00133SKD HC-E4N-3N/D8990SB/D-5710-4P 1/1/2018 $59,113.45 A Y
E4AN00135S HC-E4N-3N/D8990SK/D-630-4P 1/1/2018 $55,870.66 A Y
E4N00136 HC-E4N-3N/D8990SK/BULK/DE-ICE 1/1/2018 $59,005.57 A Y
E4N00136S HC-E4N-3N/D8990SK/D-630-4P 1/1/2018 $61,055.43 A Y
E4NO00136SKD HC-E4N-3N/D8990SK/D-630-4P 1/1/2018 $61,055.43 A Y
E4N00137S HC-E4N-3N/D8990SB[*1/D-5710-4P 1/1/2018 $59,113.45 A Y
E4N00138S HC-E4N-3N/D8990SK[*2]/D-630-4P 1/1/2018 $61,055.43 A Y
E4N00162S HC-E4N-3P/D9511FSB/D630-8P/KIT 1/1/2018 $58,926.45 A Y
E4N00163S HC-E4N-3P/D9511FSB/D-630-8P 1/1/2018 $57,468.43 A Y
E4N00166S HC-E4N-3P/D9511FSB/D630-6P/KIT 1/1/2018 $58,926.45 A Y
E4N00167S HC-E4N-3P/D9511FSB/D-630-6P 1/1/2018 $57,468.43 A Y
E4AN00169S HC-E4N-3P/D9900/D-630-3P 1/1/2018 $53,059.42 A
E4N00171 HC-E4N-3Q/E8501B-3.5[*1]/BULK 1/1/2018 $56,776.92 A Y
E4N00171KD HC-E4N-3Q/E8501B-3.5[*1]/BULK 1/1/2018 $56,776.92 A Y
E4N00171S HC-E4N-3Q/E8501B-3.5[*1]630-5P 1/1/2018 $57,550.63 A Y
E4N00175S HC-E4N-3P/D9900K/D-630-3P 1/1/2018 $57,772.57 A
E4N00210S HC-E4N-5A/E8501K/D-5319-P 1/1/2018 $73,889.93 A Y
E4N00520S HC-E4N-3N/D8292B/D-630-1P 1/1/2018 $55,968.28 A Y
E4N00530S HC-E4N-3N/D8292-2/D-630-1P 1/1/2018 $55,968.28 A Y
E4NO0530SKD HC-E4N-3N/D8292-2/D-630-1P 1/1/2018 $55,968.28 A Y
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 87



Hartzell Propeller Inc.
2018 Price List

E4N00550S HC-E4N-3N/D8292B-2/D-630-1P 1/1/2018 $55,968.28 A Y
E4NO0800S HC-E4N-3PY/D9511FSB/D-630-6P 1/1/2018 $60,578.67 A Y
E4N00802S HC-E4N-3PY/D9511FSB/630-6P/KIT 1/1/2018 $62,287.40 A Y
E4NO0803S HC-E4N-3PY/D9511FSB/D-630-8P 1/1/2018 $60,578.67 A Y
E4N00804S HC-E4N-3PY/D9511FSB/630-8P/KIT 1/1/2018 $62,287.40 A Y
E4N10100S HC-E4N-3A/NC9208K/D-630-2P 1/1/2018| $104,818.000 A Y
E4P00850S HC-E4P-3K/E10479SK/103784P 1/1/2018 $75,257.53 A Y
E5A00750SKD HC-E5A-2/E9193K/E-7480 1/1/2018( $242,594.760 A Y
E5N00040 HC-ES5N-3A/HE8218[*1] 1/1/2018 $91,571.87 A Y
ES5NO0040KD HC-ES5N-3A/HE8218[*1] 1/1/2018 $91,571.87 A Y
E5N00130 HC-ESN-3AL/LE8218[*1] 1/1/2018 $91,922.25 A Y
ES5N00130KD HC-ESN-3AL/LE8218[*1] 1/1/2018 $91,922.25 A Y
E5N00500S HC-E5N-3C/NC8834K/104552P 1/1/2018| $107,281.560 A
E5N00501S HC-E5N-3C/NC8834K[*1]/105180P 1/1/2018| $107,281.560 A Y
E6C00058 HDE6C-3B COMP.LESS TUBE & DOME 1/1/2018| $315,949.08 A Y Y
F2L00027 HC-F2YL-1F/F7663-3/SM4 1/1/2018 $14,603.80 A Y
F2L00030 HC-F2YL-1F/F7663-4/SM8 1/1/2018 $14,613.05 A Y
F2L00064 HC-F2YL-1F/F7663D-4/SM19 1/1/2018 $14,279.11 A Y
F2L00070 HC-F2YL-1F/F8468D-14/SM31 1/1/2018 $15,125.77 A Y
F2L00100 HC-F2YL-2UF/FC7663D-3/SM4 1/1/2018 $18,073.67 A Y
F2R00031 HC-F2YR-1F/F7666A-2/SM4 1/1/2018 $14,870.95 A Y
F2R00034 HC-F2YR-1F/F7666A-2 1/1/2018 $13,827.01 A Y
F2R00040 HC-F2YR-1F/F7666A-4/SM8 1/1/2018 $14,870.95 A Y
F2R00041 HC-F2YR-1F/F7666A-3R/SM14 1/1/2018 $14,870.95 A Y
F2R00060 HC-F2YR-1F/F8468A-4R/SM4 1/1/2018 $14,870.95 A Y
F2R00070 HC-F2YR-1F/F7068-2/SM31 1/1/2018 $16,462.55 A Y
F2R00077 HC-F2YR-2LUF/FJC7497D/SM8 1/1/2018 $17,881.61 A Y
F2R00078 HC-F2YR-2UF/FC7497D/SM8 1/1/2018 $17,870.23 A Y
F2R10700 HC-F2YR-1FP/F7497/SM8 1/1/2018 $15,299.42 A Y
F2R10801 HC-F2YR-1FP/F7497-2/SM4 1/1/2018 $15,299.42 A Y
F3R00005 HC-F3YR-1RF/F8468A-2R/SM23 1/1/2018 $19,971.44 A Y
F3R00006 HC-F3YR-1RF/F8468A-2R/SM23 1/1/2018 $19,051.82 A Y
F3R00007 HC-F3YR-1RF/F8468A-8Q 1/1/2018 $19,607.70 A Y
F3R00012 HC-F3YR-1RF/F8468A-2R/SM23 1/1/2018 $19,971.44 A Y
F3R00030 HC-F3YR-1ARF/F7693F[*2]/SM6 1/1/2018 $18,429.16 A Y
F3R00035 HC-F3YR-1ARF/F7693DF/SM7 1/1/2018 $19,139.16 A Y
F3R00040 HC-F3YR-1ARF/F8468D-14/SM9 1/1/2018 $19,522.42 A Y
F3R00050 HC-F3YR-2UF/FC7479-2R/SM9 1/1/2018 $22,138.43 A Y
F3R00060 HC-F3YR-2UF/FC7479B-2R/SM9 1/1/2018 $23,627.28 A Y
F3RO0060KD HC-F3YR-2UF/FC7479B-2R/SM9 1/1/2018 $23,627.28 A Y
F3R00500 HC-F3YR-1ARF/F7693F+2[*1]/SM23 1/1/2018 $18,429.16 A Y
F3R00550 HC-F3YR-1ARF/F7693FK+2[*1/SM23 1/1/2018 $18,429.16 A Y
F3R00600 HC-F3YR-1ARF/F8068[*4]/SM23 1/1/2018 $18,429.16 A Y
F3R00601 HC-F3YR-1ARF/F8068[*4]/SM35 1/1/2018 $18,429.16 A Y
F3R00625 HC-F3YR-1ARF/F8068[*6]/SM23 1/1/2018 $18,429.16 A Y
F3R00650 HC-F3YR-1ARF/F8068K[*2]/SM23 1/1/2018 $18,429.16 A Y
FAR00010 HC-FAYR-1/F7663DB-6Q 1/1/2018 $30,199.14 A Y
G2F00011 BHC-G2YF-1BF/F8468A-2R/SM4 1/1/2018 $15,568.63 A Y
G2F00013 BHC-G2YF-1BF/F8468A-2R/SM4 1/1/2018 $15,568.63 A Y
G3F00006 PHC-G3YF-1RF/F7691/SM25 1/1/2018 $18,738.44 A Y
G3F00008 PHC-G3YF-1RF/F7691/SM25 1/1/2018 $18,738.44 A Y
G3F00013 PHC-G3YF-1RF/F8468A-2R/SM25 1/1/2018 $17,668.81 A Y
G3F00025 PHC-G3YF-1RF/F8068/SM25 1/1/2018 $17,668.81 A Y
G3F00029KD EHC-G3YF-2UF/FC7663-4T 1/1/2018 $21,461.31 A Y
G3F00051 PHC-G3YF-2UF/FC7663D-2R/SM9 1/1/2018 $21,382.19 A Y
G3F00060 PHC-G3YF-2UF/FC7663DB-2R/SM9 1/1/2018 $27,301.62 A Y
G3F00062KD EHC-G3YF-2UF/FC7663D-4T/SM9 1/1/2018 $22,236.05 A Y
G3F00065 EHC-G3YF-2UF/FC7663DB-4T/SM9 1/1/2018 $24,528.40 A Y
G3F00505 HC-G3YF-1RF/F8068/SM7 1/1/2018 $18,041.79 A Y
Original
(1) Sales of DA Items are restricted to select operators and repair stations. Effectivity Date 1/2/2018
(2) Reference for Line Replaceable Units Page 88



Hartzell Propeller Inc.

2018 Price List

G3F00675 HC-G3YF-1RF/F8068+2/SM7 1/1/2018 $19,219.31 A Y
G3F00800 PHC-G3YF-1RF/F8068/SM7 1/1/2018 $18,091.11 A Y
G3F00850 PHC-G3YF-1RF/F8068+2/SM7 1/1/2018 $19,267.60 A Y
H3F00073 PHC-H3YF-2LUF/FLC7693DF/SM9 1/1/2018 $24,049.58 A Y
H3F00100 HC-H3YF-2UF/FC7693DF/SM17 1/1/2018 $22,941.94 A Y
H3F00310 HC-H3YF-1RF/F7693DF/SM29 1/1/2018 $19,284.04 A Y
H3F00310KD HC-H3YF-1RF/F7693DF/SM29 1/1/2018 $19,284.04 A Y
H3F00311 HC-H3YF-1RF/F7693DF/SM35 1/1/2018 $19,294.31 A Y
H3F00320 HC-H3YF-1RF/F7693DF[*1]/SM35 1/1/2018 $19,294.31 A Y
H3F00400 HC-H3YF-1RF/F7693DFK/SM35 1/1/2018 $19,678.60 A Y
H3F00410 HC-H3YF-1RF/F7693DFK[*1]/SM35 1/1/2018 $19,678.60 A Y
H3F00470 HC-H3YF-1RF/F8068/SM44 1/1/2018 $19,284.04 A Y
12R00020 HC-12YR-1BF/F8074K/SM19 1/1/2018 $17,734.60 A Y
13F00020 PHC-I3YF-2AL/FLC7663DF-2R/SM9 1/1/2018 $23,673.52 A Y
13R00007 HC-I3YR-1E/7890K/D-6753-1P/SM7 1/1/2018| $54,460.860 A Y
I3R00045KD HC-13YR-2LUF/FIC7854 1/1/2018 $22,455.53 A Y
13R00110 HC-13YR-1RF/F7663DR/SM25 1/1/2018 $19,491.59 A Y
I3R00110KD HC-13YR-1RF/F7663DR/SM25 1/1/2018 $19,491.59 A Y
13R00111 HC-13YR-1RF/F7663DR/SM25 1/1/2018 $19,491.59 A Y
J2F00006 BHC-J2YF-1BF/F7663/SM8 1/1/2018 $14,151.70 A Y
J2F00008 BHC-J2YF-1BF/F8459A-11Q/SM19 1/1/2018 $14,567.84 A Y
J2F00014 BHC-J2YF-1BF/F7694/SM19 1/1/2018 $14,095.19 A Y
J2F00015 BHC-J2YF-1BF/F7694-4T/SM8 1/1/2018 $14,095.19 A Y
J2F00800 BHC-J2YF-1BF/F7694[*2]/SM19 1/1/2018 $14,095.19 A Y
J3F00004 PHC-J3YF-1RF/F7663D-2Q/SM25 1/1/2018 $19,848.14 A Y
J3F00010 PHC-J3YF-1RF/F7663A-2R[*2]/SM7 1/1/2018 $18,326.41 A Y
J3F00011 PHC-J3YF-1RF/F8468A-8R/SM9 1/1/2018 $18,322.30 A Y
J3F00012 PHC-J3YF-1RF/F8468A-6R/SM9 1/1/2018 $18,322.30 A Y
J3F00015 PHC-J3YF-1RF/F8468A-6R/SM7 1/1/2018 $18,318.19 A Y
J3F00019 PHC-J3YF-1RF/F7691/SM7 1/1/2018 $19,615.92 A Y
J3F00020 PHC-J3YF-1RF/F7691/SM9 1/1/2018 $19,615.92 A Y
J3F00022 PHC-J3YF-1RF/F7691/SM7 1/1/2018 $19,615.92 A Y
J3F00023 PHC-J3YF-1RF/F7691/SM36 1/1/2018 $19,615.92 A Y
J3F00023KD PHC-J3YF-1RF/F7691/SM36 1/1/2018 $19,615.92 A Y
J3F00024 PHC-J3YF-1RF/F7691D/SM29 1/1/2018 $20,065.97 A Y
J3F00026 PHC-J3YF-1RF/F7392-1/SM7 1/1/2018 $18,452.79 A Y
J3F00028 PHC-J3YF-1RF/F7691D-1/SM35 1/1/2018 $19,498.79 A Y
J3F00029 PHC-J3YF-1RF/F7694/SM7 1/1/2018 $18,421.97 A Y
J3F00029KD PHC-J3YF-1RF/F7694/SM7 1/1/2018 $18,421.97 A Y
J3F00029S PHC-J3YF-1RF/F7694B/SM7/DE-ICE 1/1/2018 $24,201.65 A Y
J3F00029SKD PHC-J3YF-1RF/F7694B/SM7/DE-ICE 1/1/2018 $24,201.65 A Y
J3F00031 PHC-J3YF-1RF/F7693DF/SM35 1/1/2018 $19,353.91 A Y
J3F00040 PHC-J3YF-1RF/F8068/SM7 1/1/2018 $19,010.72 A Y
J3F00051 PHC-J3YF-1RF/F7693DF[*2]/SM7 1/1/2018 $19,056.96 A Y
J3FO0051KD PHC-J3YF-1RF/F7693DF[*2]/SM7 1/1/2018 $19,056.96 A Y
J3F00052 PHC-J3YF-1RF/F7693DFB/SM7 1/1/2018 $19,989.93 A Y
J3F00056 PHC-J3YF-1RF/F7693DF-2[*1]/S40 1/1/2018 $20,354.69 A Y
J3F00059-11 PHC-J3YF-2UF/FC7663K-2R/+SPIN 1/1/2018 $25,453.15 A Y
J3F00059-81 PHC-J3YF-2UF/FC7663K-2R/+SPIN 1/1/2018 $25,453.15 A Y
J3F00060 PHC-J3YF-2UF/FC7663-2R/SM9 1/1/2018 $21,190.05 A Y
J3F00062 PHC-J3YF-2UF/FC7663B-2R[*3]SM9 1/1/2018 $23,262.52 A Y
J3F00063 PHC-J3YF-1RF/F7693DFB[*2]/SM7 1/1/2018 $19,284.04 A Y
J3F00070 PHC-J3YF-2UF/FC7663DR/SM9 1/1/2018 $22,336.74 A Y
J3F00072 PHC-J3YF-2UF/FC7663D-2R/SM9 1/1/2018 $22,336.74 A Y
J3F00075 PHC-J3YF-2UF/FC7663DB-2R/SM9 1/1/2018 $29,672.06 A Y
J3F00084 PHC-J3YF-2UF/FC7663DRB[*1]/SM9 1/1/2018 $23,726.95 A Y
J3F00084KD PHC-J3YF-2UF/FC7663DRB[*1]/SM9 1/1/2018 $23,726.95 A Y
J3FO0085KD PHC-J3YF-2UF/FC7663DRK 1/1/2018 $23,726.95 A Y
J3F00088 PHC-J3YF-2UF/FC7663K-2R/SM9 1/1/2018 $22,900.84 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 89



2018 Price List

Hartzell Propeller Inc.

J3F00350 PHC-J3YF-1RF/F7694B/SM7 1/1/2018 $19,122.72 A Y
J3F00400 HC-J3YF-1RF/F7391D-3/SM7 1/1/2018 $19,492.62 A Y
J3F00402 HC-J3YF-1RF/F7391D-3[*1]/SM7 1/1/2018 $19,567.63 A Y
J3F00677 PHC-J3YF-1MF/F7392-1/SM7 1/1/2018 $19,123.75 A Y
J3F07505 PHC-J3YF-1RF/F7498/SM40 1/1/2018 $19,932.39 A Y
J3F07505KD PHC-J3YF-1RF/F7498/SM40 1/1/2018 $19,932.39 A Y
J3F07506 PHC-J3YF-1RF/F7498[*1]/SM40 1/1/2018 $18,840.16 A Y
J3F07506KD PHC-J3YF-1RF/F7498[*1]/SM40 1/1/2018 $18,840.16 A Y
J3F07507 PHC-J3YF-1RF/F7498[*1]/SM40 1/1/2018 $18,840.16 A Y
J3F07550 PHC-J3YF-1RF/F7498B[*1]/SM40 1/1/2018 $19,932.39 A Y
J3F07551 PHC-J3YF-1RF/F7498B[*1]/SM40 1/1/2018 $19,932.39 A Y
J3F07551KD PHC-J3YF-1RF/F7498B[*1]/SM40 1/1/2018 $19,932.39 A Y
J3F07701 PHC-J3YF-1RF/F7691/SM9 1/1/2018 $19,615.92 A Y
J3F09031 PHC-J3YF-1RF/F7693F[*2]/SM7 1/1/2018 $19,628.25 A Y
J3F09050 PHC-J3YF-1RF/F7693F+2/SM9 1/1/2018 $19,628.25 A Y
J3F09150AFM PHC-J3YF-1RF/F7693DF[*5]/SM7 1/1/2018 $20,434.84 A Y
J3F09170AFM PHC-J3YF-1RF/F7693DF[*7]/SM7 1/1/2018 $20,434.84 A Y
J3F10005 PHC-J3YF-1RF/F7694[*3]/SM7 1/1/2018 $20,434.84 A Y
J3F10600 PHC-J3YF-1RF/F7392-1[*1]/SM7 1/1/2018 $18,090.08 A Y
J3F10600AFM PHC-J3YF-1RF/F7392-1[*1]/SM7 1/1/2018 $18,452.79 A Y
J3F10600KD PHC-J3YF-1RF/F7392-1[*1]/SM7 1/1/2018 $18,452.79 A Y
J3F10660AFM PHC-J3YF-1RF/F7693DFB[*4]/SM7 1/1/2018 $21,295.88 A Y
J3F10670AFM PHC-J3YF-1RF/F7693DFB[*7]/SM7 1/1/2018 $21,295.88 A Y
J3F10800S PHC-J3YF-2UF/FC7391D[*2]/SM17 1/1/2018 $25,846.68 A Y
J3F10801S PHC-J3YF-2UF/FC7391D[*2]/SM17 1/1/2018 $25,820.99 A Y
J3F10850S PHC-J3YF-2UF/FC7391DK[*2]/SM17 1/1/2018 $27,283.13 A Y
J3F10851S PHC-J3YF-2UF/FC7391DK[*2]/SM17 1/1/2018 $27,256.41 A Y
J3F20000 PHC-J3YF-1N/N7605/SM7 1/1/2018| $35,058.420 A Y
J3F20000AFM PHC-J3YF-1N/N7605/SM7 1/1/2018| $35,058.420 A Y
J3F20500AFM PHC-J3YF-1N/N7605B/SM7 1/1/2018| $35,615.340 A Y
J3F21000 PHC-J3YF-1N/N7605B-2/SM40 1/1/2018| $37,188.180 A Y
J3F30005 PHC-J3Y1F-1N/N7605[*2]/SM7 1/1/2018| $34,835.040 A Y
J3F30500AFM PHC-J3Y1F-1N/N7605B/SM7 1/1/2018| $35,615.340 A Y
J3F30500AFMKD  [PHC-J3Y1F-1N/N7605B/SM7 1/1/2018| $35,615.340 A Y
J3F81000 PHC-J3YF-1N/N7605CB-2/SM40 1/1/2018| $37,188.180 A Y
L2F00015 BHC-L2YF-1BF/F8468AR/SM19 1/1/2018 $13,659.53 A Y
L3F00020 PHC-L3YF-1RF/F8468A-6R/SM7 1/1/2018 $17,530.10 A Y
L3F00030 PHC-L3YF-1RF/F8068/SM7 1/1/2018 $18,245.24 A Y
L3F00040 PHC-L3YF-1RF/F7691/SM7 1/1/2018 $18,600.75 A Y
L3F00042 PHC-L3YF-1RF/F7691/SM7 1/1/2018 $18,600.75 A Y
M2R00030 HC-M2YR-1BF/F7666A/SM43 1/1/2018 $14,445.57 A Y
M2R00031 HC-M2YR-1BF/F7666A-2/SM4 1/1/2018 $14,445.57 A Y
M2R00032 HC-M2YR-1BF/F7666A-2 1/1/2018 $13,799.27 A Y
M2R00034 HC-M2YR-1BF/F7666A-2 1/1/2018 $13,799.27 A Y
M2R00039 HC-M2YR-1BF/F7666A-2R/SM43 1/1/2018 $14,445.57 A Y
M2R00041 HC-M2YR-1BF/F8475D-2[*1]/SM32 1/1/2018 $14,385.97 A Y
M2R00044 HC-M2YR-1BF/F8475J-4/SM32 1/1/2018 $15,433.00 A Y
M2R00046 HC-M2YR-1BF/F8475D-4/SM32 1/1/2018 $14,385.97 A Y
M2R00049 HC-M2YR-1BF/F8475D-4[*2]/SM32 1/1/2018 $14,385.97 A Y
M2R00055 HC-M2YR-1BF/F8475D-4[*3]/SM32 1/1/2018 $14,385.97 A Y
M2R00060 HC-M2YR-2CEUF/FC7666A/SM4 1/1/2018 $17,024.59 A Y
M2R00080 HC-M2YR-2CLEUF/FJC7666A/SM4 1/1/2018 $17,552.81 A Y
M2R20002 HC-M2YR-1BFP/F7497/SM8 1/1/2018 $14,445.57 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 90



Hartzell Propeller Inc.

2018 Price List

100635 SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,982.75 A Y
103585 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $2,904.85 A Y
104071 SPINNER ASSEMBLY 1/1/2018 $7,638.30 A Y
104236 SPINNER ASSEMBLY 1/1/2018 $4,160.48 A Y
104238 SPINNER ASSEMBLY 1/1/2018 $2,248.85 A Y
104368 SPINNER ASSEMBLY 1/1/2018 $6,077.00 A Y
104529 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $10,261.00 A Y
104781 SPINNER ASSEMBLY 1/1/2018 $2,248.85 A Y
104841 SPINNER ASSEMBLY 1/1/2018 $6,828.00 A Y
105945 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $2,904.85 A Y
107106 SPINNER ASSEMBLY 1/1/2018 $7,638.30 A

102950LP SPINNER ASSEMBLY 1/1/2018 $2,698.83 A Y
103585F1 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $2,809.53 A Y
103585F2 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $3,015.00 A Y
103629F1 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $2,655.78 A

104071P SPINNER ASSEMBLY 1/1/2018 $7,638.30 A Y
104178P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,674.23 A Y
104236P SPINNER ASSEMBLY 1/1/2018 $4,160.48 A Y
104238P SPINNER ASSEMBLY 1/1/2018 $3,629.53 A Y
104368P SPINNER ASSEMBLY 1/1/2018 $6,077.00 A Y
104552P SPINNER ASSEMBLY 1/1/2018 $4,853.36 A Y
104781P SPINNER ASSEMBLY 1/1/2018 $3,424.53 A Y
104841L SPINNER ASSEMBLY 1/1/2018 $6,828.00 A Y
104841LP SPINNER ASSEMBLY 1/1/2018 $6,828.00 A Y
104841P SPINNER ASSEMBLY 1/1/2018 $6,828.00 A Y
105180P SPINNER ASSEMBLY 1/1/2018 $4,829.80 A

105945F1 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $2,809.53 A Y
105945F2 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $3,090.38 A Y
105951-1P SPINNER ASSEMBLY, "CNC" 1/1/2018 $3,313.83 A Y
105951P SPINNER ASSEMBLY, "CNC" 1/1/2018 $3,313.83 A Y
107106P SPINNER ASSEMBLY 1/1/2018 $7,638.30 A

835-13 SPINNER ASSEMBLY 1/1/2018 $2,327.78 A Y
835-13P SPINNER ASSEMBLY 1/1/2018 $2,825.93 A Y
835-17 SPINNER ASSEMBLY 1/1/2018 $2,032.58 A Y
835-23 SPINNER ASSEMBLY 1/1/2018 $1,702.53 A Y
835-23P SPINNER ASSEMBLY 1/1/2018 $2,179.15 A Y
835-30 SPINNER ASSEMBLY 1/1/2018 $1,148.00 A Y
835-30P SPINNER ASSEMBLY 1/1/2018 $1,521.10 A Y
835-33 SPINNER ASSEMBLY 1/1/2018 $1,439.10 A Y
835-33P SPINNER ASSEMBLY 1/1/2018 $1,917.78 A Y
835-36 SPINNER ASSEMBLY, "CNC" 1/1/2018 $1,652.30 A Y
835-36P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,070.50 A Y
835-39 SPINNER ASSEMBLY 1/1/2018 $2,830.03 A Y
835-39EP SPINNER ASSEMBLY 1/1/2018 $3,433.75 A Y
835-41 SPINNER ASSEMBLY 1/1/2018 $1,465.75 A Y
835-41P SPINNER ASSEMBLY 1/1/2018 $1,790.68 A Y
835-42 SPINNER ASSEMBLY 1/1/2018 $1,433.98 A Y
835-44 SPINNER ASSEMBLY 1/1/2018 $2,162.75 A Y
835-47 SPINNER ASSEMBLY, "CNC" 1/1/2018 $1,555.95 A Y
835-47P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,111.50 A Y
835-50L SPINNER ASSEMBLY 1/1/2018 $1,679.98 A Y
835-50LP SPINNER ASSEMBLY 1/1/2018 $2,122.78 A Y
835-52P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,154.55 A Y
835-58P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,048.98 A Y
836-15R SPINNER ASSEMBLY 1/1/2018 $4,604.30 A Y
836-15RP SPINNER ASSEMBLY 1/1/2018 $5,046.08 A Y
836-25P SPINNER ASSEMBLY 1/1/2018 $3,479.88 A Y
836-29 SPINNER ASSEMBLY 1/1/2018 $1,763.00 A Y
836-29P SPINNER ASSEMBLY 1/1/2018 $2,294.98 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 91



Hartzell Propeller Inc.

2018 Price List

836-32PR SPINNER ASSEMBLY 1/1/2018 $3,971.88 A Y
836-32SPR SPINNER ASSEMBLY 1/1/2018 $5,958.33 A Y
836-32SR SPINNER ASSEMBLY 1/1/2018 $5,664.15 A Y
836-37P SPINNER ASSEMBLY 1/1/2018 $4,287.58 A Y
836-52 SPINNER ASSEMBLY 1/1/2018 $2,322.65 A Y
836-52P SPINNER ASSEMBLY 1/1/2018 $2,624.00 A Y
836-60 SPINNER ASSEMBLY 1/1/2018 $2,271.40 A Y
836-60P SPINNER ASSEMBLY 1/1/2018 $2,620.93 A Y
836-61 SPINNER ASSEMBLY 1/1/2018 $2,282.68 A Y
837-6 SPINNER ASSEMBLY 1/1/2018 $2,396.45 A Y
837-6P SPINNER ASSEMBLY 1/1/2018 $2,804.40 A Y
A-2295 SPINNER ASSEMBLY 1/1/2018 $1,913.68 A Y
A-2295-1 SPINNER ASSEMBLY, "CNC" 1/1/2018 $1,895.23 A Y
A-2295-10P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,509.20 A Y
A-2295-11P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,185.30 A Y
A-2295-1F SPINNER ASSEMBLY, "CNC",CHROME 1/1/2018 $3,122.15 A Y
A-2295-1P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,227.33 A Y
A-2295-2P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,272.43 A Y
A-2295-3P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,272.43 A Y
A-2295-4P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,717.28 A Y
A-2295-5P SPINNER ASSEMBLY 1/1/2018 $2,897.68 A Y
A-2295-6P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,715.23 A Y
A-2295-8P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,025.40 A Y
A-2295-P SPINNER ASSEMBLY 1/1/2018 $2,302.15 A Y
A-2297 SPINNER ASSEMBLY 1/1/2018 $2,324.70 A Y
A-2297-P SPINNER ASSEMBLY 1/1/2018 $2,634.25 A Y
A-2298-2 SPINNER ASSEMBLY 1/1/2018 $2,183.25 A Y
A-2298-2P SPINNER ASSEMBLY 1/1/2018 $2,348.28 A Y
A-2298-3 SPINNER ASSEMBLY 1/1/2018 $2,030.53 A Y
A-2298-3P SPINNER ASSEMBLY 1/1/2018 $2,416.95 A Y
A-3519 SPINNER ASSEMBLY 1/1/2018 $2,451.80 A Y
A-3519-P SPINNER ASSEMBLY 1/1/2018 $1,899.32 A Y
A-3640 SPINNER ASSEMBLY 1/1/2018 $1,881.90 A Y
A-4203 SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,908.95 A Y
A-4203-P SPINNER ASSEMBLY, "CNC" 1/1/2018 $3,149.83 A Y
C-2285-1P SPINNER ASSEMBLY 1/1/2018 $2,584.03 A Y
C-2285-2 SPINNER ASSEMBLY 1/1/2018 $2,177.10 A y
C-2285-2L SPINNER ASSEMBLY 1/1/2018 $2,177.10 A Y
C-2285-3 SPINNER ASSEMBLY 1/1/2018 $2,223.23 A Y
C-2285-3L SPINNER ASSEMBLY 1/1/2018 $2,202.73 A Y
C-2285-3LP SPINNER ASSEMBLY 1/1/2018 $2,694.73 A Y
C-2285-3P SPINNER ASSEMBLY 1/1/2018 $2,740.85 A Y
C-2285-4P SPINNER ASSEMBLY 1/1/2018 $2,694.73 A Y
C-2285-5P SPINNER ASSEMBLY 1/1/2018 $3,152.90 A Y
C-2285-6P SPINNER ASSEMBLY 1/1/2018 $2,777.75 A Y
C-2504 SPINNER ASSEMBLY 1/1/2018 $5,959.35 A Y
C-2513-3 SPINNER ASSEMBLY 1/1/2018 $1,252.55 A Y
C-2513-P SPINNER ASSEMBLY 1/1/2018 $2,583.00 A Y
C-3043-2 SPINNER ASSEMBLY 1/1/2018 $1,808.10 A Y
C-3043-2P SPINNER ASSEMBLY 1/1/2018 $2,398.50 A Y
C-3043-3P SPINNER ASSEMBLY 1/1/2018 $2,394.40 A Y
C-3043-8 SPINNER ASSEMBLY 1/1/2018 $2,069.48 A Y
C-3065-1 SPINNER ASSEMBLY 1/1/2018 $2,014.13 A Y
C-3065-10 SPINNER ASSEMBLY 1/1/2018 $1,747.63 A Y
C-3065-11P SPINNER ASSEMBLY 1/1/2018 $2,508.18 A Y
C-3065-12P SPINNER ASSEMBLY 1/1/2018 $2,301.13 A Y
C-3065-1P SPINNER ASSEMBLY 1/1/2018 $2,597.35 A Y
C-3065-6P SPINNER ASSEMBLY 1/1/2018 $2,824.90 A Y
C-3065-P SPINNER ASSEMBLY 1/1/2018 $2,382.10 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 92



Hartzell Propeller Inc.

2018 Price List

C-3258-P SPINNER ASSEMBLY 1/1/2018 $2,327.78 A Y
C-3410-1P SPINNER ASSEMBLY 1/1/2018 $2,231.43 A Y
C-3410-P SPINNER ASSEMBLY 1/1/2018 $2,212.98 A Y
C-3425-3P SPINNER ASSEMBLY 1/1/2018 $2,327.78 A Y
C-3533 SPINNER ASSEMBLY 1/1/2018 $2,702.93 A Y
C-3533-1P SPINNER ASSEMBLY 1/1/2018 $2,974.55 A Y
C-3533-P SPINNER ASSEMBLY 1/1/2018 $2,867.95 A Y
C-3535-1 SPINNER ASSEMBLY 1/1/2018 $2,064.35 A Y
C-3535-1P SPINNER ASSEMBLY 1/1/2018 $2,286.78 A Y
C-3535-3P SPINNER ASSEMBLY 1/1/2018 $3,036.05 A Y
C-3552-1 SPINNER ASSEMBLY 1/1/2018 $2,381.08 A Y
C-3552-1P SPINNER ASSEMBLY 1/1/2018 $1,871.51 A Y
C-3567-1 SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,124.83 A Y
C-3567-1P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,668.08 A Y
C-3567-4P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,674.23 A Y
C-3567-7P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,548.15 A Y
C-3567-9P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,548.15 A Y
C-3568 SPINNER ASSEMBLY 1/1/2018 $2,298.05 A Y
C-3568-P SPINNER ASSEMBLY 1/1/2018 $2,721.38 A Y
C-3570-P SPINNER ASSEMBLY 1/1/2018 $2,602.48 A Y
C-3575 SPINNER ASSEMBLY 1/1/2018 $2,227.33 A Y
C-3575-1P SPINNER ASSEMBLY 1/1/2018 $2,426.18 A Y
C-3575-2P SPINNER ASSEMBLY 1/1/2018 $2,315.48 A Y
C-3575-P SPINNER ASSEMBLY 1/1/2018 $2,426.18 A Y
C-4558-2 SPINNER ASSEMBLY 1/1/2018 $2,897.68 A Y
C-4558-2P SPINNER ASSEMBLY 1/1/2018 $3,326.13 A Y
C-4558-3 SPINNER ASSEMBLY 1/1/2018 $2,878.20 A Y
C-4558-3P SPINNER ASSEMBLY 1/1/2018 $3,274.88 A Y
C-4582 SPINNER ASSEMBLY 1/1/2018 $2,469.23 A Y
C-4582-1P SPINNER ASSEMBLY 1/1/2018 $2,792.10 A Y
C-4582-P SPINNER ASSEMBLY 1/1/2018 $2,556.35 A Y
C-6446-1P SPINNER ASSEMBLY 1/1/2018 $3,557.78 A Y
C-6446-2P SPINNER ASSEMBLY 1/1/2018 $3,557.78 A Y
D-1649 SPINNER ASSEMBLY 1/1/2018 $3,834.53 A Y
D-3273-2P SPINNER ASSEMBLY 1/1/2018 $3,181.60 A Y
D-3273-P SPINNER ASSEMBLY 1/1/2018 $2,799.28 A Y
D-3434-12P SPINNER ASSEMBLY 1/1/2018 $3,407.10 A Y
D-3434-18P SPINNER ASSEMBLY 1/1/2018 $2,840.28 A Y
D-3434-1P SPINNER ASSEMBLY 1/1/2018 $2,614.78 A Y
D-3434-6P SPINNER ASSEMBLY 1/1/2018 $3,281.03 A Y
D-3434-7P SPINNER ASSEMBLY 1/1/2018 $2,642.45 A Y
D-3434-8 SPINNER ASSEMBLY 1/1/2018 $2,492.80 A Y
D-3434-8P SPINNER ASSEMBLY 1/1/2018 $2,993.00 A Y
D-4033-L SPINNER ASSEMBLY 1/1/2018 $2,642.00 A Y
D-4511-3LP SPINNER ASSEMBLY 1/1/2018 $3,711.53 A Y
D-4511-3P SPINNER ASSEMBLY 1/1/2018 $3,711.53 A Y
D-4511-LP SPINNER ASSEMBLY 1/1/2018 $3,069.88 A Y
D-4511-P SPINNER ASSEMBLY 1/1/2018 $3,050.40 A Y
D-4532-2 SPINNER ASSEMBLY 1/1/2018 $4,155.35 A Y
D-4544-L SPINNER ASSEMBLY 1/1/2018 $3,368.15 A Y
D-4578-1P SPINNER ASSEMBLY 1/1/2018 $5,536.03 A Y
D-4798 SPINNER ASSEMBLY 1/1/2018 $3,025.80 A Y
D-4798-1P SPINNER ASSEMBLY 1/1/2018 $3,098.58 A Y
D-4798-2P SPINNER ASSEMBLY 1/1/2018 $3,496.28 A Y
D-4798-3P SPINNER ASSEMBLY 1/1/2018 $3,653.10 A Y
D-4798P SPINNER ASSEMBLY 1/1/2018 $3,241.05 A Y
D-4810-P SPINNER ASSEMBLY 1/1/2018 $2,872.05 A Y
D-4816-P SPINNER ASSEMBLY 1/1/2018 $2,247.83 A Y
D-4826LP SPINNER ASSEMBLY 1/1/2018 $3,622.35 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 93



Hartzell Propeller Inc.

2018 Price List

D-4826-P SPINNER ASSEMBLY 1/1/2018 $3,965.73 A Y
D-4841 SPINNER ASSEMBLY 1/1/2018 $2,862.83 A Y
D-4897-P SPINNER ASSEMBLY 1/1/2018 $3,012.48 A Y
D-5205 SPINNER ASSEMBLY 1/1/2018 $2,866.93 A Y
D-5205-P SPINNER ASSEMBLY 1/1/2018 $3,316.90 A Y
D-5243-P SPINNER ASSEMBLY 1/1/2018 $4,804.18 A Y
D-5257-P SPINNER ASSEMBLY 1/1/2018 $3,307.68 A Y
D-5319-P SPINNER ASSEMBLY 1/1/2018 $4,097.95 A Y
D-5421-P SPINNER ASSEMBLY 1/1/2018 $2,911.00 A Y
D-5495-L SPINNER ASSEMBLY 1/1/2018 $2,050.00 A Y
D-5497 SPINNER ASSEMBLY 1/1/2018 $2,928.43 A Y
D-5497-3 SPINNER ASSEMBLY 1/1/2018 $3,251.30 A Y
D-5497-3P SPINNER ASSEMBLY 1/1/2018 $3,883.73 A Y
D-5497-4 SPINNER ASSEMBLY 1/1/2018 $3,105.75 A Y
D-5497-P SPINNER ASSEMBLY 1/1/2018 $3,587.50 A Y
D-5500-1F SPINNER ASSEMBLY 1/1/2018 $6,045.45 A Y
D-5500-1P SPINNER ASSEMBLY 1/1/2018 $4,672.98 A Y
D-5519-1P SPINNER ASSEMBLY 1/1/2018 $3,105.75 A Y
D-5527-1 SPINNER ASSEMBLY 1/1/2018 $6,828.00 A Y
D-5527-1L SPINNER ASSEMBLY 1/1/2018 $6,828.00 A Y
D-5527-1LP SPINNER ASSEMBLY 1/1/2018 $6,998.70 A Y
D-5527-1P SPINNER ASSEMBLY 1/1/2018 $6,998.70 A Y
D-5710-2 SPINNER ASSEMBLY 1/1/2018 $3,639.78 A Y
D-5710-2P SPINNER ASSEMBLY 1/1/2018 $3,916.53 A Y
D-5710-4P SPINNER ASSEMBLY 1/1/2018 $4,119.48 A Y
D-5732-P SPINNER ASSEMBLY 1/1/2018 $3,293.33 A Y
D-5749-LP SPINNER ASSEMBLY 1/1/2018 $4,359.33 A Y
D-5749-P SPINNER ASSEMBLY 1/1/2018 $4,464.90 A Y
D-630-12P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,985.83 A Y
D-630-1P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,838.23 A Y
D-630-2P SPINNER ASSEMBLY, "CNC" 1/1/2018 $3,385.58 A Y
D-630-4P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,810.55 A Y
D-630-5P SPINNER ASSEMBLY, "CNC" 1/1/2018 $3,313.83 A Y
D-630-7P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,985.83 A Y
D-630-P SPINNER ASSEMBLY, "CNC" 1/1/2018 $2,756.23 A Y
D-6936-P SPINNER ASSEMBLY 1/1/2018 $2,521.50 A Y
D-7267-2P SPINNER ASSEMBLY 1/1/2018 $2,967.38 A Y
D-7267-P SPINNER ASSEMBLY 1/1/2018 $3,283.08 A Y
D-7409 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $7,824.85 A Y
D-7709P SPINNER ASSEMBLY 1/1/2018 $2,883.33 A Y
E-5760-P SPINNER ASSEMBLY 1/1/2018 $7,638.30 A Y
E-6955 SPINNER ASSEMBLY 1/1/2018 $4,160.48 A Y
E-6955-P SPINNER ASSEMBLY 1/1/2018 $4,160.48 A Y
E-7256-P SPINNER ASSEMBLY 1/1/2018 $4,187.13 A Y
E-7480 SPINNER ASSEMBLY, COMPOSITE 1/1/2018 $20,451.83 A Y

(1) Sales of DA Items are restricted to select operators and repair stations.
(2) Reference for Line Replaceable Units

Original
Effectivity Date 1/2/2018
Page 94



	2018 Price List Cover
	2018 Price List New Parts Sales

